Catalog Num
00031
00036
00042
00047
88
00145
00152
177
00195
00228
229
231
234
238
00247
00290
00291
00301
00302
00303
00304
311
00316
00323
00332
00333
00335
00336
00344
00345
00346
00347
00348
00349
00350
00351
00353
00354
00355
00356
390
392
405
406
408
409
412
413
414
417
418
421
00422
422
00423
430
431
434
435
444
445

Material Description
JUMPER (GREY)

CONTROL-ELECTRICAL (REPLACEMENT)

SCREW UNIT ASSY,BB DRIVE-3/8"
CONTACT (ES85-11)

LOAD COIL DETECTOR (88)
SUPPORT UNIT-1-1/2"-2" ROLLER
PLUG W/ O-RING 3/4-16

PRECISION TONE GENERATOR (177)
HOOK-2" RIGID

STUD

PUNCH UNIT-CONNECTOR 9 PIN (229)
PUNCH UNIT-CONNECTOR 15 PIN (231)
PUNCH UNIT-CONNECTOR 37 PIN (234)
PUNCH UNIT-CONNECTOR 50 PIN (238)
DECAL-IDENT (767)

ADAPTOR-1-1/2" PUMP HOUSING
PLUG-RELEASE

BLADE, FIXING

SPACER, BLADE

BLADE, FRONT

SPRING

HANDSAW, PACKAGED (POP)
SPRING

RING-WOBBLE PLATE

PIVOT

JAW, LOCKING

HUB, SPINDLE

BLADE, MOVING

JOINTER (864)

BUSHING (864)

SPRING-JOINT (864)

SPRING-PRESS (864)

SCREW-BODY (864)

NUT-BODY (864)

PIN-COTTER (864)

SCREW-HANDLE (864)
HOOP-LOCKING (864)

E-RING (864)

REPLACEMENT KIT-BLADE (864)
SOCKET (864)
BLOWER/VACUUM,COMPACT (38594)
ACCESSORY KIT, BLOWER (392)
STAND-REEL (405)

STAND-REEL ROPE (406)

POLY PRO ROPE 3/16X250FEET

POLY PRO ROPE 3/16X600FEET

POLY PRO ROPE 1/4X250FEET

POLY PRO ROPE 1/4X600FEET

POLY PRO ROPE 1/4X1000FEET

POLY PRO ROPE 3/8X250FEET

POLY PRO ROPE 3/8X600FEET

POLY PRO ROPE 1/2X250FEET
BAFFLE-AIR

POLY PRO ROPE 1/2X600FEET
PLATE-SWITCH

TWINE,SPIRAL WRAP-1 PLY (430).
TWINE-2PLY X5200FT SPIRAL WRAP(431
DISPENSER-TAPE (434)
TAPE-MEASURING 3/16" POLY (21562)
FOOT SWITCH UNIT

SWITCH-FOOT

MSRP

$8.04
$3,580.50
$31.04
$44.80
$135.14
$2,504.24
$11.20
$483.06
$169.68
$11.46
$714.72
$714.72
$771.56
$771.56
$3.18
$273.06
$214.86
$306.38
$49.64
$51.90
$1.96
$16.14
$40.54
$114.22
$15.00
$149.06
$59.16
$252.34
$8.94
$6.50
$8.78
$6.50
$6.50
$7.52
$6.50
$8.66
$7.52
$6.22
$43.30
$8.66
$853.36
$245.70
$151.20
$176.50
$44.66
$74.46
$51.78
$88.64
$141.82
$111.34
$216.98
$163.08
$24.92
$321.92
$25.54
$72.26
$90.66
$164.82
$99.92
$357.00
$746.20



450
451
452
455
456
459
467
468
00487
00488
489
00491
00492
00493
00501
501
503
00504
504
508
512
516
00520
00522
00524
00528
00543
555
00569
00570
00571
00572
00573
00574
578
00579
579
590
591
592
595
597
598
00599
599
00601
603
00604
604
605
606
607
608
609
610
611
612
613
614
615
616
617

ROPE,POLY BRAID/BRAID (3/8 X 300)
ROPE,POLY BRAID/BRAID (3/8 X 600)
ROPE,POLY BRAID/BRAID (3/8 X 1200)
ROPE,POLY BRAID/BRAID (1/2 X 300)
ROPE, POLY BRAID/BRAID (1/2 X 600)
SHEAVE,LIGHT BASE ASS'Y

VISE & CHAIN, PKGD

MODULAR CABLE TESTER (468)
SCREW, FIXING

PISTON, OUTER

SHOE-CBLE BNDG PLASTIC

SCREW, VALVE

SPRING

SHAFT-2" REAR ROLLER

BLOWER & VACUUM UNIT

TRACKER 11-CABLE LOCATOR (501)
CASTER SET (503) (OPTIONAL ON 668)
BASKET,FILTER

GRIP UNIT-WIRE (504)
HICKEY,BENDING-1/2" RIGID (508)
HICKEY-BENDING 3/4" RIGID (512)
HICKEY-BENDING 1" RIGID (516)
CASE

TEST LEADS

RECEIVER

SUPPORT WELDMENT, 1-1/2"

PLATE, 1-1/2" OUTER ROLLER
BENDER ASSY,ELECTRIC (555-M8)
HOOK-1/2-1-1/4" IMC/RIGID(MACHINED)
HOOK,1/2-1-1/4 PVC RIGID (MACHINED)
SHOE ASSEMBLY,IMC/RIGID (1/2-1-1/4)
SHOE UNIT-1/2-1-1/4 PVC (855)

SHOE UNIT-1/2-1-1/4 PVC (555)
SUPPORT UNIT ASSY, 1-1/2"-2" ROLLER
CLEVIS ASSY,GRIP-KELLEMS (578)
7/32" BALL

CLEVIS-GRIP KELLEMS (579)
PORTA-BLOWER UNIT
PORTA-BLOWER SYSTEM (591)
BLOWGUN KIT(MIGHTY MOUSER 592)
FISHLINE,CONDUIT-BONDED NYLON
PUL GRIP KIT

PUL GRIP KIT

ROLLER UNIT-2"

PUL GRIP KIT

SUPPORT WELDMENT, 2"

CASTER SET (603)

PLATE, 2" OUTER ROLLER
FISHLINE,CONDUIT-NYLON
FISHLINE,CONDUIT-NYLON 45
FISHLINE,CONDUIT
FISHLINE,CONDUIT-NYLON 90
PISTON, BOXED-1/2"

PISTON, BOXED-3/4"

PISTON, BOXED-1"

PISTON, BOXED-1-1/4"

PISTON, BOXED-1-1/2"

COND PSTN 2

COND PSTN 2-1/2

COND PSTN 3

COND PSTN 3-1/2

COND PSTN 4

$239.40
$481.32
$960.12
$636.30
$1,270.08
$384.72
$805.96
$154.40
$11.40
$28.94
$31.52
$11.22
$3.64
$96.04
$1,394.40
$1,078.36
$140.50
$84.84
$140.08
$91.78
$95.40
$143.52
$105.26
$58.66
$945.44
$200.34
$127.82
$6,224.72
$488.80
$292.10
$1,080.66
$1,326.64
$1,963.90
$2,142.48
$295.10
$1.64
$293.60
$709.44
$1,317.40
$709.44
$49.76
$577.02
$664.08
$195.78
$1,037.44
$158.54
$136.00
$89.52
$44.72
$31.76
$31.76
$29.74
$5.30
$6.42
$8.50
$9.00
$10.96
$16.88
$18.64
$23.00
$25.14
$28.66



618
619
621
622
623
624
629
635
639
644
00646
646
00647
647
00648
00649
00650
650
00651
651
00652
652
00653
653
00654
654
00655
655
00656
656
00657
657
00658
658
00659
659
00660
660
00661
00662
00663
00664
00665
00666
668
00669
678
683
684
687
690
691
696
697
703
704
705
706
709
710
713
718

COND PSTN 5
COND PSTN 6

PISTON ASSY,EMT (2-1/2)

PISTON ASSY,EMT (3)

PISTON ASSY,EMT (4)

GRIP-WIRE (624)

GRIP KIT,WIRE (629)

CUTTER KIT, HOLE-CARBIDE
SHEAVE-TWIN YOKE 3/4 (639)
STAND-ROPE REEL
GEARMOTOR,PULLER

PISTON ASSY,EMT (3-1/2)
SHAFT-CENTER

SPINDLE,REEL STAND (62")

SHAFT-#1 REDUCTION

SHAFT-#2 REDUCTION

SHAFT-#3 REDUCTION
SHEAVE-CABLE 6" HOOK TYPE (650)
PLATE, #1 REDUCTION HUB
.SHEAVE-CABLE 12" HOOK TYPE (651)
GEAR-#1 REDUCTION PLANET
SHEAVE-CABLE 18" HOOK TYPE (652)
GEAR-#2 REDUCTION SUN
SHEAVE-CABLE 24" HOOK TYPE (653)
GEAR-#2 REDUCTION PLANET
STAND-ROPE REEL

GEAR-#3 REDUCTION SUN

CUTTER KIT, HOLE-CARBIDE
GEAR-#3 REDUCTION PLANET
STAND ASSY,REEL-RATCHET TYPE (656)
HUB,OUTPUT

SPINDLE,REEL STAND (100")
PLATE-OUTPUT HUB

SHEAVE-TRAY (658)

PLATE-#2 REDUCTION HUB
SHEAVE-TRAY (659)

HUB-#1 REDUCTION

CUTTER KIT, HOLE-CARBIDE
GEAR-RING

HUB-#2 REDUCTION

MOUNT-MOTOR

MOTOR

HOUSING,BEARING

PLATE-MOTOR MOUNTING

RACK ASSY,PIPE & CONDUIT (668)
CAPACITOR

CLEVIS UNIT-ROPE (678)
JACKSTAND ASSY, REEL (683)
SPINDLE,REEL STAND (76")

STAND ASSY,TELESCOPING (687)
FISHTAPE SYSTEM, 115V

GUN,BLOW (691)

CASTER SET (696)

CASTER SET,SWIVEL (4)

KIT, CASTER
CUTTER,CABLE-SCISSOR (704)
CUTTER ASSY,CABLE (705)
CUTTER,CABLE-SCISSORS (706)
PUNCH ASSEMBLY,STUD-METAL (709)
PUNCH ASSEMBLY,STUD-METAL (710).
PUNCH ASSY

CUTTER,CABLE (718)

$37.98
$47.76
$18.58
$22.96
$28.66
$442.64
$640.84
$103.98
$578.94
$175.20
$4,836.66
$25.14
$105.00
$195.26
$44.12
$61.60
$35.00
$174.46
$80.06
$251.14
$122.56
$481.18
$157.54
$568.38
$122.56
$282.92
$190.28
$87.46
$143.88
$668.76
$1,027.78
$706.48
$123.92
$129.64
$83.06
$152.40
$448.00
$157.08
$686.00
$476.00
$234.70
$1,646.40
$1,082.04
$319.34
$643.62
$150.22
$207.16
$305.06
$268.18
$207.00
$1,897.00
$181.92
$112.50
$117.50
$150.50
$192.78
$200.34
$209.16
$341.00
$341.00
$624.30
$100.80



720
722
724
00727
727
00732
00739
00741
00744
744
746
747
00749
749
00750
750
00751
751
755
756
757
758
759
760
00761
761
765
766
767
00768
00770
00773
773
774
776
777
00781
00782
00783
00784
00791
00795
00796
796
00799
800
802
00804
00811
00815
00820
00827
00828
830
00832
834
835
00835
00838
00843
00844
00845

PUNCH-KEYWAY NIBBLER (720)
CUTTER,HARD WIRE (POP)

PUNCH ASSY, BX STUD (724)
ROLLER

CUTTER,CABLE (727)

PIN

ATTACHMENT WELDMENT

BAR WELDMENT-TIE

CAPSTAN WELDMENT

HD PUNCH SET

RAM-HYDRAULIC KNOCKOUT

RAM ASSEMBLY,HYDRAULIC (747)
SWITCHBOX WELDMENT

CUTTER ASSY, ACSR (749)

CLAMP

CUTTER,CABLE HYD (750)
RAMP-ROPE

HEAD KIT-CUTTER (751)
PUMP,HAND-HYD (755)
CUTTER,CABLE-RATCHET (756)
CUTTER,CABLE-RATCHET (757)
CUTTER,RATCHET-GUY WIRE (758)
CUTTER, CABLE-RATCHET.
CUTTER,CABLE-COMPACT RATCHET
FRAME WELDMENT
CUTTER,CABLE-RATCHET

CUTTER ASSY,CABLE-COMMUNICATIONS (765)

PULLER-WIRE (766-M3)
PUMP,HAND-HYD (767)

AXLE

FRAME WELDMENT,CARRIAGE
BLOCK, PIVOT

CUTTER ASSEMBLY(773)

CUTTER ASSEMBLY (774)

CUTTER ASSEMBLY, ACSR (776)
BENDER-HYD 1-1/4 TO 4 (777 W/O PUMP
COUPLING WELDMENT-2-1/2" KIT
COUPLING WELDMENT-3"
COUPLING WELDMENT 3 1/2"
COUPLING WELDMENT 4"
Boom - Long

SCREW-ACME

HANDLE

BENDER-CABLE RATCHET (796)
ADAPTER WELDMENT ASSY, SCREW-ON
BENDER-CABLE HYD (800)
BENDER-CABLE HYD (802)
ADAPTER WELDMENT-SLIP IN 2-1/2"
ADAPTER WELDMENT - SLIP IN 3"
ADAPTER WELDMENT - SLIP IN 3 1/2"
ADAPTER WELDMENT - SLIP IN 4"
ADAPTER WELDMENT,SLIP IN- 5"
ELBOW WELDMENT-PIVOT
HOLESAW SET

ELBOW WELDMENT-ADJUSTABLE
HOLESAW SET

HOLESAW KIT

Boom - Short

SHAFT,SHEAVE-12"

SHEAVE UNIT-12"
SHEAVE UNIT (18")

SHEAVE UNIT-24"

$321.18
$38.12
$145.76
$242.98
$40.70
$159.22
$148.12
$106.26
$582.52
$757.24
$787.72
$1,964.34
$80.34
$131.04
$101.04
$1,986.60
$143.88
$1,141.00
$891.44
$750.96
$757.26
$842.94
$312.48
$366.66
$673.64
$535.50
$327.60
$1,185.80
$519.82
$43.84
$529.02
$43.94
$497.70
$535.50
$612.36
$5,317.14
$222.24
$251.50
$276.82
$279.40
$259.00
$66.30
$62.88
$641.20
$301.54
$1,136.80
$1,555.40
$263.14
$255.14
$268.28
$281.52
$370.88
$483.30
$129.44
$590.12
$185.78
$305.64
$245.00
$15.40
$383.36
$730.30
$1,114.28



00846
847
848
849
00850
851
00854
00855
00856
00857
857
00860
862
00863
864
00864
865
00865
866
00867
00868
868
00870
870
00871
00875
00876
00877
880
882
884
885
889
890
891
906
909
910
911
914
916
00920
921
00923
00924
00925
00926
00927
00928
00929
00930
930
00933
00934
00936
941
00946
946
947
948
00949
00960

SHAFT-SHEAVE 18"

BENDER-6" PVC HEATER (847)
BENDER-6" PVC HEATER (848)
HEATER-ELEC 1/2 TO 2" PVC (849).
SHAFT-SHEAVE 24"
BENDER-PVC 4" (851)

FRAME WELDMENT 12"

FRAME WELDMENT 18"

FRAME WELDMENT 24"
DOOR-BATTERY
SUPPORT,ROLLER-PVC (857)
SHAFT,SUPPORT (1-1/2")

CUTTER, PLASTIC PIPE

Elbow Assy

CUTTER, PVC (864).

Nose Assy

CUTTER, 2" PVC

MOUNT ASSY-FLOOR

EXPANDER ASSY (866)

Stand Assy

ADAPTER ASSY,SCREW-ON
EXPANDER,SCREW ANCHOR 1/4-20 (868)
CARRIAGE ASSY,WHEELED
EXPANDER,SCREW ANCHOR 3/8-16 (870)
Mount Assy - Boom

CORD UNIT-POWER

WIRE UNIT

SCREW ASSY

BENDER ASSY,HYD-CONDUIT (1/2 X 2)
BENDER-HYD 1-1/4 TO 2"EMT (882)
COND HYD BNDR 1-1/4X4

COND HYD BNDR 1-1/4X5

HOLESAW KIT,PLUMBERS (889)
HOLESAW KIT,INDUSTRIAL MAINT (890)
HOLESAW KIT-ELECTRICIAN/PLUMBER(891
CADDY,WIRE-DELUXE (906)
DISPENSER,WIRE (909)

DISPENSER ASSY,WIRE (910)
CART,WIRE REEL (911)
DISPENSER,WIRE (914)
TRANSPORTER ASSY,WIRE REEL (916)
WHEEL UNIT-IDLER

QUICK CHANGE EXTENSION SYS KIT (POP)
AXLE-1/2" ROLLER

AXLE-3/4" ROLLER

AXLE-1" ROLLER

AXLE-1-1/4" ROLLER

ROLLER-1/2"

ROLLER-3/4"

ROLLER-1"

ROLLER (1-1/4)

CUTTER KIT,HSS

SUPPORT WELDMENT,ROLLER (1/2 1-1/4)
SUPPORT UNIT,ROLLER-PVC (1/2 1-1/4)
SUPPORT UNIT-1/2-1-1/4 ROLLER (555)
QUICK CHANGE D'VERSIBIT SYSTEM KIT
SUPPT UNIT-1/2-1-1/4 PVC ROLR (555)
WAND, CLEANING 10/PK

WAND, CLNG 1.25-10/PK
REELCLEANER CONN CLEANER (948)
DIE,CUTTER-U TYPE

CORD UNIT-POWER

$123.36
$1,870.12
$2,505.98
$596.62
$119.00
$1,127.56
$397.88
$553.00
$735.00
$18.02
$119.58
$40.94
$20.18
$1,239.00
$79.28
$877.80
$184.20
$588.00
$83.60
$294.00
$1,540.00
$79.62
$1,537.16
$121.42
$926.80
$84.86
$7.56
$166.26
$3,225.06
$5,179.42
$10,191.30
$10,988.94
$115.06
$358.36
$179.78
$210.62
$847.20
$1,517.06
$428.46
$182.66
$846.62
$329.54
$79.70
$42.34
$58.30
$42.56
$42.14
$89.46
$82.24
$93.80
$124.88
$283.48
$261.44
$704.12
$464.02
$111.94
$690.34
$37.24
$34.14
$162.20
$504.00
$35.40



00965
00966
00967
00970
975
980
990
01015
01016
01019
1020
01021
01028
1030
01033
01034
01035
01036
01037
01038
01040
01043
01044
01045
01048
01055
01056
01060
01062
01065
01066
01068
01069
01076
01078
01080
01084
01130
01170
01178
01179
01182
01185
01207
01208
01209
01216
01220
01221
01224
1230
01231
01233
01234
01238
01241
01242
01243
01268
01276
01288
01290

DISPLAY,DIGITAL
CORD-PATCH

GAUGE PACKAGE-FORCE
HOLDER (00949)

PUMP,HYD POWER (975)
PUMP,HYD POWER (980)
PUMP, HYDRAULIC (990)
STEM, RELEASE VALVE
SPRING

LEVER, RELEASE

SOC ADAPTER, FC

SPRING

PISTON, PUMP
PIN,CONNECTOR

SEAL, OIL

RING, BU (HK520)

RING, OIL

BODY, MAIN

BALL, 7/32"

SPRING

RING,BU (HK520)

PIN

RING, SNAP

HANDLE, PUMP

GRIP, PUMP HANDLE
RESERVOIR, OIL

CAP, FILLER

HANDLE, BODY

VALVE, RELIEF

HEAD, BODY HANDLE

PIN

BAND, HOLDING

GAGE UNIT ASSY,FORCE
METER

KIT, SEAL

KIT, RETAINING KEY (SERVICE)
SWITCH UNIT-SELECTOR
WASHER-PAINTED

KIT, PAWL(760)

KIT, PIVOT SCREW(760)

KIT, SET SCREW(760)

KIT, RATCHET LEVER KNOB(760)
KIT, RATCHET HANDLE(760)
SPINDLE

WHEEL-10" DIAX3" WIDE PNEUMATIC
BRACKET-RIGHT SPOOL
FRAME-C-SHAPED
WHEEL-8"MOLD ON RUBBER
CASTER-4"MOLD ON RUBBER W/LOCK
BRACKET-RIGHT SPOOL
BOXASSY (1230)
BRACKET,SPOOL
BASKET-REEL

EYELET

BRACKET-LEFT SPOOL
ROD

BRACKET

KNOB ASSEMBLY
FRAME-PIVOT

LATCH (9517)
BLADE-HOLDER (758)
INSERT, BLADE (758)

$2,138.30
$324.84
$9,360.40
$16.80
$2,894.14
$4,644.22
$3,750.60
$11.22
$3.92
$38.82
$97.98
$4.90
$85.42
$0.48
$40.38
$5.96
$40.38
$114.20
$2.94
$2.30
$7.58
$133.06
$2.16
$9.78
$6.86
$27.18
$29.32
$46.02
$84.76
$46.16
$1.72
$4.12
$1,065.86
$332.52
$132.58
$79.10
$119.48
$24.92
$65.92
$36.38
$31.20
$17.52
$80.56
$15.68
$75.76
$43.14
$44.80
$78.88
$120.50
$39.56
$215.72
$39.56
$108.96
$35.12
$43.14
$46.78
$104.30
$42.16
$76.70
$66.52
$139.88
$162.40



01299
01305
1332

01355
01397
1399

01425
01431
01434
01435
01436
01491
1531

01551
01592
01607
1616

1636

01648
01664
01666
01700
01702
01707
01708
01711
01714
01718
1723

1725

1731

1732

01733
01735
1736

1737

1738

01741
01763
01766
01768
01769
01770
01774
01776
01777
01778
01779
01780
01781
01782
01783
01788
01789
01790
01792
01793
01794
01795
01796
01797
01800

HANDLE-RIGHT CUTTER (758)
PCA,STANDARD PENDANT

BOX ASSY,CHEST (1332)
HOUSING,PUMP

LANYARD ASSEMBLY

1399 9X11 BAND SAW

DECAL, SAFETY
RESERVOIR,MACHINED

BLOCK PUMP ASSEMBLY (767)
PLUNGER-PUMP

BLADDER

CASE, CARRYING (ILC-12H-N) (BLUE)
BOX ASSY,CHEST (1531)

DECAL, ID

DECAL, IDENT (7704)
GUARD-BOTTOM
BEARING-NEEDLE 1.00X1.31X1.00 OPEN
BOX ASSEMBLY,CHEST (1636)
SWITCH UNIT,PENDANT

TIP, REPLACEMENT KIT (436)
CORD,PENDANT SWITCH

SHOE GROUP, 1/2"-2" PVC RIG (854/855)
SPINDLE WELDMENT

CONTROL UNIT-ELECTRONIC (855M2)
RECEPTACLE UNIT,STANDARD
CONTROL-PENDENT DELUXE
ARM, SUPPORT-LEFT (SERVICE)
ARM, SUPPORT-RIGHT(SERVICE)
BOX ASS'Y,CHEST (1723)
PUMP,FOOT-HYD (1725-M3)
DRIVER-PUNCH HYD 1/2X1 (1731)
C FRAME-HYD KO DRIVER (1732)
MICROCONTROLLER
DECAL-FORCE GAUGE (00967)
RAM ASSEMBLY,HYD-27T (1736)
RAM-HYD (1737)

RAM-HYD 12 TON 7"STROKE (1738)
WIRE UNIT-ALL-IN-ONE

KIT, SEAL (HKL1230)

BUSHING

PIN, RETAINER

PIN

HEAD, TOOL

KEY

WASHER

SCREW

PIN, RETAINER

PIN

SPRING

PIN, DIE RELEASE

RAM

PIN

GUIDE, RAM SPRING

SPRING

SUPPORT, RAM SPRING

CIRCLIP

PIN

PIN

PIN

HEAD, HANDLE

BUSHING

PIN

$162.88
$184.38
$412.28
$308.00
$12.10
$8,040.96
$3.98
$98.30
$515.68
$54.80
$37.82
$200.50
$304.42
$15.66
$28.56
$40.74
$25.68
$457.64
$583.10
$12.88
$137.12
$3,552.08
$993.16
$725.06
$153.30
$1,872.96
$25.76
$25.76
$374.56
$975.28
$2,140.50
$3,691.62
$669.48
$17.70
$2,777.04
$5,500.74
$1,118.52
$42.76
$27.50
$18.36
$35.62
$6.14
$805.40
$11.22
$2.64
$1.88
$27.50
$2.04
$5.10
$27.50
$238.48
$2.64
$25.96
$38.32
$23.40
$2.04
$18.36
$11.22
$2.80
$138.34
$8.14
$10.18



1800
01801
1801
01802
1802
01803
01804
01805
1805
01806
1810
1811
01812
01813
1813
01816
1818
01819
01820
01825
01826
01840
01842
01844
01845
01846
01849
01850
01851
01852
01855
01856
01857
01858
01859
01860
01861
01862
01881
01882
01886
1895
1903
1904
1905
1913
1914
1916
1917
1918
1923
1927
1935
1940
01941
01942
01948
1950
1951
1955
1956
1960

BENDER,HAND-RATCHET (1800) $1,797.70

COVER, HANDLE HEAD $48.00
BENDER,HAND-RATCHET (1801-M2) $2,362.18
SPRING, RETURN $24.46
TABLE,BENDING-PIPE $2,798.24
STUD, RELEASE $14.26
HANDLE, PUMP $149.64
GRIP, PLASTIC $38.32
GAGE ASSEMBLY,BENDING DEGREE(1805) $194.32
PISTON, INPUT $106.58
BENDER, EMT-1/2" HAND (1810) $331.66
BENDER, OFFSET-3/4"EMT (1811) $484.32
SCREW, RELEASE VALVE $13.18
STEM, RELEASE VALVE $26.48
TABLE,BENDING-PIPE (1813) $3,495.10
VALVE, RELIEF $199.90
BENDER-MECHANICAL $7,680.64
SCREW, VALVE $20.36
SPRING $4.62
BODY, MAIN $864.38
SCREW, VALVE $14.26
SPRING $3.38
SCREW $2.80
SCREW $2.80
VALVE, INDUCTION $29.56
SCREEN, OIL $2.80
SPRING $9.16
SCREW, VALVE $20.36
HOLDER, SPRING $10.18
SCREW, VALVE $23.40
RESERVOIR, OIL $77.72
CAP, FILLER $5.10
HEAD, BODY HANDLE $117.92
HANDLE, BODY $149.64
GRIP, PLASTIC $37.14
ARM WELDMENT-LEAD $63.62
SHAFT-TRAILING $49.48
CONNECTOR $34.64
DECAL, CONNECTOR COMPATIBILITY AT $49.00
DECAL, CONNECTOR COMPATIBILITY FT $16.80
SPRING, GAS-150# $75.24
PROTRACTOR,LARGE $37.90
STRIPPER,CABLE $89.10
DRIVER,KNOCKOUT-HEAVY DUTY $1,022.68
STRIPPER-CABLE (1905) $261.30
STRIPPER-WIRE (1913) $9.90
STRIPPER-WIRE SPRING (1914) $11.18
STRIPPER,WIRE (1916) $17.74
STRIPPER,WIRE (1917) $19.80
STRIPPER,WIRE (1918) $19.80
STRIPPER (1923) $32.92
STRIPPER (1927) $30.06
STRIPPER,WIRE (1935) $49.32
CUTTER,BX CABLE $42.76
DECAL,GREENLEE GATOR $9.64
DECAL,GREENLEE GATOR $5.60
TRANSFORMER-UNCALIBRATED $426.26
STRIPPER (1950) $23.74
STRIPPER (1951) $23.74
STRIPPER, WIRE (1955). $23.74
STRIPPER, PKG (1956) $23.74

STRIPPER (1960) $26.56



1969

1981

1990

01998
01999
02000
2007

2008

2010

2050

02053
02130
02131
02137
2142

02146
02148
02149
02150
02151
02152
02153
02180
02182
02235
2260

02262
02266
02267
02292
02295
02297
02298
02369
2448

2460

2472

02480
02497
02499
02622
02691
02692
02744
02800
02801
02802
02803
02804
02805
02839
02846
03000
03007
03010
03011
3048

03048
03053
03095
03099
03129

CUTTER,MULTI CABLE (1969) POP
CRIMPER, MANUAL (1981)
CRIMPING TOOL-DIELESS (1990)
ARMATURE

GEAR,PINION

PIN,DRIVE

TRACER KIT-CIRCUIT (2007)

TRACER KIT-OPEN FINDER CIRCUIT (2008)

INDICATOR-VOLTAGE (2010)

BOX ASSY,CHEST (2050)

GAUGE, UNIT ASS'Y, FORCE

KIT, BLADE REPLACEMENT (K425BG)
KIT, BLADE REPLACEMENT (K4250)
PLATE KIT,REPLACEMENT
CHESTASS'Y (2142)

WHEEL

HANDLE KIT,ADJUSTING-REPLACEMENT
BOLT KIT,HANDLE-REPLACEMENT

PIN KIT,DIE-REPLACEMENT

SCREW KIT,SET-ADJUSTING

HANDLE KIT,REPLACEMENT

TOGGLE

CHARGER,220V (PKGD)

WHEEL KIT, REPLACEMENT

VOIP TOOLS, INSTALLER'S

BOX ASSY,SLANT TOP (2260)

COVER ASSY,MOTOR-115V (SERVICE)
DIE-LOWER (1811)

DIE-UPPER (1811)

REPAIR GROUP #1-GEARMOTOR (6800)
REPAIR GROUP #2-GEARMOTOR (6800)
REPAIR GROUP #3-GEARMOTOR (6800)
STUD-MOTOR (1/4-28X9.27" LG)
SERVICE KIT

CHESTASSY (2448)

CHEST ASSEMBLY (2460)

BOX ASS'Y, CHEST (2472)
TOOL-WOBBLE PLATE HOUSING TORQUE
DECAL-INSTRUCTION (555-M8)

HOOK, 1-1/2 & 2 PVC - RIGID
KIT-RETROFIT CAM PLATE (855)
METER (6800-22)

MOTOR (6800-22)

BLADE, STATIONARY

ARBOR, QUICK CHANGE-5/16

ARBOR, QUICK CHANGE-7/16
ADAPTER KIT,QUICK CHANGE-HOLESAW
ADAPTER, SMALL-10 PK

ADAPTER, LARGE-3 PK

BUSHING-5 PK

FRAME WELDMENT, BOOM MOUNT
MOUNT ASS'Y,CHAIN-PKGD
BRACKET-CORD WRAP

PLATE-UPPER MOUNTING

DIE, LOWER (1810)

DIE-UPPER (1810)

BOX ASSEMBLY,CHEST (3048)
CHARGER,12V (12VDC)

CORD UNIT-POWER (6800-22)
POINTER-1/2"-1-1/4"

POINTER 1-1/2"-2"

DECAL-ANGLE

$24.10
$526.62
$4,106.20
$170.82
$81.34
$1.64
$773.14
$817.22
$157.36
$1,125.46
$817.32
$117.92
$117.92
$67.64
$503.00
$108.86
$77.72
$40.10
$12.84
$20.36
$117.92
$12.22
$369.44
$134.32
$747.42
$1,038.24
$110.24
$136.50
$131.24
$1,679.96
$1,453.88
$1,110.38
$20.72
$393.12
$541.30
$746.92
$879.98
$170.88
$9.72
$418.94
$626.28
$175.70
$1,537.46
$200.98
$20.86
$25.08
$31.80
$13.20
$13.20
$4.38
$674.58
$1,183.00
$20.86
$52.84
$122.50
$117.24
$749.96
$309.36
$154.00
$99.96
$118.16
$39.06



03140
03253
03283
03284
03334
3360

03421
03427
03466
03487
03548
3548

03549
03561
03562
03575
03581
03607
03645
3648

3660

03661
03703
03821
04018
04019
4024

4036

4048

04073
04263
04287
04315
04319
04320
04322
04323
04339
04343
4435

4436

4437

04598
04599
04601
04602
04603
04605
04607
04608
04609
04611
04613
04614
04620
04643
04663
04757
04766
04781
04807
4848

SCREW-TENSION SPRING (748 RAM)
VALVE ASSY,HI PRESSURE (BR 3-2716)
DIE SET (0,14MM-6MM)

DIE SET (10MM-25MM)
SPRING-TORSION .187X.280X.312 (769)
BOX,FLAT TOP (3360)

WASHER-FLAT .440X.687X.064 COP
TRIGGER, RELEASE

DECAL-WARNING PICTORIAL (756,757)
CASE-PLASTIC (890)

KIT,REPAIR CUTTERHEAD (758)
CABINET (3548)

DECAL, CASE (EK425)
BOOSTER,POWER-ULTRA TUGGER
CORD UNIT-POWER

FOOT

KEY-HEX 3MM (03599)

KIT-STEP BIT #1 & #3 (03607)

POWER GENERATION UNIT

BOX ASSY,SLANT TOP (3648)

BOX ASSY,SLANT TOP (3660)
COUPLER WELDMENT-2"

DECAL, SPECIFICATION
SPRING,COMP (492) (BROCK 3-1239)
SPRING

WASHER

SHEAVE UNIT -24" (PKGD)

SHEAVE UNIT -36" (PKGD)

SHEAVE UNIT -48" (PKGD)
KIT-SERVICE EPROM (855-M2)
LINK-LEVER (767)

ADAPTER CORD-UNIT

ECCENTRIC (1810/1811)

LINK, BENDER (1810/1811)

ROLLER, BENDER (1810/1811)
HANDLE WELDMENT-BENDER (1810/1811)
PLATE, WEAR (1810/1811)

LATCH KIT,REPLACEMENT (5860)
PACKING KIT (ABM)

TAPE, MEASURING-1250# POLYESTER
TAPE, MEASURING-1800# POLYESTER
TAPE, MEASURING-2500# POLYESTER
DIE-ISO 16 (UPC)

PUNCH-ISO 16 (UPC)

DIE-ISO 25 (UPC)

PUNCH-ISO 25 (UPC)

DIE-ISO 32 (UPC)

PUNCH-ISO 32 (UPC)

DIE-ISO 40 (UPC)

PUNCH-ISO 40 (UPC)

DIE-ISO 50 (UPC)

PUNCH-ISO 50 (UPC)

DIE-ISO 63 (UPC)

PUNCH-ISO 63 (UPC)

DECAL-LID LINER (6805)
TRANSFORMER-TOROIDAL
KIT-CENTER BOLT/NUT (749)

AXLE

BAR-3-1/2 REINFORCEMENT (L.H.)
CONTROL ASSY-POWER BOOSTER
STRAP, CARRYING

BOX,FLAT TOP (4848)

$21.64
$433.26
$42.00
$42.00
$20.10
$1,188.44
$7.00
$7.00
$10.70
$78.66
$455.00
$1,439.42
$40.58
$2,398.20
$63.00
$8.90
$36.74
$116.46
$821.10
$1,137.02
$1,259.00
$274.52
$12.34
$20.76
$5.60
$1.96
$1,748.88
$2,187.36
$2,838.78
$133.20
$52.20
$242.32
$64.32
$27.08
$60.20
$94.78
$27.58
$253.04
$32.04
$398.78
$449.18
$657.64
$47.66
$147.26
$51.18
$167.70
$56.50
$178.26
$79.42
$303.58
$98.86
$326.54
$98.86
$326.54
$9.08
$1,126.82
$19.60
$20.68
$657.86
$609.48
$17.66
$1,218.68



4860

4872

04884
04889
04916
04926
05071
05073
05074
05075
05076
5102

05107
05108
05109
5123

05148
05157
05158
05163
5201

5250

05254
05258
05259
5260

05263
05301
05315
05316
05317
05318
05319
05320
05329
05332
05334
05336
05338
05339
05345
05347
05372
05373
05377
05378
05427
05429
05431
05432
05433
05434
05435
05467
05468
05475
05476
05485
05540
05567
05569
05586

BOX ASSY,FLAT TOP (4860)

BOX ASSY,FLAT TOP (4872)

CORD & PLUG KIT,ADAPTOR
GUARD-SWITCH

LANYARD-PIN UNIT

RAM

SWITCH UNIT, PENDANT (555CX)
SWITCH UNIT, PENDANT (555DX) REPLACEMENT
LENS, LCD PROTECTIVE (855GX)
MOTOR, 120V (555CX/555DX/855GX)
COVER, SPRING (773)

PROTECTOR, MOTOR (5102)
REPAIR GROUP #3, GEARMOTOR
HOUSING, MAGNET

ARMATURE

INDICATOR-MOTOR ROTATION (5123)
DECAL-ID
FISHTAPE,REPLCMNT-FIBERGLASS-.187"X200'
FISHTAPE,REPLCMNT-FIBERGLASS-.187"X250'
KIT-SERVICE CHAIN GUARD (6001)
PROTECTOR, MOTOR (5201)
PROTECTOR, MOTOR (5250)

RAM, SINGLE ACTING 1.810"DIA
CYLINDER-SINGLE ACTING 1.810"DIA
CRIMPING HEAD

PROTECTOR, MOTOR (5260)
WASHER-STEEL 1.830"IDX2.2925"0OD
WIPER-LEATHER 1.825"IDX2.295"0OD
WASHER,LEATHER (2.2950DX1.625ID)
PIN,DIE RELEASE
BUTTON,RELEASE-DIE
SHAFT,RELEASE

PIN,RELEASE-DIE

CYLINDER-PH2 S.A.

CRIMPING HEAD (42MM)

RAM (42MM)

RETAINER,SPRING
SPRING-EXTENSION
RETAINER,SPRING

CYLINDER, 42MM S.A.

CRIMPING HEAD, 15T UNIVERSAL
RAM-15 TON SINGLE ACTING

C HEAD ASSEMBLY-30MM

C HEAD ASSEMBLY-42MM

RAM ASSEMBLY - 30MM

RAM ASSEMBLY - 42MM

CYLINDER

SPRING-EXTENSION
WIPER-LEATHER

DISC

SPRING

BUTTON-DIE RETAINING
NUT-RETAINING

PGU2 ASSEMBLY

CARRY CASE-METAL
DECAL-IDENTIFICATION (RK1550)
C-HEAD ASSY (EK1240K)

GAGE UNIT ASSY,FORCE
GEAR-MASTER SHAFT
PLATE,HOUSING-TOP
PLATE,HOUSING-BOTTOM

FRAME UNIT

$1,248.92
$1,589.62
$381.84
$26.18
$22.28
$125.20
$445.20
$529.20
$50.40
$1,716.98
$8.40
$387.14
$896.00
$413.00
$896.98
$377.62
$4.40
$402.00
$496.40
$200.82
$228.10
$501.20
$497.00
$239.10
$782.46
$486.60
$13.16
$20.76
$15.46
$123.18
$26.08
$17.90
$146.54
$253.20
$705.38
$760.74
$41.86
$79.50
$50.00
$256.66
$733.10
$342.68
$1,028.78
$1,028.80
$825.94
$825.94
$335.98
$181.54
$16.26
$4.80
$11.36
$21.88
$45.04
$876.04
$143.20
$15.40
$695.54
$1,015.00
$15.92
$21.00
$21.00
$2,094.96



05589
05590
05595
05597
05599
5600

05608
05609
05611
05613
05620
05639
05640
05645
05646
05647
05648
05649
05652
05653
05657
05658
05659
05660
05664
05665
05666
05667
05669
05670
05672
05681
05683
05684
05685
5702

5708

5710

5712

5713

5715

05720
05726
5779

05784
5785

05787
05788
05791
05807
05808
05809
05810
05814
05817
05818
05849
05850
05851
5860

5880

5882

WHEEL

HOUSING WELDMENT-BEARING
ARM

ARM-MOTOR MOUNT
AXLE WELDMENT-UPPER
BATTERY PACK

AXLE WELDMENT-LOWER
SPROCKET-72T
SPROCKET-10T
HANDLE-SHAFT

FRAME WELDMENT
SHAFT-ARM STIFF

ARM WELDMENT-STIFF
ARM TEE-STIFF
BAR-CROSS
STAND-OFF-SHORT
RETAINER-BEARING
DIVIDER WELDMENT
HOUSING,BEARING
SEPARATOR WELDMENT-GROUND
STAND-OFF-LONG
GUARD-UPPER MOTOR
GUARD-CHAIN

CARRIER WELDMENT-GUARD
BEARING-TRUST
GUARD-INSERT
GUARD-EDGE
GUARD-LOWER MOTOR
AXLE

RATCHET WELDMENT-RH
RATCHET WELDMENT-LH
KEY

BOX, ELECTRICAL
PANEL-ELECTRICAL
BOX-MOTOR ELECTRICAL

INDICATOR,PHASE SEQUENCE (5702)

TESTER-GFI & CIRCUIT (5708)
TESTER-ANTENNA LAMP

INDICATOR-NON CONTACT PHASE SEQ (5712)

HOLSTER-LEATHER(5712)
TESTER,GAS LAMP (5715)
SERVICE KIT

GAGE UNIT,FORCE 640-22E

KIT,MOTOR ROT & PHASE SEQ INDICATOR

SHAFT-LEAD
CLAMP-LG ALLIGATOR
ARM WELDMENT
PLATE WELDMENT
SHAFT-FRAME

CORD, POWER
CORD-POWER
POTENTIOMETER UNIT
JACK UNIT, PHONE
CONTROL UNIT

PIN, PISTON

PIN, SOCKET

CATCH

HOSE ASSY-10' CONDUCTIVE W/M&F CON
HOSE ASSY-10' NON-COND W/M&F CONN

BOX,BIFOLD (5860)

MEGOHMMETER,500V DIG/ANA BACKLITE (5880)
MEGOHMMETER, 1KV DIG/ANA LITE ALARM(5882)

$201.60
$72.54
$634.60
$793.28
$427.16
$37.34
$427.16
$171.16
$27.90
$111.76
$2,217.58
$51.86
$86.60
$77.00
$259.98
$16.80
$16.80
$220.88
$62.88
$86.60
$18.20
$45.54
$113.60
$84.32
$22.64
$24.14
$52.80
$98.54
$46.54
$86.16
$87.02
$10.48
$122.52
$83.74
$106.00
$195.64
$206.74
$50.96
$297.52
$91.40
$425.82
$171.88
$1,540.00
$529.70
$17.96
$5.28
$166.42
$154.54
$80.50
$75.76
$42.32
$60.46
$35.68
$1,251.74
$31.90
$25.26
$52.90
$241.50
$473.90
$2,431.30
$936.16
$1,066.66



5883

05930
05932
05935
5990

6001

6004

6005

06015
06018
06025
06030
6036

6037

06051
06061
6072

06075
06076
06077
06079
06080
06081
06082
06083
06175
06178
06182
06183
06186
06188
06191
06192
06193
06194
06195
06200
06214
06217
06218
06219
06221
06259
06281
06282
06283
06284
06288
06291
06300
06302
06307
06397
06398
6500

6501

06503
6503

06505
6505

06508
06509

MEGOHMMETER PROBE-REMOTE (5883)
HANDLE UNIT-CUTTER (705)

LINK KIT (709/710)

BLADE ASSEMBLY,MACHINED-CUTTER
MEGOHMMETER, 5KV (5990)
PULLER, CABLE

PULLER PACKAGE,CABLE (6004)
PULLER PACKAGE,CABLE (6005)
PIN KIT (709,710)

/O CTRLASS'Y (854)
DECAL-IDENT/WARNING

CONTOL ASS'Y

SHEAVE-HOOK TRIPLE (6036)
MOUNT UNIT-FLOOR

RESISTOR UNIT ASSY, MOTOR SHUNT
SENSOR FOR 93-172
SHEAVE-MANHOLE 12' 6072)
DECAL, IDENTIFICATION (EKOBAT)
DECAL, IDENTIFICATION (EKO6FT)
DECAL, WARNING (EKOGAT)
DECAL,IDENTIFICATION (HKOBAT)
DECAL, IDENTIFICATION (HKOBFT)
DECAL, IDENTIFICATION (RKOGAT)
DECAL, IDENTIFICATION (RKO6FT)
COVER FOR 50060619
HINGE,W/HOLES (46")

HINGE, Straight (58") With Holes
HINGE WITH HOLES (55")
HINGE,W/HOLES (43")
CABLECASTER

KIT-PULLER PINS - 6800
KIT-SHAFT-6800 (50008714)
KIT-ELBOW SHAFT-6800 (5000864 1)
KIT-SHAFT - 6800 (50008625)
KIT-ELBOW PINS-6800 (50008633)
KIT-PIVOT PINS-6800 (50008633)
METER-CASE LIGHT
DECAL,PINCH/HAZ/WARN
SCREW-ADJUSTMENT (1980 REPL. PART)
NEST-CRIMP (1980 REPL. PART)
INDENTOR-CRIMP (1980 REPL. PART)
SCALE-PISTON (1736)
DARTS,CABLECASTER (4 PAK)
BEARING-THRUST
BEARING-RADIAL
WASHER-THRUST

SEAL-NITRILE

GUARD-BACK

SCREW/WASHER KIT (666,694,695)
DECAL,DIELESS CRIMPING TOOL
HOSE UNIT ASSY,NON COND. HYD 1/4 X 3'
DECAL,IDENTIFICATION (RK1550)
HANDLE UNIT (765)

HANDLE WELDMENT (6810)
PULLER PACKAGE (6500)

PULLER PKG, CABLE (6501)
DECAL-HK1240K
PULLER,CABLE-PKG (6503)
DECAL, IDENTIFICATION (EK1240)
PULLER PKG, CABLE (6505)
DECAL,WARNING (EK1240)
DECAL-WARNING FOR EK1240K

$293.04
$56.28
$38.12
$168.00
$2,999.22
$7,497.54
$12,490.38
$14,553.60
$7.02
$671.22
$11.20
$684.74
$882.80
$484.16
$75.46
$186.52
$5,071.90
$9.80
$40.60
$29.28
$60.80
$26.60
$41.98
$46.20
$16.20
$19.24
$40.60
$33.94
$31.14
$88.20
$78.38
$87.76
$88.84
$103.76
$125.18
$88.84
$67.10
$3.54
$19.22
$2.80
$23.80
$102.82
$10.32
$11.14
$19.32
$11.14
$16.50
$25.20
$17.50
$63.70
$74.08
$13.04
$65.38
$89.70
$6,635.04
$7,173.24
$13.26
$9,915.30
$5.50
$12,540.06
$8.02
$8.02



06511
06555
06669
06670
06671
06682
06687
06688
06692
06708
06709
06727
06728
06729
06764
06772
6800

6801

6803

6810

06889
06892
06907
06908
06909
06911
06915
06919
06923
07021
07023
07024
07026
07027
07063
07070
07071
07072
07075
07076
07087
07094
07102
07105
07113
07120
07160
07162
07208
07216
7216

07221
07223
07239
07247
07258
07259
07261
07262
07264
07265
07266

764 CABLE CUTTERS (BOM ONLY)
CUTTER SET,SCISSOR (705)
RAM,SINGLE ACTING (EK1230)
RAM,SINGLE ACTING (EK1240)
RAM,SINGLE ACTING (EK1240K)
E-STOP SWICH UNIT

TOWER WELDMENT,L.H. TRUNION Service
TOWER WELDMENT,R.H. TRUNION
END CAP

SPRING KIT, 40MM
1240KHKIT-SPRING KIT,KEARNEY
PUNCH UNIT 12.5MM

PUNCH,DIA 12.5MM

DIE,DIA 12.5MM

DECAL, IDENTIFICATION (ESG85GL)
SCREW, CAP

PULLER PACKAGE-CABLE (6800)
PULLER PACKAGE,CABLE (6801)
PULLER PACKAGE (6803)

FEEDER ASSEMBLY,CABLE (6810)
CONTROL ASSEMBLY, ELECTRONIC
PUNCH SET-ISO SLUG-BUSTER
TIMER ASSEMBLY,150MSEC
TRANSFORMER ASSEMBLY

CORD UNIT ASSY

CORD,POWER ASSEMBLY

TIMER ASSEMBLY,150MSEC
AXLE,SLEEVE

HOLE SAW,ADJUSTABLE-QUICK CUTTER
SPRING ASSY

DECAL, IDENTIFICATION (ECCX)
DECAL,WARNING (ECCX)

DECAL, CASE

DECAL, UAGP

BATTERY, NIMH-12V
DECAL,CONNECTOR COMPATABILITY
DECAL, IDENTIFICATION (HCCX)
DECAL, IDENTIFICATION (RCCX)
DECAL, HCCX CASE

DECAL, RCCX CASE

DECAL, IDENT

BOX, CONTROL

COVER, TOP

GUARD,SWITCH

CORD UNIT ASSY, POWER (07120)
GAUGE UNIT ASSY, FORCE

HOOK, EMT

HOOK, RIGID

SEAL, OIL

C-HEAD ASS'Y-30MM PVC COV

1/2 TO 2 KO SET

C-HEAD, 30MM PVC COV
C-HEAD,KEARNY -PVC COV

ARM WELDMENT, 1"

ARM WELDMENT

SHAFT, ECCENTRIC

ROLLER, 1"

ROLLER, LEAD 1-1/4"

ROLLER, TAIL 1-1/4"

SUPPORT WELDMENT, 1-1/4"
SHAFT, PIVOT ROLLER (1-1/2")
SHAFT, SUPPORT 1-1/4"

$187.04
$179.00
$428.38
$466.40
$224.58
$133.14
$476.98
$325.78
$30.26
$417.18
$464.30
$61.86
$35.04
$13.46
$60.56
$0.82
$6,706.80
$7,246.38
$9,988.44
$11,017.92
$807.10
$645.24
$153.30
$135.10
$99.68
$152.52
$141.04
$20.58
$39.74
$285.90
$40.38
$39.08
$6.40
$6.40
$269.76
$89.76
$63.70
$40.94
$8.70
$40.52
$3.66
$219.16
$127.14
$87.90
$82.00
$1,155.54
$274.40
$274.40
$24.56
$1,289.60
$375.46
$999.80
$862.16
$167.64
$478.74
$144.34
$38.22
$45.50
$42.76
$104.72
$35.14
$30.72



07267
07271
07275
07277
07281
7304

7306

7307

7310

07314
07317
07318
07319
07321
07322
07323
07337
07410
07449
07464
07476
07504
7506

07508
07512
7625

7646

07805
07807
07813
07814
07819
07821
07825
07826
07827
07828
07829
07869
07871
07887
07912
07915
07922
07939
07973
07974
07978
07982
07987
08000
8012

8018

8024

08151
08190
08357
08369
08371
08372
08373
08374

BRIDGE ASSEMBLY
SHOE ASSEMBLY

WELDMENT, MAIN FRAME (853)
SPROCKET UNIT ASSY, #60 80T
POINTER

K O PNCH 2-1/2 X 4
DRIVER-PUNCH HYD 1/2X2 (7306)
PUNCH SET,HYD KNOCKOUT, SC
DRIVER,PUNCH HYD 1/2X4 (7310)
NEST, SPRING-DIA 1.38

ROD, SPRING-DIA .375
RETAINER, SPRING-DIA .750
CAM, PIVOT-DIA 1.062
CAM,RETAINING

SLEEVE-DIA .940

ROLLER-DIA 1.00

PIN, RELEASE

LOCK ASS'Y, CENTER (8060 DLX)
CHANNEL ASSEMBLY (5660L)
STOP, FLIP

SPRING, EXTENSION

FILTER

PUNCH SET,HYD KNOCKOUT (7506) SC
FOOT

PLUG, AIR VENT/FILL
DRIVER-PUNCH HYD KO (7625)
DRIVER-PUNCH HYD (7646)
WASHER, COPPER

VALVE, RELEASE

PIN

SPRING, HP

RING, SNAP

HANDLE

PISTON, UPPER

SPRING, L P

PISTON, LOWER

RING, SNAP

KIT, PACKING
CONTROL,ELECTRONIC

/0 ASSEMBLY

PENDANT CONTROL ASSEMBLY
POWERCORD ASSEMBLY
BLADE, REPLACEMENT

MOTOR, 230V

SWITCH UNIT, LOCKOUT (855)
SWITCH, DIRECTION-854 ABT UPGRADE
KIT,UPGRADE-854 DIRECTION SWITCH
BLADE (865)

SPRING, PRESSING (865)
SPRING, RATCHET (865)
PULLER, CABLE (6800)

SHEAVE ASSY,HOOK-12" (8012)
SHEAVE UNIT-HOOK 18" (8018)
SHEAVE ASSY, HOOK-24" (8024)
PCA,SELECTOR SWITCHES
BLOCK,LOCATOR (853)

PGU3 ASSEMBLY

CLAMP, INDUCTIVE "U"
RECEIVER

GROUND ROD

CABLE SET

CASE, CARRY

$2,930.54
$3,912.08
$1,665.92
$579.88
$31.92
$1,280.02
$1,518.14
$1,693.30
$2,559.22
$52.42
$40.74
$17.70
$21.90
$55.36
$10.50
$15.74
$4.82
$357.00
$609.00
$32.12
$7.62
$13.08
$2,610.14
$130.74
$9.80
$1,997.54
$1,225.04
$7.88
$95.76
$9.86
$7.88
$9.48
$44.78
$126.00
$16.80
$83.68
$9.98
$17.28
$1,579.90
$578.82
$395.56
$104.36
$18.20
$1,406.16
$258.78
$155.82
$83.08
$117.06
$8.62
$12.28
$6,197.58
$417.78
$764.06
$1,100.52
$295.54
$47.94
$876.54
$171.74
$748.26
$61.52
$72.46
$161.68



08377
08379
08380
08382
08426
08427
08428
08429
08430
08431
8600

9501

9502

9505

9510

9516

9517

9520

9522

9525

09907
09908
09910
09924
10001
10006
10009
10011
10012
10013
10014
10015
10024
10027
10035
10036
10050
10051
10052
10054
10057
10058
10098
10124
10135
10136
10137
10138
10164
10184
10212
10213
10215
10216
10217
10219
10235
10250
10251
10254
10255
10256

PUNCH,PLUMBER'S
DIE (DIA 2.625)

DECAL, LIFTING PROPER

STANDOFF (713)

KIT, BOLT

BALLSTUD REPLACEMENT KIT (13MM)
BALLSTUD REPLACEMENT KIT(10MM)
UNDERCARRIAGE ASSEMBLY

AXLE

KEY,RETAINING

CUTTER,CONDUIT (8600 PKGD)
CADDY,SPOOL (9501)

CADDY ASSY,HAND (9502)
CADDY,HAND TRUCK (9505)
CADDY,DELUXE A FRAME MOBILE (9510)
CADDY,10 REEL (9516)

CADDY,6 REEL (9517)

CADDY,DATA (9520)
DISPENSER,CABLE-COLLAPSIBLE HANGING (PKG
BASKET,CADDY-STUD MOUNT (9525)
BLADE,FIXED

BLADE,MOVABLE

PLATE,OUTER

SPRING,RATCHET PAWL
LEVER,HAND PUMP (767-A-M2)
COVER,ENDBELL

DOWEL (.312 DIAX.625)

PLATE

DECAL, IDENTIFICATION

DECAL, WARNING

FLOOR MOUNT, UT4

UT4 BOOM KIT-LONG

HANDLE ASSY, RIGHT (SERVICE)
HANDLE UNIT-CONTROL (940 & 960)
LEG ASSEMBLY

HEAD,PULLER

KEEPER

CASE/HANDLE KIT,REPLACEMENT 8-1/2"
CASE/HANDLE KIT,REPLACEMENT 12"
BLADE-AC

CLIPALLIGATOR

COUPLING KIT,HOSE - QUICK CONNECT
PIN-.625X1.75 DRIVE (790)

DECAL KIT (PISTOL TYPE)
KIT,PLANETARY GEAR BOX

KIT,RING GEAR

KIT,TRANSFER GEAR

KIT,MOTOR & GEAR
MOUNT-MONITOR

BUSHING

TOWER ASSEMBLY,TRUNNION-LH
CASE,HSS CUTTER

TOWER ASSEMBLY, TRUNNION-RH
BASE & TRUNION SERVICE KIT

BASE ASSEMBLY,PAINTED

SWITCH & HARNESS ASS'Y (854 SIG.)
WIRE UNIT ASSY, UNLOAD LOCKOUT
CASE,SLIP-IN APPLICATORS
CASE,THREADED APPLICATORS
SPACER, .203 X .50 X .179
SCREW-CAP 5/16-18X1.50 HEX HD
DECAL, IDENTIFICATION

$246.04
$107.00
$6.44
$21.26
$24.42
$12.46
$11.90
$762.58
$59.84
$60.90
$55.30
$96.88
$54.14
$421.70
$555.64
$1,706.78
$944.58
$152.44
$40.38
$203.74
$133.00
$137.40
$20.82
$3.92
$79.24
$4.82
$3.14
$102.66
$15.62
$10.02
$254.82
$568.40
$142.40
$209.92
$282.64
$2,312.54
$79.60
$39.06
$48.86
$27.72
$41.08
$30.80
$67.06
$61.60
$242.92
$95.74
$13.34
$146.64
$190.70
$3.62
$313.32
$37.96
$250.94
$1,175.02
$721.56
$134.74
$30.44
$89.60
$89.60
$7.48
$3.50
$32.20



10263
10266
10267
10270
10274
10299
10330
10331
10342
10361
10378
10383
10384
10386
10387
10388
10389
10391
10392
10393
10419
10453
10462
10466
10467
10477
10497
10498
10521
10524
10526
10528
10531
10533
10537
10550
10553
10557
10558
10565
10576
10578
10587
10588
10590
10592
10595
10602
10609
10611
10616
10618
10620
10621
10625
10626
10630
10631
10637
10638
10639
10641

DECAL, LID LINER
HOUSING KIT (ES85-11)
GEARBOX, PLANETARY

CORD UNIT ASSY,POWER
YOKE,MACHINED (E12CCX)
SWITCH KIT,UPGRADE (855 SERVICE)
CLAMP, INDUCTIVE
TRANSMITTER (BLL-200T)
RECEIVER (BLL-200R)
SCREW-JAM 7/16-14X.218 SKT
PAINT, TOUCH UP-STORAGE BOX
DRIVER ASSY,QUICKDRAW-FLEX (7704)
RAM (7704)

COUPLER, RAM (7704)
RETAINER, SPRING (7704)
RETAINER, COUPLER (7704)
BLOCK ASSY, PUMP (7704)
CASE (7704)

HOSE (7704)

COVER, HOSE (7704)

PUNCH, BX STUD (724)

HOOK, EZ-REACH PKG. (SERV. ONLY)
EXPANDER KIT (10462)
HANDLE ASS'Y, C-HEAD

PIN KIT

REPAIR KIT, HYDRAULIC (7704)
NOSE, HOOK (PKGD)

NOSE, BULLET (PKGD)

LEVER, REVERSE

LINK
PLATE,HANDLE-STATIONARY
PAWL,HOLDING

PLATE, HANDLE-RIGHT

PLATE, HANDLE-LEFT

PAWL, SPEED

CAGE SERVICE KIT

HANDLE ASSEMBLY(774)
CASTER,8" W/SIDE LOCK
PLUG, ROUND

REPAIR KIT .175 FIBERGLASS
HOLDER, BALL

SCREW, SPRING-ANCHOR
DRIVER, SPRING-CENTER
CASE,BATTERY CUTTER
SCREW

RAM

SCREW, SPRING-ANCHOR
RETAINER, HOLDER

PIN

SWITCH, RELEASE

WIRE, CONNECT

BOX, METAL (GREENLEE GREEN)
KIT,STUD

KIT,PIVOT

PIN, REVERSE LEVER

BOLT KIT (773,774 SERVICE)
SPRING, TORSION

PAWL, DRIVE UNIT
COVER,CONTROL BOX
BASE,CONTROL BOX

METER

POWER SUPPLY, SWITCHING

$7.38
$53.20
$80.78
$74.06
$688.28
$185.50
$120.90
$1,488.68
$757.60
$3.50
$38.84
$997.60
$227.94
$108.80
$64.20
$64.04
$179.24
$71.58
$76.40
$20.24
$48.42
$8.32
$222.02
$337.66
$53.60
$92.06
$14.00
$7.84
$25.08
$7.84
$6.72
$65.42
$23.88
$23.88
$23.88
$161.00
$105.42
$117.32
$5.78
$32.90
$26.20
$3.84
$175.00
$41.22
$12.34
$405.66
$6.18
$259.12
$7.72
$12.34
$17.72
$257.70
$15.42
$17.58
$11.20
$25.20
$4.20
$39.80
$19.66
$18.78
$186.38
$95.68



10642
10644
10645
10646
10647
10648
10649
10650
10651
10652
10653
10654
10655
10656
10657
10661
10662
10665
10666
10667
10671
10672
10673
10674
10675
10676
10677
10681
10682
10684
10685
10686
10692
10693
10694
10695
10696
10701
10704
10707
10711
10712
10713
10720
10721
10723
10730
10760
10761
10777
10800
10807
10809
10810
10826
10864
10868
10869
10870
10873
10874
10875

SWITCH,TOGGLE

21CAPACITOR UNIT

WIRE UNIT,Control Board to Motor Conn
WIRE UNIT,Control Board to Motor Conn
WIRE UNIT,Ground to Motor Connector
WIRE UNIT,Control Board to Rectifier DC+
WIRE UNIT,Control Board to Rectifier DC-
WIRE UNIT,Circuit breaker to Amp meter
SWITCH ASSY

WIRE UNIT,Control Board to DC Supply & F
TAPE-DOUBLE SIDED BOND

BOOM WELDMENT

LEG WELDMENT

LEG WELDMENT, TELESCOPING
FOOT WELDMENT

SPRING-EXT 1.70X2.33X16.6 (1737)
RETAINER-SPRING

HANDLE KIT,MOVABLE (773 SERVICE)
HANDLE KIT,STATIONARY (773 SERVICE)
HEAD,CUTTER (773,774 SERVICE)
HANDLE KIT,MOVABLE (774 SERVICE)
HANDLE KIT,STATIONARY (774 SERVICE)
BAR,CRASH

GEAR MOTOR ASSEMBLY
HOLDER,IM

SHAFT KIT (BOOM)

PIN KIT (BOOM)

RECEPTACLE

DECAL,115V DC

NOSE WELDMENT

ARM WELDMENT,RIGHT

ARM WELDMENT,LEFT

CAM

SCREW KIT

PIN KIT (NOSE UNIT)

NOSE ASSEMBLY

PIVOT WELDMENT
TUBE,TELESCOPIC

STRAIN RELIEF,HEYCO 1852
SWITCH,FOOT

CORD,POWER

SWITCH,CIRCUIT BREAKER
SCREW,SLOTTED-RD HD (#6-32X.250)
SCREW-MACH #10-24X.750 RD HD
NUT-HEX #10-24 LOCK ZINC PLATE
SCREW-CAP #6-32X.750 SKT BTN HD
DECAL,ON-OFF

DECAL,CRIMP CHART

SPRING-COMP .153X.203X.440 (769B)
LID ASSY,UPPER & LOWER
PUNCH/DIE KIT, 1/2-2" CONDUIT
PUNCH UNIT ASSY, 1 7/32 (30.5MM)
BLADE ASSY (SERVICE 773, 774)
BLADE ASSY (778 SERVICE)
PIN-.250X3.25 ADAPTER (747)
PIN,RETAINING .247X.468 (BR 3-1241)
PIN, SPRING

SCREW

COVER, RING

DIE SET,22-10 AWG,INSULATED TERMINALS
DIE SET,22-10 AWG,UNINSULATED TERMINALS

DIE SET,26-8 AWG WIRE FERRULES

$40.60
$53.46
$24.20
$24.20
$24.56
$5.06
$5.06
$5.06
$39.00
$12.28
$1.44
$245.62
$169.04
$222.50
$192.16
$312.82
$150.56
$89.60
$128.80
$437.72
$154.00
$87.58
$53.46
$3,045.64
$27.46
$180.24
$52.00
$13.72
$2.88
$325.08
$176.26
$176.26
$32.88
$56.34
$34.32
$801.86
$278.86
$362.64
$6.50
$127.14
$48.40
$69.36
$2.80
$2.80
$2.80
$0.72
$2.88
$48.82
$22.40
$871.42
$418.88
$97.06
$151.22
$249.20
$33.88
$92.46
$2.94
$0.88
$25.20
$117.42
$121.12
$117.42



10876
10877
10907
10909
10917
10918
10919
10920
10921
10922
10923
10924
10925
10939
10946
10963
10991
10992
11037
11072
11075
11089
11105
11107
11122
11126
11132
11145
11146
11147
11152
11163
11170
11178
11179
11180
11194
11195
11196
11197
11198
11199
11201
11202
11251
11253
11254
11256
11281
11282
11286
11289
11301
11302
11306
11307
11309
11316
11317
11321
11322
11335

DIE SET,RG58/59/62/71
DIE SET,20-10 AWG,0OPEN BARREL CONNECTORS
INDENTOR, CRIMP (1981)

NEST, CRIMP (1981)

SHOE-BENDING 1/2"IPS (883,880,884)
SHOE-BENDING 3/4 IPS (883,880,884)
SHOE-CONDUIT 90-DEG (880)
SHOE-CONDUIT 1-1/4" 90-DEG (880)
SHOE-CONDUIT 1-1/2" 90-DEG (880)
SHOE-CONDUIT 2" 90-DEG (880)

90 COND SHOE 2-1/2

90 COND SHOE 3

90 COND SHOE 3-1/2

ADAPTER-SHOE (777-C)

PIN-.334X3.75 LARGE ADAPTER (884)
PIN-.925X4.25 2-1/2 -4 IPS SHOE
HOUSING KIT

HEAD,CUTTER (778 SERVICE)

NUT, PLUG

SADDLE-BENDER 1-1/2"EMT (TU-G8)
SADDLE-BENDING 1-1/4"EMT (EMT-G7)
FOLLOW BAR-BENDER 2"EMT
HEAD,CRIMP (E12CCX)

EMT FOLO BAR 1-1/2

PISTON (E12CCX)

EMT FOLO BAR 1-1/4

SHOE-BENDER 2"EMT

MOUNT ASSEMBLY, BOOM
SHOE-BENDING 1-1/4"EMT
ACCESSORY PKG, PULLER (11147)
TRAY WELDMENT

ROLLER,STR (1.01X2.50X4.50)(EMT-G4)
TOOL, DEBURR

GEAR, SUN-1ST REDUCTION (6501)
GEAR, PLANET-1ST REDUCTION (6501)
CUTTER SET (POP)

HUB (6501)

PLATE, HUB-1ST REDUCTION (6501)
MOTOR (6501)

SHAFT, CENTER (6501)

GAUGE UNIT ASSY, FORCE (6501)
GEARMOTOR, PULLER (6501)

METER (11198)

SPRING-COMP .183X.253X1.12 (1770)
SPRING,COMPRESSION-1.00X1.40X3.68 (746)
RETAINER-SPRING

BLADE SET (1 MOVABLE/1 STATIONARY)
BLADE SET (773, 774)

BLADE UNIT, W/BOLTS (BC14)
ADJUSTMENT ASSEMBLY (BC14)
WASHER-FLAT .439X.606X.439 TFL
HOSE UNIT-3/8X6' W/COUPLERS 2-M
BLADE UNIT, W/BOLTS (BC18)
ADJUSTMENT ASSEMBLY (BC18)
BLADE UNIT, W/BOLTS (BC24)
ADJUSTMENT ASSEMBLY (BC24)
HANDLE, RIGHT W/BOLTS (BC24)
BLADE UNIT, W/BOLTS (BC30)
ADJUSTMENT ASSEMBLY (BC30)
BLADE UNIT, W/BOLTS (BC36)
ADJUSTMENT ASSEMBLY (BC36)
BLADE UNIT, W/BOLTS (BC42)

$122.36
$139.66
$30.40
$34.46
$99.96
$99.96
$157.98
$218.96
$293.22
$392.14
$856.58
$1,216.24
$1,701.56
$176.04
$41.30
$115.22
$54.60
$490.00
$68.04
$123.96
$77.14
$659.96
$609.58
$573.86
$272.70
$359.66
$637.56
$1,204.42
$316.04
$4,522.28
$64.74
$101.42
$27.44
$217.00
$89.74
$21.52
$261.16
$77.02
$1,432.96
$93.30
$805.34
$5,388.34
$193.60
$60.20
$8.52
$40.24
$262.70
$262.70
$57.96
$7.70
$6.08
$295.12
$67.64
$10.08
$94.70
$16.06
$48.28
$130.42
$18.48
$164.24
$24.64
$226.20



11336
11337
11338
11342
11344
11346
11348
11357
11367
11372
11374
11375
11376
11397
11426
11427
11445
11460
11583
11584
11585
11657
11662
11716
11762
11763
11764
11765
11766
11767
11768
11783
11784
11789
11790
11791
11837
11841
11845
11851
11855
11856
11862
11903
11904
11917
11987
12002
12062
12079
12084
12085
12086
12087
12097
12099
12130
12146
12185
12214
12274
12277

ADJUSTMENT ASSEMBLY (BC42)
HANDLE, LEFT W/BOLTS (BC42)
HANDLE, RIGHT W/BOLTS (BC42)
BLADE UNIT, W/BOLTS (HDBC24)
BLADE UNIT, W/BOLTS (HDBC30)
BLADE UNIT, W/BOLTS (HDBC36)
BLADE UNIT, W/BOLTS (HDBC42)
PUNCH, BUSTER-1-7/32 SC

BLADE UNIT, W/BOLTS (HDFBC18)
TEST LEADS, REPLACEMENT (CMT-80)
BUTTON-TENSION (1800)

HANDLE, LEFT W/BOLTS (HDFBC24)
HANDLE, RIGHT W/BOLTS (HDFBC24)
BLADE ASS'Y ( 776 SERVICE)
NOSE,WISP (PKGD)

ROD,GLO STIX REPLACEMENT (5 PAK)
DECAL, IDENT (CT-2981 PAND)
SERVICE KIT, SCREW GUIDE
ROD,REPLACEMENT-4' FISHSTIX
ROD,REPLACEMENT-6' FISHSTIX
ROD,REPLACEMENT-3' GLO STIX
DECAL, CENTER CRIMP

SWITCH KIT,LOCKOUT (SERVICE)
FOLLOWER,OIL (768)

PAWL KIT (761)

SCREW KIT, PIVOT (761)

FASTENERS KIT, FRAME (761)

.KNOB KIT, LEVER-RATCHET (761)
HANDLE KIT (761)

BLADE, FIXED (761)

BLADE, MOVABLE (761)

RING-SPLIT 1/2" (1732)

SPRING, COIL (761)

ADAPTER-DIE 3/4-10X1.87 (1732)
ADAPTER-DIE 3/4-10X.750 (1732-M2)
ADAPTER-DIE 3/4X3/8 (1732)

LOCK KIT,ADAPTER
CHARGER,BATTERY-110V (FF) 14.4
CASE,CABLE CUTTER

BATTERY, 14.4V (ES85)

RACE-OUTER
CHARGER,BATTERY-220V (FF) 14.4
PLUG,PLUNGER-HI PRESS (5/8-18) 1719
C'FRAME

SPRING-EXT .820X1.11X5.00 (1732)
CUTTER WHEEL, REPLACEMENT (PKGD)
BLADE KIT (ES85-11)

BOX,FORCE GAUGE (07120)
ADAPTER W/MOLEX PLUG
C'FRAME-PUNCH (1731-M3)
SPRING,TENSION (.820X1.11X2.68) (1731)
DIE-RD 1.000 CONDUIT (1731)

DIE-RD .750 CONDUIT

DIE-RD .500 CONDUIT (1731)
SCREW,ADAPTER 3/8-24X5/8-18X3.06
SCREW,ADAPTER 3/4-16X5/8-18 (1904)
COLLAR-2.75X3.37X.960 (1732-M2)
SLEEVE ASSY,BALL BEARING (1804)
SPACER

DECAL-CAUTION

STRAP, CARRYING

ANCHOR KIT DISPLAY,CONICAL-10 PAK

$37.24
$108.14
$122.56
$137.20
$193.18
$222.30
$272.48
$45.76
$69.56
$27.42
$33.24
$93.72
$100.94
$230.78
$17.50
$24.26
$33.64
$103.60
$29.48
$33.76
$30.44
$30.06
$57.60
$91.14
$56.14
$27.38
$42.12
$23.34
$211.74
$185.00
$187.22
$143.70
$4.54
$236.52
$100.94
$167.60
$139.92
$104.18
$52.42
$252.02
$135.24
$104.18
$44.10
$2,135.82
$65.56
$12.50
$1,750.00
$104.02
$13.58
$965.06
$35.60
$50.20
$50.20
$50.20
$25.50
$34.16
$193.84
$863.96
$140.42
$5.52
$43.60
$18.70



12292
12298
12302
12303
12304
12305
12306
12307
12308
12309
12310
12311
12312
12313
12314
12315
12316
12335
12336
12337
12338
12339
12340
12341
12342
12343
12344
12345
12346
12347
12348
12349
12350
12351
12352
12353
12354
12355
12356
12357
12358
12359
12360
12361
12367
12373
12431
12454
12456
12457
12473
12474
12475
12548
12550
12551
12553
12574
12575
12580
12581
12582

RIGHT HANDLE KIT (758)
BATTERY

DIE,RD 1-3/8 (POP)
PUNCH,RD 1-3/8 (POP)
PUNCH UNT-1-3/8" (POP)
DIE,RD 3/4 (POP)
PUNCH,RD 3/4 (POP)
PUNCH UNT-3/4" (POP)
PUNCH UNT-1-1/4" (POP)
PUNCH,RD 1-1/4 (POP)
DIE,RD 1-1/4 (POP)
DIE,RD 1-1/2 (POP)
PUNCH,RD 1-1/2 (POP)
PUNCH UNT-1-1/2" (POP)
DIE,RD 1-3/4 (POP)
PUNCH,RD 1-3/4 (POP)
PUNCH UNT-1-3/4" (POP)
PUNCH UNT-11/16" (POP)
DIE,RD 11/16 (POP)
PUNCH,RD 11/16" (POP)
PUNCH UNT-15/16" (POP)
DIE,RD 15/16 (POP)
PUNCH,RD 15/16 (POP)
PUNCH UNT-1-1/16" (POP)
DIE,RD 1-1/16 (POP)
PUNCH,RD 1-1/16 (POP)
PUNCH UNT-1-5/16" (POP)
DIE,RD 1-5/16 (POP)
PUNCH,RD 1-5/16 (POP)
PUNCH UNT-1-5/8" (POP)
DIE,RD 1-5/8 (POP)
PUNCH,RD 1-5/8 (POP)
PUNCH UNT-1-7/8" (POP)
PUNCH UNT-2-1/4" (POP)
DIE,RD 1-7/8 (POP)
DIE,RD 2-1/4 (POP)
PUNCH,RD 1-7/8 (POP)
PUNCH,RD 2-1/4 (POP)
PUNCH UNT-1/2" (POP)
PUNCH UNT-9/16" (POP)
DIE,RD 1/2 (POP)

DIE,RD 9/16 (POP)
PUNCH,RD 1/2" (POP)
PUNCH,RD 9/16" (POP)
RAM

CORD,POWER

BLADE KIT,STATIONARY

PAINT, DeWALT YELLOW (SINGLE CAN)

SPACER, .531X1.181X.010
DECAL, GREENLEE

SPRING,TORSION (E12CCX)

PIN,PIVOT (E12CCX)
RECEPTACLE,CE APPV
FLANGE

WASHER-THRUST .781X1.36X.345 (1804)
COLLAR-STOP .950X1.24X.312 (1804)

SLEEVE
FRAME KIT, SERVICE (855)
FRAME KIT,SERVICE (855)

SHOE GROUP, 1/2"-2", RIGID-EMT(555CX/DX)
SHOE GROUP, 1/2"-2" PVC RIG (555CX/DX)
SHOE GROUP, 1/2"-2" PVC RIG (855GX)

$161.50
$117.60
$22.22
$59.24
$97.78
$14.38
$34.36
$56.12
$97.78
$59.24
$22.22
$29.34
$59.24
$101.18
$31.38
$59.24
$101.18
$56.12
$14.38
$34.36
$65.04
$14.38
$39.40
$65.04
$16.38
$39.40
$97.78
$22.22
$59.24
$101.18
$31.38
$59.24
$108.80
$127.36
$34.92
$53.68
$68.28
$89.28
$56.12
$56.12
$17.24
$17.24
$34.26
$34.26
$252.34
$69.36
$377.46
$49.00
$3.98
$17.52
$5.62
$19.24
$30.80
$24.56
$36.16
$113.74
$548.74
$3,684.66
$2,780.96
$4,185.24
$3,194.02
$3,711.92



12583
12584
12599
12616
12622
12656
12663
12667
12668
12669
12670
12720
12724
12728
12746
12747
12748
12749
12750
12751
12752
12753
12754
12755
12756
12757
12758
12759
12760
12761
12762
12763
12764
12765
12766
12767
12768
12769
12770
12771
12772
12773
12774
12775
12776
12777
12778
12782
12784
12794
12849
12850
12851
12852
12853
12854
12914
12917
12920
12922
12939
12944

ROLLER UNIT, 1-1/2"-2" EMT SGL(555CX/DX)
ROLLER UNIT, 1-1/2"-2" IMC SGL(555CX/DX)

COVER,SPRING (774)
MOTOR,ELECTRIC-120V (6001)
SCREW,SKT BTN HD (#10-24X.500)
HOSE,EXTENSION 20 FT (ULTRA GLIDER)
HANDLE-LIFTING (1721-M4) PAINTED
LATCH (E12CCX)

SEALKIT

DECAL,IDENTIFICATION
DECAL,WARNING

ROD,SUPPORT (1807)

RAM

YOKE

PIN KIT,SHORT YOKE

PIN KIT,LONG YOKE

DOLLY ASSLEMBLY (SERVICE PART)
BATTERY BOX (SERVICE PART)
WHEEL KIT

WHEEL CAP KIT

HOSE KIT

PLATE,FOLLOWER (SERVICE PART)
LID AND CAGE KIT

LID KIT

SIGHT GLASS KIT

CAGE KIT

THUMB SCREW KIT

PRESSURE GAUGE AND FITTING KIT
GEARBOX KIT

MOTOR GEAR KIT

PUMP SEAL KIT

AUGER KIT

MOTOR KIT,AC

MOTOR KIT,DC

MOTOR BRUSH KIT,AC

BATTERY PACK (SERVICE PART)
CHARGER,BATTERY (SERVICE PART)
MOTOR BRUSH KIT,DC

CONTROL ASSEMBLY,DC (SERVICE PART)
CONTROL ASSEMBLY,AC (SERVICE PART)
SWITCH,FOOT (SERVICE PART)
CORD,POWER AC (SERVICE PART)
CORD,POWER DC (SERVICE PART)
MOTOR RING KIT,AC

MOTOR RING KIT,DC

DECAL KIT,CAUTION

DECAL KIT,BATTERY

BRUSH KIT,3" APPLICATOR

BRUSH KIT,4" APPLICATOR

HOUSING SET,ARMATURE/MAGNET-SERVICE PART

TRANSMITTER (CS-8000)
RECEIVER (CS-8000)
CASE,CARRY (CS-8000)
PIGTAIL,AC (CS-8000)
EXTENSION,TEST LEAD-12"
BLOCK-CYLINDER PIVOT (800)
CROSSBAR UNIT
GUARD-RIGHT OUTER
ROD,REPL-3/16 X 20" GLO STIX
ROD,REPL-5/32 X 4' GLO STIX
CASE,CARRY

SPACER (.410X.62X.187)

$1,603.00
$1,645.00
$13.42
$1,415.90
$2.80
$154.00
$42.62
$377.54
$123.28
$46.20
$46.20
$44.10
$269.24
$476.00
$58.80
$58.80
$371.00
$92.40
$61.60
$13.30
$89.60
$120.40
$168.00
$81.20
$21.00
$96.60
$6.30
$100.80
$1,001.00
$342.96
$30.80
$126.00
$506.80
$506.80
$88.20
$456.40
$203.00
$422.80
$222.60
$260.40
$134.40
$40.60
$95.20
$119.00
$81.20
$4.20
$12.60
$16.80
$26.60
$1,008.14
$431.16
$959.78
$147.20
$65.58
$50.34
$148.82
$95.36
$56.34
$18.84
$22.36
$108.14
$4.26



12945
12959
13114
13122
13140
13141
13142
13190
13193
13208
13209
13210
13211
13219
13220
13222
13223
13227
13229
13230
13232
13252
13261
13262
13263
13264
13265
13266
13267
13268
13269
13270
13271
13272
13276
13277
13280
13281
13283
13337
13382
13496
13544
13545
13546
13577
13679
13794
13795
13796
13797
13798
13799
13800
13813
13814
13851
13852
13855
13856
13862
13863

NUT,LOCK (5/16-18)

CORD ASSEMBLY

GRIP

DECAL, WARNING/DANGER

LEVER UNIT (SERVICE)
HANDLE,STEEL (SERVICE)
HANDLE,ALUMINUM (SERVICE)
PLATE (E12CCX)

SUPPORT,PIPE

SHOE,BENDING 2-1/2" CONDUIT (777)
SHOE,BENDING 3" CONDUIT
SHOE,BENDING 3 1/2" CONDUIT
SHOE,BENDING 4" CONDUIT
SPRING-EXT 1.44X1.94X9.25 (1736)
RETAINER-SPRING

SHAFT-LOCKING .436X8.75 (777)
PIN,SUPPORT-FRAME (.999X5.96) (777)
PISTON (1736)

CYLINDER-HYD 27T (1736)

PIN UNIT-1.00X8.50 (777)

FRAME UNIT,BENDER (777)

PIN UNIT-CYL BLOCK .875X8.06 (1736)
PIN-.153X1.18 1/2 COND PILOT (1731)
PIN-.183X1.12 3/4 COND PILOT (1731)
SPRING-COMP .184X.242X.815 (1731)
PISTON (1731)

CYLINDER-HYD (1731-M3)
ADAPTER-PUNCH 1/2 CONDUIT (1732)
ADAPTER-PUNCH 3/4-16X.685 (1731)
ADAPTER-PUNCH 3-1/2 & 4 COND (1732)
PISTON UNIT ASSY (1731-M2)
PISTON-HYD (1732-M2)
CYLINDER-HYD (1732-M2)

PISTON UNIT-HYD (1732-M2)
ADAPTER UNIT-PUNCH 1/2"COND (1731)
ADAPTER UNIT-PUNCH 3/4 & 1 CONDUIT
WASHER-FLAT .445X.785X.062 COPPER
BLOCK-PUMP (767)

NUT-INJECTOR PKG 7/8-16 (767)
SPRING-COMP .352X.648X1.75

BOX, METAL-STORAGE (777,782)
WASHER-FLAT .321X.460X.040 NYLON
BLADES,REPLACEMENT (1903)
HOOK,REPLACEMENT-SMALL
HOOK,REPLACEMENT-LARGE

RAM UNIT,HYD (1732-M2)

PIN UNIT-.750X6.37 SUPPORT (880)
PACKING KIT-REPAIR (747)

PACKING KIT-REPAIR (747-M2)
PACKING KIT-REPAIR (747-M3)
PACKING KIT-REPAIR (748)

PACKING KIT-REPAIR (1708)

PACKING KIT-REPAIR (1736)

PACKING KIT-REPAIR (767-A)
PACKING KIT,REPAIR (1731-M2)
PACKING KIT,REPAIR (1732-M2)

FORM ROLLER ASSY, EMT SGL (555CX/DX)
FORM ROLLER ASSY, IMC SGL (555CX/DX)
ROLLER ASSY,1/2"-1-1/4# PVC RIG (855GX)
FORM ROLLER ASSY, IMC COMBI (555CX/DX)

ROLLER ASSY, EMT-IMC TAIL (555CX/DX)
CAP KIT, MOTOR

$16.84
$203.00
$7.70
$2.80
$98.44
$73.00
$73.00
$92.56
$483.00
$260.74
$314.08
$399.76
$466.34
$114.94
$109.96
$27.64
$84.20
$726.52
$1,215.48
$358.68
$2,548.56
$146.30
$22.86
$24.08
$9.56
$392.62
$345.36
$113.74
$129.60
$168.96
$404.48
$896.52
$1,007.70
$941.40
$116.00
$141.38
$7.34
$515.68
$41.60
$21.00
$684.88
$8.56
$51.80
$21.00
$22.40
$2,137.50
$127.18
$120.68
$86.10
$58.72
$31.28
$33.74
$51.44
$75.46
$33.98
$30.04
$1,416.80
$1,458.80
$725.20
$1,458.80
$407.40
$38.84



13864
13865
13866
13867
13868
13869
13870
13871
13872
13873
13874
13875
13876
13877
13878
13879
13880
13881
13882
13883
13884
13885
13886
13887
13888
13889
13890
13891
13892
13896
13897
13898
13899
13900
13901
13902
13903
13904
13905
13906
13907
13908
13909
13910
13911
13912
13913
13914
13915
13916
13917
13918
13919
13920
13921
13922
13923
13924
13925
13929
13930
13941

FRONT GUARD KIT, MAIN SPROCKET
SPROCKET KIT, GEARBOX OUTPUT
SPROCKET KIT, MAIN

PLATE KIT, ROLLER STOP

NUT-LOCK (766)

ADAPTER KIT, ROLLER

BASE KIT

AXLE KIT, WHEEL (555-SERIES)
REPLACMENT KIT, WHEEL

BOX KIT, CONTROL (555DX)

BOX KIT, CONTROL (555CX)

NUT-FLEX (766)

ASSEMBLY KIT, CONTROL BOARD (555DX)
ASSEMBLY KIT, CONTROL BOARD (555CX)
SCREW KIT, GROUND

DECAL KIT (555DX)

DECAL KIT (555CX)

CORD KIT, POWER

LOCK SPR

LOCK CAM

BEARING KIT

LOCK

SPROCKET KIT, #40B60

SPROCKET KIT, #60BS14

GUARD KIT, REAR CHAIN
ADJUSTMENT KIT, SQUEEZE CAM
HANDLE KIT, REPLACEMENT
ENCODER KIT

PULY

IDLER KIT, CHAIN

REAR GUARD KIT, MAIN SPROCKET
BACK GUARD KIT, REAR CHAIN
GUARD KIT,TOP FRAME

PEDAL, ROLLER

LEVER ASSEMBLY, 1-1/4" - 1-1/2" SENSOR
LEVER ASSEMBLY, 2" SENSOR (855GX)
GUARD KIT, FRONT MAIN SPROCKET
SPROCKET KIT, MAIN

BASE KIT (855GX)

AXLE KIT, WHEEL (855GX)

BOX KIT, CONTROL (855GX)

LCD KIT

ASSEMBLY KIT, CONTROL BOARD (855GX)
DECAL KIT (855GX)

GUARD KIT, REAR CHAIN

SPRING KIT, ROLLER

REAR GUARD KIT, MAIN SPROCKET (855GX)
ROLLER ASSEMBLY KIT, 1-1/4"
ROLLER ASSEMBLY KIT, 1-1/2"
ROLLER ASSEMBLY KIT, 2"

HANDLE KIT, GRIP

ROLLERKIT, 1"

CAMKIT

ARM KIT, ROLLER

RELEASE KIT,PIVOT

GUARD KIT, SWITCH

STOP KIT, ROLLER

HARDWARE KIT, ROLLER

FUSE, 5 PACK

CAPSTAN SERVICE KIT (UT2)

SHOE GROUP, 1/2"-2" EMT (555CX/DX)
RELEASE KIT (7475H)

$88.62
$107.80
$865.20
$41.16
$1.70
$152.18
$361.20
$27.50
$123.20
$1,815.80
$1,409.80
$8.54
$1,645.00
$1,239.00
$5.88
$43.40
$43.40
$46.20
$3.42
$17.98
$151.20
$4.26
$145.60
$74.20
$61.46
$49.56
$124.60
$458.50
$18.78
$108.22
$58.80
$63.98
$20.02
$54.18
$95.90
$100.10
$77.98
$959.00
$1,461.60
$28.00
$2,366.00
$637.00
$1,995.00
$47.60
$78.40
$54.88
$61.04
$288.40
$502.60
$712.60
$50.12
$233.80
$17.92
$527.80
$417.48
$41.30
$71.96
$7.98
$65.80
$109.20
$3,097.00
$61.60



13942
13943
13944
13955
14037
14094
14167
14265
14279
14287
14552
14722
14861
14876
14900
14909
15000
15130
15131
15132
15135
15136
15137
15139
15145
15147
15149
15150
15151
15358
15362
15363
15364
15631
15644
15645
15646
15669
15671
15695
15701
15705
15708
15709
15721
15724
15725
15726
15727
15731
15732
15735
15736
15739
15741
15745
15746
15747
15750
15829
15832
15908

HANDLE KIT (7475H)
PLUNGER KIT (7475H)

PRESSURE RELIEF KIT (7475H)

SHR PIN

501457620MP .320X.600X2.00 (1810)
ROLLER-1.01X2.50X6.00 STR (782)
CAM UNIT (1811)

COND SHOE 4

SADDLE-BENDER 2"EMT
SHOE-BENDING 1-1/2"EMT

PACKING KIT,REPAIR (746)

DIE,RD .500 COND (22,4) (735)
PLATE,PUMP

SHAFT-ECCENTRIC

VENT UNIT-DRAIN COCK (798)

BOX, METAL-STORAGE (880,882)
PULLER,CABLE-5000 LB
CYLINDER,HYD (1738)

PISTON-12 TON RAM (1738)
SPRING,EXT (.820X1.11X8.43) (1738)
BAR-CONNECTING LOWER (882)
BAR UNIT-CONNECTING UPPER (882)
BRACKET,HINGE (882)
SPACER-HINGE (882)

YOKE-BENDER (882)

STUD,ANCHOR (5/8-11X3.06)(882)
BLOCK-CYLINDER (882-H)
PIN-.750X5.57 HINGE (882)

PIN, PISTON (.312X3.62) (882)
SHEAVE ASSEMBLY (649)

SHEAVE ASSEMBLY (6")

SHEAVE UNIT ASSY, PULLING 18" (652)
SHEAVE UNIT-24.00 W/BUSH (639)
RAM UNIT-HYD (1731-M3)

VALVE UNIT-CONTROL (940/960)
BLOCK, CONTROL VALVE (940/960-SA)
DIP-STICK UNIT

SHOE,BENDING SEGMENT 5"IPS (885)
PIPE SUPP

RESERVOIR (1721) PAINTED
GASKET,RESERVOIR (960)
SHAFT-VALVE CONTROL (960-SA)
CORD UNIT ASSY, POWER
SHAFT,OUTPUT

CAP-END (755)

LEVER-INJECTOR (755)
PLUNGER-PRESS (755)

LINK-LEVER (755)

NUT-INJECTOR 1-12 (755)

HANDLE, 3/4 PIPE 21.37 LG (755)
BLOCK UNIT-PUMP (755)
PIN-.311X1.87 FULCRUM (755)
WASHER, SEALING

CHAIN-ROLLER #40 X66P LG (640)
GUARD-CAPSTAN

CHAIN-ROLLER #35 X68P LG (640)
SPROCKET-#35 10T T-B 5/8-161D (640)
GUARD-PRIMARY DRIVE (640)
BAR-CLAMP MOTOR (640)

PIN UNIT-CYL BLOCK (50040715)
DECAL-ARROW (18 DECALS/15832 SHEET)
SPACER UNIT

$81.20
$114.80
$57.40
$5.98
$12.04
$330.88
$272.08
$2,245.90
$109.12
$529.20
$35.90
$13.28
$213.98
$433.78
$42.76
$854.98
$6,124.04
$657.02
$438.96
$68.76
$500.78
$432.04
$129.84
$98.76
$288.18
$47.88
$732.54
$77.34
$34.64
$347.66
$150.88
$774.48
$1,003.20
$999.30
$895.30
$454.72
$95.90
$904.18
$590.58
$1,116.84
$13.86
$240.30
$66.50
$264.50
$138.88
$240.66
$65.80
$61.52
$41.02
$100.16
$614.88
$28.56
$11.26
$98.16
$126.96
$63.12
$56.82
$270.08
$30.74
$76.92
$7.14
$62.84



16135
16141
16250
16251
16252
16266
16267
16309
16313
16416
16563
16608
16634
16642
16646
16667
16669
16741
16742
16745
16747
16749
16753
16782
16783
16784
16785
16786
16794
16797
16798
16799
16800
16801
16802
16829
16854
16856
16857
16858
16859
016997
17093
17095
17130
17131
17135
17136
17205
17256
17257
17266
17299
17308
17310
17311
17323
17324
17325
17327
17370
17453

WASHER-FLAT .228X.311X.045 (1714)
SPRING-COMP .194X.214X.500 (1725)
PISTON-15 TON RAM (747)
CYLINDER-HYD (747)
BLOCK-CYLINDER (747)

PISTON-HYD (1737)
CYLINDER,HYDRAULIC (1737)
SPRING-COMP .210X.300X1.62 (640)
WASHER, FIBER (.312X1.750X.032)
SADDLE-BENDER 1-1/2"0D (770-TU)
FRAME UNIT-BENDER (882)
PLUNGER-VALVE .432X.937 (1700)
BOX,METAL (1731)

BAND-RUBBER 7.00LG .62W .062THK
WASHER,ADAPTER-5-6" CONDUIT,2.X7X.60
GASKET-TANK COVER (690)
BALL-RUBBER 2.50 DIA. (690)
ADAPTER,SHOE (885)

PIN-1.50X6.98 SUPPORT (885)
BLOCK,CYLINDER (1737)

PIN UNIT-SUPPORT (50167480)
SHAFT-LOCKING .500X10.37 (885)
PIN UNIT-CYL BLOCK (50167448)
BUSHING-EXTENSION 2" (682)
BUSHING-EXTENSION 2 1/2" (682)
BUSHING-EXTENSION 3" (682)
BUSHING-EXTENSION 3-1/2" (682)
2USHING-EXTENSION 4" (682)
SPROCKET-#40 60T T-A 2.25ID (640)
PIN UNIT-.749X7.00 SHEAVE (650)
BEARING-BRONZE .761X1.00X1.37 FLNG
FRAME UNIT-SHEAVE YOKE (650)
FRAME UNIT-SHEAVE YOKE (651)
FRAME UNIT-SHEAVE YOKE (652)
FRAME UNIT-SHEAVE YOKE (653)
WASHER-FLAT .224X.329X.085 TFL
SPREADER,LUBE-2" (16854)
SPREADER,LUBE-2.5" (16856)
SPREADER,LUBE-3" (16857)
SPREADER,LUBE-3.5" (16858)
SPREADER,LUBE-4" (16859)
DECAL-CERTIFICATION
PISTON,HYDRAULIC (746)
CYLINDER,HYDRAULIC (746)
PLATE-TOP

PLATE-BOTTOM

VANE-PUMP (960,940,1720)

ROTOR

LINER-CYLINDER (1737)

PIN UNIT-SHEAVE .750X9.00 (631/ETC)
FRAME UNIT-YOKE

PIN UNIT-SHEAVE (50251651)

FRAME UNIT-SHEAVE YOKE (639) SERVICE
FRAME UNIT-PIPE ADAPTER (685)
ARM-LH EXTENSION

ARM-RH EXTENSION

PIN UNIT-.749X6.75 SHEAVE (658/659)
BOLT,CARRIAGE-7/16 X 3.00
NUT-WING (658)

BAR-CLAMP (658)
SPREADER,LUBE-5" (17370)
DRAWSTUD (3/4-16X3/4-16 X3.50)

$3.08
$17.22
$672.28
$212.58
$185.14
$2,630.32
$2,669.16
$12.62
$9.26
$130.06
$1,859.40
$71.40
$183.88
$6.30
$8.54
$19.46
$8.88
$782.32
$149.58
$1,439.54
$628.52
$47.32
$186.06
$109.20
$134.40
$147.00
$189.00
$189.00
$166.26
$64.66
$16.44
$284.40
$351.44
$354.34
$351.44
$31.56
$75.24
$87.08
$98.14
$121.00
$137.26
$7.96
$273.08
$434.24
$161.28
$147.28
$49.28
$151.54
$65.66
$121.64
$370.50
$130.50
$196.00
$499.80
$231.20
$231.20
$118.62
$2.80
$2.80
$37.14
$178.58
$34.94



17459
17460
17462
17467
17562
17571
17687
17690
17697
17700
17707
17766
17869
17904
17912
17914
17915
17916
17937
17944
17969
17974
17979
17984
17986
18009
18018
18182
18194
18195
18236
18237
18238
18272
18280
18292
18331
18402
18415
18416
18417
18443
18557
18558
18559
18626
18636
18642
18674
18681
18690
18695
18705
18706
18772
18807
18809
18811
18813
18815
18818
18820

JAW,CUTTER (751)
PIN-.747X2.06 YOKE
ROLLER-.501X.875X.496 STR (751)
DOWEL-HOLLOW

BOLT-SHOULDER .372X1.00X5/16-18
LUBE SPREADER-6" (17571)
PUNCH-RD 47.0MM (1.850) (730E)(3/4"D/S)
PUNCH-RD 60.0MM (2.362) (730E)
PUNCH-20.4MM(.803)

PUNCH-RD 18.6MM (.732) (730E)
HOSE UNIT-HYD 1/4X10' 1/4-M&3/8-M
VALVE UNIT-RELIEF 225/200 (960)
YOKE-CUTTER HEAD (751)
SPACER-1.06X1.19X.560 BK (640)
BUSHING, THREADED
GUARD-SMALL INTERIOR (640)

LARG GARD

WASHER, FLAT 1.00X1.50X.031 FIBER
SHOE UNIT ASSY, 1-1/2 - 2 RIGID
SHOE ASSY,BENDING-1/2" TO 1-1/4"EMT
HOOK-1-1/2 2" RIGID (555)
PIVOT-(1801)

SUPPORT UNIT ASSY,1/2 1-1/4 RIGID
SUPPORT ASSY,ROLLER 1 1/2-2R (555)
SUPPORT UNIT-1/2 TO 1-1/4 EMT (555)
CHAIN-ROLLER #60 X85P LG (555)
IDLER-CHAIN #60 (555-M3)

RELEASE UNIT-PRESSURE
PLATE,PUMP MOUNTING

PLUNGER, CHECK VALVE (1700)
BLOCK UNIT-PUMP (1721)
BLOCK,PUMP

ADAPTER-DRIVE SHAFT .969-32X.625
REPAIR KIT (755)

CASTER SET

PLATE-MOTOR MOUNTING (960) PAINTED
PUNCH-RD 37.0MM (1.457) (730E)
BOX, BLOW MOLED

REPAIR KIT (915-PS)

REPAIR KIT (940/960PS)
DECAL-IDENT (7310)
ENCLOSURE-RELAY (940/960)

IE-RD 15,2MM (.598) (1731)

DIE-RD 18,6MM (.732) (1731)
DIE,RD-20,4MM (.803) (1731)

PIN UNIT, ROLLER .998X8.00
FOLLOW BAR-EMT 2" (1818)

FOLLOW BAR-EMT 1-1/4,1-1/2" (1818)
BAR-TIE

ROLLER ASSY,CUSHIONED (1818)
HEAD-LEVER

POINTER-ADJUSTABLE (1800)
CUSHION-1.500X2.500X2.73 (1818)
LINER-1.000X1.500X3.75 (1818-M3)
CLIP-RETAINING HAIRPIN (1818)
HOOK-2"RIGID (1818-M3)
HOOK-1"RIGID (1818-M3)
HOOK-1-1/2"RIGID (1818-M3)
HOOK-1-1/4"RIGID (1818-M3)
HOOK-3/4"RIGID (1818-M3)
HOOK-2"EMT (1818-M3)
HOOK-1-1/2"EMT (1818-M3)

$245.68
$36.74
$35.00
$37.66
$43.04
$206.62
$83.94
$97.44
$36.12
$36.12
$210.00
$375.96
$335.98
$9.38
$44.00
$114.32
$120.48
$4.70
$2,192.74
$1,196.76
$527.66
$83.02
$486.64
$438.34
$329.70
$483.14
$27.64
$56.34
$474.80
$39.82
$4,327.60
$1,327.68
$202.22
$70.90
$150.42
$966.98
$77.60
$198.12
$130.90
$99.82
$9.22
$170.66
$60.66
$87.86
$59.58
$121.10
$455.56
$623.90
$106.96
$381.00
$88.48
$67.20
$113.96
$107.24
$20.86
$168.76
$110.60
$148.12
$134.04
$121.66
$197.32
$172.54



18822
18824
18826
18827
18828
18829
18830
18831
18832
18835
18836
18837
18838
18839
18840
18841
18842
18869
18871
18905
18906
19026
19059
19060
19101
19102
19103
19185
19186
19187
19188
19189
19190
19193
19233
19235
19628
19829
19988
20142
20147
20148
20149
20150
20151
20153
20154
20155
20157
20161
20171
20172
20173
20174
20175
20176
20177
20178
20181
20183
20186
20189

HOOK-1-1/4"EMT (1818-M3)
HOOK-1"EMT (1818-M3)

HOOK-3/4" EMT (1818)

SHOE ASSY,RIGID 1/2,3/4,1" (1818)
SHOE ASSY,RIGID 1-1/4,1-1/2" (1818)
SHOE UNIT ASSY,BENDING-RIGID
SHOE UNIT ASSY,EMT 3/4,1" (1818)
SHOE ASSY,EMT 1-1/4,1-1/2" (1818)
SHOE UNIT ASSY,EMT 2" (1818)
PIN-.623X2.69 3/4 RIGID (1818)
PIN-.623X3.06 1" RIGID (1818)
PIN-.748X4.25 1-1/4 RIGID (1818)
PIN-.748X4.75 1-1/2&2 RIGID (1818)
PIN-.623X2.94 3/4"EMT HOOK (1818)
PIN-.623X3.19 1"EMT HOOK (1818)
PIN-.873X4.25 1-1/4"EMT HOOK (1818)
PIN-.873X4.75 2"EMT HOOK (1818)
BUSHING-SPCL .645X1.50X.880 (678)
SPACER-.790X1.62X.187 BRG (960)
PUNCH-RD 82,0MM (3.229)

DIE-RD 82,0MM (3.229) (730E)
PIN,CLEVIS (.625X1.53)
BUSHING-PLUNGER HI PRESS (1700)
PLUNGER-HI PRESS (1700)
CHAIN-ROLLER #35 X5P REPAIR (640)
CHAIN-ROLLER #40 X5P REPAIR (555)
CHAIN-ROLLER #60 X5P REPAIR (555)
YOKE WELDMENT

SHAFT (638)

PLATE,SIDE-24"

PLATE,SIDE-36"

PLATE,SIDE-48"

SUPPORT,EDGE

BOX, METAL (744)

TIRE KIT UPGRADE (6810)

PLATE, OUTER (761)

BAR-CLAMP (659)

MOTOR & GEAR ASS'Y (ES85-11)
WHEEL,NON-FLAT

FRAME WELDMENT ASSY

NUT

SHEAVE

PIN,CLEVIS

PIN,HITCH-LONG

CLAMP WELDMENT ASSY

CAP,END

WASHER,SHIM

ELBOW WELDMENT ASSY
GEARBOX,PLANETARY (ES25)
FRAME WELDMENT ASSY

MOTOR

SPROCKET, DRIVER

WASHER, THRUST

SPROCKET

PAWL

GUARD,CHAIN

SPRING,TORSION

SCREW,CAP-SBH (1/4-20 X 1.00)
SCREW,CAP (#10-32 X 3/8)
WASHER, FLAT (#10 X 5/8 OD)

LEG WELDMENT ASSY

LEG WELDMENT ASSY

$147.28
$113.74
$90.92
$963.54
$1,420.92
$1,137.50
$897.54
$1,489.94
$1,157.10
$56.84
$56.84
$83.08
$83.08
$85.26
$64.40
$71.04
$61.60
$27.44
$42.84
$269.12
$307.46
$27.44
$194 .46
$49.62
$25.56
$28.62
$80.28
$181.14
$86.94
$202.86
$246.32
$507.14
$104.32
$75.06
$476.78
$33.60
$52.98
$165.82
$125.02
$287.00
$48.36
$123.64
$5.68
$8.14
$263.20
$34.18
$2.80
$222.08
$714.00
$435.30
$1,314.80
$47.20
$30.66
$32.54
$22.00
$39.86
$13.02
$2.80
$2.80
$3.24
$161.08
$54.42



20191
20192
20193
20194
20196
20199
20200
20243
20424
20477
20478
20479
20494
20495
20697
20721
20799
20804
20829
20830
20941
20954
20963
20965
20966
20968
20969
21115
21140
21175
21218
21296
21297
21298
21301
21303
21316
21346
21349
21353
21354
21357
21359
21360
21362
21364
21366
21413
21489
21491
21541
21542
21543
21544
21545
21557
21765
21946
21947
21948
21949
21953

WHEEL
PIN,HITCH-SHORT

SCREW,CAP-HX HD (3/8-16 X 2)
NUT,HEX (3/8-16)

BOOM WELDMENT ASSY
CHAIN,ROLLER-#40 (1/2" PITCH)
ELECTRICAL BOX ASSY
REPLACEMENT CASSETTE, STRAIGHT BLADE
BLOCK-INTAKE

DECAL-PARTS LIST (777)

DECAL-LID LINER (884/885)
DECAL-PARTS LIST (880)

HANDLE UNIT-RATCHET DRIVER (1804)
WRENCH,RATCHET

REPAIR KIT-PUMP

CORD UNIT-PS POWER W/ENCLOSURE (960
CLAMP-BAR (766-M3)

T FRAM

DIE-KEY .201 (730K)

COLLAR-THRUST .765X1.75X.187 (730K)
SHAFT ASSEMBLY

BLOCK-CYLINDER

DRAW STUD 3/4" (POP)

SUPPORT ARM,LEFT

SUPPORT ARM,RIGHT

WHEEL,8X2.5 3/4 RLR BRG
BLADE,MOVEABLE (ES25)

PUNCH UNIT-RD 15,2MM (.598) BB
DRIVE UNIT-KEYWAY (730-K)
SCREEN-INTAKE

CONTROL BOARD ASSEMBLY (UT4)
HOLDER,PUNCH (710)
DIE,ROUND-1.368 (710)

HANDLE,3/4 PIPE,15.87 LG (710)
BUSHING 1.439X1.658X1.18 (710)
WASHER, FLAT-.968X1.62X.062 BLK OX
PUNCH-RD 15.2MM (.598) (730E)
LEG-PIPE

SADDLE ASSEMBLY (1802)

PAD UNIT-ADJUSTING

NUT UNIT WELDMENT,ELEVATING
PIPE SUPP 3/4INCH

PIN SUPPORT UNIT-1" PIPE
PIPE-SUPPORT PIN UNIT
CHAIN-ROLLER #35 X298P LG (1802)
BRACKET-IDLER UNIT

DECAL-VENT CAUTION
CHAIN-ROLLER #35 X94P LG (1802)
PUNCH,RD 120MM (4.724) (730E)
DIE-RD 120,0MM (4.724) (730E)
SUPPORT ASSEMBLY,LEG
IDLER-CHAIN UNIT

BRACKET-CRANK UNIT

VISE UNIT-PIPE (1802)

BRACKET UNIT
SPRING,COMPRESSION (.970X1.24X.786)(710)
CASE,METAL (RK1550)

SCALE-PISTON (747)

BRACKET-SCALE (747)

SCALE-PISTON (1737)
BRACKET-SCALE (1737)
BRACKET,SCALE

$19.60
$8.94
$4.54
$2.80
$198.80
$34.18
$440.14
$31.40
$85.68
$34.92
$41.58
$32.48
$61.30
$179.12
$787.50
$1,144.08
$5.60
$128.48
$70.90
$43.94
$392.98
$443.10
$40.96
$14.34
$14.34
$34.42
$896.00
$59.52
$260.68
$9.24
$780.20
$112.26
$33.68
$76.64
$40.66
$6.48
$36.12
$48.58
$537.60
$488.58
$107.44
$377.78
$385.28
$488.94
$134.82
$169.04
$7.34
$73.92
$602.16
$478.74
$699.30
$480.06
$492.44
$2,184.42
$361.90
$7.88
$196.00
$122.00
$51.66
$124.74
$117.46
$39.96



21954
21978
22282
22284
22286
22296
22300
22303
22410
22451
22508
22515
22578
22579
22611
22618
22682
22726
22934
23076
23084
23178
23256
23258
23294
23296
23306
23360
23388
23407
23418
23422
23438
23444
23452
23499
23505
23510
23511
23517
23519
23524
23539
23541
23570
23608
23670
23708
23767
23778
23787
23788
23789
23792
23793
23802
23816
23872
23876
23891
23906
23909

SCALE-PISTON (882)
BLADE-STRIPPER (1905)
HOLDER,PUNCH (709)

SERVICE SLEEVE (709)

DIE,ROUND-.898 (709)

HANDLE UNIT-FIBERGLASS (706)
GRIP-RUBBER .995X1.50X5.09 GR (706)
BOLT, 3/8-16X1.05 HEX HD,C4140,BLK OX

PAPER,FAN FOLD RECORDER CHART (15 PADS)

PENS, RECORDER - 5 Pack
NUT,LOCK-HEX (3/8-16) (706)

WASHER, THRUST (.385X.560X.028) (706)
WRENCH ASSY, RATCHET

WRENCH UNIT-L (796)

BEARING SET

PAINT, GREEN-13-OZ CAN

WRENCH EXTENSION 10"

FILTER-OIL

BEND SHOE ASSY

CHARGER,VEHICLE 12V
SPRING-COMP .320X.480X.693 (1767)
HANDLE/NUT UNIT-VISE CHAIN 11/16-8
BOLT-HEX 1/2-13X1.46 PIVOT (796)
GRIP,RUBBER (.600X1.00X4.50 GR 1804)
CAP-SPRING .281X.250 (1725)
WASHER-FLAT .671X.906X.067 COP
NUT-RELEASE PKG 3/8-24 (1725)
NOZZLE UNIT-ADAPTER (LINE & TAPE)
SPRING-COMP .440X.560X1.12 (434)

C FRAME (709/710)

CHAIN-ROLLER #40 X81P LG (555)
PIN-.650X1.50 W/HEAD DRIVE (555-R)
AXLE

SPROCKET-#40 48T T-B 1.50ID (555)
WASHER-FLAT 2.50X3.00X.031 FIBER
SHOE-BENDING 1-1/2"EMT
SHOE-BENDING 2"EMT
ROLLER-.752X2.62X2.21 1-1/2EMT (555
PIN-ROLLER SUPPORT .998X4.81 ((555)
PIN-.749X4.06 ROLLER PIVOT (555)
ROLLER,FRONT (2"EMT) (555)
PLATE-PIVOT 1-1/2"EMT & IMC (555-M3
FRAME UNIT-ROLLER SUPP. (555-M3)
SUPPORT UNIT-ROLLER (EMT)
PLUNGER-RELEASE (1767-M3)

BLOCK, PUMP (IDT-12-N)

REPAIR KIT-HYD (1767)

CAPSTAN UNIT (UT2)

WASHER-FLAT .359X.656X.031 FIBER
WHEEL,NO-FLAT

PIN-ROLL .125X.625

SCREW,CAP-SKT HD (1/4-20 X.750)
SPACER

ROLLER,BACK (2"EMT)
SPACER-.782X1.00X2.21 W/HOLE (555)
SHOE GROUP, 1/2"-2" EMT (555/555C)
SHOE GROUP, 1-1/2"-2" EMT (555/555C)
PUMP (1725-M3)

SCREW-VALVE 1/2-20X.937 SLTD (1725)
SPROCKET UNIT-#60 12T W/SHAFT (555)
SWITCH UNIT-PENDENT (555-M3)
SHOE,DRIVE (800)

$113.60
$58.80
$123.26
$56.58
$43.08
$57.98
$11.74
$4.78
$373.80
$144.20
$4.78
$2.48
$192.06
$153.14
$76.50
$19.72
$28.28
$19.22
$329.80
$270.22
$58.02
$126.98
$41.66
$19.40
$25.90
$15.96
$48.02
$154.00
$23.38
$404.82
$142.66
$32.12
$157.56
$344.40
$7.42
$1,155.90
$1,264.68
$111.16
$64.82
$57.54
$151.62
$126.98
$1,966.78
$2,190.36
$300.36
$1,081.50
$24.92
$321.14
$4.56
$94.84
$2.80
$3.02
$5.60
$486.84
$77.98
$3,097.00
$2,891.24
$230.16
$83.86
$555.66
$618.30
$649.60



23913
23916
23917
23919
23920
23922
23923
23932
23946
23955
24059
24398
24399
24402
24459
24462
24476
24477
24482
24489
24491
24496
24520
24522
24523
24525
24530
24531
24533
24555
24565
24567
24598
24720
24725
24727
24738
24751
24765
24779
24788
24823
24873
24894
24923
24971
24985
24987
25026
25094
25160
25161
25184
25191
25214
25263
25268
25273
25274
25279
25521
25550

LINK-SHOE (800)

CYLINDER-HYD

RAM-HYD

PIN,RETAINING-SPRING .249X1.23(800
PIN-.311X3.00 LINK (800)
PIN-.500X2.13 PIVOT (800)
SPRING,EXT (.35X.52X4.25) (800)
PIN-.749X3.09 1-1/2"EMT ROLLER (555
SPRING-COMP .130X.200X.812 (1725)
BOX, HYD. CABLE BENDER

SEAL

ROLLPIN (USE 90500784)

PLAT

FRAME UNIT-BENDER (1800)
PUNCH-RD 32.5MM (1.280) (700-ISO)
PUNCH-40.5MM(1.595)

PUNCH UNIT ASSY,32.5MM BB
PUNCH UNIT ASSY,40.5MM BB

LEVER UNIT ASSY,RATCHET (1800,1801)
PIN-.499X1.87 PIVOT (1800/1801)
SPRING-TORSION .577X.601X.250 (1800
REPAIR KIT

VALVE UNIT-RELEASE (767)
POINTER-ADJUSTABLE (1801)
INDICATOR ASSY, DEGREE (1801)
HOOK,1-1/4&1-1/2"RIGID & IMC (1801)
SHOE,BENDING 1-1/4 & 1-1/2 (1801)
REPAIR KIT

HOOK,1/2 THRU 1"RIGID & IMC (1800)
HOOK,1/2 THRU 1-1/4"EMT (555-M3)
CUTTER SET,SCISSOR (704)

HANDLE ASSEMBLY,CUTTER (704)

CORD UNIT-ELEC #18 SJO X72"LG RETRA

ROLLER-.767X2.50X2.12 2"PIPE (1813)
SPACER-.625X1.93 SOLID (1801-G1 M2)
ROLLER UNIT-1.00X2.50X4.00 (882)
SHOE ASSY

BUTTON-TENSION (1801)
ROLLER-.767X1.50X2.68 STR (1802)
PISTON SET-CONDUIT 1/2-4

ROLLER ASSY,BACK (1-1/2-2 EMT)
PUNCH-RD 1.000 CONDUIT (710)
HINGE

HINGE

ROLLER-PIPE SUPPORT (1801)
CHAIN-LEAF 23" 32P (466)
ROLLER-.390X.998X.625 STR (466)
SPACER-.775X1.23X.062 BK (466)
SEAT,CHECK-INTAKE (1/16NPTF) (1725)
TRAY

PIN-.749X7.00 SHEAVE (650)
PIN-.749X8.75 SHEAVE (649)
PIN-.250X4.15 RAM

PLATE,CROSS FRAME

REPAIR KIT,HYD (1725-M2)

SHOE UNIT-BENDING 1-1/2"IMC (555)
SHOE UNIT-BENDER 2"IMC (555-M3)
SUPPORT UNIT-ROLLER (IMC)
ROLLER-1-1/2 IMC

ROLLER (2" IMC)

SCREW UNIT-LUBRICATING

HANDLE UNIT-VISE CHAIN (466)

$212.86
$295.74
$102.08
$69.60
$42.90
$73.84
$51.92
$41.44
$14.98
$216.36
$5.60
$6.74
$22.54
$683.54
$75.80
$80.30
$100.66
$126.30
$448.00
$35.14
$14.42
$237.10
$68.76
$106.26
$97.92
$486.70
$1,683.14
$22.00
$428.74
$393.82
$155.60
$51.72
$299.74
$208.04
$33.38
$185.50
$1,603.48
$53.90
$158.90
$90.22
$884.86
$37.48
$21.70
$30.10
$127.96
$148.60
$82.32
$39.02
$54.04
$70.84
$62.58
$74.84
$44.72
$2,843.68
$124.00
$1,089.78
$1,168.06
$2,424.16
$252.14
$309.04
$52.86
$191.56



25553
25591
25609
25617
25644
25645
25646
25651
25652
25676
25702
25703
25704
25705
25706
25707
25708
25709
25747
25748
25766
25867
25870
25896
26297
26300
26306
26309
26325
26327
26330
26333
26335
26349
26364
26366
26430
26536
26538
26539
26540
26541
26542
26580
26584
26588
26594
26598
26599
26601
26602
26624
26628
27060
27121
27316
27335
27364
27365
27372
27381
27416

SCREW-VISE CHAIN
PIN-STOP REPAIR UNIT

SPROCKET UNIT-#35 60T W/SHAFT (640)
KEY,SQUARE (.250X.760 W/.12R) (640)
CONE-ADAPTER 1-1/4 TO 2-1/2 (627)
CONE-ADAPTER 3 TO 4 (627)
CONE-ADAPTER 1/2 TO 1 (627)
FRAME-TRAY (658)

FRAME-TRAY (659)

CHANNEL,SHEAVE FRAME (671)
GEAR SET (KEY17,18,&19)

HDW (KEY 3,4,7,11,12,15824)

GEAR CASE (KEY10&21)

END BELL,MOTOR FRAME (KEY1&6)
ROLLER CLUTCH,WASHER (KEY22&23)
SEAL KIT,GASKET (KEY16,25&9)
ARMATURE & FIELD (KEY 28&8)

BRUSH & CAP (KEY13&14)

DECAL, KIT (IN-LINE PINCH)

DECAL KIT (IN-LINE CUT)

ADAPTER, CHARGER 18V LI TO 12V NI
TUBE-FLARED ALUM .312X5.00 (627)
RING,MOTOR ASSEMBLY - 120V DC
WASHER-FLAT 1.28X1.75X.125 FIBER
SHOE,BENDER 2-1/2"EMT/IMC/IPS(881)
SHOE,BENDER 3"EMT/IMC/IPS (881)
PIN-1.24X5.80 YOKE (881)

BAR UNIT-CONNECTING (881CT)
FRAME UNIT

ROLLER UNIT-IMC BACK

SHOE GROUP, 1-1/2"-2" IMC (555/555C)
PUNCH,RD 92.0MM (3.622) (730E)
DIE-RD 92,0MM (3.622) (730E)
CLIP-SPRING (881)
BAR,REINFORCEMENT-2-1/2 (881)
BAR UNIT,FOLLOW-2-1/2" (881CT)
PIN-.242X.750 CHAIN (466)
PUNCH-KEYWAY .188 AND .125
DIE-KEY .130 & .195 DOUBLE (720)
HANDLE,METAL (720)

LINK (720)

PIN-.249X1.64 PIVOT (720)
PIN-.249X1.35 HANDLE (720)

SADDLE UNIT,BENDER 2-1/2" (881CT)
SADDLE UNIT, BENDER 3" (881CT)
SADDLE UNIT,BENDER 3-1/2" (881)
SADDLE UNIT ASSY,BENDER-4" (881CT)
DECAL-BENDER RAM TRAVEL (881)
DECAL,PARTS LIST (881)
DECAL-BENDER OFFSET
DECAL-BENDER 90 DEG STUB

PIN UNIT-1.25X8.62 SADDLE (881)
BUSHING-SPCL 1.50X1.87X1.13 (881)
ENDPLATE-ROLLER (881 & 885T)
BEARING-PHENOLIC 2.50X2.62X1.99
TABLE-VISE CHAIN

BOX, STEEL

ROLLER UNIT ASSY, BENDER (881)
PIN, ROLLER-2.50 X 11.0 (881)
SPOOL-.656X1.50X1.87 (467)

PIN UNIT-1.13X10.2 CYL BLOCK (881)
RAM-HYD 40-TON

$170.66
$56.12
$360.14
$49.00
$10.36
$29.32
$39.90
$54.60
$146.64
$1,327.78
$606.82
$89.58
$606.82
$260.06
$95.36
$78.02
$559.14
$72.24
$48.08
$59.18
$140.28
$23.02
$100.10
$6.68
$1,701.56
$1,985.96
$189.28
$1,051.88
$951.92
$858.90
$2,822.28
$646.70
$332.82
$52.70
$668.28
$1,698.96
$27.58
$158.44
$72.92
$47.86
$13.52
$27.98
$16.52
$325.22
$329.14
$334.80
$338.58
$9.86
$29.46
$18.48
$19.46
$117.46
$110.46
$143.78
$150.42
$466.20
$360.62
$1,956.56
$307.08
$32.90
$146.72
$4,818.94



27417
27554
27555
27574
27575
27576
27577
27578
27588
27589
27590
27591
27592
27594
27751
27752
27753
27761
27762
27763
27764
27766
27771
27773
27806
27811
27831
27832
27833
27834
27983
27994
28007
28154
28155
28156
28157
28158
28159
28160
28161
28162
28163
28165
28166
28170
28260
28261
28265
28268
28269
28270
28271
28273
28274
28277
28278
28280
28281
28285
28332
28334

BLOCK-CYLINDER (881)
SHOE GROUP 2-1/2"

SHOE GROUP 3"

FRAME-MOUNTING (1201)

PLATE-BASE (1201)

LEG-FIXED (1201)

LEG-ADJUSTABLE (1201)
PIN-.312X2.500 (1201)

PIN/LANYARD UNIT

ROLLER

CAPSTAN

SWITCH LEVER

SWITCH LEVER CAM

BUSHING

WIRE UNIT,ELEC (14 GA X 8.12 LG) (849)
WIRE UNIT,ELEC (14 GA X11.75 LG) (849)
WIRE UNIT,ELEC (14 GA X 12.87 LG) (849)
TOP INSULATION

BACK INSULATION

CONTROL BOX ASSEMBLY (849)
COVER-SWITCH BOX (849)
REFLECTOR,COVER (849)

HSNG REFLECTOR

COVER UNIT-BENDER (849)

CORD UNIT,POWER (14/3 SJ X15 LG) (849)
HEATER-115V 1700W 15A (849)

SCREW UNIT,VISE CHAIN-24"

010IN UNIT,VISE-24" (442/443/649)
SCREW UNIT,VISE CHAIN-36"

CHAIN UNIT,VISE-36" (640)
ROLLER-CUSHIONED (555-M3)

VISE UNIT-BENCH

SHOE GROUP, 1/2"-2" RIGID (555 SERIES)
PUNCH, 1/2" CONDUIT (744) SC

DIE-RD .500 COND (744) SC

PUNCH, 3/4 COND (744) SC

DIE-RD .750 COND (744) SC

PUNCH, 1" CONDUIT (744) SC

DIE-RD 1.000 COND (744) SC

PUNCH, 1-1/4" CONDUIT (744) SC
DIE-RD 1.250 COND (744) SC

PUNCH UNIT, 1-1/2"COND (744) SC
DIE,RD 1.500 CONDUIT (744) SC
PUNCH, 2 COND (744) SC

DIE,RD 2.000 IPS (744) SC

HOOK UNIT-"J" W/NUT (2018-S)

REEL ASSEMBLY

BOLT-REEL VALLEY #2627-03 (766)
GEAR ASSEMBLY PICK-OFF
BUSHING-VALLEY #2652-09 (766)
FRAME

PINION GEAR

BEARING-VALLEY #2680-03

PIN-HAIR VALLEY #2863-03 (766-M4)
BUSHING-VALLEY #2679-09 (766)
WINCH LOCK

SPRING-VALLEY #0660-00 (766-M4)
HANDLE UNIT-VALLEY #2707-11 (766-M4
WINCH ASSY

TOP HSG RFLCTOR
SPACER-.259X.375X.642 BK (720)
ROLLER (1.00X2.50X2.68) (555-1)

$1,102.50
$2,551.42
$3,684.16
$1,256.72
$206.66
$173.58
$146.46
$19.34
$24.28
$75.74
$199.32
$65.34
$63.20
$28.30
$28.34
$34.64
$34.64
$21.28
$12.24
$204.06
$69.30
$95.54
$106.54
$96.94
$48.44
$188.44
$286.78
$384.98
$207.64
$245.34
$506.30
$797.00
$2,262.84
$132.38
$29.54
$150.76
$37.06
$169.44
$39.68
$181.80
$43.20
$257.68
$81.16
$335.38
$100.62
$44 .56
$189.66
$5.98
$67.92
$7.88
$61.60
$12.30
$19.44
$6.86
$10.00
$8.40
$33.60
$60.04
$235.78
$85.04
$8.50
$116.82



28335
28338
28341
28885
28893
28898
28900
29003
29014
29022
29348
29420
29451
20452
29463
29464
29465
29466
29468
29470
20472
20474
20477
29504
29505
29529
29600
29616
29626
29630
29631
29638
29664
29669
29675
29683
29684
29686
29695
29697
29698
29708
29710
29792
29793
29800
29801
29803
20824
20825
29913
29935
29936
29937
29938
29940
29961
29965
30005
30008
30009
30095

SPACER-1.01X1.62X.730 BK (555-1)
CONVERSION KIT CARTRIDGE FILTER
FILTER-CARTRIDGE

MOUNTING UNIT-BENDER

CARRIAGE UNIT

ROD-TIE 1.000X8.812 W/1/2-13 (1813)
VISE UNIT-PIPE

JAW-VISE (466,467)

FITTING UNIT-COUPLING
POSITIONER UNIT-RAM

REPAIR KIT FOR 1738 HYD RAM
STOP, BALL (1725)

STUD-DRAW 7/16" (744,7307)

PISTON SHAFT FOR 744

SADDLE-2" RIGID/IMC (882-C)
SADDLE-1-1/2" RIGID/IMC (882-C)
SADDLE-1-1/4" (882-C)

SHOE-2" RIGID/IMC (882-C)
FOLLOWBAR-2" RIGID/IMC (882-C)
SHOE-1-1/2" RIGID/IMC (882-C)
FOLLOWBAR-1-1/2" RIGID/IMC (882-C)
SHOE-BENDER 1 1/4"RIG & IMC (882-CB
FOLLOWBAR-1-1/4" (882-C)
PAWL-RATCHET (1800)

LEVER UNIT-RATCHET (1801)

BOX UNIT-METAL (7307)

PIN-.874X7.37 SHEAVE (6018)

SHEAVE UNIT-12.00 W/BUSH (6012)
CHAIN-LINK #12 X24"LG SINGLE JACK
HANDLE ASSY,VISE CHAIN (6001)
CHAIN ASSY,VISE- 36"

POSITIONER CASTING-CHAIN (6001)
FOOT

WASHER-THRUST 1.12X2.00X.062 (6001)
GUARD-INNER LEFT (6001)

WASHER, FLAT-FIBER (1.40 X2.00 X.12)
WASHER-FLAT 1.39X2.00X.031 FIBER
WASHER-FLAT 1.14X2.00X.125 FIBER
WIRE UNIT-ELEC 14GA X4.25LG GR(6001
WIRE UNIT-ELEC 14GA X2.25LG BK(6001
CORD UNIT-ELEC POWER (6001-M2)
GUARD-SWITCH

CORD UNIT-EXTENSION 14/3 SJ X214"LG
HANDLE-METAL TUBE (6001)
NAMEPLATE

ARM UNIT-EXTENSION RH (6085)
ARM UNIT-LH EXTENSION (FOR 6085)
PIN-.874X9.18 SHEAVE (685)
PIN-.874X8.75 W/2-HOLES (6049)
CHAIN UNIT,VISE-24" (2001)

FRAME UNIT-SHEAVE (6085)
PLATE-WARNING

DECAL, CAPSTAN ROTATION

PIN, .620X5.00 SADDLE (882)
WASHER-FLAT .687X2.00X.125
DECAL-BENDER RAM TRAVEL (882)
RACE-BEARING .508X1.37X1.43 (6001)
FRAME UNIT FOR 6082

BIT,STEP #5 (PKGD)

BIT, K/S STEP # 8(PKGD).

CASE, PLASTIC (830Q)
CHAIN-ROLLER #60 X50P LG (6001)

$64.96
$117.52
$90.86
$1,119.30
$369.60
$133.28
$1,898.68
$38.84
$258.30
$489.30
$35.00
$48.22
$80.08
$80.08
$119.62
$109.12
$143.64
$571.06
$491.60
$479.70
$430.42
$475.78
$392.00
$107.94
$714.00
$98.20
$57.78
$338.80
$24.84
$86.40
$391.12
$71.10
$55.24
$11.20
$85.10
$6.36
$5.60
$8.42
$8.54
$13.66
$171.60
$32.82
$291.16
$118.84
$6.84
$100.80
$255.20
$85.16
$64.14
$419.56
$434.16
$15.06
$7.84
$60.68
$13.28
$5.24
$244.34
$528.82
$59.92
$91.94
$18.72
$261.10



30098
30102
30103
30105
30116
30117
30119
30121
30123
30124
30128
30142
30146
30194
30197
30206
30221
30223
30224
30225
30227
30228
30236
30241
30242
30249
30275
30291
30295
30296
30301
30307
30309
30392
30400
30442
30460
30462
30464
30466
30468
30470
30474
30476
30478
30480
30482
30484
30486
30502
30504
30506
30508
30536
30538
30540
30542
30544
30546
30548
30550
30552

COUNTERSHAFT (6001)
PAWL-RATCHET

GUARD-OUTER LEFT (6001)
GUARD-RIGHT (FOR 6001)
SPROCKET-#40 8T T-B .523ID (6001)
CHAIN-ROLLER #40 X56P LG (6001)
FRAME ASSY (6001)
ADJUSTER-CHAIN ECC (6001)
IDLER-CHAIN (6001)
SPROCKET-#40 47T 1.25ID T-B (6001)
SCREEN-MOTOR (6001)

CHAIN UNIT,VISE-24" (6085/685)
PIN-.305X.870 VALVE (1725)

FRAME UNIT-SHEAVE 5" (441-5)
PLATE-FRONT COVER (555-M3)
CASE-PLASTIC (7646/7306)
BALL/NUT-SQUARE (1904)

HUB, INPUT (1904)

WASHER-FLAT .468X1.37X.250 W/C'SINK
HANDLE UNIT (1904)

SCREW, ADAPTER 7/16X5/8

BOX, HD KO DRIVER

CASE CRRY
FOLLOWER,RESERVOIR (767-A-M2)
PACKING KIT,REPAIR (767)
WASHER-THRUST 1.12X2.09X.250 (1904)
BEARING-BRONZE 1.38X1.65X.187 (6001
HANDLE UNIT-METAL W/GRIP (656)
HEAD,RATCHET

PAWL-REEL STAND (656)

STOR BOX UNIT
KNOB-.250X1.00X.750 (656)

YOKE, BENDER (881CT)
DECAL-WARNING DAMP

BALL-.156 GR-25 E52100 (1904)
CLSED MESH PULL 33-01-011 GRIP
CLSED MESH PULL 33-01-024 GRIP
CLSED MESH PULL 33-01-026 GRIP
CLSED MESH PULL 33-01-028 GRIP
CLSED MESH PULL 33-01-030 GRIP
CLSED MESH PULL 33-01-039 GRIP
CLSED MESH PULL 33-01-047 GRIP
MULTPL STR PULL 33-02-016 GRIP
MULTPL STR PULL 33-02-018 GRIP
MULTPL STR PULL 33-02-020 GRIP
MULTPL STR PULL 33-02-022 GRIP
MULTPL STR PULL 33-02-024 GRIP
MULTPL STR PULL 33-02-026 GRIP
MULTPL STR PULL 33-02-028 GRIP
MULTPL STR PULL 33-02-066 GRIP
MULTPL STR PULL 33-02-097 GRIP
MULTPL STR PULL 33-02-1030 GRIP
MULTPL STR PULL 33-02-1031 GRIP
LT DUTY PULLING 33-03-010 GRIP
LT DUTY PULLING 33-03-011 GRIP
LT DUTY PULLING 33-03-012 GRIP
LT DUTY PULLING 33-03-013 GRIP
LT DUTY PULLING 33-03-015 GRIP
LT DUTY PULLING 33-03-016 GRIP
LT DUTY PULLING 33-03-017 GRIP
LT DUTY PULLING 33-03-018 GRIP
LT DUTY PULLING 33-03-019 GRIP

$564.78
$81.34
$157.62
$43.18
$156.14
$88.28

$2,123.44

$114.12
$25.20
$431.08
$69.84
$340.74
$74.68
$868.72
$334.94
$161.40
$321.72
$201.20
$36.74
$54.80
$39.48
$123.68
$55.18
$49.36
$46.68
$90.88
$65.08
$103.70
$155.94
$90.34
$355.18
$39.18

$1,107.26

$8.54
$1.56
$178.58
$209.56
$252.36
$352.70
$469.28
$662.60
$689.16
$193.30
$240.54
$270.06
$315.80
$374.82
$420.58
$568.14
$678.84
$686.22
$724.58
$798.38
$90.02
$90.02
$92.26
$95.20
$96.66
$96.66
$116.58
$138.72
$175.60



30554
30558
30560
30562
30564
30566
30568
30570
30572
30574
30576
30578
30580
30582
30584
30586
30588
30590
30592
30594
30596
30658
30660
30662
30664
30666
30668
30758
30876
30877
30878
30879
30890
30891
30898
30901
30902
30903
30904
30905
30907
30908
30909
30968
30971
30974
30976
30977
30978
30979
30980
30981
30982
30998
31000
31002
31004
31006
31010
31012
31014
31024

LT DUTY PULLING 33-03-029 GRIP
CNST WEAVE PULL 33-04-1082 GRIP
CNST WEAVE PULL 33-04-1083 GRIP
CNST WEAVE PULL 33-04-1084 GRIP
CNST WEAVE PULL 33-04-1085 GRIP
CNST WEAVE PULL 33-04-1086 GRIP
CNST WEAVE PULL 33-04-1087 GRIP
CNST WEAVE PULL 33-04-1088 GRIP
CNST WEAVE PULL 33-04-1089 GRIP
CNST WEAVE PULL 33-04-1090 GRIP
CNST WEAVE PULL 33-04-1091 GRIP
CNST WEAVE PULL 33-04-1092 GRIP
CNST WEAVE PULL 33-04-1094 GRIP
CNST WEAVE PULL 33-04-1096 GRIP
JUNIOR PULLING 33-05-001 GRIP
JUNIOR PULLING 33-05-002 GRIP
JUNIOR PULLING 33-05-003 GRIP
JUNIOR PULLING 33-05-004 GRIP
JUNIOR PULLING 33-05-005 GRIP
JUNIOR PULLING 33-05-006 GRIP
JUNIOR PULLING 33-05-011 GRIP
SLACK PULLING 33-10-001 GRIP
SLACK PULLING 33-10-003 GRIP
SLACK PULLING 33-10-005 GRIP
SLACK PULLING 33-10-007 GRIP
SLACK PULLING 33-10-009 GRIP
SLACK PULLING 33-10-011 GRIP
JUNIOR GRIP KIT

MOTOR UNIT-GEAR 220/250V 6RPM (848)

CORD UNIT-ELEC POWER (847/848)
WIRE UNIT-ELEC (30970)(847/848)
WIRE UNIT-SWITCH W/TERM (847/848)
COVER UNIT-LONG (847/848)
COVER UNIT-SHORT (847/848)

AXLE BRKT

CAL ROD CLMP

ALUM ROLR

SHAFT-.312X70.0 ROLLER (847/848)
SPACER-.218X.500X.37 (847/848)
COVER-CONTROL BOX (847/848)
AXLE

CAL ROD

CHAIN-ROLLER #25 X62P W/CON LINK
CONVERSION KIT-REPAIR
SPROCKET UNIT-#25 14T T-B .375ID
GUARD UNIT-CHAIN (847/848)

2IN PVC PLUG

2-1/2 PVC PLUG

3IN PVC PLUG

4IN PVC PLUG

5IN PVC PLUG

6IN PVC PLUG

RFLT UNIT

CLSED MESH PULL 33-01-012 GRIP
CLSED MESH PULL 33-01-025 GRIP
CLSED MESH PULL 33-01-027 GRIP
CLSED MESH PULL 33-01-029 GRIP
CLSED MESH PULL 33-01-031 GRIP
CNST WEAVE PULL 33-04-1093 GRIP
CNST WEAVE PULL 33-04-1095 GRIP
CNST WEAVE PULL 33-04-1097 GRIP
SLACK PULLING 33-10-002

$200.70
$140.18
$141.66
$146.10
$146.10
$160.86
$171.94
$191.84
$209.56
$239.06
$219.90
$187.42
$219.90
$265.64

$33.94

$39.84

$42.82

$47.24

$53.12

$54.60

$35.42

$66.40

$73.78

$85.60

$98.88
$116.58
$163.82
$268.60
$554.88
$262.16

$10.14

$12.46
$514.36
$409.92
$136.70

$13.86
$115.22

$23.72

$20.30
$101.08

$21.42
$667.44
$123.20
$226.96
$125.02
$138.66
$105.20
$122.14
$124.80
$125.78
$190.04
$203.90
$294.14
$183.00
$219.90
$298.10
$411.74
$528.32
$202.18
$240.54
$301.06

$68.64



31026
31028
31030
31032
31040
31042
31043
31044
31046
31047
31048
31068
31092
31117
31119
31120
31122
31123
31124
31125
31126
31128
31129
31131
31132
31133
31135
31144
31185
31228
31251
31270
31274
31277
31281
31304
31306
31314
31315
31325
31343
31344
31345
31346
31349
31351
31352
31356
31359
31362
31363
31364
31365
31367
31368
31370
31458
31468
31469
31476
31485
315623

SLACK PULLING 33-10-004 GRIP
SLACK PULLING 33-10-006 GRIP
SLACK PULLING 33-10-008 GRIP
SLACK PULLING 33-10-010 GRIP
CAPSTAN UNIT-PULLER (2001)
SPROCKET-#35 10T T-B DBL W/SPLINE
SPROCKET-#35 60T T-A DBL 2.25ID

CHAIN-ROLLER #35 X70P DOUBLE STRAND

GUARD

CORD ASSY,POWER-ELECTRICAL (2001)

GEARMOTOR (SERVICE)
BOX,METAL (7506)
KIT-CONVERSION (847)
PUNCH-15.2MM PACKAGED (740-E)
PUNCH-18.6MM PACKAGED (740-E)
PUNCH-20.4MM PACKAGED (740-E)
37 MM PKG PNCH

47 MM PKG PNCH

54 MM PKG PNCH

60 MM PKG PNCH

DIE-RD 15,2MM PKGD

DIE-RD 18,6MM PKGD

DIE-RD 20,4MM PKGD

DIE-RD 47,0MM PKGD

DIE-RD 54,0MM PKGD

DIE-RD 60,0MM PKGD

DIE-RD 37,0MM PKGD
SCREW-METERING 1/4-20X2.94 (1770)
BUSHING-MOUNTING

CASE UNIT-PVC PLUG (859)
BRACKET WELDMENT-IDLER
BAR,REINFORCEMENT (4")

4 INCH CT GROUP
BAR,REINFORCEMENT (3-1/2" R.H.)
3-1/2 CT GROUP

DECAL-BENDER RAM TRAVEL (881CT)
DECAL,PARTS LIST (881-CT)
BAG-FILTER INNER (690)
BAG,FILTER -OUTER (690)
MOTOR-ELEC 115V (690)
NUT-INJECTOR 1-12 (1725)
PIN-FULCRUM .589X2.56
PLUNGER-HI PRESS (1725-M3)
LEVER, RELEASE
PLUNGER-RELEASE (1725-M3)
BLOCK UNIT,PUMP

PIN-LATCH .140X1.43 W/CABLE
COVER, TANK (690)

PIN-.874X1.90 YOKE (6048)
SHEAVE-CABLE 18" (6048,6072)
PIN UNIT-.874X8.66 SHEAVE (6048)
FRAME WELDMENT-SUPPORT
SLEEVE WELDMENT-SHEAVE (6048)
RETAINER UNIT-SLEEVE (6048)
CHANNEL-SHEAVE FRAME (6072)
STRAP

SLEEVE SPACER

MOTOR-220V (6001-22 SERVICE)
METER

CORD UNIT-ELEC EXTENSION 216.0LG
CHAIN-LINK #8 X24" SINGLE JACK(6001
SHAFT-REEL

$78.22
$92.98
$106.26
$138.72
$541.76
$93.96
$333.12
$167.64
$160.24
$44.00
$1,413.22
$238.48
$1,211.44
$118.28
$118.28
$118.28
$180.04
$252.40
$314.18
$340.68
$58.24
$58.24
$58.24
$112.96
$112.96
$112.96
$58.24
$218.96
$89.10
$344.96
$34.64
$718.40
$6,258.76
$659.18
$5,600.62
$4.34
$23.72
$48.64
$34.64
$543.12
$74.20
$121.10
$143.98
$132.30
$90.08
$820.78
$26.46
$79.66
$60.54
$1,024.38
$183.36
$781.40
$216.46
$141.86
$1,393.00
$117.70
$19.48
$4,580.64
$659.54
$316.04
$22.40
$54.84



315627
31570
315673
315689
31646
31647
31669
31670
31710
31712
31716
31728
31732
31773
31811
31832
31834
31849
31872
31878
31880
31881
31882
31883
31884
31901
31902
31907
31909
31912
31913
31919
31925
31926
31927
31930
31931
32000
32002
32003
32004
32006
32008
32009
32011
32012
32025
32026
32027
32072
32081
32096
32097
32098
32104
32106
32118
32125
32126
32129
32132
32138

AXLE
FRAME UNIT-TRIPLE SHEAVE
SHAFT-.750X5.836 (6036)

DRIV SHAF CLCH

METER

GUARD

SPACER-.652X.750X.562 (6001)
MOTOR-ELEC 1.49HP 120V 186RPM (6001
HOOK-1/2 TO 1-1/4"IMC & RIGID (555)
HOOK,1/2 THRU 1-1/4"EMT (555-M5)
HOOK, 1-1/2&2" EMT (555-M5)
SHAFT,PIVOT RLR (2") (.744X4.06)
SHAFT,PIVOT RLR (1-1/2")(.618X3.56)
CORD UNIT-ELEC 14GA SON/SOWA 96.0LG
SPROCKET,#40 13T T-B 1.00 ID (640)
CABINET UNIT

CABINET UNIT, A

CABINET UNIT, B

DRAWSTUD (3/4-16 X4.03)

DECAL

PLASTIC CASE

BAR,FOLLOW-PKGD (3-1/2)
SHOE,BENDING 3-1/2 ONE SHOT (881)
BAR,FOLLOW-PKGD (4IN)
SHOE,BENDING 4" ONE SHOT (881)
HANDLE,LEFT HALF (915,960)
HANDLE,RIGHT HALF (915,960)
PIN-CLEVIS .638X1.65

DECAL-OFFSET (881CT)

PIN,CLEVIS (.467X1.40)(578)
BUSHING-.500X.750X.750 SS (578)
SHOE UNIT-1-1/2-2 PVC (855)
ROLLER-HALF

COUPLING

CLIP

SPINDLE

ROLLER

BLADE KIT-REPLACEMENT (863)

DIE-RD 15,2MM (.598) (7211EBB) (3/8"D/S)
DIE-RD 18,6MM (.732) (7211EBB) (3/8"D/S)
DIE-RD 20,4MM (.803) (730EBB) (3/8"D/S)
DIE-RD 28,3MM (1.114) (3/8"D/S)

DIE-RD 37,0MM (1.457) (730E)(3/4"D/S)
DIE-RD 47.0MM (1.850) (730E) (3/4"D/S)
DIE, DIAGOMM (730EBB) (3/4"D/S)
PLASTIC CASE

SPACER-.824X1.05X.31 (555-M5)
SPACER-.824X1.05X.75 (555-M5)
SLEEVE, 1-1/2 PIVOT

HINGE-1.50W X16.0LG .120 PIN (555)
BEARING-BRONZE .884X1.12X1.75 FLGD
HANDLE-SECTION (691)

NOSE SCTN

LINE RTNR

HOSE-VACUUM 1-1/2 ID X12" W/CUFFS
SUPPORT UNIT ASSY, 1/2-2" BENDER
COVER UNIT-TANK (690)

WHEEL-IDLER WELLS #105439 (1357)
WHEEL UNIT-IDLER WELLS#105446 (1357
GUARD-BLADE INNER (1357)
SPACER-WELLS #103560 (1357)

SLIDE BLOCK

~ e~~~

$25.20
$403.92
$71.92
$23.68
$590.12
$103.40
$19.06
$1,933.46
$297.28
$298.90
$426.22
$49.70
$57.60
$39.76
$113.12
$698.68
$743.62
$755.90
$59.28
$2.74
$26.92
$4,526.26
$2,399.32
$4,600.82
$2,759.82
$14.84
$14.84
$69.78
$17.64
$30.82
$17.12
$1,086.96
$22.60
$12.92
$19.22
$56.14
$50.28
$84.04
$13.44
$14.16
$14.16
$15.54
$22.46
$40.56
$58.44
$26.92
$41.30
$38.84
$166.46
$117.46
$30.60
$197.96
$99.96
$46.06
$39.54
$681.94
$707.34
$300.28
$558.66
$82.32
$25.86
$237.62



32139
32140
32141
32142
32143
32144
32147
32148
32149
32150
32153
32155
32156
32157
32158
32161
32163
32165
32166
32167
32170
32174
32176
32177
32178
32179
32180
32181
32185
32186
32188
32191
32192
32193
32194
32195
32196
32197
32205
32206
32207
32208
32210
32213
32214
32215
32216
32217
32218
32219
32222
32223
32225
32228
32230
32231
32232
32233
32234
32236
32237
32240

SCREW-WING WELLS #102898 (1399)
SUPPORT-ROLLER WELLS #101297 (1399)
AXLE-ROLLER WELLS #101298 (1399)
AXLE-ROLLER WELLS #105860-1 (1357)
AXLE-ECC ROLLER WELLS #101299 (1399
NUT-HEX 5/16-18 ECCEN WELLS #101300
DRIVE GEAR

WHEEL-DRIVE WELLS #105440 (1357)
DRIVE WHL ASSY

DRIVE WHL GUARD

MOTOR-ELEC WELLS #100846-10 (1399)
PLUG-EXPANSION WELLS #100072-1(1399
PINION-PULLEY

KEY-WELLS #100056-10 (1399)
COVER-GEAR CASE WELLS #101291 (1399
DRIVEN GEAR

GUARD-BELT (WELLS #105529)

PULLEY

BELT-V WELLS #100066-2 (1357/1399)
PULLEY-MOTOR WELLS #101238 (1399)
BAR PIVOT

PIN-LOCATING WELLS #M-65

RTCH FRAM

SPRING-WELLS #101234 (1357)
SCREW-SPRING ADJ WELLS #101233(1357
RTCH DOG AXLE

RCTH DOG

SPACER-WELLS #103524 (1357)
PLATE-CLAMP WELLS #106497 (1357)
BLOC-SLID VISE

COLLAR-THRUST WELLS #100402 (1357)
SWITCH-TOGGLE 110V WELLS #100674-6
SWITCH-PUSHBUTTON WELLS #100805-1
SHUT-OFF LEVER

KNOB-CONTROL WELLS #106408-3 (1399)
GUARD-SWITCH WELLS #105880 (1399)
CORD UNIT-ELEC WELLS #100838-1(1357
CORD-ELEC 120V WELLS #105961 (1399)
CHAIN-WELLS #100090-2 (1357)
HOOK-SAFETY WELLS #102805 (1357)
CLAMP-LEG WELLS #105894 (1357)

LEG CLAMP

WHEEL-WELLS #102810 (1357)
WHEEL-HAND WELLS #A-16 (1399)
SCREW UNIT-VISE WELLS #M-61 (1399)
SCREW-VISE WELLS #102889 (1399)
VISE RATCHET

BLOCK-CLAMP WELLS #102957 (1399)
DOG VISE RTCH

MOBLE VISE JAW

VISE- SLDE BLK

VISE- GUIDE BLK

TIP-OFF BLOCK

AXLE-WHEEL WELLS #120035 (1399)

LEG IDLE END

WHEEL-WELLS #102938 (1399)
GRIP-HANDLE WELLS #105826 (1399)
ROD-HANDLE WELLS #120036 (1399)
COLLAR-WELLS #102886 (1399)

STOP LATCH

VERT WORK TABLE

FRAME

$93.18
$199.24
$32.68
$72.22
$82.76
$6.72
$300.28
$316.96
$885.04
$379.52
$1,022.46
$12.06
$410.36
$34.82
$280.86
$352.90
$305.06
$296.78
$80.30
$94.56
$123.12
$28.82
$281.46
$25.18
$40.62
$65.30
$116.46
$21.16
$23.92
$223.50
$20.08
$46.52
$60.22
$63.02
$29.00
$70.42
$121.68
$213.10
$15.50
$44.66
$19.28
$13.28
$164.90
$208.94
$85.70
$133.98
$264.10
$76.62
$152.74
$344.60
$345.68
$69.50
$489.70
$244.46
$1,371.20
$380.44
$9.76
$229.16
$76.74
$75.44
$306.28
$2,127.86



32245
32246
32247
32249
32250
32251
32252
32253
32255
32257
32258
32260
32261
32262
32264
32265
32266
32268
32269
32270
32271
32272
32273
32274
32276
32278
32279
32282
32287
32288
32293
32295
32299
32305
32306
32307
32308
32309
32310
32311
32312
32313
32314
32315
32316
32317
32319
32320
32321
32322
32339
32355
32362
32363
32368
32370
32372
32391
32409
32423
32424
32426

SCREW-WING WELLS #102896 (1399)
WHEEL-IDLE BAND WELLS #A-17B (1399)
SPACER-WELLS #105415 (1399)
WHEEL-DRIVE BAND WELLS #A-17A (1399
GEAR-RING WELLS #A-86 (1399)
PLATE-WHEEL WELLS #102900 (1399)
SUPPORT-MOTOR WELLS #102903 (1399)
GUARD,WHEEL (1399)

GUARD-BLADE WELLS #102877 (1399)
GUARD-BELT (WELLS #105530)

GUARD ANGL WHL

GARD-SHORT WHL

WHL ASSY ADLER

WHL ASSY DRIVE

DRIVE SHAFT

PINION-DRIVE WELLS #101645 (1399)
IDLR END BRKT

PIVOT ROD

BRKT END GUIDE DRIVE

BLAD BRSH ANGL LONG

BLAD BRSH ANGL SHORT

BRUSH-BLADE WELLS #M-426 (1399)
BOLT-WELD WELLS #100073-3 (1399)
GUARD-BLADE WELLS #102949 (1399)
DRIVE SHFT

BLADE/BRUSH ASSY-WELLS #105841(1399
BLADE/BRUSH ASSY-WELLS #105843(1399
TANK-COOLANT

PUMP-COOLANT

ADAPTER-WELLS #102617 (1399)
BOX-SWITCH WELLS #105889 (1357/1399
COVER-SWITCH BOX WELLS #105959(1357
FRAME RATCH

STUD

UPPER STUD

PISTON ROD END

TUBE-OUTSIDE

CLAMP-WELLS #101776 (1399)

PISTON ROD

LEATHER CUP

WASHER-CUP WELLS #100070
SPRING-WELLS #M-148 (1399)
SPRING-WELLS #102918 (1399)

INSIDE TUBE

STUD-LOWER

LATCH

BOX UNIT-SWITCH WELLS #120006 (1399
DASH POT ASSY

PISTON ROD ASSY

WET CUT SYSTEM

FRAME UNIT-PIPE ADAPTER SHEAVE(2049
SCREW-SPRING ANCHOR WELLS #101311
CORD UNIT-ELEC 18/2 SJTO RETRACTABL
SWITCH UNIT-PENDENT (915,960)

BELT-V WELLS #100066-3 (1399 220V)
DECAL-FACEPLATE
ADAPTER-TANK/CATCH (690-M2)
ADAPTER SET

AXLE-BENDER (1800)

HOUSING

PLATE-INTAKE COVER (590)

HANDLE

$80.30
$714.18
$215.38
$756.18
$820.66
$228.30
$169.54
$225.54
$65.56
$364.88
$89.06
$107.30
$2,401.90
$2,820.60
$61.60
$143.90
$314.50
$16.50
$650.72
$89.06
$93.16
$27.38
$7.24
$53.50
$218.78
$74.96
$74.96
$360.36
$671.72
$49.68
$290.18
$57.58
$1,378.26
$76.74
$53.50
$65.56
$191.76
$162.72
$113.14
$21.80
$5.56
$7.26
$47.52
$205.46
$44.16
$155.70
$1,293.48
$582.78
$190.58
$1,861.18
$1,049.56
$13.48
$80.28
$234.64
$71.04
$17.78
$50.26
$1,167.94
$110.60
$96.24
$39.48
$11.20



32427
32428
32429
32431
32488
32493
32503
32504
32509
32514
32519
32523
32534
32535
32537
32556
32557
32559
32562
32564
32568
32572
32578
32622
32623
32626
32627
32662
32706
32721
32722
32768
32769
32770
32771
32773
32774
32775
32789
32791
32805
32829
32890
32891
32896
32934
32936
33013
33035
33317
33336
33402
33405
33406
33451
33454
33455
33456
33457
33458
33459
33462

CORD UNIT-POWER 18/3 SJ X144"LG
GASKET-MOTOR (590)

STRAP

HOSE-VACUUM 1.50X4.0F T
PLUG,BLADDER RUBBER BK (1990)
LEVER,PIVOT (1990)

PLUNGER-LO PRESS (1990)
PLUNGER-HI PRESS (1990)

RAM (1990)

DIE, MOVEABLE (1990)
SPRING-COMP 1.49X1.82X6.06 (1990)

VALVE BODY,ADJUSTING-PRESSURE (1990)

SPRING-COMP .164X.240X.750
WASHER-FLAT .260X.390X.046 COP
WASHER-FLAT .456X.859X.062 COP
CAP-RELIEF VALVE 1.56X.747 (1990)
SCREW-ROD RETAINING (1990)
SLIDE-MOVING (1990)
ROD-STEPPED (1990)
ROLLER-VALVE ADJ .197X.247 (1990)
DECAL-IDENT (590)

SPRING-COMP .178X.322X.875 (1990)
GMTR UNIT 230V
COUPLING-.187X.498X1.047 (1780)
BODY,VALVE-RELEASE
GASKET-(1780)

GASKET-COVER (1780)

BOX-PORTA BLOWR

GRIP-RUBBER .850X1.18X4.50 GR (783)
DECAL-JAW ADJUSTMENT
DECAL-IDENT (783)

HANDLE UNIT-LH

BOTTOM-STRAP

TOP-STRAP (781)

HANDLE UNIT-RH

HANDLE UNIT-LH

BOTTOM-STRAP

TOP-STRAP (783)

PLUNGER-VALVE (1990)
CASE,CARRYING

CAP, END (2.25X.750) (1725)
PLUG,END-PLASTIC (2.12X.093) (1725)
BODY-HYD CUTTER (751)

TEST KIT-PRES

SPROCKET UNIT-#60 80T (555-SB)
PIN-GEROTOR DRIVE .125X.625

PIN - .498 x2.31 Roller

KIT-REPAIR HYD

SPNDLE,SPOOL

TRAY-PLASTIC

REPAIR KIT (1725)

GASKET-MOTOR (975/980/1780)
CASTER SET-FOUR PLASTIGLIDE
GRIP,RUBBER (1.25X1.5X4.5 BK)(916)
RETROFIT KIT

SUPPORT,CONDUIT 1/2"-4"
SUPPORT-1/2"-2" CONDUIT
SHOE-BENDING 1/2"IPS PVC
SHOE-3/4"IPS 90

SHOE, 1" IPS 90

SHOE-1-1/4"IPS 90

SHOE UNIT,2 PVC-COATED RIGID

$119.70
$11.06
$19.46
$66.22
$15.26
$75.28
$209.90
$105.00
$352.40
$222.34
$10.50
$148.28
$3.94
$3.90
$3.08
$172.16
$56.00
$63.72
$168.00
$12.60
$4.20
$23.34
$1,884.18
$58.66
$343.90
$12.24
$67.48
$276.84
$2.88
$5.76
$4.20
$20.18
$6.64
$6.64
$20.18
$20.18
$8.78
$8.78
$195.42
$273.50
$52.78
$16.10
$1,037.36
$267.66
$1,406.94
$22.32
$35.84
$317.30
$112.02
$42.40
$73.90
$21.56
$75.04
$11.20
$64.68
$1,051.32
$739.54
$447.50
$447.50
$447.50
$523.52
$742.34



33463
33464
33466
33472
33476
33477
33488
33489
33490
33492
33503
33517
33518
33519
33520
33521
33524
33525
33526
33527
33528
33529
33530
33531
335632
33533
33535
33536
33537
33541
33543
33544
33547
33548
33549
33553
33554
33555
33595
33601
33630
33632
33638
33642
33659
33721
33723
33730
33733
33755
33786
33821
33838
33856
33857
33859
33886
33887
33901
33907
33911
33950

SHOE UNIT,1-1/2 PVC-COATED RIGID
CAM-1-1/2"-2"

SPRING-TORSION .616X.680X.176
HOUSING,LOWER PENDANT SWITCH

COVER UNIT-PENDENT SWITCH (555-M5)

SWITCH UNIT-PENDENT (555-SB)
SHROUD,MOTOR-LARGE
SHROUD-SMALL

RESERVOIR

COVER,MOTOR CONTROL (975/980)
CONTROL UNIT-MOTOR (975/980)
PLATE-COVER (975/980)
HANDLE-CARRYING (975 & 980)
PISTON-AUTO VALVE (975)
STEM-AUTO VALVE (975)
COVER-PUMP BLOCK (975)

FILTER

SHAFT-GEROTOR DRIVE
SHAFT-ECCENTRIC
COUNTERWEIGHT

PISTON-HIGH PRESSURE

PLUG UNIT-(975/980)

BUSHING-HIGH PRESSURE (980)
BUSHING, PISTON-HI- PRESS
PISTON-HI PRESSURE

BLOCK, PUMP
STRAP,RETAINING-SHORT (975)
STRAP,RETAINING-LONG

VALVE UNIT-CONTROL (975/980)
SHAFT-CONTROL (975)

NUT-SPCL 1/2-13 RD LOCK
DECAL-BENDER SQUEEZE ADJUST.
SPINDLE-.970X4.60 1.00P (1904-A)
BALL/NUT UNIT-SQUARE (FOR 1904-A)
INSERT-ALIGNMENT (1904-A)
SLEEVE-RATCHET DRIVER (1904)
HUB UNIT ASSY,SPINDLE
RESERVOIR

PIN-SHEAVE (WIDE) .875X8.87 ZINC PL
COVER-CONTROL BOX (555)
SPROCKET-#35 24T T-A 1.50ID (805)
MOTOR-GEAR (805)
CAPSTAN-PULLER (805)
WASHER-FLAT .640X1.75X.070 POLTHN
SHAFT UNIT-SUPPORT (805)
DECAL-IDENT (975)

DECAL-WARNING (975)
SPACER-.549X.997X.025 SS (1990)
TRANSFORMER UNIT-(980)
DECAL-BENDING (555)
DRIVER,RIGHT ANGLE

PLATE-COVER (690)

VALVE-RELEASE (7804-M2)
SPRING-OUTLET CHECK (7804-SB)
KNOB-RELEASE VALVE (7804-M2)
KIT-VALV REPR FOR 7804-SB
GUARD-BLADE WELLS #105856 (1399)
SPRING-WELLS #105881 (1399)
RECORDER ASSY,STRIP CHART (805)
SPRING-COMP 1.34X1.65X1.76 (7904)
GEAR

GUIDE-FOLLOW BAR (1818)

$637.62
$37.30
$30.52
$64.96
$119.56
$1,133.72
$369.88
$363.16
$229.18
$44.72
$1,048.94
$204.88
$55.72
$186.68
$88.96
$34.30
$90.58
$113.96
$214.96
$61.74
$80.22
$22.04
$158.40
$188.50
$90.08
$2,268.70
$41.22
$40.74
$672.42
$217.70
$64.96
$16.38
$216.28
$461.26
$125.52
$130.92
$645.32
$270.68
$627.20
$169.40
$46.12
$2,676.58
$145.20
$27.34
$103.76
$16.52
$18.48
$7.02
$145.52
$12.38
$974.82
$25.40
$37.38
$7.40
$162.40
$203.68
$143.16
$118.98
$5,938.80
$15.10
$382.90
$298.82



33962
33967
34027
34030
34031
34078
34079
34083
34119
34136
34137
34138
34147
34156
34159
34164
34165
34166
34167
34169
34172
34173
34175
34176
34177
34187
34188
34189
34194
34197
34216
34232
34239
34241
34245
34246
34249
34250
34252
34253
34265
34266
34268
34269
34270
34271
34272
34275
34276
34285
34286
34287
34288
34290
34294
34296
34297
34301
34303
34305
34306
34307

DECAL-GREENLEE (980)
ADAPTER,STUD 3/8-24X3/4-16 (7804)
BOX UNIT-STORAGE (690)
BRACKET,AXLE

AXLE-VACUUM TANK .500X16.03 (690)
BOOT-CUTR

FLAP-BUTN

GRIP-RUBBER 1.15X1.62X14.0 GR (756)
FRAME-ABSORBER (1304)

ROPE-7/8"X 300'NYSTRON
ROPE-NYSTRON 7/8" X 600"
ROPE-7/8"X1200'NYSTRON

CAPSTAN UNIT-(640)

HANDLE,RIGHT (756)

BUSHING .160X.373X.436 (756)
PAWL-DRIVE (756)

PAWL-DETENT (756)

PIN-DRIVE PAWL (756)

PIN-DETENT .311X1.21 (756)
SPACER-.381X.750X.447 BK (756)
CHAIN-ROLLER #40 25P LG (756)
SNUBBER-CHAIN (756)
SPRING-TORSION .531X.621X1.11 (756)
SPRING-TORSION .531X.621X1.26 (756)
SPRING-EXT .600X.750X5.53 (756)
HEAD,CUTTER (SERVICE) (757)

HEAD UNIT ASSY, CUTTER (756)

KIT, REPAIR - CUTTER (756,757)
BOLT,PIVOT (1/2-20 X 1.25)(756)

PLATE UNIT-GEROTOR (975,980,1780)
DRIVER ASSEMBLY-PUNCH (1904/1906)
PIN-375 PIVOT

LEVR RIT DRIV

PIN-PIVOT H.K. PORTER #6941FS
DETENT

PIN-DETENT .200X1.75 H.K. PORTER
RING-RETAINING HK PORTER #6983-FS
PIN-DETENT .300X1.25 H.K. PORTER
WASHER-HK PORTER #6943FS

BLADE SET-CUTTER (754)
STEM-RELEASE VALVE
KNOB-.465X1.12X.320 RELEASE (7804)
PLUNGER (SERVICE PART ONLY)
BLADDER, RUBBER

PISTON

CYLINDER,HYD (7804)

SPRING-COMP 1.07X1.37X3.18 (7804)
SEAT-INTAKE CHECK
RETAINER-DISCHARGE CHECK
HANDLE WELDMENT-LEVER (7804-M3)
PIN-HANDLE .187X.835

SPRING,COMPRESSION-.170X.190X.300 (7804)

DRIVER,KNOCKOUT-HYD (7804-M4)
KIT, RETROFIT PUMP

DECAL-LID LINER (7804-E-M3)
KIT-VALVE REPAIR (7804SB/7806SB)
KIT,HYD REPAIR (7804SB,&6SB/7904,&6
DECAL-IDENT (7904SB)

GUARD-DRIVE WHEEL WELLS #105615
BLOCK-STOP

LEVER-RELEASE

LATCH

$26.18
$44.94
$134.82
$70.34
$64.32
$27.34
$9.56
$38.20
$17.06
$1,441.44
$2,890.44
$5,787.18
$627.12
$25.96
$9.80
$25.20
$32.68
$54.18
$7.20
$6.50
$27.50
$23.72
$26.94
$26.34
$22.64
$356.74
$305.50
$74.94
$58.36
$249.34
$925.92
$20.76
$29.38
$8.04
$49.30
$20.76
$7.34
$5.72
$7.62
$643.98
$34.76
$46.46
$88.12
$49.84
$264.90
$294.26
$20.00
$70.84
$28.54
$124.24
$19.76
$9.84
$741.64
$81.06
$10.12
$42.72
$97.50
$5.56
$305.04
$88.32
$35.70
$220.42



34317
34321
34327
34329
34330
34331
34332
34333
34340
34342
34344
34345
34346
34350
34369
34392
34396
34397
34399
34401
34402
34403
34410
34411
34418
34421
34427
34441
34442
34443
34733
34758
34796
34917
34930
34931
34941
34949
34951
34952
34964
34965
34983
35008
35032
35067
35098
35100
35101
35112
35141
35145
35158
35159
35160
35161
35162
35163
35164
35165
35166
35167

PISTON SET-EMT CONDUIT
SHOE UNIT,2-1/2 PVC-COATED RIGID
SCREW-SHOULDER .500X1.250
WRENCH UNIT-7/8

CAM,LEFT (4")

CAM,RIGHT (4"

SPRING-TORSION .870X.950X.180
SPRING-TORSION .870X.950X.180
SHOE UNIT,3 PVC-COATED RIGID
SHOE UNIT,3-1/2 PVC-COATED RIGID
SHOE UNIT,4 PVC-COATED RIGID
SCREW-SHOULDER .622X1.750X1/2-13LH
SCREW-SHOULDER .622X1.750X1/2-13
SCREW-SHOULDER .747X2.250X5/8-11
REPAIR KIT-975/980

TANK UNIT-WHEELED (690)

CONTROL UNIT-MOTOR 220V (976-22)
SWITCH UNIT-PENDENT PLUG-IN (976-22
TRANSFORMER UNIT-220V (976-22)
BIT,STEP #1 (PKGD).

SWITCH UNIT-FOOT W/GUARD (976-22)
BIT,STEP #3 (PKGD).

BIT,STEP #10 (PKGD)

BIT,STEP #11 (PKGD)
PUNCH-CONNECTOR 25 PIN (RS232M)
DRAWSTUD (3/8-24X3/8-24X3.50)(229)
PUNCH-37 PIN (234)
PUNCH-CONNECTOR 9 PIN (229)
PUNCH,CONNECTOR- 15 PIN (231)
PUNCH-CONNECTOR 50 PIN (238)
NUT UNIT-BEARING DRIVE 3/8-24
CASE-PLASTIC

KNOB-.505X1.01X1.12 RELEASE (975)
STRIP-SMALL BUTTON

LEADS-RED 6" REPLACEMENT
LEADS-BLACK 6" REPLACEMENT
WRENCH, RATCHET-HEX (1" BOX)
HANDLE-FLAT (1940)

SHAFT,BLADE (.375X1.91) (1940)
KNOB, CRANK (303X1.62X1.06) (1940)
SUPPORT WELDMENT,ROLLER (2')
PLATE,SUPPORT-INNER ROLLER (2')
CASE-PLASTIC CARRYING
SPACER-.395X.750X.128 THIN (756)
SCREW-SEMS #10-32X.375 PAN HD
RETROFIT KIT-QUADROLLER
ROPE-NYLON/POLYESTER 3/4"X300FT
ROPE-NYLON/POLYESTER 3/4"X600FT
ROPE-NYLON/POLYESTER 3/4"X1200F T
MOUNT, GAS SPRING

DECAL-IDENT (881-CT)

SCREW-MACH #10-32X.375 TRUSS HD
PUNCH-RD 40.5MM

DIE-RD 40,5MM (1.595)

PUNCH-RD 50.8MM

DIE-RD 50,8MM (2.000)

DIE-RD 16,2MM (.638)

PUNCH-RD 16.2MM

DIE-RD 25,4MM (1.000)

PUNCH-RD (25.4MM)

DIE-RD 64,0MM (2.520)

PUNCH-RD 64MM

$79.50
$1,126.92
$35.48
$195.16
$130.96
$129.08
$75.74
$68.74
$1,376.12
$2,205.48
$2,284.02
$37.30
$37.30
$80.14
$175.14
$749.90
$674.10
$240.24
$127.68
$39.42
$372.32
$64.78
$40.30
$66.52
$246.46
$120.22
$327.98
$246.46
$239.92
$327.98
$57.98
$44.86
$53.34
$11.42
$21.46
$23.14
$66.88
$6.42
$17.40
$6.22
$224.62
$104.44
$77.62
$6.36
$2.54
$368.12
$1,370.88
$2,754.36
$5,507.46
$36.74
$7.62
$2.76
$76.40
$38.96
$82.52
$52.22
$14.52
$34.36
$16.54
$37.04
$62.00
$93.36



35168
35169
35177
35178
35179
35180
35181
35182
35190
35192
35193
35196
35197
35198
35199
35200
35202
35283
35284
35285
35291
35292
35294
35295
35296
35301
35302
35305
35310
35311
35312
35313
35318
35320
35322
35329
35336
35338
35339
35341
35342
35344
35345
35346
35353
35361
35362
35363
35364
35367
35372
35400
35411
35412
35430
35431
35433
35435
35447
35450
35451
35464

DIE-RD 32,5MM (1.280)

PUNCH-RD 32.5MM

PUNCH UNIT-16.2MM

PUNCH UNIT-25.4MM

PUNCH UNIT-32.5MM

PUNCH UNIT-40.5MM

PUNCH UNIT-50.8MM

PUNCH UNIT-64MM

DECAL-SAFETY GREENLEE SMALL
PUNCH UNIT-16.2MM BB

PUNCH-RD 16.2MM (.638) (700-ISO)
DIE UNIT-9 PIN (REPLACEMENT)

DIE UNIT-CONN 15 PIN (REPLACEMENT)
DIE UNIT-CONN 25 PIN (REPLACEMENT)
DIE UNIT-37 PIN (REPLACEMENT)

DIE UNIT-50 PIN (REPLACEMENT)
CASE-CARRYING

ROPE-9/16 X 300' NYLON/POLYESTER
ROPE,NYLON/POLYESTER (9/16 X 600
ROPE-9/16 X 1200' NYLON/POLYESTER
RAMP

FRAME UNIT ASSY,PULLER (640-M3)
SPROCKET-#50 48T T-A 2.25ID
SPROCKET-#35 60T T-B 1.00ID
PLATE-MOTOR MOUNTING (4000)
GUARD, RIGHT (640-M3)

GUARD,LEFT (640-M3)

ARM WELDMENT-CAPSTAN
WASHER-FLAT 4.80X8.00X.060 THRUST
SHEAVE,RT ANGLE (1.06 DIA .627 ID)
COUNTERSHAFT-PULLER (640-M3)
SPROCKET-#35 12T T-B W/SPLINE
PLATE UNIT-ANTIROTATION
WASHER-FLAT 4.80X8.00X.060 BACKING
BEARING-RAMP (DELRIN)
DECAL-ROPE PATH (640-M3)
RETROFIT KIT-PULLER (640)

BRACKET WELDMENT-ARM
BLOCK,ATTACHMENT
PLATE-ANTIROTATION
GUARD-CAPSTAN

CHAIN-ROLLER #50X58P LG (640-M3)
CHAIN-ROLLER #35X76P LG (640-M3)
RETROFIT KIT-6001 (FOR USE W/4000)
DECAL-IDENT (885)

SPROCKET-#60 40T T-A 2.25ID (6001)
SPROCKET-#40 60T T-A 2.25ID (640)
CORD UNIT-POWER 14/3 SJ X78"LG
WIRE UNIT-ELEC #14X6.00LG 1-RING
METER, 25A AMMETER

DECAL SET (EK425)

BAR ASSY,FOLLOW 3" (881CT)
MODULE UNIT-CONTROL(FOR 555M4)
MODULE UNIT-CONTROL(FOR 555SB)
TRANSFORMER UNIT-CURRENT (640)
HORN UNIT-BELL

BRACKET-HORN MOUNTING
MOTOR-GEAR 1HP 206RPM (640-M3)
DOOR-BATTERY CMPT (2010 & 2010H)
DOOR-BATTERY CMPT (5715 & 8888)
DOOR-BATTERY CMPT (5123,5774,5775)
KIT-VALVE BODY RETROFIT

$22.46
$72.14
$56.68
$63.16
$98.76
$120.20
$144.00
$188.54
$3.98
$59.52
$35.42
$429.10
$429.10
$429.10
$455.00
$466.10
$153.92
$858.06
$1,716.12
$3,429.72
$211.76
$1,769.54
$282.20
$259.28
$77.48
$114.64
$187.80
$147.20
$61.34
$180.94
$175.00
$113.56
$81.78
$30.42
$11.20
$8.40
$973.02
$105.00
$126.16
$30.80
$201.60
$100.54
$51.30
$973.02
$17.42
$301.64
$217.00
$139.08
$8.40
$250.60
$43.94
$2,795.74
$1,402.02
$1,410.50
$182.82
$142.54
$16.08
$2,273.52
$21.98
$14.24
$4.04
$178.92



35467
35468
35469
35470
35476
35487
35525
35526
35530
35532
35534
35538
35541
35542
35583
35587
35590
35592
35599
35600
35603
35607
35617
35621
35633
35634
35635
35638
35641
35646
35648
35651
35657
35660
35661
35671
35672
35673
35674
35675
35676
35677
35678
35680
35681
35682
35683
35684
35686
35687
35688
35689
35690
35691
35692
35693
35694
35695
35696
35697
35698
35699

CONVERSION UNIT-3"REINFORCEMENT BAR
COVER,SWITCH (6001)
HOUSING,SWITCH (6001)

CORD UNIT-POWER 84" 14GA SJ (6001)
KIT-RELAY REPLACEMENT (940/960PS)
DECAL-FACEPLATE PEND SWICH (555-M4)
PLATE-TOP HANDLE (764)
PLATE-BOTTOM HANDLE (764)
BOOT-CUTTER (764)
SPACER-.380X.750X.376 BK (764)
SHAFT,MASTER GEAR (SERVICE)
SHAFT-PAWL .312X1.00 (764)

CAPSTAN UNIT (4000 SERVICE)
CAPSTAN UNIT (6001 SERVICE)
COVER UNIT-BENDER (851)
REFLECTOR-HOUSING REAR (851)
REFLECTOR-COVER (555-SB)

HEATER ELEMENT-BENDER (851)
PIN-ROLLER .250X1.38 (851)
AXLE-WHEEL .500X12.8 (851)
CORD-POWER 12/3 X96.0LG SO BK (851)
ANCHOR-WEDGE .625X6.00

PUNCH SET-ISO SLUG BUSTER
SPRING-TORSION .380X.450X.140 (764)
HORN ASSY-220V BELL (6001-22)
CORD UNIT-220V POWER (6001-22)
TRANSFORMER UNIT-CURRENT 220V (6001
BOX UNIT-CONTROL 220V (6001-22)
BOLT ASSEMBLY-PIVOT (756)
GEAR-MASTER 12T (764)

PAWL (764)

GUIDE-RAM (1990)

WASHER-FLAT .253X.725X.070
POSITIONER UNIT-CHAIN

SCREW UNIT-36"VISE CHAIN

HANDLE UNIT-PUMP (1990)
HANDLE-PUMP (1990)

PIN-PIVOT .468X2.09 (1990-M2)
CAP,CYLINDER (1990)

CYLINDER (1990)

PIN-FULCRUM .310X1.60 (1990-M2)
HEAD-DIE (1990)

PIN UNIT-REMOVABLE
HANDLE,RESERVOIR (1990)
PLATE-VALVE (1990)

CAP-RELIEF VALVE

WASHER-FLAT COPPER

ROD UNIT-DRIVING
BLADDER,RESERVOIR (1989)

BLOCK, PUMP (1990)

GRIP-RUBBER 1.25X1.68X6.62 BK (1990
GRIP-RESERVOIR HANDLE (1990)
SHAFT, PRESSURE RELEASE (1990)
BODY-INLET CHECK (1990)
SLEEVE,CHECK BALL (1990)
WASHER-FLAT .156X.281X.062 COPPER
WASHER-FLAT .204X.375X.062 COPPER
CAP-VALVE SPRING .343X.432X.435
BODY-PRESSURE RELEASE (1990)
BAR, PRESSURE RELEASE (1990)
ROD-PRESSURE RELEASE (1990)
GUIDE-ROLLER (1990)

$937.50
$53.78
$113.56
$200.02
$262.50
$9.16
$10.56
$11.94
$37.12
$30.80
$20.06
$16.80
$720.42
$720.42
$644.00
$228.76
$155.54
$240.02
$21.62
$19.46
$64.60
$16.38
$334.74
$9.22
$186.20
$190.92
$198.80
$2,238.08
$92.04
$62.32
$61.24
$28.52
$12.52
$88.28
$247.62
$496.44
$237.42
$35.82
$232.12
$613.78
$28.38
$334.54
$62.10
$217.14
$47.16
$95.68
$5.06
$107.12
$31.84
$852.64
$37.58
$29.52
$53.54
$76.48
$86.32
$8.40
$13.76
$45.90
$132.72
$66.28
$48.86
$91.78



35708 KIT-SCREW REPLACEMENT(R/L HOLESAWS) $6.82

35712 HOLESAW,LIGHT 4-3/8 STEEL TOOTH $56.32
35713 HOLESAW,LIGHT 6-3/8 STEEL TOOTH $60.50
35714 HOLESAW,LIGHT 6-5/8 STEEL TOOTH $60.50
35715 HOLESAW,LIGHT 6-7/8 STEEL TOOTH $60.50
35716 HOLESAW,LIGHT 4-3/8 CARBIDE GRIT $92.90
35717 HOLESAW,LIGHT 6-3/8 CARBIDE GRIT $114.50
35718 HOLESAW,LIGHT 6-5/8 CARBIDE GRIT $114.50
35719 HOLESAW,LIGHT 6-7/8 CARBIDE GRIT $114.50
35720 BLADE,REPLACE (4-3/8 STEEL TOOTH) $22.14
35721 BLADE,REPLACE (6-3/8 STEEL TOOTH) $24.00
35722 BLADE-REPLACE (6-5/8 STEEL TOOTH) $24.00
35723 BLADE-REPLACE (6-7/8 STEEL TOOTH) $24.00
35724 BLADE-REPLACE (4-3/8 CARBIDE GRIT) $64.14
35725 BLADE-REPLACE (6-3/8 CARBIDE GRIT) $80.32
35726 BLADE REPLACE 6-5/8 CARBIDE GRIT $80.32
35727 BLADE-REPLACE (6-7/8 CARBIDE GRIT) $80.32
35728 BLADE,STEEL 5-3/8 (POP) $58.44
35729 BLADE,CARBIDE GRIT 5-3/8 (POP) $103.12
35730 BLADE,STEEL REPLACEMENT 5-3/8 (POP) $23.26
35731 BLADE,CARBIDE GRIT RPLCMT 5-3/8 (POP) $72.16
35750 ACCESSORY KIT-3/16" FISHTAPE $179.90
35764 GEARMOTOR UNIT-1HP 206RPM (640-22) $2,186.16
35767 TRANSFORMER UNIT-CURRENT (640-22) $225.18
35798 CASTER, SWIVEL LOCK 8" $81.20
35831 SCREEN,INTAKE (1985) (BR 3-7629) $94.58
35884 BIT KIT,STEP-#1,#3 & #8. $201.36
35885 HANDLE ASSY (SERVICE) $154.58
35887 CELL,LOAD (BROCK 4-1058) $1,951.94
35889 PAWL UNIT-W/SPRING (1940) $17.64
35890 SCREW-ADJUSTING #6-32UNCX.840 $3.84
35891 HEX WRENCH & SET SCREW $6.16
35908 REPAIR KIT-1/8" FISHTAPE $57.26
35909 REPAIR KIT-3/16" FISHTAPE $58.10
35912 COVER-RELAY ENCLOSURE (940&960PS) $77.70
35919 EYE-PULLING 1/8" FISHTAPE $14.00
35930 EYE-PULLING 3/16" FISHTAPE $16.44
35931 FERRULE-MALE 3/16" FISHTAPE $15.96
35936 CASE,STEP BIT $67.12
35956 HANDLE-PUMP (1989) $253.32
35960 DIE-STATIONARY (1989) $107.56
35964 BLOCK, PUMP (1989) $829.72
35973 ROLLER-ADJUSTING .198X.373 (1989) $21.64
35975 ROD-STEPPED (1989) $247.08
35976 PLUNGER (1989) $239.00
35977 500RING-BRONZE .690X.878X.500 $31.84
35978 SPRING-COMP 1.19X1.45X4.59 (1989) $23.76
35979 RAM-CRIMPER (1989) $176.60
35980 BODY-CHECK BALL (1989) $102.80
35982 SHAFT-RELEASE (1989) $76.08
35983 BODY-RELIEF VALVE (1989) $241.34
35984 PLUG-GLAND (1989) $44.64
35985 BLOCK-PIVOT (1989) $76.48
35993 RETAINER-GUIDE .284X.470X.780(1989) $39.08
36018 BIT,STEP 9,7MM (PKGD) $39.42
36020 BIT,STEP 30,5MM (PKGD) $107.64
36022 BIT,STEP 32,5MM (PKGD) $107.64
36024 SPRING-PAWL (752) SERV. ONLY $5.60
36037 CUTTERHEAD ASSY (764) $330.10
36049 BASE-RELAY ENCLOSURE (940,960) $135.24
36060 KEEPER (757) $35.00

36068 HANDLE,LOCK (1818-M4) $57.54



36076
36078
36080
36086
36090
36091
36094
36149
36150
36151
36152
36153
36164
36165
36171
36172
36173
36190
36198
36201
36202
36204
36205
36212
36213
36214
36215
36246
36251
36278
36279
36282
36284
36292
36296
36301
36310
36311
36319
36369
36370
36402
36414
36489
36490
36506
36508
36587
36589
36592
36594
36597
36599
36605
36624
36685
36687
36688
36690
36691
36692
36693

PAWL-LOCK (1818-M4)

PAWL-DRIVE (1818-M4)
DOG,UNLOAD/LOCK (1818-M4)
PIN-SPRING .187X1.00 (1818-M4)
PIN-FRICTION (1818-M4)

PIN,DRIVE (1818-M4)

SEGMENT UNIT-RATCHET (1818-M4)
RETROFIT KIT-CYL/DIE HEAD (1990)
RETROFIT KIT-VALVE CAP/COVER (1990)
RETROFIT KIT-RESERVOIR HANDLE 1990
RETROFIT KIT-PUMP HANDLE (1990)
RETROFIT KIT-PUMP BLOCK (1990)
FRAME WELDMENT,BENDER (1818-M4)
HANDLE WELDMENT (1818-M4)

PUNCH UNIT-54MM SLUGBUSTER
PUNCH-RD 54MM SLUGBUSTER (36172)
DIE-RD 54,0MM (2.126) SB
BRACKET-MOUNTING (7SHT SERIES)
SHAFT WELDMENT-SHOE (1818-M4)
POINTER,ADJUSTABLE (1818-M4)

TEST KIT-PRESSURE

DIAL-INDICATOR (1818-M4)
WASHER-THRUST 2.51X3.25X.046 (1818)
KNOB-RAPID ADVANCE (752) SERV. ONLY
KNOB-RAPID ADVANCE 753 SERV. ONLY
KNOB-RATCHET LEVER (752)
KNOB-RATCHET LEVER 753 SERV. ONLY
ADAPTER UNIT-GAUGE 5/16X1/4 (1990)
COIL UNIT-CALIBRATION (2004CA)
DIE,RD 1.218 (30.5MM) STD (3/4"D/S)
DIE,RD 1.218 (30.5) STD (3/8"D/S)
PUNCH-RD 1.218 (30.5MM) STD (3/8"D/S)
PUNCH,RD-1.218 (30.5MM) SB (3/8"D/S)
REPAIR KIT-HYD (1989)
ROLLER-FOLLOW BAR (1818-M4)
SCREW-ADJUSTING #10-24 W/KNOB (1940
REFLECTOR-LOWER LEFT (851)
REFLECTOR-LOWER RIGHT (851)
ADAPTER WELDMENT-RIGHT HANDLE (757)
CORD UNIT-ELEC 18GA 3-WX84"LG(555)
SWITCH-PENDANT (555-M4)

BIT,STEP-#2 (PKGD)

BIT,STEP #14 (PKGD)

DIE-RD 1.218 PKGD, SC

PUNCH, RD 1.218 PKGD, SC

PUNCH UNIT-RD 30.5MM BB(1.201) (3/8"D/S)
PUNCH UNIT-RD 30.5MM BB(1.201) (3/8"D/S)
CUTTER ASSY,THREADED ROD
HOLDER-SMALL TOOL (36587)

HANDLE ASSY,UPPER (36587)
HANDLE-LOWER (36587)

BASE ASSY,CUTTER (36587)

HOLDER, LARGE TOOL (36587)
LINK-CONNECTING (36587)
PROFILE-RUBBER .375X6.00LG (36248)
CASE-CARRYING (36686)

PUNCH SET-STD PG9-PG48

PUNCH SET-STD ISO16-1S040

PUNCH SET-SB PG9-30,5MM

PUNCH SET-SB PG9-48MM

PUNCH UNIT-SB ISO16-1S040

PUNCH SET-SB ISO16-63MM

$183.26
$181.22
$80.22
$47.74
$57.32
$97.30
$978.04
$943.66
$165.00
$238.86
$423.82
$1,311.30
$1,830.70
$499.38
$145.14
$89.28
$52.22
$37.60
$531.44
$86.58
$234.82
$15.82
$15.40
$25.20
$26.60
$64.08
$26.60
$102.06
$25.02
$27.02
$27.02
$48.66
$47.00
$209.86
$84.06
$8.70
$90.22
$92.32
$95.20
$62.64
$317.26
$45.52
$104.82
$74.14
$225.96
$89.86
$82.96
$946.84
$183.10
$136.20
$50.30
$297.80
$226.56
$74.12
$29.38
$96.88
$824.78
$530.58
$420.72
$784.74
$504.88
$767.58



36696
36697
36745
36835
36871
36882
36886
36887
36889
36890
36891
36892
36893
36894
36896
36899
36900
36904
36905
36906
36907
36910
36914
36915
36917
36928
36929
36977
37040
37103
37104
37106
37107
37108
37139
37140
37141
37142
37143
37154
37155
37156
37157
37160
37161
37166
37170
37171
37179
37181
37186
37187
37202
37210
37211
37213
37218
37232
37278
37279
37281
37282

DIE,MOVEABLE (44999)

PIN UNIT, ROLLER (1818-M4)

CART,PIPE (36745)

INSULATION-UPPER (849)

NUT, HEX-SLOTTED

PUNCH-RD 1.118 (28.3) 3/4 COND (3/8"D/S)
KNOB-RELEASE VALVE (7804-M4)
HANDLE,PUMP (7804-M4)
HANDLE,RESERVOIR (7804-M4)
SEAT-INLET CHECK (7804-M4)
COUPLER-RAM (7804-M4)
PLATE-RETAINING (7804-M4)
STEM-RELEASE (7804-M4)
CAP,RESERVOIR HANDLE (7804-M4)
RAM,HYD KNOCKOUT DRIVER (7804-M4)
FILTER-OIL (7804-M4)

BLOCK ASSEMBLY,PUMP (7804-M4)
RAM-RIGHT ANGLE DRIVER (7904-M2)
SHOES,BENDING (1/2-2 R & 3/4-2 EMT)
SHOES,BENDING (1/2-2 RIGID)
SHOES,BENDING (3/4-2 EMT)

PUNCH UNIT,BB 28,3MM (3/8"D/S)
CYLINDER,ANGLE DRIVER (7904-M2)
PLATE,SPRING RETAINING (7904-M2)
BLOCK ASSEMBLY,PUMP (7904-M2)
ADAPTER-FEMALE AC TO CLIPS (2007)
BLADE-AC (2007)

BLOCK, PUMP (44999)

PLATE-OUTER (753) SERV. ONLY
DIE-RD 1-7/32 30,5MM

PLATE-OUTER (752) SERV. ONLY
ROD-STEPPED (44999)

BOX-UPPER GAUGE (6001)
BOX,LOWER GAUGE (640)
PIN-.588X1.874 SPROCKET (756)
PIN-.403X1.750 DRIVE PAWL (756)
SPROCKET-#40 11T .630ID (756)
HANDLE-LEFT (756)

PLATE,SIDE (756)

ARBOR,3/8" SHANK W/3 FLATS (PKGD)
ARBOR,HOLESAW 7/16 HEX (PKGD,37155)
ARBOR,HOLESAW 1/2 SHANK W/3 FLATS
ARBOR,HOLESAW SMALL (PKGD, 37157)
KIT,REPAIR-RELEASE VALVE 7804,7904
REPAIR KIT,HYDRAULIC

CORD UNIT-POWER 12GA X84"LG (6001)
CORD UNIT-POWER 12GA X6'LG (640)
GAUGE UNIT-FORCE (640)

GAUGE UNIT FORCE (6001)
CASE-PLASTIC

INSERT SET,DIE (1/4") (36587)

INSERT SET,DIE (3/8") (36587)

CART,BX (37202)

PLATE-TURNTABLE (37202)
BRACKET-CENTER (37202/37218)
GUIDE WELDMENT-FEED (37202/37218)
STAND,BX (37218)
MECHANISM-RATCHET

WIRE UNIT,ELEC (18 GA X 7.00 LG) (847)

SHOE GROUP, 1/2"-2" PVC RIG (555 SERIES)

SHOE UNIT ASSY (1-1/2-2 PVC)
SUPPORT UNIT-PVC 1-1/2-2 (37279)

$222.52
$112.14
$734.74
$12.60
$4.20
$39.14
$3.28
$52.52
$171.42
$36.80
$76.14
$2.54
$25.82
$7.58
$201.30
$18.22
$400.22
$154.30
$4,612.44
$1,966.44
$2,704.94
$68.48
$536.80
$23.96
$459.08
$59.74
$10.36
$1,512.72
$33.60
$159.00
$30.80
$324.26
$56.30
$42.84
$40.60
$11.20
$40.60
$91.00
$20.70
$20.84
$13.38
$25.06
$10.94
$41.32
$103.12
$219.92
$136.00
$1,148.92
$1,155.00
$17.94
$162.24
$159.02
$552.10
$89.08
$41.62
$87.38
$348.56
$168.00
$14.70
$3,041.92
$2,461.46
$559.92



37283
37284
37578
37614
37623
37662
37714
37715
37729
37868
37869
37870
37871
37959
38140
38148
38151
38156
38166
38167
38168
38193
38199
38217
38221
38225
38228
38230
38232
38233
38236
38238
38240
38242
38244
38248
38251
38252
38253
38254
38255
38256
38257
38259
38260
38261
38262
38263
38264
38265
38268
38311
38314
38315
38316
38397
38405
38406
38407
38408
38409
38410

ROLLER,PVC (2") (37282)
ROLLER,PVC (1-1/2") (37282)

SWITCH UNIT-PENDENT (37300)
COUPLER UNIT-1/4 SCREW TYPE
DRILL-PILOT (HOLESAW PKGD)
SHAFT,ROLLER (1-1/2") (37282)
PIN-HANDLE (7804-M4)

PLUNGER (7804-M4)

HOSE UNIT-1/4X10'

BIT,IMPACT 9/16 (.562) X18X.437 (37868)
BIT,IMPACT 11/16 (.687) X18X.437 (37869)
BIT,IMPACT 13/16 (.812) X18X.437 (37870)
BIT,IMPACT 15/16 (.937) X18X.437 (37871)
ROPE-POLYLLINE 2200'X500LBS (37959)
SPRING-TORSION .350X.420X.035 (764)
SHOE UNIT-1-1/2"&2"

SLEEVE,PIVOT (2")
BLOCK,REINFORCEMENT

AXLE, LONG .750X28.50 (855)
PIN,LOCK-TRUNNION
KNOB,LOCK-TRUNNION

PLATE WELDMENT-DRIVE

SUPPORT WELDMENT-1/2"-1-1/4" ROLLER
GUARD WELDMENT-TOP (551)
SUPPORT WELDMENT, ROLLER

ARM, ADJUSTMENT

LOCATOR WELDMENT-ECCENTRIC
SUPPORT WELDMENT-1-1/2"

GUARD WELDMENT-MOTOR (551)
SUPPORT WELDMENT-2"
GUARD,FRONT

GUARD-BOTTOM

PLATE, 1-1/2" OUTER ROLLER

PLATE, 2" OUTER ROLLER
RETAINER-ROLLER
BACKPLATE,SWITCH

SLEEVE, ADAPTOR

ROLLER-1-1/2" IMC

ROLLER-2" TAIL

ROLLER (1-1/2")

ROLLER (2")

SHAFT-ECCENTRIC

SPACER-MOTOR MOUNT

SHAFT,REAR (1-1/2")

SHAFT,PIVOT ROLLER (1-1/2")

SHAFT-2" REAR ROLLER
SPACER,ROLLER (2")

BALL-2" HALF

BALL,HALF (1-1/2")

WASHER-MAIN SPINDLE
KEY-.375X.500X1.88 SHOE DRIVE
BOARD-INPUT/OUTPUT

BOARD-DIGITAL PENDANT

REPAIR KIT,HYDRAULIC

HOSE UNIT-HYD 1/4"X3'

PAWL-HANDLE (753)
HANDBOOK,CONDUIT BENDING (ENGLISH)
CALCULATOR-OFFSET
CALCULATOR-SEGMENT
CALCULATOR-881/882 BENDING
HANDBOOK,CONDUIT BENDING (FRENCH)
SUPPORT UNIT-ANTI-ROTATION

$156.24
$124.52
$264.60
$70.46
$27.46
$99.32
$22.04
$51.26
$272.56
$38.84
$42.50
$47.36
$48.56
$89.78
$11.00
$1,557.78
$64.82
$52.00
$61.46
$65.16
$61.66
$341.24
$356.50
$316.12
$390.74
$47.32
$73.36
$125.22
$170.30
$265.64
$132.64
$31.42
$72.94
$79.24
$22.54
$12.80
$89.74
$95.54
$95.54
$154.34
$208.24
$161.84
$22.60
$52.00
$92.18
$77.98
$49.48
$62.22
$67.62
$38.98
$52.00
$588.70
$165.12
$109.86
$168.02
$133.00
$4.20
$7.00
$7.00
$7.00
$4.20
$401.08



38456
38463
38464
38475
38478
38481
38504
38505
38506
38507
38520
38522
38524
38526
38544
38546
38566
38583
38592
38597
38598
38600
38601
38603
38609
38610
38616
38624
38625
38634
38635
38636
38637
38638
38639
38640
38641
38642
38643
38645
38646
38647
38648
38649
38650
38654
38657
38699
38733
38771
38774
38775
38778
38779
38780
38787
38788
38789
38814
38833
38861
38863

DRIVER,PUNCH-HYD (38456)
SHAFT-.480X1.050 W/.625 HD (05551)
PAD WELDMENT-JACK BOLT
JAW,MOVABLE CUTTER
PIN-ROTATING STOP
RETAINER-NUT STAR
ARBOR-HOLESAW 3/8" SHANK W/3 FLATS
ARBOR-HOLESAW .437 HEX
ARBOR,HOLESAW 1/2" SHANK W/3 FLATS
ARBOR,HOLESAW-SMALL

PUNCH SET (1/2" TO 4" W/O 3-1/2")
ARBOR, .312 HEX (PKGD)
ARBOR-.312 HEX BLST PKGD
DRILL-PILOT PKGD
PLATE-RETAINING

COVER-SWITCH

SPRING-CAM RETENTION
ADAPTER-HIGH VOLTAGE (2007)
GUIDE-SPRING

PLATE-FILTER (38594)
PIPE,INTAKE-MIDDLE (38594)
SPACER-PLATE (38594)
PIPE,INTAKE-UPPER (38594)

CORD UNIT-POWER

SEAL-MTG PLATE (38594)
CORD,ELEC 16GA X120" SJT (MEGA P/N: 18FA
SUPPORT-FILTER (38594)
HOSE-VACUUM 10' W/CUFFS (38594)
JAW, STATIONARY CUTTER(764)
RECEPTACLE UNIT-STANDARD
CORD UNIT-PENDANT SWITCH
WIRE UNIT-LIMIT SWITCH

WIRE UNIT-BRAKE

SWITCH ASSY,UNLOAD/LOCKOUT
WIRE UNIT-RELAY

WIRE UNIT-PGU RELAY

WIRE UNIT-RECTIFIER (BLACK)
WIRE UNIT-RECTIFIER (RED)

WIRE UNIT-RECTIFIER (YELLOW)
SWITCH UNIT-SELECTOR
ENCODER KIT-OPTICAL
TRANSFORMER UNIT

WIRE UNIT-/O TO PGU

MEMBRANE, SWITCH

CONTROL UNIT-DELUXE PENDANT
STRIPPING, MAGNETIC - REPLACEMENT
SHAFT-2" MIDDLE ROLLER
RETAINER UNIT-SCREW (656)
CART,WIRE-HAND TRUCK (38733)
SHAFT,ROLLER (882-CB)
SHAFT,REEL CART (38733)
AXLE,CART (38733)

ROLLER UNIT-W/PIN (882)
HOOK-1-1/2"&2" IMC&RIGID

SHOE UNIT-1/2"TO 1 1/4"
RECEIVER-OPEN CIRCUIT (2008)
TRANSMITTER-OPEN CIRCUIT (2008)
CASE-CARRYING (2008)
GASKET-BLOWER (38594)
COVER-EXHAUST (38594)
SEAL-FILTER (38594)

SWITCH UNIT-STANDARD PENDANT

$2,298.08
$33.04
$96.52
$187.50
$18.08
$5.60
$20.84
$13.38
$25.06
$10.94
$2,068.28
$15.86
$15.86
$27.12
$9.38
$23.30
$38.98
$433.64
$36.04
$28.70
$8.18
$26.46
$5.18
$96.04
$197.60
$25.90
$38.50
$31.50
$119.64
$150.64
$213.98
$12.46
$9.52
$69.30
$9.52
$9.52
$9.52
$9.52
$9.52
$262.08
$521.78
$152.04
$33.46
$117.24
$2,038.26
$9.72
$36.88
$47.48
$376.46
$298.68
$47.34
$17.12
$453.94
$335.44
$1,447.32
$723.16
$400.66
$103.52
$11.90
$21.00
$14.76
$590.24



38888
38941
38960
38962
38983
39042
39048
39049
39062
39063
39068
39073
39075
39076
39079
39080
39081
39092
39106
39107
39108
39109
39110
39111

39112
39113
39114
39115
39116
39117
39237
39243
39244
39245
39251
39252
39255
39257
39259
39261
39263
39265
39274
39276
39278
39280
39282
39284
39286
39288
39290
39294
39295
39296
39297
392908
39302
39303
39304
39306
39308
39440

WIRE UNIT-15" BLACK

WIRE UNIT-PGU TO BREAKER

WIRE UNIT-PGU POWER #6S
COVER-RAIN

GUARD ASSEMBLY-FRONT
WRENCH/SCREW PKG-#10-24 SET SCREW
CANISTER (5 GAL PLASTIC)
SPRING-TORSION

GASKET, FLAPPER

LID-BUCKET

CAM,RETENTION

HOUSING, REAR GUARD
HOUSING-FRONT GEAR
SHAFT-OUTPUT GEAR

SHAFT-2ND REDUCTION PINION
SHAFT-3RD REDUCTION PINION
SHAFT-4TH REDUCTION PINION
COVER

SWIVEL

SWIVEL-5,000 LBS

SWIVEL-7,000 LBS.

SWIVEL-10,000 LBS.

SWIVEL, 15,000 LBS

SWIVEL,25,000 LBS

PIN KIT,REPLACEMENT 2 OF 00010-SLT
PIN KIT-REPLACEMENT 2 OF 00020-SLT
PIN KIT-REPLACEMENT 2 OF 00025-SLT
PIN KIT-REPLACEMENT 2 OF 00030-HEX
PIN KIT-REPLACEMENT 2 OF 00035-HEX
PIN KIT-REPLACEMENT 2 OF 00040-HEX
BLADE UNIT-CUTTER (39153)
TAPE,MEASURING-1250# (POLYARAMID)
TAPE,MEASURING-1800# (POLYARAMID)
TAPE,MEASURING-2500# (POLYARAMID)
PIPE,EXHAUST

PIPE, TAIL

MANDREL-PLASTIC 5.0" (39255)
MANDREL-PLASTIC 4.0" (39257)
MANDREL-PLASTIC 3.5" (39259)
MANDREL-PLASTIC 3.0 (39261)
MANDREL-PLASTIC 2.5" (39263)
MANDREL-PLASTIC 2.0" (39265)
BRUSH-WIRE 2" (39274)

BRUSH-WIRE 2.5" (39276)

BRUSH-WIRE 3" (39278)

BRUSH-WIRE 3.5" (39280)

BRUSH-WIRE 4" (39282)

BRUSH-WIRE 5" (39284)

BRUSH-WIRE 6" (39286)
MANDREL-PLASTIC 6.0" (39288)
SWIVEL-BREAKAWAY 5/8" (39290)
PIN-SHEAR 200 LBS (39290)

PIN-SHEAR 400 LBS (39290)

PIN-SHEAR 600 LBS (39290)

PIN-SHEAR 675 LBS (39290)
SWIVEL-BREAKAWAY 7/8" (39298)
PIN-SHEAR 200 LBS (39298)

PIN-SHEAR 400 LBS (39298)

PIN-SHEAR 600 LBS (39298)

PIN-SHEAR 800 LBS (39298)

PIN-SHEAR 1000 LBS (39298)
WASHER-FLAT .625X2.00X.062 BLACK

$9.52
$9.52
$9.52
$339.14
$164.28
$5.02
$31.84
$12.74
$9.02
$9.66
$82.46
$575.32
$673.04
$706.16
$366.58
$333.68
$744.66
$65.10
$295.60
$391.98
$431.82
$520.50
$712.00
$971.62
$49.08
$54.08
$56.58
$61.56
$71.56
$111.46
$289.40
$957.28
$1,273.86
$1,627.28
$4.90
$4.90
$557.82
$420.58
$342.38
$247.94
$233.18
$206.62
$52.40
$59.04
$56.06
$59.04
$64.94
$76.74
$128.40
$841.16
$371.42
$11.38
$11.38
$11.38
$11.38
$422.84
$14.66
$14.66
$14.66
$14.66
$14.66
$19.32



39447
39488
39660
39661
39664
39666
39679
39680
39681
39683
39686
39688
39742
39757
39758
39759
39760
39763
39764
39765
39767
39768
39769
39822
39825
39837
39839
39845
39849
39850
39851
39860
39873
39884
39890
39893
39896
39902
39903
39904
39905
39911
39973
39974
39975
39992
39993
39994
39995
39996
44918
45000
45011
45019
45020
45039
45040
45058
45132
45206
45207
45211

RETROFIT KIT-PIN UNIT (882)
SPACER-THIN MOTOR MOUNT
ROLLER ASSY-30" REEL (39660)
ROLLER ASSY,REEL-6" (39661)
SPREADER KIT-REEL ROLLER
REEL ROLLER KIT-6" (39666)
ROLLER-REEL ROLLER 30" (39960)
BEARING-REEL ROLLER (39660,39661)
SPINDLE-REEL ROLLER 30" (39660)
NUT/BOLT UNIT-ACORN (39660,39661)
ROLLER UNIT ASSY (SERVICE) 39660
ROLLER-2.500X2.750X6.060 (39660)
FRAME WELDMENT-MAIN (555-M8)
AXLE-LONG (555-M8)

ECCENTRIC (555-M8)

COVER-TOP (555-M8)
COVER-FRONT (555-M8)
COUNTERSHAFT WELDMENT (555-M8)
COUNTERSHAFT (555-M8)
KEY-COUNTERSHAFT (555-M8)
BUSHING-AXLE (555-M8)
GUARD-REAR LOWER (555-M8)
GUARD-REAR UPPER (555-M8)
BRACKET, MOUNTING-ELECTRICAL
KEY-REDUCER SPROCKET (555-M3)
CORD UNIT

SWITCH UNIT - PENDANT
CONTROL-l O BRAKE

SPOOL

PIN-THREADED

RETROFIT UNIT-RETENSION CAM
INDUSTRIAL STD PUNCH KIT
DRILL,PILOT (39873).

STOP ASSY, ROLLER (39660,39666)
TERMINAL-BRAKE (854)
DRILL-PILOT .250X3.25LG.
STRAP-MTR CONT MTG
CONNECTOR UNIT-ROPE 10,000#
CONNECTOR UNIT-ROPE 10,000#
CONNECTOR UNIT-ROPE 7,000#
CONNECTOR UNIT-ROPE 5,000#
PLATE-HOUSING TOP

CORD UNIT, POWER

WIRE, POWER (BLACK)

WIRE, POWER (RED)

JUMPER (BLACK)

JUMPER (BLUE)

JUMPER (RED)

JUMPER (BLUE)

JUMPER (BLUE)

CRTRDG-CRCLR 01B 1.2MM
STRIPPER,KWIK (34-10 AWG).
STRIPPER-BLADE FOR 1935
STRIPPER-MEGA STRIP

REPL JAWS-MEGA STRIP
CARTRIDGE-3 LEVEL COAX
CARTRIDGE-2 LEVEL COAX
POWER TALK 2000

REPL RIPPER-POCKET STRIP
CUTTER,RATCHET CABLE
CUTTER,CABLE

BLADE SET-MOVEABLE (45207 - PA1818)

$325.42
$54.46
$626.08
$518.90
$217.00
$942.80
$90.90
$74.40
$50.40
$1.20
$355.60
$44.50
$2,376.78
$137.68
$77.98
$72.52
$178.50
$272.72
$212.38
$44.94
$18.68
$70.90
$59.14
$118.50
$36.88
$63.28
$176.82
$543.82
$53.48
$50.40
$96.18
$411.34
$4.86
$7.90
$22.46
$4.62
$77.48
$611.04
$611.04
$515.66
$436.68
$49.02
$128.24
$8.18
$10.84
$9.02
$9.24
$13.58
$5.88
$8.40
$141.14
$103.84
$13.36
$428.30
$118.56
$15.08
$15.08
$312.24
$14.76
$428.40
$488.88
$227.74



45212
45213
45214
45216
45217
45218
45220
45221
45222
45223
45224
45225
45226
45227
45228
45237
45239
45240
45241
45242
45243
45244
45245
45246
45247
45248
45249
45250
45251
45252
45253
45254
45255
45256
45258
45259
45260
45261
45262
45263
45264
45265
45266
45267
45268
45272
45275
45276
45281
45282
45284
45285
45297
45300
45306
45307
45310
45311
45312
45313
45314
45315

BLADE-FIXED (FOR PA-1815)
BOLT-PIVOT (45206)

NUT (45206)

SPRING-HANDLE (45206)
GRIP (45206)

BLADE SET-MOVABLE
LEVER-RELEASE
SPRING-TORSION
SPRING-PAWL

LEVER SET-LOCKING
PLATE-FRONT (NEUTRAL)
PIN-PIVOT (45206)
PIN-THREADED (45206)
SCREW-(45206)
BLADE/HANDLE-FIXED (45207)
PAWL-DRIVE (4 TEETH)
PIN-THREADED MALE
CUTTER-RATCHET CABLE
BLADE-MOVEABLE (45240)
BLADE-STATIONARY (45240)
BOLT-PIVOT (45240)

WASHER (45240)
WASHER-LOCK (45240)
NUT-PIVOT (45240)
LOCK-PAWL (45247)
SPRING-PAWL (45240)
SLEEVE (45240)

BOLT-BLADE (45240)
NUT-BLADE (45240)
RING-SNAP (45240)
WASHER-LOCKING (45240)
WASHER (45240)
KNOB-LOCKING (45240)
PIN-ROLLER (45240)

GRIP (45240)
HANDLE-STATIONARY (45240)
0519HANDLE-MOVEABLE (45240)
SPRING-RATCHET (45240)
CLIP-SPRING (45240)
PAWL-RATCHET (45240)
BEARING-CAGE (45240)
PIN-SPRING (45240)
LEVER-BLADE RELEASE (45240)
SCREW (45240)

NUT

POUCH,POP

REMOTE KIT

CASE

FIXED BLADE

MOVEABLE BLADE

OUTER PLATE

PLASTIC GRIP

COIL SPRING

GUN-CABLE TY HEAVY DUTY
GUN, CABLE TIE-STANDARD (45306)
PLASTIC HANDLE PLUG

KIT, PAWL (759)

KIT, PIVOT SCREW (759)

KIT, SET SCREW (759)

KIT, RATCHET LEVER KNOB (759)
KIT, RATCHET HANDLE (759)
CONNECTOR,F CRIMP-RG6 (10 PAK)

$350.00
$9.68
$3.98
$9.22
$105.00
$107.80
$29.84
$7.16
$7.60
$19.10
$37.84
$13.56
$6.28
$2.54
$385.00
$12.20
$18.20
$553.58
$158.48
$135.58
$5.58
$1.22
$1.22
$2.80
$7.14
$3.26
$12.88
$4.62
$5.10
$1.24
$1.22
$1.22
$2.80
$2.80
$2.80
$22.90
$39.20
$6.54
$4.64
$34.38
$38.14
$2.80
$19.34
$2.80
$5.58
$47.04
$149.62
$35.68
$149.10
$126.86
$22.66
$18.74
$6.68
$82.50
$45.62
$5.58
$46.50
$33.02
$36.12
$18.04
$97.20
$8.22



45316
45321
45322
45323
45324
45325
45326
45327
45328
45333
45334
45335
45339
45340
45341
45342
45343
45344
45366
45369
45370
45372
45373
45375
45376
45377
45378
45379
45382
45383
45466
45467
45468
45469
45470
45472
45473
45476
45477
45478
45479
45480
45481
45482
45484
45485
45486
45487
45500
45501
45504
45505
45507
45508
45509
45516
45517
45518
45540
45541
45545
45553

CONNECTOR,F CRIMP-RG6 (50 PAK)
CONNECTOR,F CRIMP-RG59 Q (10 PAK)
3CONNECTOR,F CRIMP-RG59 Q (50 PAK)
CONNECTOR,F CRIMP-RG6 Q (10 PAK)
CONNECTOR,F CRIMP-RG6 Q (50 PAK)
ADAPTER,FEMALE-F (5 PAK)

F TERMINATOR (QTY 5)
CONNECTOR,F TWIST-RG6 (10 PAK)
CONNECTOR,F TWIST-RG6 (50 PAK)
BLADE-STATIONARY

BLADE-MOVING

GUIDE SET,GEAR

BEARING

BEARING-PINION

PLATE-CUTTER

BEARING

BEARING CASE

BRUSH

COVER-GEAR

SCREW,SET M3X10

SCREW,PHIL HD M3X8
SCREW,ROUND HD SKT M3X6
SCREW,SELF TAP M3X15
BREAKER-CIRCUIT

SWITCH

CONTACT,BLACK (ES750)

BATTERY 12V

CHARGER-120V FOR 45330
CHARGER-220V FOR 45330

CUTTER CASE-BATTERY

CATV COAX TERMINATION KIT

KIT, CATV COAX TERM & TEST
KIT,COAX/UTP LAN TERM.&TEST

KIT, VOICE/CAT 5 TERM

KIT, CAT 5 TERM & TEST
POUCH,TELECOM TECHNICIAN
TELECOM FIELD TECHNICIAN KIT
BAG (45466)

BAG (46467)

BAG (45468)

BAG (45469)

CUTTER/STRIPPER

CUTTER-CENTER CONDUCTOR
CUTTER, CABLE-8AWG

CRIMPER-D SUB & DD CONTACTS
BAG (45470)

BAG (45471)

BAG (45473)

CRIMPER,KWIK CYCLE INSUL TERM
ECONCRMPR,SLIDE-ON
FRAME,CRIMP TOOL (POP)
CRIMPER,NON INS TERM

DIE SET,NON INSULATED

DIE SET,OPEN BARREL

DIE SET,INSULATED TERMINALS
INSERTION TOOL,F CONNECTOR
BIT,F CONNECTOR

BIT,BNC

CRIMPER UNIT,AMP RJ45 CONNECTORS
CRIMPER UNIT,AMP RJ11 CONNECTORS
CRIMPER UNIT,RG59&RG8281 CNTR PINS
CRIMPER, MOD PLUG-STD

$28.02
$11.06
$51.94
$10.80
$50.86
$5.86
$5.12
$8.62
$40.06
$280.22
$290.26
$14.42
$61.02
$70.48
$16.16
$32.54
$21.46
$16.84
$11.16
$2.80
$2.48
$3.00
$2.96
$43.78
$53.46
$12.90
$191.80
$105.62
$99.60
$43.96
$248.24
$441.28
$815.18
$407.60
$510.26
$850.44
$1,359.16
$84.64
$91.94
$167.84
$91.94
$17.86
$21.88
$28.30
$63.44
$91.94
$185.34
$185.34
$89.62
$89.62
$63.34
$89.62
$38.26
$35.24
$38.26
$27.80
$17.16
$21.86
$110.16
$110.16
$88.34
$79.48



45556
45557
45558
45559
45562
45563
45565
45566
45570
45571
45574
45575
45576
45577
45578
45579
45580
45581
45582
45588
45589
45598
45599
45608
45610
45612
45639
45644
45651
45655
45656
45658
45667
45677
45726
45727
45728
45731
45732
45733
45735
45737
45738
45739
45740
45742
45743
45744
45745
45747
45748
45749
45750
45751
45753
45755
45756
45758
45760
45770
45771
45773

DIE SET,RG58, RG59 PLENUM CABLE
DIE SET,RG6, RG174,8281,ATT728
DIE SET,RG58, RG59/62 MINI

DIE SET,CAMBRIDGE/AIM RG58/59/62
DIE SET,CAMBRIDGE/AIM 2PC

DIE SET,BELDEN 1694A BNC/TNC
DIE SET,MINI INS TERM. 26-16AWG
DIE SET,4 POS HANDSET PKG

DIE SET,SLIDE ON 22-12 AWG

DIE SET,RJ45 10 POS AMP

DIE SET,.429/.075/.075 TWINAX
CRIMPER, MOD PLUG-RATCHET.
STRIPPER, COAX-2 LEVEL
STRIPPER, COAX-3 LEVEL
STRIPPER, CABLE-CATV

STRIPPER, TWISTED PAIR (45579)
CARTRIDGE, RG6/RG59
CARTRIDGE, RG7/RG11
CRIMPER,RG6 RG174 8281 ATT728
CLASS INABAG

BUFFER STRIPPERS

PUCK, POLISING-PLASTIC

PUCK, POLISHING-STAINLESS
CRIMPER-KWIK CYCLE 4-WAY INDENT
CRIMPER-4-WAY INDENT

PAD, POLISHING

BAG, FULL KIT

BAG, HAND TOOLS

MICROSCOPE

KIT, HAND TOOL

KIT, CONSUMABLES

KIT, FULL

CARTRIDGE, UTP

STRIPPER, UTP + COAX

BNC TERMINATOR (1 PACK)
ADAPTOR, BNC "T" (POP)

BNC ADAPTER (POP)

BNC PLUG-CRIMP (5 PACK)

BNC PLUG-CRIMP (5 PACK)

BNC PLUG-CRIMP (5 PACK)
CONNECTOR,F TWIST-RG59 (10 PAK)
RJ11-HANDSET 4C (25 PACK)
RJ12-6C (25 PACK)

DEC-MMJ 6C (25 PACK)
CONNECTOR,RJ45-8C FLAT (25 PAK)

CONNECTOR,RJ11-HANDSET 4C (25 PAK)

CONNECTOR,RJ12-6C (25 PAK)
DEC-MMJ 6C (25 PACK)
CONNECTOR,RJ45-8C ROUND (25 PAK)
CONNECTOR,RJ45-8C CAT 5 (25 PAK)
CONNECTOR,F CRIMP-RG59 (50 PAK)
CONNECTOR,F TWIST-RG59 (50 PAK)
RJ11-HANDSET 4C (50 PACK)

RJ12-6C (50 PACK)

RJ45-8C (50 PACK)

RJ11-HANDSET 4C (50 PACK)
CONNECTOR,RJ12-6C (50 PAK)
CONNECTOR,RJ45-8C ROUND (50 PAK)
CONNECTOR,RJ45-8C CAT 5 (50 PAK)
RJ11-HANDSET 4C (100 PACK)

RJ12-6C (100 PACK)

RJ45-8C (100 PACK)

$35.24
$35.24
$35.24
$35.24
$35.24
$35.24
$38.26
$54.64
$38.26
$54.64
$35.24
$99.84
$30.62
$31.38
$35.30
$29.48
$11.90
$11.90
$88.34
$612.92
$98.40
$54.36
$161.40
$84.44
$84.44
$60.22
$250.28
$98.30
$526.28
$1,267.02
$326.62
$1,783.22
$12.32
$36.70
$5.86
$5.86
$5.86
$12.24
$12.24
$12.24
$9.94
$9.78
$11.70
$23.48
$19.56
$10.10
$12.10
$24.18
$20.14
$32.22
$29.24
$33.78
$18.24
$21.90
$36.52
$18.64
$22.36
$37.26
$59.62
$33.52
$40.24
$67.12



45775
45776
45778
45780
45794
46010
46020
46021
46022
46023
46024
46025
46026
46040
46050
46060
46065
46070
46116
46117
46118
46534
46606
46799
46800
46801
46808
46822
46824
46826
46829
46830
47438
47445
47449
47456
47459
47465
47466
47467
47468
47471
47474
47481
47483
47484
47486
47487
47608
47609
47613
47626
47632
47653
47654
47658
47661
47664
47665
47670
47671
47672

RJ11-HANDSET 4C (100 PACK)
RJ12-6C (100 PACK)

RJ45-8C (100 PACK)

RJ45-8C CAT 5 (100 PACK)

BAG, "CLASS IN A BAG"

TERMINATION KIT,UTP

PUNCHDOWN TOOL,W/O BLADE-PKG
PUNCHDOWN TOOL W/66 BLADE-PKG
BLADE-66

PUNCHDOWN TOOL W/110 BLADE -PKG
BLADE-110

BLADE,BIX

BLADE,PUNCHDOWN

TUR-TEL 6 MODULAR TESTER
TUR-TEL 8 MODULAR TESTER

SURE SIGNAL TESTER

ACCESSORY KIT,SURE SIGNAL

SURE SIGNAL REMOTE ONLY

DIE SET,TELCOM RJ11

DIE SET,TELCOM RJ45 AMP

DIE SET,TELCOM RJ11 AMP

O-RING FOR 2AAA

DIE SET,FIBER OPTICS
BLADE-REPLACEMENT FOR 46730
CRIMPER,KWIK CYCLE RG58/59/62
CRIMPER,KWIK CYCLE F CONNECTORS
DIE SET,CATV "F"

DIE SET,CAMB. RG58

DIE SET,ECONOCRIMPER

DIE,QUAD HEX (RG58, RG174)

DIE SET,RG8/11/213/216

DIE SET,ECONO QUAD HEX RG59
SCREWDRIVER-#3X6 IN TR-GRP PHLP
EARPHONES (13538)

RMO007 8 CARD SHM RACK (50607)
TS625A-E LANCAT 1500 (52156)

TS623 LAN MAP SOFTCASE (52351)
NETCAT (54595)

LANCAT INSTALL SYS (54606)
ONEWAY ACTIVE REMOTE (54608)
8-POS.MOD.JACK-RJ45 STYLE (54609)
BNC CONNECTOR (54643)

MAPCAT CE DTI (54675)

LANCAT SYS 5 EURO CE (54716)
LANCAT SYS 6 EURO CE (5A4786)
LANCAT SYS 6 UK CE (54787)

NET CAT PLUS 230 V CE (54803)
NETCAT PLUS 230V UK CE (54804)
SCREWDRIVER-3/32X3 SH TR-GRP SLTD
SCREWDRIVER-1/8X4 SH TR-GRP SLTD
SCREWDRIVER-#0X4 SH TR-GRP SLTD
LANCAT SYS 6 W/FIBERCAT (54892)
TL570A V.35LINE SHARER (51364)
FIBMTR.CERT.SYS.115V INT. (55431)
FIBMTR.CERT.SYS.230V EURO(55432)
HIGH INT.OPT.POWER METER (55441)
1310 NM LASER SOURCE (55444)

NTT FC-PC SNAP-ON CONN.ADP.(55447)
AT&T ST-PC SNAP-ON CONN.ADP.
AT&T SC-PC UNIV.CONN.ADP. (55453)
NTT SC-PC UNIV.CONN.ADP.(55454)
NTT FC-PC UNIV.CONN.ADP.(55455)

$34.28
$41.10
$68.48
$109.60
$140.98
$181.06
$75.76
$93.34
$23.56
$93.34
$23.56
$61.98
$61.98
$44.86
$61.44
$159.02
$46.26
$94.76
$54.64
$54.64
$54.64
$2.50
$31.24
$17.52
$88.34
$88.34
$35.24
$33.56
$35.24
$35.24
$33.56
$35.24
$21.96
$24.94
$239.98
$1,000.54
$10.98
$1,513.42
$4,057.08
$1,505.02
$327.88
$250.54
$380.84
$6,383.84
$9,575.74
$9,575.74
$2,690.54
$2,690.54
$25.44
$28.94
$34.36
$8,063.80
$1,839.54
$6,786.84
$2,880.00
$1,875.82
$2,365.96
$182.40
$182.40
$309.02
$309.02
$309.02



48788
48802
48820
48824
49878
49879
49880
49882
49888
49889
49890
49891
49892
49894
49895
49896
49902
49903
49904
49905
49906
49907
49908
49909
50004
50011
50017
50018
50022
50023
50024
50028
50134
50168
50174
50189
50193
50195
50196
50226
50250
50251
50283
50292
50296
50311
50320
50458
50658
50700
50737
50746
50749
50750
50763
50793
50795
50796
50882
50937
50954
51046

KIT-DIE HOLDER T&B TBM15 (48750)
KIT-DIE HOLDER 12 TON (48750)
KIT-DIE HOLDER Y46

KIT-DIE HOLDER PH2 (48750)

LOCK COLLAR ASSEMBLY-LARGE
LOCK COLLAR ASSEMBLY-SMALL
CAP,PLASTIC 2"

CHAIN,#40 (86 PITCHES)

SWITCH UNIT, PENDANT (855GX)
CORD ASSEMBLY

SHOE ASSEMBLY (855GX)

HANDLE, PIVOT (855GX)

SUPPORT, TAIL ROLLER-1-1/2"
SPACER, TAIL SUPPORT-LONG
RETAINER,SPRING

SPACER,TAIL SUPPORT-SHORT
ANCHOR,SPRING

COVER,SWITCH (855GX)

SUPPORT, TAIL ROLLER-2"

LIMIT SWITCHES & WIRE ASSEMBLY
LIMIT SWITCH & WIRE ASSEMBLY
PLATE,RETAINER

SPACER,SWITCH

SHAFT,PIVOT - 2"

SCREW UNIT

NUT-HEX 1/2-20 REG

BLADE KIT

CAP,END

HEAD, CRIMP

LATCH

PIN, PIVOT
LOCKWASHER,3/8x.076x.125

PIN,FLAT VENT DOWEL 3/8" X 2"
O-RING (.364X.500X.068 90-D NITRILE)
SEAL-OIL .437X.875X.250 NITRILE
NUT-HEX 1/4-28 REG FULL
RING,BU-SPIRAL 2.62X3.00X.185 TEFLN
ROLLPIN (.156X.375)

ROLLPIN (.156X.500)

SCREW,SKT HD CAP 5/16-18X1.25
SCREW,CAP-SKT HD (#8-32X.375)
RING-RETAINING 1.25 TRUARC #5000 IN
RING-RETAINING .750 TRUARC #5100 EX
BALL-STEEL 7/32 DIA GR#1 SS 440-C
BALL-STEEL 3/16 DIA GR#1 SS 440-C
ELBOW-STREET 3/8 X 45 DEGREE
SEAL-OIL 1.37X2.37X.312 T-CRSI
ROLLPIN (.125X.375)(BROCK 5-1269)
PIN,COTTER (.187 X 1.50)

ROLLPIN (.187X1.50)

PIN-DRIVE .250X1.12 T-E
RING,BU,SPIRAL .312X.437X.062
WASHER-LOCK .262X.469X.026 INT T
WASHER-LOCK .200X.373X.023 INT T
SCREW-CAP #8-32X.250 SKT HD
SCREW,SET-HALF DOG (#10-32X.500 SOC)
ROLLPIN (.078X.750)

SCREW-CAP 1/4-20X.500 BTN SKT HD
SCREW-SHOULDER .372X1.00X5/16-18
RING-RETAINING .250 TRUARC #5100 EX
CABLE-STEEL .125"DIA 7X7 200'REEL
O-RING (.187X.312X.062 NITRILE)

$595.20
$493.20
$464.40
$508.80
$64.44
$66.76
$5.78
$80.90
$599.20
$104.30
$2,054.50
$67.46
$22.84
$20.66
$7.22
$21.68
$10.84
$17.50
$25.14
$106.40
$60.20
$7.14
$16.80
$23.84
$20.22
$0.86
$1,182.44
$57.06
$386.88
$286.08
$104.22
$9.16
$4.68
$2.10
$31.84
$1.54
$4.76
$8.56
$1.68
$1.40
$2.80
$2.80
$3.50
$0.86
$0.86
$8.40
$32.90
$2.80
$2.02
$2.80
$9.96
$2.44
$2.80
$4.54
$1.26
$2.24
$6.30
$5.18
$12.92
$5.34
$148.12
$3.82



51080
51130
51133
51137
51156
51161
51174
51204
51208
51215
51219
51238
51245
51248
51253
51264
51271
51272
51290
51301
51306
51312
51316
51330
51337
51339
51347
51353
51354
51361
51374
51376
51379
51382
51385
51395
51428
51434
51449
51451
51455
51460
51469
51473
51474
51488
51500
51509
51510
515627
51528
51529
51537
51583
51590
51593
51594
51602
51623
51624
51625
51628

ROLLPIN (.125X1.12)
O-RING (1.50X1.62X.062 NITRILE)
O-RING-1.75X2.12X.187 NITRILE
ELBOW-3/8NPTF 90DEG STREET
CAP-DUST 3/8" PIONEER #3009-3
ROLLPIN (.156X.750)

GRIP,HANDLE 1.06X1.37X5.00 GREEN
ROLLPIN (.062X.375)

WRENCH-HEX SKT 3/8 LONG ARM
O-RING .437DIA NITRILE (BR 5-0082)
O-RING (.187X.312X.062 DISOGRIN)
SCREW-CAP #8-32X1.50 SKT HD
SCREW-SET 1/4-20X.250 FLAT PT SKT
RING,RETAINING (3.25 TRUARC #5107 EX)
O-RING (.218X.343X.062 NITRILE)
SCREW-MACH #10-32X1.50 FIL HD
FITTING-GREASE 1/4 ALEMITE #1743-B
RING,BU,SPIRAL .750X.992X.027
RING,BU,PARBAK .375X.500X.046
RING-RETAINING .987 TRUARC #5160 EX
WASHER, LOCK-SPR.901X1.46X.219
NUT-HEX 5/16-18 LOCK

O-RING (1.50X1.75X.125 NITRILE)
O-RING, 1.00 X 1.25 X .125

SCREW-JAM 5/16-24X.156 SKT
RING,BU,SPIRAL .875X1.12X.121 TEFLN
ROLLPIN (.125X.500)

RING-RETAINING .500 TRUARC #5160 EX
ROLLPIN (.187X.875)

RING-RETAINING TRUARC #5100-93 EXT
SCREW,JAM-SKT (#10-32X.125)
WRENCH,SKT HEX (1/8)
RING,RETAINING (.500 TRUARC #5100 EX)
RING-RETAINING .312 TRUARC #5005 IN
ELBOW-1/4NPTF 90DEG

ELBOW-1/4 X3/8 90DEG PIPE MALE
CASTER-SWIVEL 2X W/ 3/8-16 STEM
WASHER-FLAT .406X.812X.062 CD PL
O-RING-.562X.750X.093 70-D
SCREW-CAP #10-32X.875 SKT HD
RING,BU,SINGLE T .562X.750
SCREW-SLFTPG #10-32X.375 PHIL RD HD
WASHER-FLAT .439X.769X.020
BEARING-BALL .984X2.04X.590
SCREW-CAP 3/8-24X2.50 SKT HD
CASTER,RIGID (8.00X2.00 500 LB) (910)
SCREW-CAP 5/16-18X.500 HEX HD
WHEEL

WASHER-FLAT .531X1.06X.093
RING-RETAINING .625 TRUARC #5160 EX
RING-RETAINING .750 TRUARC #5160 EX
RING-RETAINING .875 TRUARC #5160 EX
O-RING (1.75X1.87X.062 NITRILE)
O-RING (.125X.250X.062)
KEY-WOODRUFF #15 .250X1.00
GAGE-GO NOGO

SLUG-CRIMPING

WASHER-LOCK .323X.586X.078 SPR
PLUNGER,SPRING
DECAL,IDENTIFICATION (E12CCX)
DECAL,WARNING (E12CCX)

SWITCH (ES85-11)

$1.96
$3.08
$1.82
$36.32
$19.74
$1.82
$9.72
$2.16
$22.46
$1.68
$2.80
$2.52
$2.10
$10.98
$2.10
$6.16
$2.80
$4.20
$2.52
$3.08
$2.10
$1.68
$4.52
$5.74
$6.54
$4.20
$2.80
$2.52
$1.96
$6.12
$7.40
$4.36
$6.36
$4.16
$31.94
$30.78
$36.04
$1.40
$1.68
$1.40
$3.50
$4.68
$1.82
$169.26
$3.50
$237.50
$3.34
$79.72
$2.94
$6.44
$3.08
$2.80
$3.08
$2.80
$9.16
$13.78
$15.38
$4.22
$17.38
$31.14
$20.78
$42.70



51629
51645
51655
51669
51686
51705
51739
51740
51762
51773
51780
51782
51786
51796
51797
51809
51869
52010
52021
52023
52074
52093
52110
52112
52114
52115
52144
52176
52177
52178
52179
52180
52182
52185
52218
52234
52265
52276
52284
52285
52339
52352
52372
52388
52395
52398
52400
52401
52404
52409
52410
52411
52412
52413
52414
52417
52418
52426
52434
52440
52452
52466

PIN KIT

SCREW-CAP #10-32X.500 SKT BTN HD
SCREW,FORMING-THREAD (#10-16X.50)
NUT,HEX 1/4-20 NYLOK

NUT-HEX #10-32 FULL

NUT-HEX 1/4-28 UNF (6001)
O-RING-4.50X4.87X.187 7D

WASHER, FLAT (.812X1.50X.140)
SCREW-CAP #6-32X.375 SKT HD
RING-RETAINING .312 TRUARC #5100 EX
RING-RETAINING .250 TRUARC #5103 EX
ROLLPIN (.093X1.00)

CLIP-HITCH PIN #21
SCREW-SHOULDER .625X1.25X1/2-13
LINK-CONNECTING #35 CHAIN
RING-RETAINING 1.75 TRUARC #5000 IN
O-RING-3.62X4.00X.187

PIN-CLEVIS .500X4.00

PLUG,FILL

MOTOR-220V ELECTRIC (6001-22)
WASHER-LOCK #8 SPLIT
WASHER-FLAT .406X.812X.080
SCREW-CAP 5/16-24X2.00 SKT HD
SCREW-CAP 1/4-28X1.00 HEX HD
SCREW-SET 3/8-16X.375 SKT
WASHER-FLAT .344X.688X.080
WRENCH-HEX .156 SKT

BATTERY, 18V Li ION 3.0Ah (PKGD)
BATTERY, 18V Li ION 1.5Ah (PKGD)
CHARGER, BATTERY 120V (PKGD)
CHARGER, BATTERY 230V (PKGD)
CHARGER, BATTERY 12V (PKGD)
DECAL KIT

DECAL,SPECIFICATION (EK210)
SCREW-SET 3/8-16X.375 SKT
SCREW-SET 5/16-24X.500 SKT
PLATE-RATCHET U-CARR #XX49837 (850)
O-RING-6.50X7.00X.250 NEOPRENE
CASTER,SWIVEL (6.00X2.00)

WHEEL

WASHER-FLAT .312 X .750 X .090
SCREW-JAM 3/4-16X.375 SKT
RING,BU

REDUCTOR

LINK-CONNECTING #60 3/4P 1.106 LG
WHEEL-12X1.75 W/.750 ID (555-M2)
SCREW-SET 1/4-20X.250 SKT
SCREW,#10-32X.375-PHILLIPS PAN HD
ADAPTER, RJ45-DATA CON. #52404
BEARING-PHENOLIC 2.50X2.62X2.50
BEARING-PHENOLIC 2.50X2.62X3.75
BNC TERMINATOR #52411
BEARING-PHENOLIC 1.50X1.62X1.00
BEARING-THRUST 1.50X2.62X.093
RING-RETAINING 2.37 TRUARC #5100 EX
COUPLER, RJ45-RJ45 (#52417)

LC INSTALLER 115V (#52418)
SCREW-CAP 5/8-11X4.00 SKT HD
NUT,HEX (#8-32)

WASHER-LOCK .326X.602X.031 INT T
PIN-DRIVE .125X.625 T-B

WHEEL KIT-.625X8.00X1.62 (908)

$8.30
$0.98
$1.12
$5.92
$1.26
$3.94
$4.62
$1.82
$0.90
$2.52
$2.04
$1.40
$1.40
$14.70
$9.10
$2.34
$3.78
$21.96
$13.76
$1,589.28
$2.80
$1.54
$2.94
$1.96
$1.96
$1.26
$5.48
$222.60
$165.20
$224.00
$224.00
$259.00
$66.76
$11.60
$1.96
$9.20
$13.30
$11.48
$174.34
$122.06
$5.30
$8.68
$2.80
$1,461.60
$16.24
$113.96
$1.68
$1.26
$159.76
$82.38
$151.06
$11.36
$41.08
$104.36
$4.96
$15.14
$3,695.90
$4.48
$6.32
$12.06
$4.46
$132.62



52475
52513
52514
52515
52533
52539
52541
52542
52550
52551
52559
52570
52573
52587
52610
52632
52644
52645
52654
52655
52675
52707
52717
52724
52728
52737
52738
52740
52746
52749
52779
52787
52794
52817
52823
52846
52867
52969
52970
52971
52976
52998
52999
53001
53023
53083
53166
53194
53196
53197
53198
53200
53201
53216
53222
53231
53232
53236
53238
53239
53241
53246

RING,BU-SPIRAL .437X.562X.055
ROLLPIN (.093X.437)

RING,RETAINING (1.454 X 1.218 X .050)
HOSE,HYD 1/4X10' 1/4-M NPTF

BELT-V TIMING 1/5P

BEARING-NEEDLE TORR #B-860H
BEARING-NEEDLE TORR #B-660H
BUSHING-BRONZE BUNTING #FL51-4
COLLAR-ACE #C-30 W/SET SCREW
BELT-V #3L-180

LINK-OFFSET #35 3/8P

WASHER, FLAT (1.00 X 1.50 X .075 ST)
PIN-CLEVIS .375X1.87

SCREW-CAP 5/16-18X.875 SKT BTN HD
NUT-HEX 5/8-11 LOCK HD THIN
WASHER-FLAT 1.93X3.750X.156
WASHER-FLAT .625X1.00X.031 (SHIM)
WASHER-FLAT .625X1.00X.062 (SHIM)
BUSHING-REDUCER 2X1-1/4 STEEL
BUSHING-REDUCER 2X1-1/2 STEEL
WASHER-FLAT .687X1.75X.125 WI
WASHER, FLAT .281X.625X.062 ZINC PL
ROLLPIN (.312X.875)

BEARING-THRUST TORR #NTA-3648
BUMPER-PLASTIC M-C #9405K14
WHEEL, 6X1.50 W/.500 ID 35# (690)
CASTER-SWIVEL 3.00X.812

PIN,SPIRAL

NUT,ACORN-LIGHT (3/8-16)

NUT-HEX 3/8-24 LOCK

SCREW-CAP 3/8-24X2.25 HEX HD
LINK,CONNECTING-#40 1/2P

NUT HEX-ZINC PLATED (1/2-13)

O-RING (.437X.562X.062)
O-RING-1.93X2.12X.093
CASTER,SWIVEL

O-RING (.437X.625X.093 70-D)
SCREW-MACH #10-24X2.00 RD HD
HANDLE-PLASTIC BLACK DAVIES #4560
WHEEL-SKATE 1.937 X .625
HANDLE,PLASTIC-BLACK

NUT-WING 5/16-18 LIGHT ZINC PL
WASHER-FLAT .687X1.50X.049 ZINC PL
RIVET,POP-DOME HEAD (.125 USM #SD41BS)
BEARING-BRONZE 1.25X1.50X3.00
SEAL-U PACKING PARKER #85-0112-N301
BUSHING-SNAP HEYCO #2116
SCREW,SLFTPG-PHLL HD (#10-16X.250)
RACE-INNER

RACE-INNER

BEARING-NEEDLE 1.37X1.75X1.00 OPEN
BEARING-NEEDLE 1.37X1.75X1.25
BEARING-BRONZE 1.37X1.62X3.00
RING-RETAINING .625 TRUARC #5100 EX
SPROCKET-#60 8T T-A .625ID
RING-RETAINING 1.12 TRUARC #5100 EX
WASHER-SHIM 1.125X2.000X.031 STEEL
SCREW-CAP #10-24X.875 SKT HD
BEARING-BRONZE .690X.878X.500
BEARING-BRONZE .625X.815X.500 (6001
PIN-DRIV LOK 1/8X3/4 TYPE E
SCREW-SET 1/4-20X.375 SKT HD

$3.22
$2.80
$7.00
$219.52
$75.66
$42.56
$25.22
$33.40
$17.00
$32.70
$35.50
$2.80
$15.60
$2.80
$7.28
$13.64
$2.66
$2.66
$42.84
$39.54
$2.80
$3.50
$2.80
$10.98
$9.10
$37.72
$19.94
$8.26
$4.34
$1.96
$2.94
$8.54
$1.82
$3.08
$1.82
$60.02
$2.52
$1.68
$37.10
$25.90
$21.70
$1.68
$3.08
$5.04
$23.80
$33.40
$18.18
$1.26
$42.32
$42.32
$33.26
$48.36
$47.10
$2.80
$48.36
$6.16
$8.42
$2.80
$7.00
$2.80
$7.26
$8.00



53247
53248
53250
53251
53254
53259
53262
53265
53268
53270
53275
53285
53288
53289
53290
53291
53292
53295
53296
53300
53305
53310
53311
53319
53320
53322
53323
53337
53340
53341
53354
53355
53368
53370
53371
53386
53387
53388
53389
53390
53394
53399
53406
53407
53408
53420
53423
53429
53430
53432
53433
53435
53441
53464
53470
53471
53475
53477
53480
53482
53489
53490

SCREW-MACH 7/16-14X.750 FLAT HD
WASHER-WAVE 1.90X2.15X.480 SPRING
WASHER-THRUST 1.508X2.167X.125
BEARING-THRUST 1.50X2.17X.078
RING-RETAINING 2.34X2.62X.049
CASTER,SWIVEL (8.0X2.0 500LB) (910)
PACKING-VEE 1.50X1.87X.187 SIRVENE
SCREW-CAP 5/16-18X.875 HEX HD
GRIP,HANDLE 1.12X1.37X5.00 GREEN
CLUTCH-ROLLER 1.38X1.65X.787 (6001)
SPRING-COMP .502X.600X.625 (656)
SPROCKET-#25 14T T-B

TIMER

PLATE-TIMER RHODES #D650 (847/848)
KNOB-TIMER RHODES #K35B1 (847/848)
BOLT-SHOULDER .310X.500X1/4-20 (848
BEARING-BRONZE .314X.377X.375 FLNG
CATCH-LINK LOCK SIMMONS #3-10
WHEEL-5.75X1.50W BRIDGE #1410-20W9
HANDLE-PLASTIC 3/8-16X1.37X4.37
PLATE-KEEPER SIMMONS #3 (847/848)
PIN-DRIVE .093X.625 T-E
LINK-CONNECTING #25 1/4P RIVETED
SCREW-SHOULDER .500X.625X3/8-16
BEARING-BRONZE .504X.627X.500 SNTRD
LINK-CONNECTING #35 ROLLER CHAIN
WASHER-BELLEVILLE 10MM (2001)
PIN-HITCH .250X3.00 COTTERLESS
PLUG-PIPE (PLASTIC GREEN)
WASHER-FLAT .194X1.08X.062
SPRING-COMP .685X.845X2.25 (1725)
SPRING-COMP .166X.210X.500 (1725)
SCREW-MACH #12-24-.50 PHIL.PAN HD
WASHER-LOCK .225X.377X.056 SPR ZINC
CATCH-TOGGLE NIELSEN #HC801ZE
WASHER-LOCK .593X.472 INT
SUPPORT-LID (555-M5)

SUPPORT-LID (555-M5)

PIN-HITCH .437X8.10

WHEEL,RUBBER (12X3)
SCREW,MACH-FL HD ( 7/16-14X1.00)
WASHER-LOCK .197X.334X.047 SPR
BEARING-BALL

BEARING-BALL

NUT-WING 1/4-20

NUT-JAM HEX

WASHER-FLAT .344X.688X.065
BEARING-BALL WELLS #100405-1 (1399)
WASHER-WELLS #101777
RING-RETAINING WELLS #100068-2(1357
BEARING-BALL WELLS #100404-1 (1399)
BEARING-BALL WELLS #100406-1 (1399)
SCREW-SLFTPG #6-19X.625 PAN HD
WIPER-RAM (1990)

RING,BU,SINGLE T 2.37X2.55X.050 TEF
PIN-DOWEL .250X1.25

ROLLPIN (.156X1.37)

WASHER-FLAT .156X.250X.046 COP
RING,BU,SINGLE T .125X.250X.049 TEF
WASHER-FLAT .259X.393X.062 NYL
SCREW-RECESSED #8-32X2.546 HEX HD
WASHER-FIBER .255X.405X.046

$17.08
$19.38
$18.74
$15.40
$16.40
$286.46
$8.78
$2.96
$12.44
$48.36
$7.40
$72.38
$150.64
$33.74
$15.04
$18.34
$11.82
$41.30
$45.42
$37.38
$11.20
$5.46
$18.90
$15.00
$8.26
$16.84
$7.88
$3.50
$0.84
$9.76
$24.92
$16.52
$1.60
$17.64
$26.04
$8.04
$104.92
$104.92
$45.14
$106.12
$2.52
$2.80
$106.14
$81.60
$10.10
$12.58
$6.58
$105.20
$10.10
$10.10
$126.44
$66.24
$10.98
$4.20
$4.20
$4.20
$2.80
$2.80
$2.80
$12.60
$2.52
$2.52



53491
53492
53497
53503
53510
53517
53533
53589
53592
53597
53599
53600
53623
53630
53633
53682
53689
53701
53702
53704
53758
53761
53788
53814
53824
53827
53829
53831
53833
53835
53839
53844
53845
53846
53847
53849
53852
53853
53854
53863
53869
53891
53892
53894
53895
53902
53917
53918
53919
53921
53922
53934
53936
53942
53949
53950
53951
53956
53957
53958
53959
53962

WASHER-FLAT .500X.860X.010 STEEL
WASHER-FELT .438X.875X.031
RING-RETAINING 2.25 SPIRAL INT.
RING-RETAINING .562 TRUARC #5005 IN
SPRING,COMP .182X.240X.687 (1780)
GEROTOR

WASHER-LOCK 6MM SPR

SCREW-CAP 8MMX25MM HEX HD
NUT-HEX M8

NUT-HEX M10

STUD-.161X1/2

SCREW-SET 1/4-20X.437 FLAT PT SKT
PIN-DRIVE .250X2.00 T-C

CUFF-VINYL 1-1/2"

CLAMP-HOSE 2-1/4" (591)

SEAL-V RING .550X.790X.220

O-RING (.334X.475X.070)
SPRING-COMP 1.13X1.46X1.50 (975)
SPRING-COMP .192X.240X.810 (975)
BEARING-BALL 1.18X2.44X.629
BEARING-BALL 1.18X2.44X.629
RING-RETAINING .125 TRUARC #5105 EX
SCREW-SET M4X5MM SOC FLAT PT
O-RING-1.47X1.71X.118 90-D BUNA-N
BRACKET-PUMP

RING,BU,SPIRAL .500X.610X.027
BUMPER-.280X1.00X.560 RUBBER
WASHER-FLAT .150X.312X.031 NYLON
SPROCKET-#40 16T T-A .625ID
BEARING-BRONZE .501X.628X.312
BEARING-BRONZE .502X.627X.375 W/FL
RING-RETAINING .188 TRUARC #5100 EX
SPRING-COMP .152X.180X.380 (7804)
PIN-DRIVE .250X1.00 T-U ZINC PL
RING,BU,SPIRAL 1.00X1.24X.027 TEFLN
RING,BU,SPIRAL 1.50X1.74X.027 TEFLN
WASHER-FLAT .392X.564X.062 COP
RING,BU,SPIRAL .250X.360X.027 TEFLN
O-RING (.250X.375X.062)

PIN-DRIVE .218X.312 T-2A ZINC PL
SPRING-COMP .975X1.22X1.75 (7904)
SCREW-SET 3/8-24X.250 FLAT PT SLTD
SCREW-SET 5/16-24X.125 SLTD
NUT,SLOTTED HEX (1/2-20)
RING-RETAINING .406 SD T-5103-40
BALLSTUD

BEARING BRONZE PER PRINT
WASHER-SHIM 1.00X1.50X.032 STEEL
WASHER,SHIM-STEEL (1.00X1.50X.059)
SCREW,SHOULDER (.625X1.75X1/2-13)
SCREW-CAP 3/8-16X2.75 SKT HD

BUMPER-#8-32 MACHINE SCREW RUBBER

SCREW-SLFTPG #8-18X.375 PHIL PAN HD
BUMPER-.187X.375X.500 RUBBER
WASHER-FLAT .406X.875X.030 BRASS
SPRING, GAS (6" STROKE)

SPRING, GAS

CLAMP-CUSHIONED SUPPORT
SEAL-1.00 QUAD RING

SEAL-2.562 QUAD RING

SPRING-COMP .188X.240X.625 (1990)
PLUNGER,BALL

$1.68
$2.52
$6.46
$2.52
$13.50
$154.56
$3.38
$3.48
$4.40
$5.86
$4.72
$4.20
$15.42
$13.86
$13.58
$19.52
$4.20
$39.82
$7.42
$90.30
$117.74
$0.20
$5.50
$4.20
$31.84
$3.50
$5.24
$1.12
$83.86
$27.44
$8.74
$0.64
$5.56
$1.12
$5.56
$8.34
$9.68
$2.54
$1.66
$1.00
$157.56
$8.00
$3.44
$6.44
$1.54
$12.94
$34.92
$7.48
$6.86
$12.10
$5.92
$6.50
$2.94
$3.80
$195.98
$73.84
$57.74
$8.66
$4.84
$5.60
$5.60
$24.26



53965
53966
53985
53987
53993
53995
53997
53998
54000
54002
54003
54004
54007
54011
54012
54013
54014
54015
54016
54017
54020
54021
54024
54034
54073
54090
54091
54103
54115
54118
54119
54120
54121
54122
54123
54124
54128
54129
54135
54136
54142
54151
54167
54168
54169
54170
54171
54179
54184
54185
54186
54187
54188
54189
54228
54230
54242
54243
54244
54248
54250
54251

SCREW, CAP-1/4 SKT BTN HD
PIN, DOWEL (1/4 X 1.00)

SPRING-EXT .055X.300X2.75
SCREW-CAP 5/16-18X.312 SKT HD
RING-QUAD 1.87X2.06X.093 70-D
RING,BU,SPIRAL 1.87X2.06X.093 TEFLN
RING,BU,SPIRAL 1.25X1.50X.125 TEFLN
O-RING (.218X.343X.062 90-D NITRILE)
NUT-HEX 1/4-28 LOCK (756)
O-RING-.250X.437X.093 90-D NITRILE
RING,BU,PARBAK .250X.437X.093
RING-RETAINING .437 INT #5005-43
ROLLPIN (.187X.375)

PIN-DRIVE .093X.750 T-E

RIVET-POP 3/16"X.440 DOME HEAD
BEARING-SELF LUBE 2.50X2.68X2.50
SPRING-EXTENSION .360X1.750
SPRING-COMP .474X.600X3.00
SPRING-COMP .750X3.50

PLUG-O RING BOSS 7/16-20X.450
BEARING-SELF LUBE 1.00X1.125X1.00
PIN, DOWEL -.500%X2.000
SPRING-COMP .176X.240X.032
SPRING, COMPRESSION
SCREW-MACH #10-32X.500 SLOT FLAT HD
SCREW-SHOULDER .372X2.00X5/16-18
SCREW-SHOULDER .622X3.25X1/2-13
PIN-DOWEL .312X.625

SCREW,SET 5/16-24X.187 SLTD BK-OX
WASHER-FLAT .656X1.312X.095 BK-OX
NUT-HEX 3/8-24 LOCK

NUT-HEX 1/4-20 LOCK

BOLT-HEAD 1/4-20X1.750 BK-OX
BOLT-HEX 3/8-24X1.508 BK-OX
BOLT-HEX 3/8-24X1.250 BK-OX
BUSHING,STRAIN RELIEF
WASHER-CURVED SPRING .395X.735X.016
NUT-HEX 5/16-18 LOCK BK
WASHER-1-1/2X1X.041 NYLON
CAP-TUBING 1.000 PLASTIC BK
RING-RETAINING 1.500 TRUARC #5000
KNOB-PLASTIC W/SET SCR
COUPLER-THREADED 1/4 FEMALE
PLUG-1/4" DUST

COUPLER-HALF 1/4"MALE NIPPLE
CAP-DUST STEEL

CLAMP-LOOP CUSHIONED 5/16"
LANYARD-6.00 LG TYPE 2 #79-04
LATCH UNIT-SMALL HOOK

LATCH UNIT-LARGE HOOK
RING-RETAINING .217 TRUARC #G5555 E
ELBOW-90 STREET 3/8X1/4 NPT
ELBOW-90 STREET 1/4X1/4 NPT
CONNECTOR-PIPE 3/8X1/4 NPT
RING-RETAINING TRUARC #5160-42 EXT
RING,BU,SPIRAL .265X.052 TEFLON
SCREW-CAP 1/4-20X.37 BTN HD
SPRING-EXT .624X.750X3.50
SPRING,COMP-.594X.720X3.00
WASHER,BELLEVILLE (.803X1.362X.043)
CHAIN-ROLLER #60 X 92P
LINK-CONNECTING #60 CHAIN

$2.70
$14.94
$4.60
$6.36
$6.50
$12.86
$2.80
$3.88
$5.36
$5.40
$5.54
$2.80
$2.26
$6.92
$2.52
$103.46
$4.40
$7.98
$37.38
$5.60
$35.76
$9.44
$7.54
$3.08
$6.64
$12.92
$39.22
$4.56
$0.70
$1.44
$3.56
$2.80
$3.50
$3.90
$2.80
$15.30
$8.54
$1.96
$6.80
$3.96
$2.06
$35.28
$43.04
$12.82
$25.88
$23.52
$14.76
$11.68
$15.46
$26.60
$1.82
$15.42
$14.06
$39.90
$3.82
$1.02
$1.26
$23.58
$4.40
$3.50
$256.46
$11.12



54252
54253
54255
54265
54268
54269
54274
54276
54282
54283
54284
54288
54289
54293
54295
54303
54313
54314
54316
54333
54339
54348
54460
54475
54476
54477
54488
54489
54526
54530
54531
54545
54546
54547
54548
54551
54552
54622
54623
54652
54653
54654
54655
54657
54714
54738
54741
54742
54746
54766
54785
54802
54811
54819
54823
54824
54825
54826
54827
54828
54829
54830

CLAMP-LOOP TYPE
SPROCKET-#60 14T
BEARING-3.00X2.50 GARLOCK #48DU40
NUT-HEX 3/4-10UNC-2B

SCREW-CAP 1/4-20X1.37 SKT HD
BOLT-HEX 3/8-24X1.75

SCREW-SET M6 1.0X6MM CUP PT BK OX

CASTER-8" SWIVEL
COUPLING-INTAKE PIPE (38594)
ELBOW-PVC 90DEG.

BUCKET (5 GAL PLASTIC BULK)
FLAPPER-BALL RUBBER
SCREW-CAP #10-24X.375 BTN HD
O-RING (1.875X2.000X.062 70D)
SCREW-SET M8X8MM CUP PT SKT
PIN-HITCH .375X1.50 COTTERLESS
SCREW-MACH #2-56X .750 SOC HD
NUT-HEX #2-56 LOCK ESNA #22NM-26
LOCK-KEYED (8060)

SCREW-SET #10-24X.187 CUP PT. SKT
WRENCH-HEX 3/32
WASHER-.803X.051 BELLEVILLE

LC INSTALL SYS 230V #54460
CABLE,PC ADP.TO LANCAT V #54475
HARD CARRYING CASE #54476
ONEWAY ACTIVE REMOTE #54477
REMOTE IDENT. KIT #4-8 #54488
REMOTE IDENT.KIT #2-8 #54489
SCREW-CAP (863)

NUT-FLEX LOC (863)
RING-RETAINING (863)

PIN, HITCH

CHAIN, #60 87P

SPROCKET, #40 13T

SPROCKET, #40 60T

CHAIN, #40 87P

LANYARD

SC TP PLUG #54622

NUT-HEX 3/4-10 ACORN

FIBERCAT SOURCE (54652)
FIBERCAT OPT TEST KIT #54653

FC ADAPTER #54654

110 BLK.PERF.MOD.T568A #54655
110 BLK PERFORM MOD. (#54657)
LANCAT SYS 5-230V #54714
CARRYING CASE, MAPCAT #54738
SOFTCALL ONEWAY #54741
INSTALLER KIT (54742)

ELBOW-90 DEGREE PVC
PIPE-CLAMP

LANCAT SYS 6-230V #54785

NETCAT PLUS 230V #54802
NUT,PUSH ON, .125 TRUARC #5115-12
RING,RETAINING (.875)
CLUTCH-TORRINGTON #RCB-081214
BEARING-TORRINGTON #B-1210
BEARING-TORRINGTON #B-128
BEARING-TORRINGTON #B-46
BEARING-TORRINGTON #BH-3316
RACE-INNER TORRINGTON #IR-2824
BEARING-FAFNIR #7209W
SEAL-FREUDENBERG-NOK #UF-0216E0

$21.42
$115.56
$101.70
$1.22
$2.80
$3.64
$8.08
$150.28
$2.94
$7.20
$31.08
$16.80
$2.80
$3.50
$7.54
$21.28
$1.82
$1.26
$44.10
$1.00
$5.30
$6.30
$3,919.34
$40.38
$208.52
$1,505.02
$186.12
$308.26
$6.28
$6.28
$6.36
$12.04
$407.12
$125.36
$259.70
$93.16
$13.44
$327.62
$4.40
$1,720.04
$2,394.26
$149.66
$374.14
$374.14
$5,711.86
$43.64
$100.88
$664.22
$9.52
$13.64
$7,391.84
$2,522.38
$1.26
$2.52
$74.24
$27.82
$27.18
$14.96
$231.70
$189.48
$142.24
$13.60



54831
54832
54833
54834
54835
54838
54839
54848
54850
54851
54852
54863
54870
54871
54876
54880
54886
54887
54891
54893
54901
54902
54910
54985
54986
54987
54988
54992
54993
54994
55052
55053
55054
55060
55061
55062
55063
55064
55065
55109
55111

55112
55113
55121
55124
55127
55128
55160
55161
55162
55163
55167
55168
55169
55172
55174
55175
55176
55178
55194
55195
55198

WASHER-THRUST .510X1.00X.020
WASHER-THRUST .760X1.25X.020
WASHER-THRUST .260X.50X.030
SCREW-CAP #10-32X.50 SKT FLAT HD
SCREW-CAP #10-32X.75 SKT FLAT HD
BEARING (BUNTING #FL102-12)
WHEEL-4.1013.50-6X3/4 SHAFT
SCREW-CAP 3/4-16X1.50 HEX GRD 5
WASHER-FLAT .78X2.00X.25

KEY-SQ 3/8X1.88

PIN-HITCH #30-07

C5E PERF. MOD. #54863

ST TO ST SIM PATCH CABLE 54870
ST TO SC SIMP PATCH CABLE 54871
SEAL-OIL

WRENCH-5/16" T HANDLE ALLEN
RJ-45 PATCH CABLE PLUG CE #54886
RJ-45 PATCH CABLE PLUG N/CE #54887
LANCAT SYS 6 W/FC-230V #54891
O-RING-.312X.437X.062 90D
SCREW-SHOULDER .498X1.000X3/8-16
WASHER-FLAT .594X1.000X.156
PLIERS-RETAINING RING

CARRY CASE,DLX W/INSERT-DCL
DIE RELEASE KIT

PIN KIT,PIVOT

HANDLE KIT,PUMP

HANDLE KIT,RESERVIOR

SEAL KIT,PISTON

SEAL REPAIR KIT
SCREW,SHOULDER-5/16-18 UNC SKT HD
PIN-CLEVIS

PLUG-RECTANGULAR

SCREW,SET (M12X1.75X12MM)
SCREW,SET (M5X.8X5MM)
PIN,GROOVE (6MMX12MM)
PIN,GROOVE (3MMX16MM)
PIN,SPRING (3MMX10MM)
SCREW-SHC M8X1.25X30MM
CHAIN-ROLLER

BEARING

BEARING

RING-RETAINING

RING,BU .373X.479X.056

CATCH -THREADED ROD (5860)
WHEEL,CASTER

PIN,CLEVIS (.250X1.125)
CONNECTOR-MALE O.R.B.
PIN,DOWEL

BEARING-NEEDLE
BEARING-NEEDLE

RING,SNAP

BEARING,BALL

BEARING-NEEDLE

SEAL-OIL

BEARING-BALL

STUD

WASHER-BEVEL

SPRING, GAS 6" STROKE

PLASTIC RECT END CAP 1"X2"
PLASTIC SQUARE END CAP 1.5"
BEARING

$2.82
$5.52
$7.16
$2.80
$2.80
$15.04
$100.02
$10.96
$4.20
$12.30
$7.84
$3,354.76
$70.38
$88.68
$28.26
$38.64
$50.46
$75.68
$8,213.32
$5.30
$5.60
$17.64
$77.98
$447.56
$22.46
$16.04
$136.36
$216.56
$12.84
$28.06
$1.96
$35.20
$5.36
$2.80
$2.80
$2.80
$2.80
$2.80
$2.80
$244.78
$44.20
$19.46
$4.18
$2.26
$89.94
$93.22
$3.74
$8.92
$4.88
$31.68
$31.68
$10.56
$18.12
$31.68
$10.30
$31.68
$6.12
$8.24
$66.14
$10.24
$9.40
$47.20



55199
55204
55206
55225
55281
55284
55285
55292
55294
55298
55308
55315
55326
55327
55377
55378
55380
55394
55406
55408
55409
55411
55413
55414
55421
55422
55434
55446
55514
55522
55523
56272
56273
56309
56362
56363
60001
60002
60003
60016
60017
60018
60019
60020
60021
60023
60024
60025
60026
60027
60031
60032
60033
60034
60035
60036
60037
60038
60039
60040
60041
60042

CLEVIS PIN 0.375X1.75
PIN-DETENT .437X7.10

PACKING-"U" CUP

SPRING-1/2" DIA.

SCREW, SET #8-32X.312 CUP POINT
ROD END,SPHERICAL (1/4" MALE)
SPRING (DANLY #9-1216-11)

CLIP, BALL STUD

SPRING UNIT, GAS
RING,RETAINING-RUE 3/4 REG

PIN, COTTER .093 X 1.25

PIN,SPIROL .31 X.87

PIN,STOP

WHEEL

CAPLUG

SPRING, COMPRESSION-DIE

SPRING, COMP .224 X .300 X 1.500
POWERSUPPLY, 230V (13155)
ADAPTER KIT, TOKEN RING #55406
CABLE,RJ45M/RJ45M #55408

CABLE, DB9S TO DB25P #55409

BNC CABLE #55411

SC ADAPTER #55413

COUPLER, CAT 5

ST TO ST SIMP PATCH CABLE 55421

ST TO SC SIMP PATCH CABLE 55422
CABLES,FIBERCAT T&T W/SIMP (55434)
MICRO OTDR OPT.FAULT LOC.(55446)
PLUG-1" SQ. PLASTIC

COVER-3/8" PLASTIC

PIN,HITCH

DECAL,WARNING (EK1230)

DECAL, IDENTIFICATION (EK1230)
CIRCUIT BREAKER

HITCH ASSY,PIVOT

CAPSTAN (UT4)

PUNCH UNIT-SQ .500 (12.7)

PUNCH-SQ .500 (12.7)

DIE UNIT-SQ .500 (12.7)

PUNCH UNIT-SQ 1.000 (25.4)
PUNCH-SQ 1.000 (25.4)

DIE UNIT-SQ 1.000 (25.4)

PUNCH UNIT-SQ 1.81 (46.0)

PUNCH-SQ 1.811 (46.0)

DIE UNIT-SQ 1.811 (46.0)

PUNCH-SQ 5.433 (138.0)

DIE UNIT-SQ 5.433 (138.0)

PUNCH UNIT-RECT.437X.875(11.1X22.2)
PUNCH-RECT .437X.875 (11.1X22.2)
DIE UNIT-RECT .437X.875(11.1X22.2)
PUNCH UNIT-RECT.750X1.14(19.1X29.0)
PUNCH-RECT .750X1.140 (19.1X29.0)
DIE UNIT-RECT .750X1.14(19.1X29.0)
PUNCH UNIT-RECT.750X1.31(19.1X33.3)
PUNCH-RECT .750X1.310 (19.1X33.3)
DIE UNIT-RECT .750X1.31(19.1X33.3)
PUNCH UNIT-RECT.861X1.01(21.9X25.9)
PUNCH-RECT .861X1.018 (21.9X25.9)
DIE UNT-RECT .861X1.01(21.9X25.9)
PUNCH UNIT-RECT.866X1.18(22.0X30.0)
PUNCH-RECT .866X1.181 (22.0X30.0)
DIE UNIT-RECT .866X1.18(22.0X30.0)

$21.56
$50.82
$95.20
$9.14
$1.04
$17.08
$19.04
$1.96
$107.44
$4.54
$1.82
$4.68
$4.22
$43.70
$1.60
$13.60
$5.30
$76.36
$378.34
$26.92
$36.18
$37.42
$149.66
$33.62
$70.38
$74.96
$3,565.32
$5,350.76
$3.00
$2.52
$3.16
$9.10
$7.22
$84.10
$389.82
$347.52
$281.98
$111.10
$168.10
$388.42
$155.00
$235.30
$1,070.06
$429.52
$644.26
$1,060.70
$1,592.90
$490.50
$194.26
$294.30
$488.54
$194.26
$292.38
$502.02
$201.98
$300.06
$421.24
$169.26
$253.92
$509.72
$203.90
$307.74



60043
60045
60046
60047
60048
60049
60050
60051
60052
60053
60054
60055
60056
60057
60058
60059
60060
60061
60062
60063
60064
60065
60066
60067
60068
60069
60070
60071
60072
60073
60074
60075
60076
60077
60078
60079
60098
60100
60101
60102
60103
60104
60105
60106
60107
60108
60109
60110
60111

60112
60114
60115
60116
60117
60118
60120
60165
60166
60167
60168
60169
60170

PUNCH UNIT-RECT.866X1.65(22.0X42.0)
PUNCH-RECT .866X1.654 (22.0X42.0)
DIE UNIT-RECT .866X1.65(22.0X42.0)
PUNCH UNIT-RECT.990X1.14(25.1X29.0)
PUNCH-RECT .990X1.140 (25.1X29.0)
DIE UNIT-RECT .990X1.14(25.1X29.0)
PUNCH UNIT-RECT1.25X1.38(31.8X35.1)
PUNCH-RECT 1.250X1.380 (31.8X35.1)
DIE UNIT-RECT 1.25X1.38(31.8X35.1)
PUNCH ASSY,RECT-1.31X2.62(33.3X67.9
PUNCH,RECT-1.31X2.62 (33.3X67.9)

DIE UNIT-RECT 1.31X2.62(33.3X67.9)
PUNCH UNIT-RECT1.37X2.04(35.0X52.0
PUNCH-RECT 1.37X2.04(35.0X52.0)

DIE UNIT-RECT 1.37X2.04(35.0X52.0)
PUNCH UNIT-RECT1.37X2.55(35.0X65.0)
PUNCH-RECT 1.37X2.55(35.0X65.0)

DIE UNIT-RECT 1.37X2.55(35.0X65.0)
PUNCH UNIT-RECT 1.37X3.22(35.0X82.0
PUNCH-RECT 1.37X3.22(35.0X82.0)

DIE UNIT-RECT 1.37X3.22(35.0X82.0)
PUNCH UNIT-RECT1.37X4.40(35.0X112.0
PUNCH-RECT 1.37X4.40(35.0X112.0)
DIE UNIT-RECT 1.37X4.40(35.0X112.0)
PUNCH UNIT-RECT1.81X3.62(46.0X92.0)
PUNCH-RECT 1.81X3.62(46.0X92.0)

DIE UNIT-RECT 1.81X3.62(46.0X92.0)
PUNCH UNIT-RECT2.25X3.50(57.2X88.9)
PUNCH-RECT 2.25X3.50(57.2X88.9)

DIE UNIT-RECT 2.25X3.50(57.2X88.9)
PUNCH UNIT-RECT2.67X5.43(68.0X138.0
PUNCH-RECT 2.67X5.43(68.0X138.0)
DIE UNIT-RECT 2.67X5.43(68.0X138.0)
PUNCH UNIT-D .500 DIA X .469 FLAT
PUNCH-D .500 DIA X .469 FLAT

DIE UNIT-D .469X.500

PUNCH UNIT-DD 1.37 DIAX1.12 FLATS
DIE UNIT-DD 1.125X1.375

PUNCH UNIT-KEY .481 DIA X .055 KEY
PUNCH-KEY .481 X .055

DIE UNIT-KEY .481 DIA X .055 KEY
PUNCH UNIT-KEY 1.171DIA X.123 KEY
PUNCH-KEY 1.171 DIA X .123 KEY

DIE UNIT-KEY 1.171 DIA X .123 KEY
PUNCH UNIT-KEY 1.265DIA X .156 KEY
PUNCH-KEY 1.265 DIA X .156 KEY

DIE UNIT-KEY 1.265 DIA X .156 KEY
PUNCH UNIT-KEY 1.328DIA X.102 KEY
PUNCH-KEY 1.328 X .102

DIE UNIT-KEY 1.328 DIA X .102 KEY
ADAPTER-STUD 1/4-28X3/4-16X1.94)
STUD-DRAW 1/4-28X3.72

STUD-DRAW 3/8-24X3.91

STUD-DRAW 1/2-20X4.75

STUD-DRAW 3/4-16X6.94

NUT-DRIVE 1/4-28 HEX

NUT UNIT-HEX 1/2-20 BB (60165)
STUD-DRAW 1/2-20X4.75
ADAPTER-STUD 1/2-20X3/4-16X1.94
PUNCH UNIT-SQ 2.00 (50.8)

PUNCH-SQ 2.000 (50.8)

DIE UNIT-SQ 2.000 (50.8)

$565.50
$223.12
$338.54
$565.50
$223.12
$338.54
$565.50
$223.12
$338.54
$1,463.72
$584.74
$877.06
$1,394.50
$559.76
$836.70
$1,498.36
$600.14
$900.16
$1,744.54
$696.28
$1,044.44
$1,896.52
$757.84
$1,138.70
$1,648.40
$659.74
$986.76
$1,896.52
$757.84
$1,138.70
$2,010.00
$807.86
$1,209.82
$281.98
$111.10
$168.10
$429.52
$257.68
$315.58
$126.98
$188.62
$371.62
$147.52
$222.22
$416.46
$166.18
$250.26
$511.68
$205.42
$309.98
$50.42
$75.38
$86.00
$86.00
$118.88
$56.06
$65.70
$86.00
$50.42
$1,155.94
$459.42
$722.70



60171
60172
60173
60174
60175
60176
60177
60178
60179
60234
60235
60237
60238
60239
60242
60243
60246
60249
60250
60258
60287
60288
60289
60791
60792
60807
61004
61005
61006
61007
61008
61010
61011
61012
61013
61015
61028
61080
61081
61082
61083
61086
61087
61088
61089
61090
61091
61092
61093
61094
61095
61096
61097
61125
61126
61127
76606
76748
76806
76807
84003
84006

PUNCH UNIT-SQ 2.677 (68.0)
PUNCH-SQ 2.677 (68.0)

DIE UNIT-SQ 2.677 (68.0)

PUNCH UNIT-SQ 3.622 (92.0)
PUNCH-SQ 3.622 (92.0)

DIE UNIT-SQ 3.622 (92.0)

PUNCH UNIT-SQ 4.125 (104.8)
PUNCH-SQ 4.125 (104.8)

DIE UNIT-SQ 4.125 (104.8)

PUNCH UNIT-SQ 5.433 (138.0)
NUT-COUNTER 3/4-16

PUNCH - RD 1.218" SB (3/4"D/S)
PUNCH UNIT-OILTITE .875
PUNCH-OILTIGHT .875

PUNCH UNIT-OILTITE 1.218
PUNCH-OILTIGHT 1.218

PUNCH UNIT-RD 1.218" SB (3/4"D/S)
DIE UNIT-OILTITE 1-7/32"

DIE UNIT-OILTITE 7/8"

NUT-HEX 1/2-20 HD DRIVE (730)
PUNCH UNIT-SQ 45MM

PUNCH,SQ (45MM)

DIE UNIT, SQ 45MM
BLADE,PUNCHDOWN (66) X100
BLADE,PUNCHDOWN (110) X100
CRIMPER, COMPRESSION

PUNCH ASSY,SQUARE (.625)
PUNCH,SQUARE (.625)

DIE ASSY,SQUARE (.625)

PUNCH ASSY,SQUARE (.750)
PUNCH,SQUARE (.750)

PUNCH ASSY,SQUARE (.882)
PUNCH,SQUARE (.882)

DIE ASSY,SQUARE (.882)

PUNCH ASSY,SQUARE (.945)

DIE ASSY,SQUARE (.945)

PUNCH ASSY,RECT (.670 X.749)
PUNCH UNIT ASSY,D (DIA .625 X.594 FLAT)
PUNCH,D (DIA .625 X.594 FLAT)

DIE ASSY,D (DIA .625 X.594 FLAT)
PUNCH ASSY,D (DIA .750 X.703 FLAT)
PUNCH ASSY,DD (DIA .769 X.642 FLATS)
PUNCH,DD (DIA .769 X.642 FLATS)
DIE ASSY,DD (DIA .769 X.642 FLATS)
PUNCH ASSY,DD (DIA .795 X.697 FLATS)
PUNCH,DD (DIA .795 X.697 FLATS)
DIE ASSY,DD (DIA .795 X.697 FLATS)
PUNCH ASSY,DD (DIA .913 X.756 FLATS)
PUNCH,DD (DIA .913 X.756 FLATS)
DIE ASSY,DD (DIA .913 X .756 FLATS)
PUNCH ASSY,DD (DIA .913 X.795 FLATS)
PUNCH,DD (DIA .913 X.795 FLATS)
DIE ASSY,DD (DIA .913 X.795 FLATS)
PUNCH ASSY,SQUARE-SPECIAL
PUNCH,SQUARE-SPECIAL

DIE ASSY,SQUARE-SPECIAL

C-HEAD KIT,RPLM'T-42MM (PVC COATED)
TESTER, SURE SIGNAL (SPCL)
BLADE,STATIONARY (ES25)

BLADE KIT (ES25)
ANCHOR,CONICAL-6/8
ANCHOR,CONICAL-10/12 (Box of 100)

$1,322.16
$528.50
$793.68
$1,895.44
$756.30
$1,137.28
$2,231.56
$888.92
$1,333.34
$2,661.08
$87.94
$41.78
$416.46
$239.04
$444.44
$254.00
$86.90
$190.50
$178.36
$36.22
$961.72
$384.70
$577.02
$1,916.10
$1,916.10
$53.98
$281.98
$111.10
$168.10
$295.08
$117.64
$321.20
$128.86
$194.20
$391.74
$235.30
$476.22
$300.66
$119.52
$179.26
$315.60
$330.54
$131.66
$197.96
$356.66
$176.48
$212.90
$416.46
$166.18
$250.26
$416.46
$166.18
$250.26
$507.94
$203.56
$306.28
$1,275.30
$190.10
$518.00
$1,276.78
$3.28
$3.78



84009
84012
84015
84019
84110
84111

84112
84253
84256
84299
84305
84405
84409
84424
84425
84428
84429
84463
84466
84469
84472
84475
84478
84481
84484
84510
84526
84532
84538
84544
84550
84576
84582
84588
84594
84600
85117
85183
85264
85284
85337
85353
85361
85402
85420
85446
85447
85466
85636
85639
85645
85724
85730
85808
85809
85812
85813
85814
85822
85828
85832
85834

ANCHOR KIT,CONICAL (#8X1, 84009)
ANCHOR KIT,CONICAL (#10X1, 84012)
ANCHOR KIT,CONICAL (#12X1, 84015)
ANCHOR KIT,CONICAL (#10X1, 84019)
ANCH ZINC 1/4 X1 MSRM HD (Box of 100)
ANCH ZINC 1/4 X1-1/4 MSRM HD (Box of 100
ANCH ZINC 1/4 X1-1/2 MSRM HD (Box of 100
ANCH DROP 1/4 1/4X20 (Box of 100)
ANCHOR, DROP 3/8X16 (250)

ANCH CAUK 1/4-2 (100 CT BOX)

ANCH CAUK 3/8-1

BOLT-TOGGLE 1/4-20X4.00 (Box of 50)

BLT TOGL 3/8X4 3/8-16 RD HD (Box of 25)
BLT TOGL 3/16X310-24 MR HD (Box of 50)
BLT TOGL 3/+16X10-24 ME HD (Box of 50)
BLT TOGL 1/4X3 1/4-20 MR HD (Box of 50)
BLT TOGL 1/4X4 1/4-20 MR HD (Box of 50)
KIT MASCRU DRIL1/4

MSRNY DRILL/SET TOOL W/84484 BIT
SCREW KIT-1/4X1.00 (ANCHOR) (Box of 100)
SCREW KIT-1/4X1.25 (ANCHOR) (Box of 100)
SCREW KIT-1/4X1.50 (ANCHOR) (Box of 100)
SCREW KIT-1/4X2.00 (ANCHOR) (Box of 100)
SCREW KIT-1/4X2.50 (ANCHOR) (Box of 100)
BIT DRIL 3-1/2

STUD

BIT3/16X4

BIT 1/4X4

BIT 5/16X4

BIT 3/8X4

BIT 1/2X4

BIT 3/16X4

BIT 1/4X4

BIT 5/16X4

BIT 3/8X4

BIT 1/2X4

CONNECTOR-TWO SCREW

MOTOR-ELEC 1HP 115/230V 1725RPM
CORD UNIT-POWER 12/3 SO X120"LG
SWITCH-TOGGLE S-T D-P 20A 277V (690
SWITCH-TOGGLE D-POLE S-THROW 1-HP
COVER,CAPACITOR GE #11B276AAP1
COVER-FAN (FOR GE #114C922AA P1)
SWCH

TERMINAL-LOCKING FORK #10-12W #6S
BALL BRNG

ARMT

MOTOR-ELEC 1-1/2HP 100/200V 3450RPM
SCREW/WASHER UNIT-LAMB #50-7982
CLAMP-LAMB ELEC #0-5490 (690)
SPACER-MOTOR LAMB #10-2977 (690)
COIL,SOLENOID-115V 60HZ (SERVICE)
BRSH MCSM

WIRE-LEAD & TERM LAMB #39262 (690)
WASHER-LAMB ELECT #20-2291
WASHER-LAMB ELECT #20-2235

ARM

FIELD

SWITCH,LIMIT MICRO-SW #BZ-2RW822-A2
MOTOR-ELEC 220V (555-M5)

BRUSH

BEARING-BALL .669X1.57X.472

$10.64
$10.38
$13.62
$14.94
$21.74
$26.38
$29.40
$51.60
$40.94
$57.78
$38.44
$29.08
$37.46
$19.86
$21.42
$33.26
$29.08
$46.86
$86.06
$33.02
$34.82
$39.52
$44.88
$49.82
$2.74
$3.02
$3.86
$4.68
$6.02
$7.26
$9.68
$7.78
$7.78
$8.96
$10.52
$14.06
$16.10
$1,118.74
$141.88
$46.76
$118.78
$106.26
$220.36
$94.14
$3.08
$32.90
$274.74
$1,173.76
$2.52
$2.52
$14.70
$54.82
$37.52
$5.60
$4.90
$4.06
$145.20
$111.04
$106.68
$4,439.32
$70.90
$119.48



85835
85865
85868
85872
85874
85877
85882
85883
85888
85905
85908
85929
85954
85995
85996
85997
86009
86015
86019
86050
86051
86052
86060
86064
86065
86066
86067
86068
86069
86071
86072
86073
86074
86083
86090
86091
86093
86101
86102
86103
86106
86109
86110
86112
86113
86118
86119
86121
86122
86126
86128
86132
86143
86145
86152
86155
86180
86181
86182
86186
86194
86196

WASHER-FLAT 1.31X1.56X.028
CONTACTOR UNIT, REVERSING
VARISTOR

TERMINAL, 60AMP 750VOLT

DIODE-1A 1000V INTERNAT #R-250

FSTN

SWITCH-TOGGLE 10A 250V AC S-P D-T
GASKET-COVER HINDS #GASK-571 (555)
RECTIFIER-800V 35A 1-P BRIDGE

MOTOR

SPACER-BEARING COLLINS #12815 (460)
SEAL-MOTOR SHAFT COLLINS #12836(460
ETRN FAN

FUSE HLDR

END PIECE (BUCHANAN #930) (555-M3)
RECTIFIER-600V 35A 1-P BRIDGE
BUSHING,STRAIN RELIEF-NYLON
SWITCH,TIPPETTE D-P (849)
THERMOSTAT

CONNECTOR-FEMALE TWIST-LOCK 15A
PLUG-ELEC MALE 15A 2P 3W 125V TWIST
PLUG-ELEC FEMALE 15A 2P 3W 125V
SWITCH-TOGGLE 10A 125/250V AC MO-ON
ARMATURE-MOTOR 115V (6001)

FIELD FOR 6001

CORD-ELEC STATURE #9001-006 (6001)
BRUSH FOR 6001

CAP-BRUSH STATURE #20476-01 (6001)
BRUSH HOLDER FOR 6001
BEARING-ARMATURE STATURE #53203-04
BEARING-STATURE #53201-04
WASHER-STATURE #56502-02
CORD-ELEC #12/3 SO X72" 600V BLACK
STRN RELF

SWITCH-SQ D #CLASS 2510 T-KO (847)
PILOT LIGHT

PLUG-ELEC MALE 30A 250V TWIST-LOCK
SWITCH, CIRCUIT BREAKER

CAP UNIT-COMM END STATURE #9050-015
TERMINAL-DISCONNECT M #14-16W NYLON
ARMTR

ARM BRSH

BRSH HLDR

CAP UNIT,END

CAP-BRUSH STATURE#9550-009
DISC-MOTOR LAMB #0-6355 (690)
BEARING-BALL LAMB #60-7600 (690)

BRG

BUSHING-SNAP LAMB #10-5480 (690)
BRUSH UNIT-MOTOR LAMB #33357 (690)
BRACKET-FAN END LAMB #45931 (690)
SHELL-FAN LAMB #30-4068 (690)

PLUG, FEMALE

FIELD

SWITCH,CIRCUIT BREAKER (120V 16A S-P)
RECEPTACLE-FEMALE TWIST-LOCK 15A
MTR FRME ASSY

GEARHSNG COVER

56GASKET-STATURE #52050-05 (2001)
MOTOR-ELEC 120V (590)
WASHER-FINGER STATURE #56505-03(915
NUT-STATURE #53059-01 (FOR 915)

$6.86
$1,943.20
$6.50
$11.90
$8.32
$27.44
$57.26
$21.28
$114.72
$1,374.00
$206.90
$78.28
$286.60
$68.52
$4.68
$88.48
$5.24
$48.64
$70.42
$128.38
$63.62
$70.48
$85.96
$958.90
$383.18
$45.06
$26.60
$5.60
$26.60
$50.22
$23.80
$7.62
$59.28
$11.20
$200.90
$32.90
$241.14
$68.02
$161.72
$5.30
$284.14
$16.80
$34.78
$208.62
$16.80
$7.98
$26.18
$27.44
$7.00
$39.34
$266.28
$29.32
$54.66
$396.50
$172.66
$77.48
$498.40
$75.16
$16.80
$260.54
$3.36
$2.52



86200
86203
86204
86207
86209
86210
86239
86241
86242
86243
86244
86261
86264
86265
86272
86274
86275
86276
86292
86294
86295
86296
86314
86317
86319
86325
86328
86329
86332
86339
86347
86348
86349
86355
86379
86382
86383
86385
86388
86395
86396
86397
86398
86399
86400
86401
86402
86403
86409
86410
86413
86414
86419
86420
86421
86426
86430
86432
86435
86436
86441
86444

BRKR-CRCT 230V

BRUSH MECHANISM

END BRACKET

ARMATURE

ROTATING FAN

STATIONARY FAN

DRIVE SHAFT GEAR REDUCER

DRIVEN SHAFT GEAR REDUCER

GEAR REDUCER GEAR REDUCER
BEARING-STATURE #53200-02
BEARING-STATURE #53204-04
SWITCH-TOGGLE S-P S-T 10A 125V (590
STRAIN RELIEF-.270/.480 FLEXIBLE
SWITCH-ROCKER S-P MOMENT-ON (915)
HSNG GEAR BOX

GEAR SHFT DRIV

GEAR SHFT DRVN

SHAFT-GEAR OUTPUT W/.625 KEYWAY
RELAY-240V 45A

ARMT ASSY

GEAR HOUSING

CORD UNIT-POWER #14/3 X96"LG 300V
MOTOR,ELEC 1-1/2HP 115/230V 1-P
BLOC-TRNL

SWITCH, TOGGLE-ON/OFF (125V,15A)
RECEPTACLE,FEMALE 15A 125V 2-P 3-W
PAPR-STRD CHRT

SHAFT ASSY-OUTPUT (805)
CABLE,MULTI CONDUCTER (805)
MOTOR,ELEC 1/2HP 115/230V 1-P 3450R
CORD UNIT-WELLS #100755-1 (1399)
RELAY-WELLS #100866 (1399)
GROMMET-RUBBER .625X.875X.312 (1781
SWITCH-FOOT 20A SPDT 1-HP (976-22)
COVER-CAPACITOR #111B276AA1 (980)
RECEPTACLE-FEMALE 125V 15A W/GRD
SWITCH

BREAKER, CIRCUIT

SWITCH, CIRCUIT BREAKER

FIELD ASSEMBLY (35352)

COVER-GEAR HOUSING (35352)

GEAR ASSEMBLY-FIRST (35352)
HOUSING ASSEMBLY-GEAR (35352)
SEAL-ARMATURE SHAFT (35352)

GEAR ASSEMBLY-OUTPUT (35352)
BEARING ASSY-ARMATURE/ (35352)
COMMUTATOR END ASSY (35352)
RELAY, SOLID STATE 240V 45A 25-65HZ
SWITCH-TOGGLE 20A DP-ST ON-OFF
GUARD-SWITCH ON-OFF TOGGLE
SWITCH,AIRPAX #UPG-66-0-01
SWITCH-CIRCUIT BREAKER 220V 9A S-P
BELL-REAR END (555-MOTOR)

BRUSH (555-MOTOR)

BEARING,MOTOR #HB623SL (555)
BOLT,TIE 115V (555-MOTOR)
COVER,BRUSH (555-MOTOR)

FAN (555-MOTOR)

FIELD ASSEMBLY-MOTOR (640-22)
ARMATURE ASSY-MOTOR (640-22)
GRIP-CORD 1/2" CONDUIT STRAIGHT
MOTOR,ELECRIC-1-1/2 HP 50HZ

$215.24
$18.76
$80.50
$146.36
$35.56
$47.18
$285.58
$247.72
$217.00
$16.80
$26.60
$58.66
$41.86
$43.68
$281.84
$287.00
$908.24
$635.54
$265.44
$179.36
$128.12
$72.72
$1,144.28
$9.30
$26.06
$53.08
$56.76
$358.74
$279.46
$1,043.98
$130.22
$94.86
$2.52
$173.60
$30.10
$70.44
$53.20
$163.30
$77.00
$605.70
$168.00
$231.00
$217.00
$4.20
$418.60
$383.18
$155.04
$213.14
$112.70
$11.06
$179.36
$180.88
$733.10
$96.60
$122.84
$30.02
$66.28
$98.70
$233.18
$399.38
$33.94
$1,448.22



86449
86474
86487
86488
86490
86548
86549
86550
86551
86552
86554
86555
86559
86560
86561
86562
86608
86611
86612
86613
86614
86616
86618
86619
86620
86621
86632
86637
86645
86646
86683
86684
86688
86689
86705
86706
86707
86708
86709
86713
86714
86720
86721
86725
86757
86767
86772
86778
86779
86780
86781
86782
86783
86784
86785
86798
86801
86802
86811
86812
86813
86822

SWITCH, CENTER OFF S-P 10A 125VAC
PILOT LIGHT (125V 1/3W 200DEG-C)
CORD,POWER-12GA X9'LG SJOW 125V 20A
RECEPTICLE-ELEC ST-BLADE F 125V 20A
RECEPTICLE-ELEC TWIST-LOCK F125V20A
CAPACITOR,MOTOR 440MFD 125V (86314)
COVER,CAPACITOR (86314)
CAPACITOR-MOTOR 475MFD 165V (35466)
COVER-CAPACITOR (85466)

FAN-MOTOR (85466)

HOUSING ASSEMBLY-MOTOR (6001)
MOTOR UNIT-VACUUM (38594)
HOUSING-TAIL

PLATE ASSY-BRUSH

MAGNET & HOUSING ASSY

ARMATURE ASSY

HOUSING

FAN

BRACKET-COMM END

BRUSH MECH.-FOR #390 MOTOR (86555)
SPRING-LOAD

BALL BEARING

ARMATURE

FIELD

BALL-BEARING

WASHER-NEOPRENE

SHELL-FAN

TERMINAL-RING #14-16W #4-6S PVC
CONTACTOR

BRAKE-POWER

GRIP-CORD 3/4" HUB 3/8-1/2" CABLE
RECEPTACLE-FEMALE 20A 125V 2P 3W
RELAY

MOSFET IR #IRFP250R
BRUSHES-COMMUTATOR
SPRINGS-COMMUTATOR BRUSH RETENSION
HOUSING-TAIL

PLATE-BRUSH ASSEMBLY

CORD

BRACKET-FAN END LAMB #45931-1
ARMATURE-115V LAMB #215837-01 (690)
FAN-ROTATING MOTOR (690)
WASHER-MOTOR (690)

BEARING-MOTOR (690)
ARMATURE-MOTOR 220V (6001-22)
RELIEF-STRAIN

BRAKE RESISTOR UNIT

DECAL-WARNING

BREAKER,CIRCUIT (ES85-11)

FORCE GAUGE ASSEMBLY
RELAY-CONTROL

BOARD, CIRCUIT-W/TIME DELAY
CONTACTOR-BEND/UNLOAD
TRANSFORMER UNIT

BREAKER,CIRCUIT (POTTER BROMFIELD)
CONNECTOR-STRAIN RELILEF
SWITCH-CIRCUIT BREAKER (230V,9AMP)
NOSE ASSEMBLY

SWITCH-TOGGLE

SWITCH (AIRPAX #UPG-1-1-64-183-01)
RECTIFIER-50 AMP BRIDGE
MONITOR,DISPLAY

$66.28
$32.62
$72.44
$72.32
$118.84
$78.96
$106.26
$88.48
$24.92
$76.50
$247.72
$378.00
$198.80
$134.40
$525.00
$586.36
$26.32
$8.68
$33.24
$13.44
$5.04
$21.70
$309.26
$227.50
$49.20
$5.88
$9.66
$2.52
$127.04
$394.02
$33.88
$44.80
$10.50
$101.28
$49.00
$41.58
$187.46
$236.04
$50.26
$143.50
$442.24
$46.06
$8.18
$46.34
$294.00
$40.24
$82.24
$4.40
$26.50
$910.00
$337.12
$890.26
$1,361.14
$161.34
$172.48
$13.86
$219.30
$810.20
$32.90
$68.80
$29.40
$1,964.90



86835
86836
86840
86841
86844
86845
86854
86863
86886
86889
86890
86891
86892
86895
86896
86899
86907
86914
86916
86917
86918
86919
86920
86921
86922
86923
86941
86942
86943
86944
86945
86946
86947
86948
86949
86950
86951
86952
86953
86954
86966
86967
86976
86977
87132
87137
87148
87244
89199
89202
89803
89817
89821
89899
89900
89901
89910
10520E2
1052011
11520E2
1152011
012154500

TEST LEAD CLIPS
SWITCH-AIRPAX #UPG-1-1-64-103-01
ARMATURE ASSY (6800-22)
BRAKE-POWER

FUSE-1A/240V

CORD UNIT-ELEC 96" LG 250V 14/3
RECEPTACLE-FEMALE
PLUG,ELEC-TWIST LOCK (20A 125/250V)
LAMP-NEON 115VAC YLW

SWITCH

RING-LOCKING

BREAKER-CIRCUIT 90 AMP
MOTOR-24V ELECTRIC
SWITCH-DOUBLE THROW
GAUGE-BATTERY

BUSHING-STRAIN RELIEF
ARMATURE 24V

ROD-THREADED 1/4-28X11.13 (00664)
SWITCH-E-STOP
OUTLET-ACCESSORY

CONTROLLER

STANDOFF

MOTOR

SCREEN-MOTOR (6800)
ROD-1/4"-28X6.093 THREADED
ROD-#8-32X2.50 THREADED
GEARBOX ASSEMBLY
HOUSING,0UTPUT GEAR

SHAFT ASSEMBLY-OUTPUT

GASKET

HOUSING-INPUT GEAR

GEAR ASSEMBLY

GEAR ASSEMBLY

GASKET

ARMATURE ASSEMBLY
HOUSING-MAGNET
END-COMUTATOR

WIRE ASSEMBLY,BRUSH-COMMUTATOR
WIRE ASSEMLBY,BRUSH-COMMUTATOR
WIRE UNIT,GROUND
RELAY,P&B,PROA-11AYA-24

RELAY (P&B PRO-11AY0-24)
SWITCH,CIRCUIT BREAKER

SWITCH

SWITCH (AIRPAX #UPG-1-1-64-203-01)
GAUGE,FORCE

GEAR,DRIVE W/BEARING HOUSING
HOUSING KIT (ES25)

DECAL KIT (ES750)

GRIP, HANDLE
FISHROD,REPLACEMENT-GLO STIX 6' (POP)
DRIVESHAFT

INDENTER

BOOM ASSEMBLY

SLEEVE (709/710)

SLIDING MECHANISM SERVICE KIT (710)
SHAFT

TEST SET, BASIC, SM, E2000-PC
TEST SET, BASIC, SM, DIN-PC

TEST SET, DELUXE, SM, E2000-PC
TEST SET, DELUXE, SM, DIN-PC
LEADS (TS90)

$23.38
$89.78
$572.74
$753.90
$1.42
$72.72
$93.80
$73.60
$22.46
$35.00
$7.00
$110.88
$1,965.66
$81.54
$99.32
$5.80
$2,013.34
$11.52
$304.40
$14.82
$410.04
$2.04
$1,284.76
$28.44
$7.88
$6.46
$695.64
$68.34
$231.90
$10.30
$72.54
$123.70
$113.60
$8.22
$287.86
$170.02
$244.06
$26.60
$15.74
$8.32
$226.94
$198.02
$385.64
$431.60
$95.54
$593.60
$140.82
$30.80
$17.30
$8.18
$32.50
$208.24
$315.72
$279.80
$54.66
$106.76
$10.50
$3,709.10
$3,709.10
$4,128.98
$4,128.98
$92.30



650391700
00042P
0070-1150
0097-1006NEW
0134-0500
0140-0022
0151-08D
0151-08M
0151-09CD
0151-09CM
0151-09D
0151-09FD
0151-09FM
0151-09-INS
0151-09M
0151-09M-CP
0151-09SD
0151-09SM
0153-01C
0153-01C-CP
0153-01-INS
0153-02C
0153-03C
0153-04C
0153-11C
0153-11-INS
0153-12C
0153-13C
0153-13C-CP
0153-14C
0153-15C
0153-15-INS
0153-16C
0153-17-INS
0153-21C
0153-21-INS
0153-22C
0153-22-INS
0153-23C
0153-23-INS
0153-24C
0153-25C
0153-26C
0153-27C
0153-28C
01563-31C
0153-31-INS
0153-32C
0153-33C
0153-33-INS
0153-34C
0153-35C
0153-35-INS
0153-36C
0153-42C
0153-42C-CP
0153-43C
0153-51C
0153-52C
0153-53C
0153-54C
0154-06

LEADS, TEST (TS100)
SCREW UNIT,DRIVE
CORD,RECHG

DISK SIDEKICK PLUS US, DOCUMENTATION

IDENTIFIER, DIGITAL SIGNAL (T-BUG)
HEADPHONES

PLIERS,SIDE CUTTING 8" DIPPED
PLIERS,SIDE CUTTING 8" MOLDED
PLIERS,SIDE CUT 9" DIP CRIMP
PLIERS,SIDE CUT 9" MOLD CRIMP
PLIERS,SIDE CUTTING 9" DIPPED
PLIERS,SIDE CUT 9" DIP FSHTP
PLIERS,SIDE CUT 9" MOLD FSHTP
PLIERS,SIDECUT 9",INSUL,MOLDED
PLIERS,SIDE CUTTING 9" MOLDED
PLIERS,SIDE CUTTING-9" CNTRPAK
PLIERS,SIDE CUT 9" DIP STRPER
PLIERS,SIDE CUT 9" MOLD STRPER
SCREWDRIVER SET,5 PC (POP)
SCREWDRIVER SET-5P CNTRPAK
SCREWDRIVER,INSULATED 9PC
SCREWDRIVER SET,7 PIECE
SCREWDRIVER,MINI,4 PC
SCREWDRIVER SET,STUBBY,2PC
.SCREWDRIVER,FLAT-KEY 1/4X4"
SCREWDRIVER,INSULATED,CAB,1/4"x4"
SCREWDRIVER,FLAT-KEY 1/4X6"
SCREWDRIVER,FLAT-KEY 1/4X8"
SCREWDRIVER,FLAT-CNTRPAK
SCREWDRIVER,FLAT-KEY 1/4X10"
SCREWDRIVER,FLAT-KEY 5/16X6"
SCREWDRIVER,INSULATED,CAB,5/16"x6"
SCREWDRIVER,FLAT-KEY 3/8X8"
SCREWDRIVER,INSULATED,CAB,3/8"x10"
SCREWDRIVER,FLAT-CAB 3/16X4"
SCREWDRIVER,INSULATED,CAB,3/16"x4"
SCREWDRIVER,FLAT-CAB 3/16X6"
SCREWDRIVER,INSULATED,CAB,3/16"x6"
SCREWDRIVER,FLAT-CAB 3/16X8"
SCREWDRIVER,INSULATED,CAB,3/16"x8"
SCREWDRIVER,FLAT-CAB 3/16X10"
SCREWDRIVER,FLAT-CAB 1/4X4"
SCREWDRIVER,FLAT-CAB 1/4X6"
SCREWDRIVER,FLAT-CAB 1/4X8"
SCREWDRIVER,FLAT-KEY 1/4X1-1/2
SCREWDRIVER,PHILLIPS #1X3"
SCREWDRIVER,INSULATED,#1x3"
SCREWDRIVER,PHILLIPS #2X1-1/2"
SCREWDRIVER,PHILLIPS #2X4"
SCREWDRIVER,INSULATED,#2x4"
SCREWDRIVER,PHILLIPS #2X6"
SCREWDRIVER,PHILLIPS #3X6"
SCREWDRIVER,INSULATED,#3x6"
SCREWDRIVER,PHILLIPS #2X10"
DRIVER,MULTI-TOOL 6N1

6-IN-1 MULTI-TOOL-COUNTERPACK
DRIVER,MULTI-TOOL 9N1
SCREWDRIVER,SPEED FLAT 3/16 X 6
SCREWDRIVER,SPEED FLAT 1/4X6
SCREWDRIVER,SPEED PHILLIPS #1 X 6
SCREWDRIVER,SPEED PHILLIPS #2 X 6
WRENCH,ADJUSTABLE 6"

$330.24
$26.04
$23.92
$200.00
$968.98
$11.70
$36.90
$39.36
$43.86
$56.60
$41.56
$43.48
$50.54
$78.26
$46.18
$46.18
$43.02
$47.78
$42.30
$42.30
$189.98
$55.46
$24.74
$14.74
$9.68
$21.62
$7.38
$8.52
$8.52
$9.68
$11.96
$23.24
$14.60
$30.10
$7.74
$20.22
$7.74
$20.88
$9.44
$21.40
$9.68
$9.10
$9.68
$11.18
$7.38
$7.38
$19.82
$7.16
$7.96
$21.10
$9.10
$10.80
$24.26
$11.46
$10.24
$10.24
$15.74
$10.64
$12.10
$10.66
$10.84
$24.36



0154-06D
0154-08
0154-08C
0154-08D
0154-10
0154-10C
0154-10D
0154-12
0154-12C
0154-12D
0155-100
0155-16A
0155-200
0155-25A
0155-7TMA
0156-11
0156-12
0157-171
0157-18I
0158-11
01568-12
0158-13
0158-14
0158-15
0158-16
01568-17
0158-18
0158-19
0159-01-INS
0159-11
0159-12
0159-13
0159-14
0159-23
0159-24
0159-28
0159-29
0159-30
0159-34
0159-36
0160-0001-1
0161-0001-1
0162-0001-1
0163-0001-1
0164-0001-1
0165-0001-1
0168-0001-1
0170-0001-1
0171-0001-1
0172-0001-1
0173-0001-1
0174-0001-1
0175-0001-1
0178-0001-1
0251-05D
0251-05M
0251-06D
0251-06M
0251-07D
0251-07M
0251-08AD

0251-08A-INS

WRENCH,ADJUSTABLE 6" DIPPED
WRENCH,ADJUSTABLE 8"
WRENCH,ADJUSTABLE 8" COMPOSITE
WRENCH,ADJUSTABLE 8" DIPPED
WRENCH,ADJUSTABLE 10"
WRENCH,ADJUSTABLE 10" COMPOSITE
WRENCH,ADJUSTABLE 10" DIPPED
WRENCH,ADJUSTABLE 12"
WRENCH,ADJUSTABLE 12" COMPOSITE
WRENCH,ADJUSTABLE 12" DIPPED
TAPE,FIBERGLASS,100FT
RULE,POWER RETURN 16' (POP)
TAPE,FIBERGLASS,200FT
RULE,POWER RETURN 25' (POP)
RULE,POWER RETURN 7.5M DUAL (POP)
HAMMER,ELECTRICIANS 1802
HAMMER,STRAIGHT CLAW 160Z
SCREWDRIVER,INSULATED #1
SCREWDRIVER,INSULATED #2
BAG,CANVAS 20"

BAG,HEAVY DUTY 18"

CARRIER, TOOL 11"

BAG,ZIPPER SMALL

BAG,CADDY CORDURA
POUCH/BELT COMBO 3PC
BAG,CADDY,7 POCKET

BAG,NUT DRIVER

BAG,TOOL CARRIER,W/PART BIN
STANDARD INSUL KIT,7PC

MASTER ELECTRICIANS KIT 28PC
JOURNEYMANS KIT 17PC
ELECTRICIANS KIT 12PC
STARTERS KIT 5PC
JOURNEYMANS KIT 21PC-METRIC
ELECTRICIANS KIT 16PC-METRIC
BASIC KIT - 4 PIECE

PLIERS KIT,DIPPED - 5 PIECE

MULTI PURPOSE KIT - 14 PIECE
INSTALLATION KIT - 5 PIECE
APPRENTICE TOOL SET, 6 PC (CNTRPK)
MARKER, POWER - 160
OMNIMARKER, WATER - 161
OMNIMARKER, SANITARY - 162
OMNIMARKER, TELEPHONE - 163
OMNIMARKER, GAS - 164
OMNIMARKER, CATV - 165
OMNIMARKER, NON-POTABLE - 168
UNIMARKER, POWER - 170
UNIMARKER, WATER - 171
UNIMARKER, SANITARY - 172
UNIMARKER, TELEPHONE - 173
UNIMARKER, GAS - 174
UNIMARKER, CATV - 175
UNIMARKER, NON-POTABLE - 178
PLIERS,DIAGONAL 5" DIPPED
PLIERS,DIAGONAL 5" MOLDED
PLIERS,DIAGONAL 6" DIPPED
PLIERS,DIAGONAL 6" MOLDED
PLIERS,DIAGONAL 7" DIPPED
PLIERS,DIAGONAL 7" MOLDED
PLIERS,DIAGONAL,ANGL 8" DIPPED
PLIERS,DIAG,ANGL 8",INSUL,MOLD

$24.92
$26.98
$29.78
$26.90
$34.34
$38.08
$33.52
$49.88
$55.44
$38.16
$40.14
$10.14
$70.18
$14.22
$15.50
$40.74
$28.48
$17.00
$18.08
$116.08
$58.02
$111.00
$12.26
$72.52
$122.04
$27.50
$16.60
$54.98
$299.98
$592.76
$392.86
$276.54
$93.08
$384.26
$287.08
$60.88
$178.62
$279.12
$139.54
$90.98
$11.28
$11.28
$11.28
$11.28
$11.28
$11.28
$11.28
$8.50
$8.50
$8.50
$8.50
$8.50
$8.50
$8.50
$24.18
$24.56
$22.80
$25.32
$24.00
$23.16
$32.80
$68.30



0251-08AM
0251-08D
0251-08M
0251-08M-CP
0252-11
0253-01C
0253-01NH-6
0253-02C
0253-03NH-INS
0253-05-S
0253-06NH-6
0253-11C
0253-11NH-6
0253-11NH-INS
0253-12C
0253-12NH-6
0253-12NH-INS
0253-13C
0253-13NH-6
0253-13NH-INS
0253-14C
0253-14NH-6
0253-14NH-INS
0253-15C
0253-15NH-6
0253-15NH-INS
0253-16C
0253-16NH-6
0253-16NH-INS
0253-17C
0253-17NH-6
0253-17NH-INS
0253-33C
0253-34C
0253-35C
0253-36C
0253-37C
0253-38C
0253-39C
0253-41C
0253-42C
0253-43C
0254-11
0254-12
0254-31
0254-40
0254-42
0254-43
0254-44
0254-45
0254-46
0254-47
0254-48
0254-49
0254-50
0254-51
0257-011
0257-111
0257-12I
0257-131
0257-141
0257-151

PLIERS,DIAGONAL,ANGL 8" MOLDED
PLIERS,DIAGONAL 8" DIPPED
PLIERS,DIAGONAL 8" MOLDED-POP
PLIERS,DIAGONAL-8" CNTRPAK
RIPPER,CABLE NM

NUT DRIVERS,SET, 7 PIECE

NUT DRIVERS NH,6", 7PC

NUT DRIVERS,SET, 7 PC-METRIC
NUT DRIVERS NH,INSUL,6", 7PC
NUT DRIVERS,SET,STUBBY,2 PC
NUT DRIVERS,NH,SET,6",2 PC
NUT DRIVER,3/16"X3" (POP)

NUT DRIVERS NH,3/16"x6"

NUT DRIVER,NH,INSUL,3/16X6"
NUT DRIVER,1/4"X3" (POP)

NUT DRIVERS NH,1/4"x6"

NUT DRIVER,NH,INSUL,1/4X6"
NUT DRIVER,5/16"X3" (POP)

NUT DRIVERS NH,5/16"x6"

NUT DRIVER,NH,INSUL,5/16X6"
NUT DRIVER,11/32"X3" (POP)
NUT DRIVERS NH,11/32"x6"

NUT DRIVER,NH,INSUL,11/32X6"
NUT DRIVER,3/8"X3" (POP)

NUT DRIVERS NH,3/8"x6"

NUT DRIVER,NH,INSUL,3/8X6"
NUT DRIVER,7/16"X3" (POP)

NUT DRIVERS NH,7/16"x6"

NUT DRIVER,NH,INSUL,7/16X6"
NUT DRIVER,1/2"X3" (POP)

NUT DRIVERS NH,1/2"x6"

NUT DRIVER,NH,INSUL,1/2X6"
NUT DRIVERS,5mmX75mm

NUT DRIVERS,5.5mmX75mm

NUT DRIVERS,6mmX75mm

NUT DRIVERS,7mmX75mm

NUT DRIVERS,8mmX75mm

NUT DRIVERS, 9mmX75mm

NUT DRIVERS,10mmX75mm

NUT DRIVERS,11mmX75mm

NUT DRIVERS,12mmX75mm

NUT DRIVERS,13mmX75mm
WRENCH,HEX-KEY SET 9 PC STD FOLDING
WRENCH,HEX-KEY BALL-END 9 PC
WRENCH,HEX KEY SET,9 PC-METRIC
WRENCH SET,T-HANDLE 10PC
WRENCH, T-HANDLE,3/32"
WRENCH, T-HANDLE,7/64"
WRENCH,T-HANDLE,1/8"
WRENCH,T-HANDLE,9/64"
WRENCH,T-HANDLE,5/32"
WRENCH, T-HANDLE,3/16"
WRENCH, T-HANDLE,7/32"
WRENCH, T-HANDLE,1/4"
WRENCH,T-HANDLE,5/16"
WRENCH,T-HANDLE,3/8"
NUTDRIVER SET,INSULATED 7 PC
NUTDRIVER,INSULATED 3/16X5"
NUTDRIVER,INSULATED 1/4X5"
NUTDRIVER,INSULATED 5/16X5"
NUTDRIVER,INSULATED 11/32X5"
NUTDRIVER,INSULATED 3/8X5"

$36.46
$32.34
$35.90
$35.90
$3.36
$50.88
$91.84
$69.72
$199.98
$14.88
$25.36
$7.38
$12.16
$26.96
$7.38
$13.26
$27.26
$7.74
$14.42
$27.52
$7.74
$14.04
$27.78
$7.96
$14.76
$28.06
$8.86
$16.68
$30.62
$9.44
$17.68
$31.82
$9.68
$9.68
$9.78
$9.78
$9.90
$10.06
$10.20
$11.54
$11.66
$11.74
$9.30
$14.36
$9.30
$70.72
$5.34
$5.34
$5.34
$5.46
$5.58
$6.94
$7.22
$7.80
$9.44
$11.42
$106.56
$16.78
$16.78
$17.00
$17.00
$17.00



0257-16l1
0257-171
0258-11
0258-13
0258-14
0258-16
0259-11
0351-06D
0351-06M
0351-07D
0351-07M
0351-08D
0351-08-INS
0351-08M
0351-08SD
0351-08SM
0353-01C
0353-02C
0353-11C
0353-12C
0353-13C
0353-14C
0353-21C
0353-22C
0353-23C
0353-24C
0353-32C
0353-32-INS
0353-33C
0353-33-INS
0353-41C
0353-52C
0353-53C
0354-01
0354-02
0354-11
0354-12
0354-13
0354-14
0354-15
0354-16
0354-17
0354-18
0354-19
0354-20
0354-21
0354-22
0354-23
0354-24
0354-25
0354-26
0354-51
0354-52
0354-53
0354-54
0354-55
0354-56
0354-57
0354-58
0354-59
0354-60
0354-61

NUTDRIVER,INSULATED 7/16x5"
NUTDRIVER,INSULATED 1/2X5"
POUCH, LEATHER 8 POCKET
POUCH, LEATHER 5 POCKET
POUCH, LEATHER 4 POCKET
POUCH,CANVAS APRON-2 POCKET
ELECTRICAL TOOL & TEST KIT, 11PC
PLIERS,LONG NOSE 6" DIPPED
PLIERS,LONG NOSE,6" MOLDED
PLIERS,LONG NOSE 7" DIPPED
PLIERS,LONG NOSE,7" MOLDED
PLIERS,LONG NOSE 8" DIPPED
PLIERS,LONG NOSE,8",INSUL,MOLD
PLIERS,LONG NOSE,8" MOLDED
PLIERS,LONGNOSE 8" DIP STRIP
PLIERS,LONGNOSE 8" MOLD STRIP
DRIVER SET,SQUARE TIP 4PC
DRIVER SET,SQUARE TIP, 2 PC
DRIVER,SQUARE TIP #0X4" (POP
DRIVER,SQUARE TIP #1X4" (POP
DRIVER,SQUARE TIP #2X4" (POP
DRIVER,SQUARE TIP #3X4" (POP
DRIVER,SQUARE TIP #0 X 8"
DRIVER,SQUARE TIP #1 X 8"
DRIVER,SQUARE TIP #2X8"
DRIVER,SQUARE TIP #3X8"
DRIVER, SQUARE TIP #1 X 1-1/2
SCREWDRIVER,INSUL,SQ TIP#1x6"
DRIVER, SQUARE TIP #2 X 1-1/2
SCREWDRIVER,INSUL,SQ TIP#2x6"
DRIVER,MULTI-TOOL 6N1-METRIC
SCREWDRIVER,SPEED SQUARE #1 X 6
SCREWDRIVER,SPEED SQUARE #2 X 6
WRENCH SET,RATCHETING 7 PC.
WRENCH SET,RATCHET 7 PC-METRIC
WRENCH,COMBO RATCHETING 1/4"
WRENCH,COMBO RATCHETING 5/16"
WRENCH,COMBO RATCHETING 3/8"
WRENCH,COMBO RATCHETING 7/16"
WRENCH,COMBO RATCHETING 1/2"
WRENCH,COMBO RATCHETING 9/16"
WRENCH,COMBO RATCHETING 5/8"
WRENCH,COMBO RATCHET 11/16"
WRENCH,COMBO RATCHET 3/4"
-WRENCH,COMBO RATCHET 13/16"
WRENCH,COMBO RATCHET 7/8"
WRENCH,COMBO RATCHET 15/16"
WRENCH,COMBO RATCHET 1"
WRENCH,COMBO RATCHETING 1-1/16
WRENCH,COMBO RATCHETING 1-1/8
WRENCH,COMBO RATCHETING 1-1/4
WRENCH,COMBO RATCHET 6mm
WRENCH,COMBO RATCHET 7mm
WRENCH,COMBO RATCHET 8mm
WRENCH,COMBO RATCHET 9mm
WRENCH,COMBO RATCHET 10mm
WRENCH,COMBO RATCHET 11mm
WRENCH,COMBO RATCHET 12mm
WRENCH,COMBO RATCHET 13mm
WRENCH,COMBO RATCHET 14mm
WRENCH,COMBO RATCHET 15mm
WRENCH,COMBO RATCHET 16mm

~— ~— ~— ~—

$17.32
$17.32
$62.58
$39.92
$21.94
$5.92
$433.22
$22.80
$25.32
$22.88
$25.32
$31.36
$59.62
$34.82
$33.34
$37.02
$31.98
$15.12
$8.86
$8.86
$8.86
$8.86
$11.02
$11.02
$11.02
$11.02
$7.76
$20.88
$7.76
$20.88
$10.24
$12.02
$12.32
$96.80
$96.80
$14.92
$14.92
$15.20
$15.20
$15.62
$15.62
$15.90
$17.56
$18.94
$25.74
$25.74
$31.00
$31.44
$36.24
$43.54
$45.98
$14.92
$14.92
$14.92
$15.20
$15.20
$15.20
$15.62
$15.62
$15.62
$16.24
$16.86



0354-62
0354-63
0354-64
0358-11L
0358-11L-CP
0358-11M
0358-11XL
04-03-36C
04-03-54C
04-03-72C
0451-10D
0451-10-INS
0451-10M
0451-10M-CP
0451-12D
0451-12M
0451-16D
0453-11C
0453-12C
0453-13C
0453-14C
0453-15C
0453-16C
0453-17C
0453-18C
06-03-36A
06-03-36B
06-03-36C
06-03-54A
06-03-54B
06-03-54C
06-03-54M
06-03-72A
06-03-72B
06-03-72C
0652-11
0652-11-CP
0653-01L
0653-01R
0653-01S
08-03-36A
08-03-36B
08-03-36C
08-03-54A
08-03-54B
08-03-54C
08-03-72A
08-03-72B
08-03-72C
08-04-54M
09-03-36A
09-03-36B
09-03-54A
09-03-54B
09-03-54C
09-03-72A
09-03-72B
09-03-72C
0952-01
100B
100C
10101-51400

WRENCH,COMBO RATCHET 17mm
WRENCH,COMBO RATCHET 18mm
WRENCH,COMBO RATCHET 19mm
GLOVES,HIGH DEXTERITY-L
GLOVES,DEXTERITY-LRG CNTRPAK
GLOVES,HIGH DEXTERITY-MEDIUM
GLOVES,HIGH DEXTERITY-XL
BIT,D'VERSIBIT .250X.187X36.00"C"
BIT,D'VERSIBIT .250X.187X54.00 "C"
BIT,D'VERSIBIT .250X.187X72.00 "C"
PLIERS,PUMP 10" DIPPED
PLIERS,PUMP 10",INSUL,MOLDED
PLIERS,PUMP,10" MOLDED-POP
PLIERS,PUMP 10"-MOLDED CNTRPAK
PLIERS,PUMP 12" DIPPED
PLIERS,PUMP, 12" MOLDED
PLIERS,PUMP,16" DIPPED
DRIVER,SCREWHOLDING 3/32X3"
DRIVER, SCREWHOLDING 1/8X5"
DRIVER,SCREWHOLDING 5/32X5"
DRIVER,SCREWHOLDING 3/16X6"
DRIVER,SCREWHOLDING 1/4X7"
DRIVER,SCREWHOLDING #0X4"
DRIVER,SCREWHOLDING #1X5"
DRIVER,SCREWHOLDING #2X7"
BIT,D'VERSIBIT .375X.187X36.00 "A"
BIT,D'VERSIBIT .375X.187X36.00 "B"
BIT,D'VERSIBIT .375X.187X36.00 "C"
BIT,D'VERSIBIT .375X.187X54.00 "A"
BIT,D'VERSIBIT .375X.187X54.00 "B"
BIT,D'VERSIBIT .375X.187X54.00 "C"
BIT,D'VERSIBIT .375X.187X54.00 "M"
BIT,D'VERSIBIT .375X.187X72.00 "A"
BIT,D'VERSIBIT .375X.187X72.00 "B"
BIT,D'VERSIBIT .375X.187X72.00 "C"
KNIFE,UTILITY-HD POP
KNIFE,UTILITY-CNTRPAK
SNIP,AVIATION,LEFT MOLDED
SNIP,AVIATION,RIGHT MOLDED
SNIP,AVIATION,STRAIGHT MOLDED
BIT,D'VERSIBIT .500X.187X36.00 "A"
BIT,D'VERSIBIT .500X.187X36.00 "B"
BIT,D'VERSIBIT .500X.187X36.00 "C"
BIT,D'VERSIBIT .500X.187X54.00 "A"
BIT,D'VERSIBIT .500X.187X54.00 "B"
BIT,D'VERSIBIT-.500X.187X54.00 "C"
BIT,D'VERSIBIT .500X.187X72.00 "A"
BIT,D'VERSIBIT .500X.187X72.00 "B"
BIT,D'VERSIBIT .500X.187X72.00 "C"
BIT,D'VERSIBIT .500X.250X54.00 "M"
BIT,D'VERSIBIT .562X.187X36.00 "A"
BIT,D'VERSIBIT .562X.187X36.00 "B"
BIT,D'VERSIBIT .562X.187X54.00 "A"
BIT,D'VERSIBIT .562X.187X54.00 "B"
BIT,D'VERSIBIT .562X.187X54.00 "C"
BIT,D'VERSIBIT .562X.187X72.00 A
BIT,D'VERSIBIT .562X.187X72.00 "B"
BIT,D'VERSIBIT .562X.187X72.00 "C"
CUTTER,CABLE MC (0952-01) (POP)
TEST SET (100B)

LEATHER CASE FOR 100B (100C)

TF1ABLPKIT, TR AERIALPLUSBURIEDW/PAIRID

$17.42
$17.84
$18.94
$33.26
$33.26
$33.26
$33.26
$37.04
$42.96
$47.42
$28.70
$56.58
$27.82
$27.82
$35.98
$34.30
$38.62
$10.24
$10.24
$10.58
$10.58
$10.80
$10.24
$10.58
$10.80
$51.84
$42.96
$41.50
$57.80
$50.38
$48.88
$53.36
$60.02
$54.84
$53.36

$9.80

$9.80
$18.80
$18.80
$18.80
$53.36
$43.70
$42.96
$59.32
$53.36
$50.38
$62.22
$57.80
$54.84
$48.88
$56.30
$47.42
$62.22
$51.84
$53.36
$67.38
$58.50
$57.80
$47.86

$103.44

$11.88

$9,900.00



102A-0060-3
1037GB
1038GB
105202K
105203K
105206K
1064GB
1068GB
1072GB
1073GB
1111GB
1114GB
1118GB
1120GB
1125GB
1130-1001
1131-0202
1133GB
1134-1002S
1134-5029
1137-5002
113AV
1143-0202
1143-5000
1144-5000
114AV
115202K
115203K
115206K
1155-0219
1155-0610
1155-0611
1155-0616
1155-0617
1155-0621
1155-5000
1155-5001
1155-5003
1155-5004
1155-5005
1155-5105
1155-7001
1173GB
1M7AV
1189GB
118AV
1197GB
12-04-36A
12-04-54A
12-04-54C
12-04-72A
12-04-72C
121AV
1236D
123AV
124AV
124AVP
1257GB
1258D
125AV
125Q
126AV

CORD BLUE TEST W/CLIP 4 FT
RING-RETAINING 1.00 TRUARC #5100 EX
PIN-DRIVE .312X.875 TYPE C ZINC

TEST SET, BASIC, SM, FC-PC

TEST SET, BASIC, SM, ST-PC

TEST SET, BASIC, SM, SC-PC
O-RING-1.62X1.87X.125 NITRILE
O-RING-5.12X5.37X.125 NITRILE

O-RING (.375X.562X.093 70-D NITRILE)
0O-RING-4.37X4.75X.210 NITRILE

O-RING (.239X.375X.068 70-D NITRILE)
ROLLPIN (.125X1.00
ROLLPIN (.125X1.50
ROLLPIN (.219X1.37
ROLLPIN (.250X1.12
CABLE,GRD WIRE
LEADS,T&N (SK7B)
BUSHING-PIPE 1/4NPTFX3/8NPTF-F11079
ASSY SOFTCASE AND STRAP SK7B
SIDEKICK,7B

SIDEKICK, T &N

PUNCH-RD .750 (19,0MM) (730)
LEADS,TEST (SK VOC)

SIDEKICK,vVOC

TESTER, SIDEKICK T&ND

DIE-RD .750 (19,0) (730)

TEST SET, DELUXE, SM, FC-PC

TEST SET, DELUXE, SM, ST-PC
FIBERTOOLS TEST KIT DELUXE SM SC-PC
REEL,GROUND WIRE

PADDED CARRY CASE KIT

TEST LEADS, IMP, RED BLK GRN OVM
KIT,GND RESIST BAG,REEL,GND STAK
TEST LEADS, IMP CONT, US

ADAPTER, BANANA TO F CONNECTOR
SIDEKICK PLUS KIT

SIDEKICK PLUS KIT

SIDEKICK PLUS CE KIT

SIDEKICK PLUS CE IMP NOISE KIT

KIT, SK PLUS, I, S

SK Plus Step TDR Upgrade

TEST SET (1155FLS)

KNOB-1/4-20X1.25 RED PLASTIC

Punch-Rd 1.250 (31.7MM) (730)
RING-RETAINING .312 TRUARC #5103 EX
Die-Rd 1.250 (31.7MM) (730)

BALL,STEEL .281 DIA (BROCK 5-0036)
BIT,D'VERSIBIT .750X.250X36.00 "A"
BIT,D'VERSIBIT .750X.250X54.00 "A"
BIT,D'VERSIBIT .750X.250X54.00 "C"
BIT,D'VERSIBIT .750X.250X72.00 "A"
BIT,D'VERSIBIT .750X.250X72.00 "C"
PUNCH,ROUND (.875) (22,5) (735)
BIT,D'VERSIBIT 1/2X3/16X36.00 HS
PUNCH-RD 1.093 (28,3) 3/4" (3/4"D/S)
DIE,RD .750 (28,2) CONDUIT (3/4"D/S)
DIE-RD .750 COND (POP) (3/4"D/S)
0O-RING-3.25X3.50X.125 NITRILE
BIT,D'VERSIBIT 1/2X3/16X58.00 HS
Punch-Rd 1.000 COND 1.687 (735
GRIP,QUICK CHANGE 3/8 X 1/4 (POP)

DIE, RD 1.000 (34,6) CONDUIT (735)

~— ~— — ~—

$60.00
$3.36
$9.36
$3,709.10
$3,709.10
$3,709.10
$9.36
$5.88
$2.10
$4.62
$5.60
$5.84
$9.56
$4.48
$2.24
$24.70
$124.56
$16.74
$110.60
$1,289.60
$2,020.16
$26.88
$66.90
$1,174.12
$2,057.84
$16.58
$4,128.98
$4,128.98
$4,128.98
$182.98
$137.30
$238.94
$225.00
$150.00
$149.98
$4,344.20
$4,344.20
$4,344.20
$4,640.00
$5,278.40
$898.20
$1,520.00
$22.96
$74.68
$3.20
$23.58
$4.00
$59.32
$65.18
$54.84
$68.92
$60.74
$31.16
$34.80
$34.28
$15.62
$15.62
$3.64
$37.04
$39.18
$13.50
$17.16



126AVP
1272D
12739U
127AV
128AV
128AVP
1329GB
1346GB
1350GB
1363AW
1412D
1418D
1424D
1429AV
1430AV
1431AV
1432AV
1433AVBB
1434AV
1436D
14722P
149H
149H-1
149H-1/4
149H-1-1/2
149H-1-1/4
149H-1-1/8
149H-1-3/4
149H-1-3/8
149H-2
149H-2-1/4
149H-2-1/8
149H-2-9/16
149H-3
149H-3/8
149H-3-5/8
149H-4-5/8
150Q
1544AA
1544GB
1545GB
1547AA
1557AA
1579AA
15B0004
16-04-36A
16-04-54A
16-04-72A
1605GB
1614SS
1614SSP
166/6
166/8
166/GR
166/GRL
167/6
167/8
167/H
167/HL
1675AV
168/6
168/8

DIE-RD 1.000 COND PKGD
BIT,D'VERSIBIT 1/2X3/16X72.00 HS
CLAMP UNIT-PIPE 1/2"-4" (1807)
PUNCH,RD-1.25 (43,2MM)(735)

DIE, RD 1.250 (43,2) CONDUIT (735)
DIE-RD 1.250 COND PKGD
PIN-DRIVE .312X1.25 T-C
BALL,STEEL .218 DIA (BROCK 5-0183)
RING,RETAINING .375 (BROCK 5-0284)
VALVE UNIT-RELIEF 10400/10000 (1700
BIT,D'VERSIBIT 1/4X3/16X12.00 HS
BIT,D'VERSIBIT 1/4X3/16X18.00 HS
BIT,D'VERSIBIT 1/4X3/16X24.00 HS
PUNCH-RD 2.500 CONDUIT (738)
DIE-2-1/2 IPS (074MM) (738)
Punch-Rd 3.000 CONDUIT (739)
DIE-RD 3.00 (89,8MM) CONDUIT (739)
Nut Unit-Hex 1-12 BB Drive

Screw Drive 3/4-15x1-12x5.87Ig
BIT,D'VERSIBIT 1/4X3/16X36.00 HS
DIE-RD .500 COND PKGD

BIT KIT-E-Z BORE (POP)

BIT,E-Z BORE 1" (POP)
SCREW,POINT 1/4 (POP)

BIT,E-Z BORE 1-1/2" (POP)

BIT,E-Z BORE 1-1/4" (POP)

BIT,E-Z BORE 1-1/8" (POP)

BIT,E-Z BORE 1-3/4" (POP)

BIT,E-Z BORE 1-3/8" (POP)

BIT,E-Z BORE 2" (POP)

BIT,E-Z BORE 2-1/4" (POP)

BIT,E-Z BORE 2-1/8" (POP)

BIT,E-Z BORE 2-9/16" (POP)

BIT,E-Z BORE 3" (POP)
SCREW,POINT 3/8 (POP)

BIT,E-Z BORE 3-5/8" (POP)

BIT,E-Z BORE 4-5/8" (POP)
GRIP,QUICK CHANGE 1/2 X 1/4 (POP)
PLUNGER-HAND/HYD (767)
ELBOW-1/4 STREET BLACK
ELBOW-3/8 STREET BLACK
SPRING-COMP .198X.312X.781 (1719)
SLEEVE, HYDRAULIC PUNCH
WASHER, FLAT-.375X.500X.031 CU
POTENTIOMETER FOR 500LP & 500HP
BIT,D'VERSIBIT 1.00X.250X36.00 "A"
BIT,D'VERSIBIT 1.00X.250X54.00 "A"
BIT,D'VERSIBIT 1.00X.250X72.00 "A"
NIPPLE-PIPE .375 CLOSE BLACK
SCREW,ADAPTOR-SHORT (3/8").
STUD,DRAW-3/8 (PKGD)

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

SCREW-DRIVE 1/4-28

WIRE FERL INSUL

WIRE FERL INSUL

$17.16
$40.02
$150.42
$46.30
$19.74
$19.74
$6.42
$1.12
$2.80
$408.30
$27.04
$28.18
$29.28
$92.00
$89.20
$127.34
$116.60
$114.46
$55.18
$30.38
$12.86
$474.54
$51.68
$6.02
$51.68
$51.68
$51.68
$55.02
$51.68
$62.18
$71.22
$63.50
$76.14
$153.74
$13.00
$233.20
$282.10
$18.44
$46.64
$8.12
$8.12
$30.24
$100.90
$1.16
$12.10
$60.02
$66.66
$71.86
$2.94
$19.30
$18.68
$82.36
$94.12
$82.36
$94.12
$82.36
$94.12
$82.36
$94.12
$9.58
$82.36
$94.12



168/T
168/TL
168Q
169/6
169/8
169/0
169/0OH
169/0K
1698GB
170/6
170/8
170/W
170/WH
170/WK
170/WL
170XL
171/6
171/8
171/G
171/GH
171/GK
171/GL
172/18
172/6
172/8
172/RH
172/RL
172/RO
1720GB
1723GB
1724GB
1725G1
173/18
173/8
173/B
173/BH
173/BL
1731F1725
1731H767
174/12
174/18
174/GR
174/GRH
174/GRL
1742AV
1743AV
1744AV
1745AV
1746AV
1747AV
175/12
175/18
175/S
175/SL
1751AV
1752AV
1753AV
1754AV
1756AV
1757AV
1758AV
1759AV

WIRE FERL INSUL
WIRE FERL INSUL

GRIP,QUICK CHANGE 3/4 X 1/4 (POP)
WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

TEE-PIPE 3/4 BLACK

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

LOCATOR, FAULT-VISUAL (170XL)
WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERRULE INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

PLUG-PIPE 3/8 NPTF SKT STEEL
WASHER-LOCK .323X.586X.078 SPR
WASHER, LOCK (.388X.673X.094) STL
PUMP GROUP-FOOT (1725-G1)
WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

KO PNCH DRVR
DRIVER,PUNCH-HYD (1731H767)
WIRE FERL INSUL

WIRE FERL INSUL

wIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

PUNCH-RD .625 (15,9MM) (730)
DIE-RD .625 (15,9) (730)

DIE-RD .812 (20,6) (730)
PUNCH-RD .812 (20,6MM) (730)
DIE-RD 1.312 (33,3) (730)
PUNCH-RD 1.312 (730)

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

DIE-RD .687 (17,5) (730)
PUNCH-RD .687 (17,5MM) (730)
DIE-RD .562 (14,3) (730)
PUNCH-RD .562 (14,3MM) (730)
PUNCH-RD 2.000 OD (50.8MM) (73
DIE-2-1/2 OD (063,5MM) (730)
PUNCH-RD 2.500 OD (63.5MM) (730)
DIE-RD .500 (12,7) (730)

$82.36
$94.12
$22.04
$77.32
$55.46
$55.46
$88.22
$77.32
$5.14
$77.32
$55.46
$55.46
$88.22
$77.32
$99.16
$599.84
$77.32
$42.02
$42.02
$88.22
$77.32
$99.16
$111.74
$77.32
$42.02
$88.22
$111.74
$42.02
$3.50
$2.52
$1.26
$1,357.54
$128.56
$48.74
$48.60
$106.78
$128.56
$3,701.94
$2,895.38
$94.12
$139.50
$88.22
$111.74
$139.50
$38.38
$18.08
$17.06
$35.54
$25.46
$39.18
$128.56
$169.76
$128.56
$169.76
$17.60
$35.56
$17.40
$37.34
$87.16
$99.90
$180.48
$17.40



176/12
176/18
176/E
176/EL
1760AV
1761AV
1762AV
1763AV
1764AV
177112
177/18
177/GR
177/GRL
178/18
178/BR
178/BRL
1783AV
1787GB
1789AV
179/B
179/BL
1790AV
1791AV
1792AV
1793AV
1794AV
1795AV
1796AV
1797AV
1798AV
180/0
1800G1
1815AV
1816AV
1818G1
1818R
1818T
1820AV
1821AV
1895GB
1906SB
1916A
1917A
1924AA
1925AA
1926AA
1941-1
1941-5
1950A
19556A
1956A
1972AA
1996GB
2000H
2000R
2007C
2007R
2007T
200B
200B-G
200C
200EP

WIRE FERL INSUL
WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

PUNCH-RD .500 (12.7MM) (730)
DIE-RD .937 (23,8) (730)

Punch-Rd .937 (23.8MM) (730)
Punch-Rd 1.062 (730)

DIE-RD 1.062 (27,0) (730)

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

PUNCH-RD 2.125 (54.0MM) (730)
SCREW-MACH 1/4-20X.750 FLAT HD
DIE-RD 2.750 (69,8) (730)

WIRE FERL INSUL

WIRE FERL INSUL

Punch-Rd 2.750 (730)

PUNCH-RD 1.875 (47.6MM) (730)
DIE-RD 1.875 (47,6) (730)

DIE-RD 1.625 (41,3) (730)

PUNCH-RD 1.625 (41.3MM) (730)
PUNCH, 2.625 OD (730PBB)

DIE-RD 2.625 (66,7) (730PBB)

DIE-RD 3.125 (79,3) (730T)
PUNCH-RD 3.125 (730T)

WIRE FERL INSUL
HEAD-MECHANICAL BENDING (1800)
DIE-RD 1.750 (44,4) (730)

PUNCH-RD 1.750 (44.5MM) (730)
BENDER,BASIC MECHANICAL(1818G1)
RIDG MECH BNDR 1/2 X2

EMT MECH BNDR 3/4X2

DIE-3"OD (076,2MM) (730)
PUNCH-RD 3.000 (76,2MM) (730)
SCREW,FIL HD CAP (5/16-18X.500)
DRIVER SET,RATCHET SLUG BUSTER
STRIPPER, WIRE 1916A (POP)
STRIPPER, WIRE 1917A (POP)
SPACER (.767X1.37X.875) (7646)
SPACER (.767x1.37x.1.25BK) (76
SPACER (.767X1.37X1.50 BK) (7646)
BLADE,BX CUTTER (1 PK)

BLADE SET,REPLACEMENT
STRIPPER, WIRE 1950A (POP)
STRIPPER, WIRE (1955A) (POP)
STRIPPER, WIRE 1956A (POP)
PACKING-TWIST 1/8 SQ X3.5"LG
SCREW-SET 1/4-20X.375 SLTD
TRANSMITTER (PE2003) (2000H)
RECEIVER (PE2003) (2000R)
CASE-CARRYING (2007C)
RECEIVER-CIRCUIT TRACER (36925)
TRANSMITTER-CIRCUIT TRACER (36926)
INDUCTIVE AMPLIFIER (200B)

TONE PROBE (200B-G) (CLAM)
LEATHER CASE FOR 200 SERIES (200C)
INDUCTIVE AMPLIFIER (200EP)

$146.24
$231.96
$146.24
$231.96
$35.60
$21.08
$29.48
$30.90
$21.08
$205.08
$262.22
$205.08
$262.22
$445.42
$445.42
$610.16
$89.72
$10.28
$114.00
$563.08
$737.92
$121.06
$61.90
$56.20
$28.50
$49.20
$208.62
$262.18
$296.40
$232.86
$907.70
$1,824.06
$41.46
$57.16
$3,712.34
$5,290.48
$5,953.38
$156.60
$180.70
$8.78
$1,402.96
$17.48
$19.52
$22.22
$23.26
$24.94
$7.68
$36.54
$23.40
$23.40
$23.40
$12.88
$8.00
$1,134.30
$287.60
$91.72
$618.24
$284.12
$97.02
$109.38
$11.82
$99.44



200EP-01
200EP-G
200EP-G-01
200FP
200FP/50
200FP-01
200GX
200XP
200XP/50
2018R
2018S
20249R
2024R
20248
2030R
2030S
20369R
2036R
2036S
2046AV
2048GB
2051GB
2113B
211GB
2162GB
2164GB
2198GB
2203GB
2227AA
2305GB
2326AA
2327AA
2345AA
2349AA
2370GB
2372GB
2401AA
2417AA
2420AA
2425AA
2427AA
2428AA
2460AA
2489AA
249AVBB
249AVBBP
24B
24BK
252A
252B
253B
2549AA
2551AA
255A
255MT
2577AA
257A
257TMT
262A
263LX
263MT
265A

PROBE,HOLSTERED (200EP-01)
TONE PROBE (200EP-G) (CLAM)

TONE PROBE (200EP-G W/HOLSTER)
FILTER PROBE-INDUCTIVE AMPLIFIER (200FP)
FILTER PROBE, 50HZ

PROBE,200FP FILTER-W/200C HOLSTER
AMPLIFIER, IND 200GX

MULTI-FILTER TONE PROBE (200XP)
PROBE,MULTI FILTER-INT'L

ROLLER UNIT-RADIUS CABLE (2018-R)
ROLLER UNIT-STRAIGHT CABLE (2018-S)
ROLLER UNIT-RADIUS CABLE (2024-9R)
ROLLER UNIT-RADIUS CABLE (2024-R)
ROLLER UNIT-STRAIGHT CABLE (2024-S)
ROLLER UNIT-RADIUS CABLE (2030-R)
ROLLER UNIT-STRAIGHT CABLE (2030-S)
ROLLER UNIT-RADIUS CABLE (2036-9R)
ROLLER UNIT-RADIUS CABLE (2036-R)
ROLLER UNIT-STRAIGHT CABLE (2036-S)
NUT,SQUARE 1/4-28 DRIVE

SCREW-CAP 1/4-20X.500 SKT HD
SCREW,CAP-SK HD (1/4-20X1.00)
DRAWSTUD,3/4-16X5.375LG (POP)
O-RING-.875X1.12X.125 70-D NITRILE
SCREW-SET #8-32X.187 SKT CUP PT
SCREW-SET 1/4-20X.500 SKT CUP PT
SETSCREW,SKT (1/4-20X.250)
SCREW-SET 5/16-18X.250 SKT FLAT PT
PLUG, SEAL (9/16-18X.59) (1770)
NUT,HEX (#6-32)

PLATE-CROSS FRAME (880)
PIN-1.00X5.15 FRAME SUPPORT (880)
FRAME UNIT-BENDER (880)
SUPPORT-PIPE

PIN,COTTER (.125X1.00)

PIN-COTTER .125X1.50

SPRING-COMP .219X.281X.875 (768)
SCREW,VALVE-3/8-24 (768)
WASHER-FLAT .321X.428X.040 NYLON
FILTER,FELT

CAP, END (767)

TUBE,RESERVOIR (767/1725)
TUBE-INTAKE (767-A)
TUBE,RESERVOIR (755)

SCREW UNIT-DRIVE BB 3/4 (730/737)
SCREW UNIT-DRIVE .750 BB PKGD
TESTER,IRRIGATION (24B)
TESTER,IRRIGATION KIT(24BK)

LED SOURCE, UCI-850/1300NM (252A)
LED SRCE, DUAL 850/1300 (252B)

LED SOURCE, 660NM (253B)
SPRING-EXT .820X1.11X9.00 (747)
RETAINER-SPRING

LED SOURCE,1310NM (UCI) (255A)

LED SOURCE, MTRJ 1300 (255MT)
PIN-SEAL .125X.500 (768)

LED SOURCE,850NM (UCI) (257A)

LED SOURCE, MTRJ 850 (257MT)

LSR SRCE, DUAL 1310/1550 (262A)
FAULT FNDR, FC-PC VIS (263LX)

FAULT FNDR, MTRJ VIS (263MT)

LASER SRCE, UCI-1310NM (265A)

$105.54
$115.06
$103.48
$169.94
$169.32
$145.34
$110.48
$169.94
$175.88
$193.62
$139.94
$768.72
$211.84
$167.74
$245.38
$207.04
$885.66
$283.72
$253.04
$19.82
$1.26
$2.80
$61.14
$6.08
$4.38
$6.32
$9.56
$7.82
$57.40
$1.40
$757.74
$105.48
$1,719.06
$198.02
$1.12
$2.24
$3.36
$33.82
$1.96
$6.88
$50.88
$74.54
$20.70
$237.64
$44.50
$41.96
$152.60
$222.60
$1,571.64
$1,446.82
$1,111.74
$64.26
$35.70
$1,091.46
$2,363.10
$27.50
$1,091.46
$2,410.28
$2,399.40
$733.82
$2,056.96
$1,697.58



266A
2725AA
2929AV
2981AV
2082AV
2983AV
2984AV
30008POP
301A
3026AV
3036AVBB
3037AV
304AVBB
304AVBBP
311-JAB
319AA
3200GB
3205AV
3206AV
3207AV
3208AV
321-12
321-18
321-24
321-5-1/2
322-013
322-018
322-113
322-118
325AV
3279GB
3280GB
3281GB
3282GB
3283GB
3284GB
330A
333-1218
333-1224
333-1232
333A
333E
338A
33A-1
33A-1/2
33A-1/4
33A-1-1/2
33A-1-1/4
33A-1-1/8
33A-1-3/8
33A-3/4
33A-3/8
33A-5/8
33A-7/8
33AR-6
33L-1
33L-1/2
33L-1/4
33L-1-1/2
33L-1-1/4
33L-1-1/8
33L-3/4

LASER SOURCE, 1550NM (266A)
CLIP-HITCH PIN #8 (10 PK)
NUT,SQUARE 3/8-24 DRIVE (731)
DIE-RD 3.500 (102,7) CONDUIT (741)
Punch-Rd 3.500 CONDUIT (741)
DIE-RD 4.00 (115,4) CONDUIT (742)
Punch-Rd 4.00 CONDUIT (742)

BIT DISPLAY, 5 PACK-K/S STEP
SAW,KEYHOLE (POP)

Screw Drive 1-3/8-12x1-1/8-12x

Nut Unit-Hex 1-3/8-12 BB Drive
BUSHING, DRIVE SCR 1.125X1.87X1.06
SCREW UNIT-DRIVE BB 3/4 (730/737)
SCREW UNIT-DRIVE .750 BB PKGD
KIT, JAB BLADE (POP)
WASHER-FLAT .889X1.12X.062 FIBER
SCREW-DRIVE #2X.250 TYPE-U
PUNCH-RD 1.375 OD (34,9MM) (730X)
DIE-RD 1.375 (34,9MM) RADIO (730X)
PUNCH-RD 1.500 OD (38,1MM) (730X)
DIE-RD 1.500 (38,1) RADIO (730X)
EXTENSION PKG, MOD BIT 12"
EXTENSION PKG, MOD BIT 18"
EXTENSION PKG, MOD BIT 24"
EXTENSION PKG, MOD BIT 5-1/2"
SAW, 13" PVC

SAW, 18" PVC

BLADE, 13" PVC PKG'D

BLADE, 18" PVC

Nut-Hex 3/4-16+.005 (740)
BALL,STEEL .156 DIA (BROCK 5-2445)
BALL,STEEL .187 DIA (BROCK 5-0130)
BALL,STEEL .250 DIA (BROCK 5-0097)
BALL-STEEL .312 DIA GRADE #25
BALL,STEEL .375 DIA (BROCK 5-0067)
BALL-STEEL .500 DIA GRADE #25
ATTEN, SM VAR (PC)

BLADE PKG,HACKSAW-18T

BLADE PKG,HACKSAW-24T

BLADE PKG,HACKSAW-32T
HACKSAW (12") (POP)

HACKSAW (333E POP)

ATTEN, SM VAR (APC) (338A)
BIT,SPADE (1) (33A) (POP)

BIT,SPADE (1/2) (33A) (POP)

SPADE BIT (1/4) (33A)( POP)
BIT,SPADE (1-1/2) (33A) (POP)
BIT,SPADE (1-1/4) (33A) (POP)
BIT,SPADE (1-1/8) (33A) (POP)
BIT,SPADE (1-3/8) (33A) (POP)
BIT,SPADE (3/4) (33A) (POP)
BIT,SPADE (3/8) (33A) (POP)
BIT,SPADE (5/8) (POP)

BIT,SPADE (7/8) (33A) (POP)

BIT SET,SPADE (33AR-6) (POP)
BIT,SPADE (1 LONG) (33L) (POP)

BIT, SPADE (1/2 LONG) (33L) (POP)
BIT,SPADE (1/4 LONG) (33L) (POP)
BIT,SPADE (1-1/2 LONG) (33L) (POP)
BIT,SPADE-LONG (1-1/4) (33L) (POP)
BIT,SPADE (1-1/8 LONG) (33L) (POP)
BIT,SPADE (3/4 LONG) (33L) (POP)

$2,078.26
$16.80
$20.96
$197.28
$253.06
$299.92
$338.68
$91.94
$12.18
$137.76
$227.88
$119.86
$44.50
$42.00
$6.38
$28.76
$2.52
$84.48
$41.88
$47.76
$97.22
$11.10
$12.80
$13.22
$8.94
$25.70
$28.80
$13.40
$17.08
$35.68
$1.04
$6.08
$1.12
$1.26
$1.18
$1.68
$2,136.20
$11.98
$11.98
$11.98
$26.70
$27.82
$2,226.96
$3.30
$2.66
$2.28
$5.02
$4.70
$4.22
$4.92
$2.94
$2.52
$2.80
$3.08
$16.16
$10.64
$8.74
$7.60
$12.78
$12.08
$11.40
$9.62



33L-3/8
33L-5/8
33L-7/8
34A-1
34A-1/2
34A-3/4
34A-3/8
34A-5/8
34A-7/8
34AR-6
353-110
353-123
353-156
353-234
353-318
353-345
353-418
353-503
353-610
353-614
353-618
353-618B
353-624
353-624B
353-636
353-646
353-656
353-804
353-810
353-814
353-818
353-818T
353-956
353-966
353-969
3548GB
3553GB
3577GB
3582GB
3609GB
3610GB
3623GB
3625GB
3667GB
3668GB
3670GB
3678GB
3691GB
3693GB
3704GB
3706GB
3713GB
37154B
37155B
37156B
37157B
373-T123
373-T345
373-U123
373-U345
37623B
37908-50

BIT,SPADE (3/8 LONG) (33L) (POP)
BIT,SPADE (5/8 LONG) (33L) (POP)
BIT,SPADE (7/8 LONG ) (33L) (POP)
BIT-SPADE-SF CORDED (1") POP
BIT,SPADE-SF CORDED (1/2) POP
BIT,SPADE-SF CORDED (3/4) POP
BIT,SPADE-SF CORDED (3/8-POP)
BIT,SPADE-SF CORDED (5/8) POP
BIT,SPADE-SF CORDED (7/8) POP
BIT,SPADE-SF CORDED (6PC KIT) POP
BLADE,RECIP,,12" x 10/14 TPl (POP)
BLADE PKG,RECIP-6.00 PROG

BLADE PKG,RECIP-12.00 X 6

BLADE PKG,RECIP-8.00 PROG

BLADE PKG,RECIP-4.00 X 18

BLADE PKG,RECIP-8.00 PROG

BLADE PKG,RECIP-4.00 X 18
BLADE,RECIP.,6" x 5/8TPI (POP)
BLADE,RECIP.,6" x 10TPI (POP)
BLADE PKG,RECIP-6.00 X 14

BLADE PKG,RECIP-6.00 X 18
BLADE,RECIP.,6" x 18TPI (POP)
BLADE PKG,RECIP-6.00 X 24
BLADE,RECIP.,6" x 24TPI 25pc (POP)
4LADE,RECIP.,6" x 6TPI (POP)

BLADE PKG,RECIP-6.00 X 6

BLADE PKG,RECIP-6.00 X 6

BLADE PKG,RECIP-8.00 X 10/14
BLADE,RECIP.,8" x 10TPI (POP)
BLADE PKG,RECIP-8.00 X 14

BLADE PKG,RECIP-8.00 X 18

BLADE, RECIP., 8" x 18TPI(353-818T)(POP)
BLADE PKG,RECIP-9.00 X 6

BLADE PKG,RECIP-9.00 X 6

BLADE PKG,RECIP-9.00 X 8/10
COUPLER-QUICK 3/8" M&F HALVES
ROLLPIN (.187X1.00)
O-RING-.625X.812X.093 90-D NITRILE
RING,BU,SPIRAL .625X.812X.088
O-RING,.500X.687X.093 90-D NITRILE
BALL-STEEL .437 DIA GRADE #25
O-RING .114 70D-NITRILE (BR 5-0149)
RING,BU,SPIRAL .125X.250X.055
RING-RETAINING 1.75 TRUARC #5005 IN
PACKING-V 1.87X2.25X.187 BLOCK
RING,BU,SPIRAL .375X.562X.088
SCREW-SET 1/4-28X.187 SKT
SETSCREW,SKT (1/4-20X.375)
SCREW-SET 5/16-24X.250 SKT
RING,BU,SPIRAL .750X.937X.088 TEFLN
O-RING (.437X.625X.093 90-D NITRILE)
SCREW-SET 1/4-28X.187 SKT
ARBOR-HOLESAW 3/8" BULK (37154B)
ARBOR-HOLESAW 7/16" (37151)
ARBOR-HLESAW 1/2" SHNK W/3FLTS BULK
ARBOR-HOLESAW SMALL BULK (37153)
BLADE PKG,JIGSAW-4.00 PROG
BLADE PKG,JIGSAW-5.25 PROG
BLADE PKG,JIGSAW-3.625 PROG
BLADE PKG,JIGSAW-5.00 PROG
DRILL-PILOT BULK PACK (37159)

LINE PKG (3/4"X200' YELLOW 50/BOX)

$8.08
$9.38
$9.88
$5.78
$4.74
$5.26
$4.72
$5.02
$5.52
$32.40
$30.52
$18.46
$30.52
$19.34
$14.22
$26.30
$11.66
$15.82
$15.82
$15.82
$15.82
$71.04
$15.82
$71.04
$18.84
$16.42
$18.88
$20.12
$20.02
$17.80
$20.12
$20.02
$24.98
$16.52
$26.42
$165.82
$1.96
$1.68
$3.64
$1.82
$1.54
$2.52
$5.18
$7.72
$21.56
$3.22
$0.90
$4.40
$3.62
$7.40
$6.08
$2.30
$17.76
$10.96
$20.50
$8.94
$14.20
$17.38
$13.04
$15.78
$3.98
$203.48



37909-25
37910-25
37912-25
37913-25
37917-10
37919-5
37920-5
37922-5
37923-5
3812D
3818D
3824D
3836D
38522B
38526B
3858D
3872D
389-1014
389-1418
389-24
399-14A
399-14C
399-18A
399-18C
399-24A
399-24C
3XT-36
3XT-54
3XT-72
4016GB
4017GB
4018GB
402K
402R
402T
4033GB
4034GB
4042GB
4043GB
4045GB
4055GB
4060GB
4090GB
4091GB
430-500
437AV
438-2X
438-5H
438AV
4391
439-2
439AV
440AV
440AVP
441-2
441-2-1/2
4412GB
441-3
441-3-1/2
441-4
441-5
441-6

LINE PKG (3/4"X300' YELLOW 25/BOX)
LINE PKG (3/4"X450' YELLOW 25/BOX)
LINE PKG (1"X300' WHITE 25/BOX)
LINE PKG (1"X450' WHITE 25/BOX)
LINE PKG (1/2"X150' RED 10/BAG)
LINE PKG (3/4"X300' YELLOW 5/BAG)
LINE PKG (3/4"X450' YELLOW 5/BAG)
LINE PKG (1"X300' WHITE 5/BAG)

LINE PKG (1"X450' WHITE 5/BAG)
BIT,D'VERSIBIT 3/8X3/16X12.00 HS
BIT,D'VERSIBIT 3/8X3/16X18.00 HS
BIT,D'VERSIBIT 3/8X3/16X24.00 HS
BIT,D'VERSIBIT 3/8X3/16X36.00 HS
ARBOR-.312 HEX BULK PKGD
DRILL-PILOT .250" (BULK)
BIT,D'VERSIBIT 3/8X3/16X58.00 HS
BIT,D'VERSIBIT 3/8X3/16X72.00 HS
BLADE PKG,BANDSAW-10/14T

BLADE PKG,BANDSAW-14/18T

BLADE PKG,BANDSAW-24T
BLADE,BANDSAW 14T X93.0 BI-M (1399)
BLADE-BANDSAW 14T X93.0 CS (1399)
BLADE,BANDSAW 18T X93.0 BI-M (1399)
BLADE-BANDSAW 18T X93.0 CS (1399)
BLADE,BANDSAW 24T X93.0 BI-M (1399)
BLADE-BANDSAW 24T X93.0 CS (1399)
EXTENSION,BIT (36 x 3/16) POP
EXTENSION,BIT (54 X 3/16) POP
EXTENSION,BIT (72 X 3/16) POP
OIL-HYDRAULIC 1 GAL

OIL-HYDRAULIC 1QT (IN QT. CONTAINER)
FEMALE COUPLER-QUICK 3/8" PIONEER

CATV TONE TEST SET (402K)
RECEIVER FOR 402K (402R)

TRANS FOR 402K (402T)

MALE COUPLER-QUICK 3/8" PIONEER
PLUG-PIPE 1/16 PTF7/8 SKT STEEL
RING,BU-SPIRAL 3.25X3.62X.185
O-RING-3.25X3.62X.187 NITRILE
RING,BU-SPIRAL 2.00X2.37X.185
O-RING-1.37X1.50X.062 NITRILE
O-RING-2.00X2.37X.312 NITRILE
NUT,JAM-HEX (3/8-24)

SCREW-CAP 1/4-28X.500 SKT HD
TWINE,SPIRAL WRAP (PKGD)
PUNCH-RD 2.250 (27,1MM) (730)
FISHTAPE,STEEL-1/4"X25' 3-PACK.
FISHTAPE,STEEL-50' 5-PACK
DIE-2-1/40D (057,1MM) (730)
FISHTAPE,1' LEADER (439)
LEADER-SPEED FLEX 439-2
PUNCH-RD 1.500 CONDUIT (737)
DIE-RD 1.500 (49,5) CONDUIT (737)
DIE, RD-1.500 COND PKGD
SHEAVE,CABLE FEEDING 2" (441-2)
SHEAVE,CABLE FEEDING 2-1/2" (441)
PIN-COTTER .093X.750
SHEAVE,CABLE FEEDING 3" (441-3)
SHEAVE,CABLE FEEDING 3-1/2" (441)
SHEAVE,CABLE FEEDING 4" (441-4)
SHEAVE,CABLE FEEDING 5" (441-5)
SHEAVE,CABLE FEEDING,6"

$110.00
$119.06
$110.00
$119.06
$40.20
$23.30
$26.34
$23.30
$26.34
$29.66
$31.12
$32.60
$34.04
$13.02
$3.92
$34.80
$36.32
$15.68
$15.68
$15.68
$20.54
$18.92
$20.54
$18.92
$20.54
$18.92
$29.28
$31.12
$31.82
$97.64
$40.38
$111.92
$234.16
$132.64
$90.44
$93.94
$9.16
$4.90
$3.78
$4.34
$1.82
$2.10
$4.42
$1.68
$11.84
$76.74
$16.72
$27.84
$68.52
$24.20
$21.60
$60.60
$35.28
$35.28
$436.80
$495.68
$1.96
$566.88
$614.82
$664.10
$757.22
$909.50



441AV
442AV
442AVP
4451AV
4456AV
4457AV
4505GB
45206l
452071
4522GB
45483A
4561GB
4573GB
4575GB
4583GB
4593GB
4594GB
4595GB
462-1
462B
462-Q
463-1
463-Q
4640AV
4641AV
468C
468R
468T
469/10
469/6
469/8
470/10
470/12
470/6
470/8
470AV
471110
471/12
471/6
471/8
4714AV
4717AV
472/10
472/12
472/18
472/8
472ABA
473/12
473/18
473/8
474/10
474/12
474/18
475/12
475/18
476/12
476/18
477/12
477/18
478/16
478/18
478/22

PUNCH-CONDUIT 2.00 (737)
DIE-RD 2.00 (61,5MM) CONDUIT (737)
DIE, RD-2.000 COND PKGD
SCREW-ANCHOR #10-24 (FOR 866)
STRIKER-EXPANDER (868)
SCREW-ANCHOR 1/4-20 (FOR 868)
SCREW-SHOULDER .372X.500X5/16-18
CUTTER,RATCHET CABLE-INSULATED
CUTTER,CABLE-INSULATED

CATCH, FRICTION
SCISSORS,KEVLAR,CERAMIC BLADE
SCREW-SET 1/4-28X.250 SKT
RING,BU,SPIRAL .375X.485X.027 TEFLN
PIN-SPIROL .250X.750

RING,BU,SPIRAL 1.62X1.99X.033

RING-RETAINING 2.00 TRUARC #5107 EX

RING,BU,SPIRAL 1.37X1.62X.121
O-RING-1.37X1.62X.125 NITRILE
OIL, THREAD CUTTING-1 GAL DARK
OIL,CUTTING/THREADING (80Z)
OIL, THREAD CUTTING-1 QT DARK
OIL, THREAD CUTTING-1 GAL LITE
OIL, THREAD CUTTING-1 QT LITE
Punch-Rd 3.75 (730PBB)

DIE-RD 3.750 (95,2) (730PBB)
CASE FOR 468 (468C)

RECEIVER FOR 468 (468R)

TRANS FOR 468 (468T)

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

SPRING-COMP .311X.375X.620 (770)
WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL
STRIKER-EXPANDER (870)
SCREW-ANCHOR 3/8-16 (FOR 870)
WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WASHER-FLAT 1.00X1.38X.050 COP (790
WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

$76.62
$44.80
$44.80
$34.88
$62.96
$25.22
$7.90
$510.30
$570.78
$23.52
$63.22
$1.26
$3.64
$3.50
$8.32
$9.36
$9.36
$7.72
$40.92
$6.80
$23.96
$47.94
$26.96
$385.54
$393.26
$28.70
$73.96
$98.26
$88.22
$77.32
$55.46
$88.22
$100.88
$77.32
$55.46
$36.82
$88.22
$99.16
$77.32
$42.02
$119.22
$37.26
$88.22
$99.16
$111.74
$42.02
$10.92
$106.78
$128.56
$48.74
$88.22
$111.74
$139.50
$128.56
$169.76
$146.24
$231.96
$205.08
$262.22
$445.42
$549.66
$610.16



479/16
479/18
479/25
480/20
480/25
488-2
488-3
4XT-36
4XT-54
4XT-72
500CA
501CA
501R

501T
5052B1U
5052B2K
5052B3K
5052B6K
5052BE2
5060MESH
508CS
508S
508SR
508ST
510LS
5135AV
5136AV
5137AV
5138AV
5152B1U
5152B2K
5152B3K
5152B6K
5152BE2
520SW
521A
521A-R
521R

521T

522B
522B-HP
523B-13
523B-13/15
523B-13/15-HP
523B-13-HP
523B-15
523B-15-HP
525-30
525-60
525-60APC
525-60RLAPC
525-90
525N-30
525N-30S
525N-60
525N-60RLAPC
525N-90
525NIMH
540-12
540-15
540-18
540-20P

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

WIRE FERL INSUL

PRTR-NYLN CBLE 2-2 1/2

PRTR-NYLN CBLE 3-6

EXTENSION,BIT (36 X 1/4) POP
EXTENSION,BIT (54 X 1/4) POP
EXTENSION,BIT (72 X 1/4) POP

CASE W/ANTENNA (500CA)

CASE W/O ANTENNA FOR 501

RECEIVER FOR 501 (501R)

TRANSMITTER FOR 501 (501T)

TEST SET, BAS, MM 50/125, DIN-PC

TEST SET, BAS, MM 50/125, FC-PC(5052B2K)
TEST SET, BAS, MM 50/125, ST-PC

TEST SET, BAS, MM 50/125, SC-PC

TEST SET, BAS, MM 50/125, E2000-PC
BOX UNIT ASSY, MESH (5060)

CASE FOR 508

WIRE FINDER

RECEIVER FOR 508S

TRANS FOR 508S

DETECTOR, SENSOLITE (510LS)
PUNCH,RD-5.00 CONDUIT (743)

DIE-RD 5.000 IPS (143,7) (743BB)
PUNCH,6" (POP)

DIE,6" (POP)

TEST SET, DLX, MM 50/125, DIN-PC

TEST SET, DLX, MM 50/125, FC-PC

TEST SET, DLX, MM 50/125, ST-PC

TEST SET, DLX, MM 50/125, SC-PC

TEST SET, DLX, MM 50/125, E2000-PC
SOFTWARE KIT, 520 SERIES, W/FI
Locator,Valve (521A)

521A RECEIVER

RECEIVER FOR 521 (521R)

TRANS FOR 521 (521T)

OPM,ADV W/STORAGE (522B)

OPM,ADV HP W/STORAGE 522B-HP

TEST SET, 1300 SM

TEST SET, SM DUAL LSR (523B-13/15)
TEST SET, HP SM DUAL LSR 523B-13/15-HP
TEST SET, 1300 SM HP

TEST SET, 1550 SM

TEST SET, 1550 SM-HP

MULTIMODE OPTICAL FIBER 850/1300NM525-30
BOM FOR COMMERCIAL KIT

BOM FOR COMMERCIAL KIT (525-60APC)
BOM FOR COMMERCIAL KIT 525-60RLAPC
OPTICAL LOSS TEST SET,1310/1490/1550MM
KIT, MULTIMODE OPTICAL FIBER 850/1300NM
KIT MULTIMODE 850/1300NM DOUBLE

KIT SINGLE-MODE 1310/1550NM (525N-60)
TEST KIT,SM RL TESTER APC w/Connectors
TEST KIT,SM PON TESTER APC w/Connectors
BATTERY PACK RECHARGABLE 525
FISHSTIX KIT, SHORT (540-12)

GLO STIXKIT.

GLO STIXKIT,18'

PRO INSTALLER STIX KIT - 20'

$563.08
$650.50
$737.92
$907.70
$1,188.40
$6.80
$10.18
$29.28
$31.12
$31.82
$191.84
$109.50
$470.50
$352.44
$2,669.34
$2,669.34
$2,669.34
$2,669.34
$2,669.34
$2,061.36
$58.48
$408.60
$236.10
$164.24
$435.56
$688.96
$666.18
$877.70
$766.60
$3,399.16
$3,399.16
$3,399.16
$3,399.16
$3,399.16
$194.06
$838.00
$557.26
$431.14
$862.28
$3,514.52
$4,022.44
$3,576.86
$5,469.86
$5,798.54
$3,918.32
$4,259.80
$5,335.36
$6,575.26
$6,037.50
$7,438.90
$7,687.50
$8,997.76
$7,233.62
$14,467.22
$8,092.50
$6,510.00
$7,200.00
$74.24
$60.98
$68.66
$74.34
$106.10



540-24
540-6
540-8M
540AV
542-200
542-250
555-22
555B
555C
555CX
555CXE
555CXR
555CXRE
555DX
555DXE
555DXR
555DXRE
555E
555EC
555R-22
555RC
556MT
557B
558B
560XL
561U-101
561U-105
561U-106
562K-101
562K-105
562K-106
563K-101
563K-105
563K-106
5660L
5660LH
566K-101
566K-105
566K-106
5670-FC
5670-SC
5670-ST
5680-FC
5680-SC
5680-ST
56E2-101
56E2-105
56E2-106
56LC-LM5
56LC-LM6
56LC-LSM
56MU-LM5
56MU-LM6
56MU-LSM
5708-C
5708l
57081-C
570XL-FC
570XL-SC
570XL-ST
5711-101
572J-101

FISHSTIX KIT, LONG (540-24).
GLO STIX-6' (POP)

MINI GLO STIX KIT - 8'

PIN, .875X6.31 (747/770)
FISHTAPE,FIBERGLASS-.187"X200' IN REEL
FISHTAPE,FIBERGLASS-.187"X250" IN REEL
BENDER ASSY (555-22M8)

OPM, SOC-INGAAS (555B)

BENDER ASSY (555 CLASSIC)

ELECTRIC BENDER, CX W/ NO SHOES
ELECTRIC BENDER, CX W/EMT SHOES
ELECTRIC BENDER, CX W/RIGID SHOES
ELECTRIC BENDER, CX W/COMBI SHOES
ELECTRIC BENDER, DX W/ NO SHOES
ELECTRIC BENDER, DX W/EMT SHOES
ELECTRIC BENDER, DX W/RIGID SHOES
ELECTRIC BENDER, DX W/COMBI SHOES
EMT BENDER 1/2 THRU 2 INCH

EMT CLASSIC 1/2 THRU 2 INCH

RIGID PIPE BNDR 1/2-2 IN (555R-22)
RIGID CLASSIC 1/2 THRU 2 INCH

OPM, GE (MTRJ & SOC) (556MT)

OPM, SI (SOC) (557B)

OPM, SOC-HP INGAAS (558B)

METER, FIBRE OPTIC POWER (560XL)
REFCAB, SM DIN PC

REFCAB, MM50 DINPC

REFCAB, MM62.5 DINPC

REFCAB, SM FC PC

REFCAB, MM50 FCPC

REFCAB, MM62.5 FCPC

REFCAB, SM ST PC

REFCAB, MM50 STPC

REFCAB, MM62.5 STPC

CABINET ASSEMBLY (5660L)

BOX ASSEMBLY, CABINET (5660LH)
REFCAB, SM SC PC

REFCAB, MM50 SCPC

REFCAB, MM62.5 SCPC

TEST SET,MULTIMODE (850/1300nm)(5670-FC)
TEST SET,MULTIMODE (850/1300nm)(5670-SC)
TEST SET,MULTIMODE (850/1300nm)(5670-ST)

TEST SET,SNGLMOD (1310/1550nm)(5680-FC)

TEST SET,SNGLMOD (1310/1550nm)(5680-SC)

TEST SET,SNGLMOD (1310/1550nm)(5680-ST)
REFCAB, SM E2000PC

REFCAB, MM50 E2000PC

REFCAB, MM62.5 E2000PC

REFCAB, MM50 LCPC

REFCAB, MM62.5 LCPC

REF CABLE, LC-PC X2 SM MINICORD
REFCAB, MM50 MUPC

REFCAB, MM62.5 MUPC

REF CABLE, MU-PC X2 SM MINICORD
TESTER-GFI & CIRCUIT CALIB
TESTER,INSPECTOR'S-GFI (5708l)
TESTER-INSPECTORS GFI CALIB (5708I-C)
LED SOURCE (850/1300nm) (570XL-FC)
LED SOURCE (850/1300nm) (570XL-SC)
LED SOURCE (850/1300nm) (570XL-ST)
RC, SM FCPC-DINAPC

RC, SM FCPC-FCAPC

$113.90
$28.48
$47.76
$78.54
$715.10
$826.68
$8,720.86
$1,273.22
$4,784.20
$5,958.64
$9,129.28
$8,221.48
$10,143.88
$6,816.06
$9,986.70
$9,078.90
$11,001.30
$9,303.00
$7,881.20
$11,023.52
$7,047.04
$1,495.62
$1,440.20
$1,621.32
$750.56
$349.58
$349.58
$349.58
$313.70
$313.70
$313.70
$313.70
$313.70
$313.70
$1,696.46
$1,891.00
$313.70
$313.70
$313.70
$1,799.54
$1,799.54
$1,799.54
$2,249.44
$2,249.44
$2,249.44
$313.70
$313.70
$313.70
$313.70
$313.70
$313.70
$313.70
$313.70
$313.70
$357.42
$377.92
$528.50
$1,146.46
$1,146.46
$1,146.46
$313.70
$268.90



5760TD
576J-101
5775VS
5775VSC
5775VSM
5778C
5778TL
57E8-101
57LC-LM5
57LC-LM6
57LC-LSM
57MU-LFM
57MU-LM5
57MU-LM6
580XL-FC
580XL-SC
580XL-ST
5880-C
5882-C
5890-FC
5890-SC
5890-ST
59F0002
6001-22
600LS
601C
601K
601K-G
601K-G-BOX
601K-GU
60552MT
60556MT
60576MT
606AS
608-5
609-5
60A-1
60A-3/4
60A-5/8
60A-7/8
60C-3/4

61/62PTS-1-1/4
61/62PTS-1-1/8

610-5
611-3
612-2
61PTS-1
61PTS-3/4
61PTS-5/8
61PTS-7/8
6170274
620K
620KCE
624L
624S
625-001
625-002
625-1
625-1-1/2
625-1-1/4
625-1-1/8
625-13/16

BOX ASSEMBLY, CABINET (5760TD)
RC, SM FCPC-SCAPC

SORTER KIT-WIRE

CASE-CARRY W/FOAM INSERT (5775VS)
MARKER-(FOR 5775VS)

CASE-LEATHER CARRY (FOR 5778)
LEADS-6"REPLACEMENT EXTENSION

RC, SM FCPC-E2000APC

RC, MM50 FCPC-LCPC

RC, MM62.5 FCPC-LCPC

RC, SM FCPC-LCPC

RC, SM FCPC-MUPC

RC, MM50 FCPC-MUPC

RC, MM62.5 FCPC-MUPC

LASER SOURCE (1310/1550nm) (580XL-FC)
LASER SOURCE (1310/1550nm) (580XL-SC)
LASER SOURCE (1310/1550nm) (580XL-ST)
MEGOHMMETER-500V DIG/ANA BKLT CALIB
MEGOHMMETER-1KV DIG/ANA LT ALM CAL
TEST SET,MULTI/SINNLGEMODE (5890-FC)
TEST SET,MULTI/SINNLGEMODE (5890-SC)
TEST SET,MULTI/SINNLGEMODE (5890-ST)
BATTERY,REPLACEMENT (12V 2.5 Ah)
PULLER ASSY,CABLE-220V

MULTIPLE TONE TEST SET (600LS)
CASE,SOFT, GREENLEE (601C)

BASIC TONE & PROBE KIT (601K)

BASIC TONE & PROBE KIT (601K -G) (CLAM)
BASIC TONE & PROBE KIT (601K -G) (BOX)
TONE & PROBE KIT,BASIC (601K-GU) (CLAM)
TEST KIT,850/1300NM (MTRJ)

TEST KIT,1300NM (MTRJ)

KIT, 850NM MTRJ TEST, 62.5/125
SHIELD-ABRASION (MASONRY BIT)
PISTON,CONDUIT .50

PISTON,CONDUIT .75

BIT,AUGER QUICK CHANGE (1A) (POP)
BIT,AUGER,QUICK CHANGE 3/4A (POP)
BIT,AUGER,QUICK CHANGE 5/8A (POP)
BIT,AUGER,QUICK CHANGE 60A-7/8 (POP)
BIT,COMBINATION,QUICK CHANGE 3/4C (POP)
BIT,NAILEATER 1-1/4 (1.25) X 7.62(61/62)
BIT,NAILEATER 1-1/8(1.125) X 7.62(61/62)
PISTON,CONDUIT 1.00

PISTON,CONDUIT 1.25

PISTON,CONDUIT 1.50

BIT,NAILEATER 1.00X7.54 (61PTS-1)
BIT,NAILEATER 3/4(.75) X 7.54(61PTS-3/4)
BIT,NAILEATER 5/8 (.625) X 7.62 (61PT)
BIT,NAILEATER 7/8(.875)X 7.54(61PTS-7/8)
PCB,77HP2-V2,DBLSIDE,SMT

SECURITY & ALARM KIT (620K)
KIT,SECURITY ALARM (CE)

GRIP UNIT-LONG

GRIP UNIT-SHORT (624-S)

DRILL, PACKAGED

DRILL, PACKAGED

CUTTER, HOLE-CARBD (1.000",25.4MM)
CUTTER, HOLE-CARBD (1.500",38.1MM)
CUTTER, HOLE-CARBD (1.250",31.7MM)
CUTTER, HOLE-CARBD (1.125",28.6MM)
CUTTER, HOLE-CARBIDE (.812",20.6MM)

$2,070.44
$268.90
$769.06
$126.54
$106.54
$347.78
$69.88
$268.90
$268.90
$268.90
$268.90
$268.90
$268.90
$268.90
$1,502.62
$1,502.62
$1,502.62
$1,103.08
$1,237.12
$2,992.50
$2,992.50
$2,992.50
$61.20
$9,371.58
$138.60
$18.06
$144.36
$124.60
$124.60
$124.60
$7,768.98
$3,581.98
$2,893.90
$5.78
$26.64
$31.76
$9.10
$5.94
$4.60
$7.92
$7.76
$47.56
$43.14
$41.84
$26.72
$21.98
$32.56
$25.14
$22.46
$28.40
$2.24
$209.00
$216.32
$213.12
$205.66
$6.48
$7.78
$35.08
$50.68
$40.28
$37.68
$31.18



625-1-3/4
625-1-3/8
625-1-7/32
625-2
625-2-1/2
625-3/4
625-7/8
62ABA
62PTS-1
62PTS-11/16

62PTS-13/16

62PTS-3/4
62PTS-5/8
62PTS-7/8
62PTS-B-1
62PTS-B-3/4
62PTS-B-7/8
63C0914-07
63RT-1
63RT-7/8
645-001
645-002
645-011
645-022
645-1
645-11/16
645-1-1/16
645-1-1/2
645-1-1/4
645-1-1/8
645-13/16
645-1-3/4
645-1-3/8
645-1-5/16
645-1-7/16
645-1-7/32
645-2
645-2-1/2
645-2-1/4
645-2-1/8
645-2-3/8
645-2-5/8
645-3
645-3/4
645-5/8
645-7/8
6500-22
6501-22
6505-22
66PT-1
66PT-1/2
66PT-11/16
66PT-1-1/4
66PT-1-1/8
66PT-13/16
66PT-15/16
66PT-3/4
66PT-5/8
66PT-7/8
66PT-B-1
66PT-B-3/4
66PT-B-7/8

CUTTER, HOLE-CARBD (1.750",44.4MM)
CUTTER, HOLE-CARBD (1.375",35.0MM)
CUTTER, HOLE-CARBD (1.218",30.5MM)
CUTTER, HOLE-CARBD (2.000",50.8MM)
CUTTER, HOLE-CARBD (2.500",63.5MM)
CUTTER, HOLE-CARBIDE(.750",19.0MM)
CUTTER, HOLE-CARBIDE (.875",22.2MM)
CLIP-HITCH PIN #7

BIT,NAILEATER 1.00X7.62 (62PT)
BIT,NAILEATER 11/16 (.687) X 8.00(62PTS)
BIT,NAILEATER 13/16 (.812) X 7.62(62PTS)
BIT,NAILEATER 3/4 ( .750) X 7.62 (62PTS)
BIT,NAILEATER 5/8(.625) X 7.54(62PTS-5/8
BIT,NAILEATER 7/8(.875) X 7.62(62PT-7/8)
BIT,BULK-1"NAILEATER (62PTS)
BIT,BULK-3/4"NAILEATER (62PTS)
BIT,BULK-7/8"NAILEATER (62PTS)
PC,UNI,CHAS,BLK,CATV

BIT,AUGER RT 1" X 8-5/8 (POP)
BIT,AUGER RT 7/8" X 8-5/8 (POP)

DRILL, PACKAGED

DRILL, PACKAGED

ARBOR, CARBIDE CUTTER SHANK (3/8")
ARBOR, CARBIDE CUTTER SHANK (1/2")
CUTTER, CARBIDE (1")

CUTTER, CARBIDE (11/16")

CUTTER, CARBIDE (1-1/16")

CUTTER, CARBIDE (1-1/2")

CUTTER, CARBIDE (1-1/4")

CUTTER, CARBIDE (1-1/8").

CUTTER, CARBIDE (13/16")

CUTTER, CARBIDE (1-3/4").

CUTTER, CARBIDE (1-3/8").

CUTTER, CARBIDE (1-5/16")

CUTTER, CARBIDE (1-7/16")

CUTTER, CARBIDE (1-7/32")

CUTTER PKG (2")

CUTTER PKG (2-1/2")

CUTTER PKG (2-1/4")

CUTTER PKG (2-1/8")

CUTTER PKG (2-3/8")

CUTTER, CARBIDE (2-5/8")

CUTTER, CARBIDE (3")

CUTTER, CARBIDE (3/4")

CUTTER, CARBIDE (5/8")

CUTTER, CARBIDE (7/8").

PULLER PACKAGE (6500-22)

PULLER PACKAGE (6501-22)

PULLER PKG, CABLE

BIT,NAILEATER 1.00X18.00 (66PT-1)
BIT,NAILEATER 1/2(.50) X 18.00(66PT-1/2)
BIT,NAILEATER 11/16 (.687) X 18.00(66PT)
BIT,NAILEATER 1-1/4 (1.25) X 18.00(66PT)
BIT,NAILEATER 1-1/8(1.125) X 18.00(66PT)
BIT,NAILEATER 13/16 (.812) X 18.00(66PT)
BIT,NAILEATER 15/16 (.937) X 18.00(66PT)
BIT,NAILEATER 3/4(.75) X 18.00(66PT-3/4)
BIT,NAILEATER 5/8(.625) X 18 (66PT-5/8)
BIT,NAILEATER 7/8(.875) X 18 (66PT-7/8)
BIT/BULK-1"NAILEATER (66PT)
BIT/BULK-3/4"NAILEATER (66PT)
BIT/BULK-7/8"NAILEATER (66PT)

$58.48
$44.18
$23.40
$74.08
$100.08
$29.88
$32.48
$1.68
$32.56
$24.70
$25.92
$25.14
$22.46
$28.40
$29.30
$22.60
$25.58
$2.24
$43.14
$37.62
$7.20
$9.12
$27.76
$34.72
$19.76
$21.18
$24.72
$26.14
$22.60
$19.76
$21.18
$30.60
$22.60
$28.24
$32.66
$22.60
$38.84
$50.84
$43.78
$41.66
$50.84
$55.54
$64.02
$16.94
$16.94
$16.94
$8,383.50
$8,927.22
$14,289.90
$44 .46
$28.36
$33.38
$63.80
$55.44
$37.38
$41.90
$34.28
$30.54
$38.68
$40.04
$30.84
$34.80



66RT-1
66RT-7/8
6800-22
6803B
6805A
6805A-22
6805B
6805B-22
6810-22
69/5VZ
69/7VZ
70/5VZ
70/7VZ
700C
701K
701KCE
701K-G
701K-G/6A

701K-G/6A-BOX
701K-G-BOX

701K-GU
701K-GU/6A
701KU
704GB
70PT-11/16
70PT-13/16
70PT-15/16
71/10VZ
71/18vZ
71/6VZ
71/8VZ
711C
711CS
711K
711KU
711M
712A100
712A1000
712P

718F
718HL
71BB
71PT-11/16
71PT-13/16
71PT-15/16
71S/10VZ
71S/6VZ
71S/8VZ
72/10VZ
72/12VZ
72/15VZ
72/18VZ
72/20VZ
72/7VZ
721-1
721-1/2
721-1/2P
721-1-1/2
721-1-1/2P
721-1-1/4
721-1-1/4P
7211BB-1

BIT,AUGER RT 1" X 18 (POP)
BIT,AUGER RT 7/8" X 18 (POP)

PULLER PKG,CABLE (6800-22)

PULLER PACKAGE,CABLE (6803B)
PULLER PACKAGE,CABLE (6805A)
PULLER PKG,CABLE (6805-22)

PULLER PACKAGE,CABLE (6805B)
PULLER PACKAGE,CABLE (6805B-22)
FEEDER ASSEMBLY (220V)

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

DUAL CARRYING CASE (700C)

TONE & PROBE KIT, STANDARD (701K)
PROBE KIT, CLASSIC TONE (CE)

TONE & PROBE KIT,STANDARD (701K-G)(CLAM)
TONE & PROBE KIT, STD (701K-G/6A) (CLAM)
TONE & PROBE KIT, STD (701K-G/6A) (BOX)
TONE & PROBE KIT, STD (701K-G) (BOX)
TONE & PROBE KIT,STD (701K-GU)(CLAM)
TONE & PROBE KIT,STD(701K-GU/6A) (CLAM)
TONE & PROBE KIT (701KU)
SCREW-SET 1/4-20X.250 SKT
BIT,IMPACT AUGER 11/16"X24" (POP)
BIT,IMPACT AUGER 13/16"X24" (POP)
BIT,IMPACT AUGER 15/16"X24" (POP)
WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

BUSHING (BAG/100) (711C)

CASE, GX SERIES 711CS (711CS)
TONE & PROBE KIT PRO 711K (711K)
TONE & PROBE KIT (711KU)

BUSHING (1000 PC)

BUSHING (BAG/100) (712A100)
BUSHING (1000 PC) 712A1000
TOOL,PLACEMENT (PKG'D-ALL BITS)
CUTTER, CABLE PKG.

CUTTER,CABLE HIGH LEVERAGE

BB KO PNCH 1/2

BIT,IMPACT AUGER 11/16"X30" (POP)
BIT,IMPACT AUGER 13/16"X30" (POP)
BIT,IMPACT AUGER 15/16"X30" (POP)
WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

PUNCH-RD 1.000 CONDUIT (721)
PUNCH,RD-.500 CONDUIT (22,5MM)
PUNCH-RD .500 COND PKGD
PUNCH-RD 1.500 CONDUIT (721)
PUNCH-RD 1.500 COND PKGD
PUNCH-RD 1.250 CONDUIT (721)
PUNCH-RD 1.250 COND PKGD

PUNCH UNIT-1"COND (7211-BB)

$58.90
$51.26
$8,829.24
$10,946.16
$12,613.20
$14,363.04
$13,570.92
$15,319.38
$11,017.92
$32.80
$36.96
$36.96
$40.34
$23.64
$156.90
$164.00
$155.34
$155.34
$155.34
$155.34
$155.34
$155.34
$158.46
$6.14
$45.28
$49.44
$54.70
$32.80
$42.02
$25.18
$30.66
$29.90
$25.26
$184.76
$184.76
$224.82
$27.92
$194.22
$24.46
$133.56
$129.14
$52.52
$52.14
$56.42
$62.48
$43.70
$36.96
$40.34
$36.96
$42.02
$48.74
$57.16
$63.06
$28.98
$36.76
$29.20
$29.20
$56.82
$56.82
$43.48
$43.48
$80.96



7211BB-1/2
7211BB-1-1/2
7211BB-1-1/4
7211BB-2
7211BB-3/4
7211EBB-15.2
7211EBB-18.6
7211EBB-20.4
7211EBB-28.3
7211EBB-37.0
7211EBB-47.0
7211EBB-60.0
721-1P

721-2

721-2P
721-3/4
721-3/4P
7214E

7215E
721E-15.2
721E-18.6
721E-20.4
721E-28.3
721E-37.0
721E-47.0
721E-60.0
7235BB
7237BB
7238SB
725-001
725-1-1/2
725-1-1/8
725-1-3/4"
725-1-3/8
725-2
725-2-1/2
725-2-1/8
725-3-5/8
725-4-1/2
725-4-1/8
725-7/8
727-INS

727TM

72BB
72S/10VZ
72S/12VZ
72S/15VZ
72S/6VZ
72S/8VZ
73/10VZ
73/12VZ
73/15VZ
73/18VZ
73/7VZ
730-1/2
730-100A
730-101A
730-5/8
7306SB
730-9/16
7309E
730BB-1

PUNCH UNIT,1/2"COND (7211-BB). $49.24

PUNCH UNIT-1-1/2"COND (7211-BB) $112.68
PUNCH UNIT-1-1/4"COND (7211-BB) $87.64
2IN COND PNCH $138.72
PUNCH UNIT,CONDUIT 3/4" (3/4"D/S) $70.18
PUNCH UNT-BB 15.2MM (3/8"D/S) $56.68
PUNCH UNT,S/B (7211-E-BB) 18.6 (3/8"D/S) $56.68
PUNCH UNT (7211-E-BB) 20.4MM (3/8"D/S) $56.68
PUNCH UNT (7211-E-BB) 28.3MM (3/8"D/S) $66.12
PUNCH UNT(7211-E-BB) 37MM (3/4"D/S) $102.18
PUNCH UNT (7211-E-BB) 47MM (3/4"D/S) $143.36
PUNCH UNT (7211-E-BB) 60MM (3/4"D/S) $164.84
PUNCH-RD 1.000 COND PKGD $36.76
PUNCH-RD 2.000 CONDUIT (721) $71.84
PUNCH, RD-2.000 COND PKGD $71.84
PUNCH-RD 1.110 3/4"COND (3/4"D/S) $32.16
PUNCH-RD .750 COND (POP) (3/4"D/S) $32.16
S B REP PNCH ST $269.56
PUNCH SET SB 15.2MM-60.0MM $385.86
PUNCH-RD 15.2MM (7211-E) $34.36
PUNCH-RD,S/B 18.6MM (7211-E)(3/8"D/S) $34.36
PUNCH-RD-20.4MM (7211-E) (3/8"DIS) $34.36
PUNCH-RD-28.3MM (1.114) (7211E)(3/8"D/S) $37.78
PUNCH-RD 37.0MM (1.457) (3/4"D/S) $73.88
PUNCH-RD 47.0MM (1.850) (3/4"D/S) $79.84
PUNCH-RD 60.0MM (2.362) (3/4"D/S) $92.72
1/2TO 1-1/4 SET. $227.26
10/2TO 2IN SET $240.92
PUNCH & DIE SET-1/2"-2"SLUG BUSTER $450.92
DRILL PACKAGE-1/4" CARBIDE $11.42
HOLESAW,CARBIDE GRIT (1-1/2" PKGD) $45.34
HOLESAW-1-1/8"PKGD.CARBIDE GRIT $39.94
HOLESAW-1-3/4"PKGD.CARBIDE GRIT $51.00
HOLESAW-1-3/8"PKGD.CARBIDE GRIT $44.78
HOLESAW-2"PKGD.CARBIDE GRIT $55.94
HOLESAW,2-1/2" PKGD CARBIDE GRIT $58.56
HOLESAW-2-1/8"PKGD.CARBIDE GRIT $57.34
HOLESAW-3-5/8"PKGD.CARBIDE GRIT $67.54
HOLESAW, 4-1/2" CARBIDE GRIT-PKGD $111.20
HOLESAW, 4-1/8" CARBIDE GRIT-PKGD $99.26
HOLESAW-7/8" PKGD.CARBIDE GRIT $39.52
CUTTER,CABLE-INSULATED $82.10
CUTTER,CABLE (POP) $46.22
PUNCH UNIT,BB 28,3MM (3/4"D/S) $80.60
WIRE FERL UNINSUL $35.30
WIRE FERL UNINSUL $38.66
WIRE FERL UNINSUL $45.38
WIRE FERL UNINSUL $27.30
WIRE FERL UNINSUL $30.66
WIRE FERL UNINSUL $36.96
WIRE FERL UNINSUL $42.02
WIRE FERL UNINSUL $53.78
WIRE FERL UNINSUL $68.04
WIRE FERL UNINSUL $30.66
PUNCH UNIT ASSY,RD .500(730) $60.94
DIE-RD 2.781 (70,6) METER (730M) $145.96
Punch-Rd 2.781 (730M) $130.56
PUNCH UNIT,ROUND-.625 (730) $58.64
PUNCH SET-1/2"X2" HYD DRIVER $1,352.78
PUNCH UNIT-RD .562 (730) $56.92
PUNCH SET $824.78

PUNCH UNIT-RD 1.000 BB (730BB) $66.70



730BB-11/16
730BB-1-1/16
730BB-1-1/2
730BB-1-1/4
730BB-1-1/8
730BB-120.0
730BB-13/16
730BB-1-3/4
730BB-1-3/8
730BB-15/16
730BB-1-5/16
730BB-1-5/8
730BB-1-7/8
730BB-2
730BB-2-1/2
730BB-2-1/4
730BB-2-1/8
730BB-2-3/4
730BB-3
730BB-3/4
730EBB-18.6
730EBB-20.4
730EBB-37.0
730EBB-47.0
730EBB-60.0
730EBB-82.0
730MBB
730PBB-2-5/8
730PBB-3-3/4
730TBB
7310SB
735BB
7360SB
7361SB
737BB
738BB
739BB

73BB
74/12VZ
74/15VZ
74/18VZ
74/20VZ
74/9VZ
740H-1-7/32
741BB
742BB
743BB
744BB
745H-1
745H-1/2
745H-1-1/2
745H-1-1/4
745H-2
745H-3/4
745M-15.2
745M-16.2
745M-18.6
745M-20.4
745M-25.4
745M-32.5
745M-37
745M-40.5

PUNCH UNIT-RD .687 BB (730BB)
PUNCH UNIT-RD 1.062 BB (730BB)
PUNCH UNIT,RD 1.500 BB (730XBB)
PUNCH UNIT,1.250 BB (730BB)

PUNCH UNIT-RD 1.125 OD BB (730-BB)
PUNCH UNIT-RD 120,0MM (4.724)
PUNCH UNIT-RD .812 BB (730BB)
PUNCH UNIT-RD 1.750 BB (730BB)
PUNCH UNIT-RD 1.375 BB (730BB)
PUNCH UNIT-RD .937 BB (730BB)
PUNCH UNIT-RD 1.312 BB (730BB)
PUNCH UNIT-RD 1.625 BB (730BB)
PUNCH UNIT-RD 1.875 BB (730BB)
PUNCH UNIT-RD 2.000 BB (730-BB)
PUNCH UNIT-RD 2.500 BB (730BB)
PUNCH UNIT-RD 2.250 BB (730BB)
PUNCH UNIT-RD 2.125 BB (730BB)
PUNCH UNIT-RD 2.750 BB (730BB)
PUNCH UNIT-RD 3.000 BB (730BB)
PUNCH UNIT-RD .750 BB (730BB)
PUNCH UNIT ASSY,RD 18,6MM (.732) BB
PUNCH UNIT ASSY,RD 20,4M(.80)730EBB
PUNCH UNIT ASSY,RD 37M (1.45)730EBB
PUNCH UNIT-RD 47,0MM (1.850) (3/4"D/S)
PUNCH UNIT-RD 60,0MM (2.362)(730EBB
PUNCH UNIT-RD 82,0MM (3.229)(730EBB
PUNCH UNIT-RD 2.781 BB (730BB)
PUNCH UNIT-RD 2.625 BB (730BB)
PUNCH UNIT-RD 3.750 (730PBB)

PUNCH UNIT-RD 3.125 BB TIMER(730TBB
PUNCH SET, HYD DRIVER - 1/2"X4"
PUNCH,KO 1/2TO1-1/4

PUNCH SET,CONTRACTOR CABINET
PUNCH SET, DELUXE CABINET
PUNCH,KO 1-1/2X2

K O PNCH 2-1/2

.K O PNCH 3IN.

BB KO PNCH 1

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

PUNCH UNIT,1-7/32" (740-H) SC

K O PNCH 3-1/2

K O PNCH 4IN (742BB)

K O PNCH 5IN.

KNOCKOUT,8" (POP)

SLUG SPLITTER UNIT 1" (POP)

PUNCH UNIT, 1/2"KO (745-H) SC

SLUG SPLITTER UNIT 1-1/2" (POP)
SLUG SPLITTER UNIT 1-1/4" (POP)
SLUG SPLITTER UNIT 2" (POP)

SLUG SPLITTER UNIT 3/4" (POP)

SLUG SPLITTER UNIT 15.2mm (POP)
SLUG SPLITTER UNIT 16.2mm (POP)
SLUG SPLITTER UNIT 18.6mm (POP)
SLUG SPLITTER UNIT 20.4mm (POP)
SLUG SPLITTER UNIT 25.4mm (POP)
SLUG SPLITTER UNIT 32.5mm (POP)
SLUG SPLITTER UNIT 37mm (POP)
SLUG SPLITTER UNIT 40.5mm (POP)

$58.66
$65.04
$102.46
$99.20
$68.50
$1,039.88
$58.66
$126.16
$90.02
$61.14
$65.04
$114.52
$147.50
$152.06
$246.58
$174.66
$155.34
$342.20
$452.54
$55.96
$58.96
$58.96
$106.36
$150.68
$173.28
$462.44
$316.96
$342.20
$768.94
$474.62
$2,280.50
$251.24
$2,851.90
$4,753.12
$236.98
$281.48
$344.02
$90.06
$57.16
$68.04
$78.98
$85.74
$47.08
$314.18
$588.66
$768.94
$1,239.92
$1,790.66
$280.40
$208.28
$463.86
$283.70
$482.18
$248.74
$253.14
$271.54
$253.14
$253.14
$295.48
$311.38
$314.90
$459.62



745M-47
745M-50.8
745M-54
745M-60
745M-64
745R-1/2
746C
746SS
7475H
74BB
75/10vZ
75/12VZ
75/15VZ
75/18VZ
75/20VZ
75/25VZ
750C
750E975
750H767
75BB
76/12VZ
76/15VZ
76/18VZ
76/20VZ
76/25VZ
7606SB
7610SB
7625-PG
7646PG-SB
76BB
76GB
77/12VZ
77/15VZ
77/18VZ
77/20VZ
77/25VZ
7704SB
7706SB
T7T7TEQ75
77T7THC755
77CS
77GB
77GX
77GX2
77THP
TTHP/6A
77THP/6A-01
TTHP/6AC
T7THP/6ACE
77THP-01
77THPCE
TTHP-G
7TTHP-G/6A

77THP-G/6A-01

77THP-G-01
7™
77TM-G
77P-1
77P-1/2
77P-1/2P
77P-1-1/2
77P-1-1/2P

SLUG SPLITTER UNIT 47mm (POP)
SLUG SPLITTER UNIT 50.8mm (POP)
SLUG SPLITTER UNIT 54mm (POP)
SLUG SPLITTER UNIT 60mm (POP)
SLUG SPLITTER UNIT 64mm (POP)
PUNCH, HD KO, SC

RAM UNIT-HYD (746C)

RAM-HYD (746SS)

PUMP, HAND

BB KO PNCH 1-1/4

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

CABLING POUCH (750C)
CABLE,HYDRAULIC-CUTTER

CUTTER, CABLE-HYDRAULIC (750H767)
BB KO PNCH 1-1/2

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

PUNCH SET,HYDRAULIC 1/2-2 (7606SB)
PUNCH SET,HYDRAULIC 1/2-4 (7610SB)
PUNCH DRIVER HYD KO

PNCH + DRVR SET

BB KO PNCH 2

BEARING-BALL .787X2.04X.590

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

DRIVER ASS'Y, FLEX-HYD (7704SB)
DRIVER ASS'Y, FLEX-HYD (7706SB).
BNDR HYD PIPE

BENDER-HYD 1-1/4 TO 4 (777HC755)
2.41LEATHER CASE FORALL 77 SERIES (77CS
BEARING-BALL .787X2.04X.590
GENERATOR, TONE 77GX (77GX)
GENERATOR, TONE 77GX2 (77GX2)
HIGH-POWER TRACER (77HP)
HIGH-POWER TRACER W/6A CLIPS (77HP/6A)
GENERATOR,77HP/6A HP TONE-W/HOLSTER
TONE GENERATOR (77HP/6AC)
CLIPS,HIGH POWER TRACER W/6A (CE)
TONE GENERATOR,HOLSTERED
TRACER,HIGH POWER (CE)

TONE GENERATOR (77HP-G) (CLAM)
TONE GENERATOR (77HP-G/6A) (CLAM)
TONE GENERATOR (77HP-G/6A W/HOLSTER)
TONE GENERATOR (77HP-G W/HOLSTER)
TRACER W/MODULAR PLUG (77M)
TONE GENERATOR (77M-G) (CLAM)
PUNCH, BUSTER-1 SC

PUNCH, BUSTER-1/2 SC

PUNCH, BUSTER-1/2 SC PKGD

PUNCH, BUSTER- 1-1/2 SC

PUNCH, BUSTER- 1-1/2 SC PKGD

$441.98
$502.02
$508.34
$531.18
$554.04
$169.44
$1,144.36
$798.46
$558.60
$96.72
$58.84
$68.04
$78.98
$89.96
$99.16
$134.50
$59.58
$5,072.20
$2,625.00
$120.18
$69.78
$82.36
$97.50
$108.38
$134.50
$2,086.88
$3,393.14
$2,241.74
$1,464.08
$147.92
$185.22
$99.16
$115.12
$126.92
$142.88
$173.14
$1,027.16
$1,421.22
$8,107.50
$6,120.30
$11.88
$69.72
$57.84
$73.12
$51.44
$58.84
$59.82
$65.50
$61.52
$47.28
$53.76
$58.58
$67.00
$83.64
$70.86
$47.20
$53.76
$40.28
$32.04
$32.04
$62.22
$62.22



77P-1-1/4
77P-1-1/4P
77P-1P
77P-2
77P-2P
77P-3/4
77P-3/4P
77U-1
77U-1/2
77U-1-1/2
77U-1-1/4
77U-2
77U-3/4
78/12VZ
78/15VZ
78/18VZ
78/20VZ
78/25VZ
78/28VZ
7804-E
7804ESB
78041SO
7804-SB
7806-SB
79/15VZ
79/18VZ
79/22VZ
79/25VZ
79/30VZ
7904-E
7904ESB
7904-1SO
7904SB
7906SB
794AV
80/18vZ
80/22VZ
80/25VZ
80/30vZ
800F1725
801K
801K/50
801KCE
802K
8060DLX
81/22VZ
81/25VZ
81/30VZ
811GB
811K
811K/50
811K/6A-BOX
82/25VZ
82/30vZ
82/32vZ
82/34VZ
825-1
825-11/16
825-1-1/16
825-1-1/2
825-1-1/4
825-1-1/8

PUNCH, BUSTER- 1-1/4 SC

PUNCH, BUSTER- 1-1/4 SC PKGD
PUNCH, BUSTER-1 SC PKGD

PUNCH, BUSTER-2 SC

PUNCH, BUSTER-2 SC PKGD

PUNCH, BUSTER-3/4 SC

PUNCH, BUSTER-3/4 SC PKGD

PUNCH UNIT ASSY, 1" CONDUIT
PUNCH UNIT ASSY, 1/2 CONDUIT
15PUNCH UNIT ASSY, 1 1/2 CONDUIT
PUNCH UNIT ASSY, 1 1/4 CONDUIT
PUNCH UNIT ASSY, 2" CONDUIT
PUNCH UNIT ASSY, 3/4 CONDUIT
WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

DRIVER SET-QUICK DRAW (7804-E-M4)
DRIVER-QUICK DRAW 1/PG PUNCH SET
DRIVER-QUICK DRAW W/ISO PUNCH SET
DRIVER,HYDRAULIC KO (7804-SB-M4)
DRIVER,QUICK DRAW (7806-SB-M4)
WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

DRIVER-RIGHT ANGLE HYD KO (7904E)
DRIVER-90 HYD W/PG PUNCH SET
DRIVER-90 HYD W/ISO PUNCH SET
DRIVER SET, RIGHT ANGLE (7904SB)
DRIVER,QUICKDRAW-RIGHT ANGLE
PIN-.995X3.62 YOKE (782)

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

BENDER-CABLE W/PUMP

PREMIUM TONE & PROBE KIT (801K)
PREMIUM TONE & PROBE KIT, 50HZ
PROBE KIT, PREMIUM TONE (CE)
TRACING KIT,DIGITAL LAN

BOX ASSY,FIELD OFFICE (8060DLX)
WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

RING-RETAINING 2.75 TRUARC #5100 EX
TRACING KIT,DIGITAL HIGH-PERFORMANCE
TRACING KIT,DIGITAL HIGH-PERFORM 50HZ
TONE & PROBE KIT, XPERT

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL
HOLESAW,VARIABLE PITCH (1")
HOLESAW,VARIABLE PITCH (11/16")
HOLESAW,VARIABLE PITCH (1 1/16")
HOLESAW,VARIABLE PITCH (1 1/2")
HOLESAW,VARIABLE PITCH (1 1/4")
HOLESAW,VARIABLE PITCH (1 1/8).

$47.60
$47.60
$40.28
$78.72
$78.72
$35.26
$35.26
$90.48
$54.98
$125.84
$97.92
$154.92
$78.42
$150.44
$169.76
$191.64
$215.14
$253.84
$282.38
$749.32
$1,137.60
$1,335.28
$917.74
$1,177.08
$253.84
$292.48
$267.24
$312.64
$395.02
$978.74
$1,246.70
$1,454.74
$1,027.20
$1,421.22
$115.98
$479.06
$512.66
$574.88
$717.76
$2,695.00
$257.82
$234.96
$266.86
$255.62
$2,983.68
$690.88
$746.32
$963.16
$18.82
$255.62
$255.62
$224.00
$1,013.58
$1,131.26
$1,260.68
$1,417.02
$10.42
$9.90
$10.42
$11.10
$10.42
$10.42



825-1-11/16
825-1-13/16
825-13/16
825-1-3/16
825-1-3/4
825-1-3/8
825-15/16
825-1-5/16
825-1-5/8
825-1-7/16
825-1-7/8
825-1-9/16
825-2
825-2-1/16
825-2-1/2
825-2-1/4
825-2-1/8
825-2-3/4
825-2-3/8
825-2-5/16
825-2-5/8
825-2-7/8
825-2-9/16
825-3
825-3/4
825-3-1/2
825-3-1/4
825-3-1/8
825-3-3/4
825-3-3/8
825-3-5/8
825-3-7/8
825-4
825-4-1/2
825-4-1/4
825-4-1/8
825-4-3/4
825-4-3/8
825-5
825-5/8
825-5-1/2
825-6
825-68
825-7/8
825-74
825-9/16
825B-1-1/8
825B-1-11/16
825B-1-13/16
825B-1-3/4
825B-1-3/8
825B-1-9/16
825B-2
825B-2-1/2
825B-2-1/8
825B-2-3/8
825B-2-5/8
825B-2-9/16
825B-3
825B-3/4
825B-3-1/8
825B-3-3/4

HOLESAW,VARIABLE PITCH (1 11/16")
HOLESAW,VARIABLE PITCH (1 13/16")
HOLESAW,VARIABLE PITCH (13/16")
HOLESAW,VARIABLE PITCH (1 3/16")
HOLESAW,VARIABLE PITCH (1 3/4)
HOLESAW,VARIABLE PITCH (1 3/8)
HOLESAW,VARIABLE PITCH (15/16")
HOLESAW,VARIABLE PITCH (1 5/16")
HOLESAW,VARIABLE PITCH (1 5/8")
HOLESAW,VARIABLE PITCH (1 7/16")
HOLESAW,VARIABLE PITCH (1 7/8")
HOLESAW,VARIABLE PITCH (1 9/16")
HOLESAW,VARIABLE PITCH (2")
HOLESAW,VARIABLE PITCH (2 1/16")
HOLESAW,VARIABLE PITCH (2 1/2")
HOLESAW,VARIABLE PITCH (2 1/4")
HOLESAW,VARIABLE PITCH (2 1/8")
HOLESAW,VARIABLE PITCH (2 3/4")
HOLESAW,VARIABLE PITCH (2 3/8")
HOLESAW,VARIABLE PITCH (2 5/16")
HOLESAW,VARIABLE PITCH (2 5/8")
HOLESAW,VARIABLE PITCH (2 7/8")
HOLESAW,VARIABLE PITCH (2 9/16")
HOLESAW,VARIABLE PITCH (3").
HOLESAW,VARIABLE PITCH (3/4")
HOLESAW,VARIABLE PITCH (3 1/2")
HOLESAW,VARIABLE PITCH (3 1/4")
HOLESAW,VARIABLE PITCH (3 1/8")
HOLESAW,VARIABLE PITCH (3 3/4")
HOLESAW,VARIABLE PITCH (3 3/8")
HOLESAW,VARIABLE PITCH (3 5/8")
HOLESAW,VARIABLE PITCH (3 7/8")
HOLESAW,VARIABLE PITCH (4")
HOLESAW,VARIABLE PITCH (4 1/2")
HOLESAW,VARIABLE PITCH (4 1/4")
HOLESAW,VARIABLE PITCH (4 1/8")
HOLESAW,VARIABLE PITCH (4.75")
HOLESAW,VARIBLE PITCH (4 3/8")
HOLESAW,VARIABLE PITCH (5")
HOLESAW,VARIABLE PITCH (5/8")
HOLESAW,VARIABLE PITCH (5.5")
HOLESAW,VARIABLE PITCH (6")
HOLESAW,VARIABLE PITCH (68,0 MM)
HOLESAW,VARIABLE PITCH (7/8")
HOLESAW,VARIABLE PITCH (74,0 MM)
HOLESAW,VARIABLE PITCH (9/16")
HOLESAW,VARIABLE PITCH (1 1/8) STD PK 50
HOLESAW,VAR PITCH (1 11/16") STD PK 10
HOLESAW,VAR PITCH (1 13/16") STD PK 10
HOLESAW,VARIABLE PITCH (1 3/4) STD PK 20
HOLESAW,VARIABLE PITCH (1 3/8) STD PK 30
HOLESAW,VAR PITCH (1 9/16") STD PK 10
HOLESAW,VARIABLE PITCH (2") STD PK 20
HOLESAW,VARIABLE PITCH (2 1/2) STD PK 30
HOLESAW,VARIABLE PITCH (2 1/8) STD PK 10
HOLESAW,VARIABLE PITCH (2 3/8) STD PK 20
HOLESAW,VARIABLE PITCH (2 5/8) STD PK 10
HOLESAW,VARIABLE PITCH (2 9/16) ST PK 20
HOLESAW,VARIABLE PITCH (3") STD PK 20
HOLESAW,VARIABLE PITCH (3/4") STD PK 10
HOLESAW,VARIABLE PITCH (3 1/8) STD PK 10
HOLESAW,VARIABLE PITCH (3 3/4) STD PK 10

$11.10
$13.48

$9.90
$10.42
$13.48
$11.10

$9.90
$10.42
$11.10
$11.10
$13.48
$11.10
$13.48
$17.08
$18.28
$17.08
$17.08
$18.28
$17.08
$17.08
$18.28
$18.28
$18.28
$18.88

$9.90
$18.88
$18.88
$18.88
$24.54
$18.88
$21.00
$25.18
$26.94
$54.56
$38.94
$28.74
$59.92
$45.56
$65.92

$9.90
$79.68
$92.90
$17.40

$9.90
$18.00

$9.90

$8.88

$8.76
$10.64
$11.44

$9.44

$8.76
$11.44
$15.54
$13.46
$16.14
$14.88
$14.42
$16.08

$8.42
$14.88
$19.84



825B-3-3/8
825B-3-5/8
825B-3-7/8
825B-4-1/2
825B-4-1/4
825B-5
825B-5-1/2
825B-7/8
826S
83/30vZ
83/32vZ
83/34VZ
83/38VZ
83/40VZ
830PG
830Q
84/32VZ
84/34VZ
84/38VZ
84/40VZ
840A
840AH
840F
840FH
841A
841AH
841F
841FH
842A
842AH
842F
842FH
843A
843F
84H1
84H2
84H3
85/32VZ
85/40VZ
855GX
859-4
860-1-1/2
860-3
860-4
8634V
869/8
870/10
870/8
871/10
871/8
872/12
872/8
873/10
873/13
874/12
875/14
876/14
877114
87AV
880E975
880H755
881BASIC

HOLESAW,VAR PITCH (3 3/8") STD PK 10
HOLESAW,VAR PITCH (3 5/8") STD PK 20
HOLESAW,VAR PITCH (3 7/8") STD PK 10
HOLESAW,VARIABLE PITCH (4 1/2) STD PK 20
HOLESAW,VARIABLE PITCH (4 1/4) STD PK 10
HOLESAW,VARIABLE PITCH (5") STND PK 10
HOLESAW,VARIABLE PITCH (5.5") STND PK 10
HOLESAW,VARIABLE PITCH (7/8") STD PK 50
HOLESAW STOP-3 PAK (POP)

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

HOLESAW SET

HOLESAW KIT (830Q)

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

WIRE FERL UNINSUL

BENDER,HAND - 1/2" EMT
BENDER,HAND-1/2" W/HANDLE
BENDER,HAND - 1/2" EMT
BENDER,HAND - 1/2" W/HANDLE
BENDER,HAND - 3/4" EMT & 1/2" RIGID
BENDER,HAND-3/4" W/HANDLE
BENDER,HAND - 3/4" EMT & 1/2" RIGID
BENDER,HAND - 3/4" W/HANDLE
BENDER,HAND - 1" EMT & 3/4" RIGID
BENDER,HAND-1" W/HANDLE
BENDER,HAND - 1" EMT & 3/4" RIGID
BENDER,HAND - 1" W/HANDLE
BENDER,HAND - 1-1/4" EMT & 1" RIGID
BENDER,HAND - 1-1/4" EMT & 1" RIGID
HANDLE,BENDER, 3/4 EMT
HANDLE,BENDER, 1 EMT
HANDLE,BENDER, 1-1/4 EMT

WIRE FERL UNINSUL

WIRE FERL UNINSUL

BENDER, ELECTRIC CONDUIT (855GX)
PLUG SET-2"-4" PVC (859-4)

BLANKET, PVC (1/2"TO 1-1/2")
BLANKET, PVC (2'TO 3"

BLANKET, PVC (3-1/2"TO 4")

WIRE FERRULE,UNINSULATED 5000 kemil
TWIN WIRE FERL INSUL

TWIN WIRE FERL INSUL

TWIN WIRE FERL INSUL

TWIN WIRE FERL INSUL

TWIN WIRE FERL INSUL

TWIN WIRE FERL INSUL

TWIN WIRE FERL INSUL

3WIN WIRE FERL INSUL

TWIN WIRE FERL INSUL

TWIN WIRE FERL INSUL

0514060308 FERL INSUL

TWIN WIRE FERL INSUL

TWIN WIRE FERL INSUL

Punch-Rd 1.000 (25.4MM) (730)

BNDR HYD PIPE

BENDER-HYD COND 1/2 X 2

BENDER (881-BASIC)

$19.36
$17.86
$30.72
$46.76
$30.72
$51.98
$62.84
$8.42
$9.58
$1,457.34
$1,554.84
$1,654.04
$1,907.84
$2,025.54
$134.24
$129.62
$1,933.06
$2,071.28
$2,176.78
$2,412.12
$27.44
$50.42
$38.18
$67.18
$39.18
$59.68
$57.58
$86.70
$64.82
$102.14
$94.02
$140.64
$162.20
$204.30
$29.78
$46.42
$65.06
$2,487.74
$2,681.08
$16,877.68
$665.26
$293.96
$701.50
$805.90
$49.54
$88.22
$99.16
$88.22
$99.16
$88.22
$99.16
$88.22
$99.16
$111.74
$272.30
$349.62
$447.12
$534.54
$39.14
$6,047.16
$4,059.96
$6,862.74



881CT

881CTD
881CTDE980
881CTE980

882CB

882CBE975
882CBH755
882E975

882H755

882RIG1

884E980

884-PVC

885E980
9001-CJ/SP 003
900B

901-12

901B

902-18

902-24

904H-12

904H-18

904H-24

904H-5-1/2

90ACK

90S0OC

911B

912B

918AV

91AV
920XC15AAPCNASC
920XC-20C APC FC
920XC-20C APC SC
920XC-20C UPC FC
920XC-20C UPC SC
920XC-20C UPC ST
920XC-20M PC FC
920XC-20M PC SC
920XC-20M PC ST
920XC-30F APC FC
920XC-30F APC SC
920XC-30F UPC FC
920XC-30F UPC SC
920XC-30F UPC ST
920XC-30P APC FC
920XC-30P APC SC
920XC-30P UPC FC
920XC-30P UPC SC
920XC-30P UPC ST
920XC-QR
920XC-SM-MM
921-12

921-18

921-24

921-36

924GB

925-001

925-002

925-011

925-022

925-1-1/8

925-1-3/4

925-1-3/8

BENDER,HYDRAULIC (881-CT)
BENDER,HYDRAULIC (881-CTD)
BENDER-HYD (881-CTDE)

BNDR HYD PIPE

COMBO BENDER

BNDR HYD PIPE (882CBE975)

HYD COMBO BNDR

BNDR HYD PIPE

BENDER-W/PUMP 1-1/4X2 EMT (882H755)
SHOE GROUP 1 1/4-2 RGD/IMC
BNDR HYD PIPE
BENDER-1-1/4"-4"PVC COATED CND
BNDR HYD PIPE

C-CLAMP, W/ROD

CASE, CARRY-HARD, 3X HH
EXTENSION,BIT (12) (POP)

CASE, CARRY-HARD, 4X HH
EXTENSION, BIT-POWER (18" OA)
EXTENSION, BIT-POWER (24" OA)
EXTENSION, BIT (7/16"X12")
EXTENSION, BIT (7/16" X 18")
EXTENSION, BIT (7/16" X 24")
EXTENSION-5 50 BIT (POP)

KIT, CONVERTER-120VAC POWER
PULLER ASSEMBLY,SOC
CASE,SOFT-2X INST

CASE, CARRY-SOFT, 3X
SPRING-COMP .194X.218X.750 (1706)
PUNCH-RD 1.125 (28.6MM)

OTDR,HANDHELD,1550nm SC/APC,N AMERICA

Handheld OTDR, 1310/1550nm, FC/APC
Handheld OTDR, 1310/1550nm, SC/APC
Handheld OTDR, 1310/1550nm, FC/UPC
Handheld OTDR, 1310/1550nm, SC/UPC
Handheld OTDR, 1310/1550nm, ST/UPC
Handheld OTDR, 850/1300nm, FC/PC
Handheld OTDR, 850/1300nm, SC/PC
Handheld OTDR, 850/1300nm, ST/PC
Handheld OTDR, 1310/1550/1625nm, FC/APC
Handheld OTDR, 1310/1550/1625nm, SC/APC
Handheld OTDR, 1310/1550/1625nm, FC/UPC
Handheld OTDR, 1310/1550/1625nm, SC/UPC
Handheld OTDR, 1310/1550/1625nm, ST/UPC
Handheld OTDR, 1310/1490/1550nm, FC/APC
Handheld OTDR, 1310/1490/1550nm, SC/APC
Handheld OTDR, 1310/1490/1550nm, FC/UPC
Handheld OTDR, 1310/1490/1550nm, SC/UPC
Handheld OTDR, 1310/1490/1550nm, ST/UPC

920XC QUICK REFERENCE GUIDE - UNIVERSAL

OTDR Kit - Single and Multimode OTDR Kit
EXTENSION, QUICK CHANGE 3/16X12 (POP)
EXTENSION, QUICK CHANGE 3/16X18 (POP)
EXTENSION, QUICK CHANGE 3/16X24 (POP)
EXTENSION, QUICK CHANGE 3/16X36 (POP)
O-RING-2.00X2.37X.187 NITRILE

DRILL PKG,SMALL PILOT-HSS

DRILL PKG,LARGE PILOT-HSS

ARBOR PKG,HSS-SMALL

ARBOR PKG,HSS-LARGE

CUTTER PKG,HSS 1.125"

CUTTER PKG,HSS 1.750"

CUTTER PKG,HSS 1.375"

$24,068.58
$18,755.58
$23,080.50
$28,313.46
$7,677.84
$10,432.94
$8,446.50
$7,971.92
$5,985.62
$2,731.88
$14,644.56
$14,002.86
$15,429.78
$50.02
$217.94
$14.70
$497.88
$31.66
$33.68
$49.74
$49.74
$52.94
$20.98
$396.88
$54.32
$89.98
$103.32
$6.76
$39.14
$7,992.00
$7,000.00
$7,000.00
$7,000.00
$7,000.00
$7,000.00
$6,840.00
$6,840.00
$6,840.00
$9,912.00
$9,912.00
$9,912.00
$9,912.00
$9,912.00
$8,792.00
$8,792.00
$8,792.00
$8,792.00
$8,792.00
$12.80
$13,680.00
$28.98
$30.54
$32.10
$34.66
$2.10
$7.04
$8.36
$18.00
$57.58
$25.20
$38.70
$32.24



925-1-5/16
925-1-7/32
925-2
925-2-1/2
925-7/8
925GB
927GB
92AV
93-1060F
93-1060TL
93-1065RS
93-172
93-172-C
93-20
93-30
93-3000HS
93-504C
93-602
936GB
941-18
941-36
945/ESD
945/ESD/1
946/K
947/K
948/2
9529F
956LN
956US
956WW
960SAPS
9753-11C
9753-12C
9753-13C
980-22
980-22PS
9858-11
9858-12
98M0296-170
98M0296-173
9850218
9952-11
9953-11
9953-13
9953-14
9953-15

AC-ADPT-20-UNIV
AC-CONN-SC-L2

AD-108
AE2-10
AE22/120
AE22/150
AE22/185
AF2
A-FRAME
AHP-10
AM-6
AMS-00
AMT-10
APC-108
ASC-108
ASM-90

CUTTER PKG, HSS 1.312
CUTTER PKG,HIGH SPEED 1-7/32
CUTTER PKG,HSS 2.00"

CUTTER PKG,HSS 2.500"

CUTTER PKG,HSS .875"
RING-RETAINING 2.37 T-5000 INT
ELBOW-1/4 X1/4 45DEG M/F STREET
DIE-RD 1.125 (28,5) (730)

FUSE (FOR 93-1060)

36" LEADS RPLMNT

SENSOR-RPLMNT REMOTE

METER, LIGHT-DIGITAL (93-172)
METER, CALIBRATED LIGHT (93-172-C)
METER-DECIBEL (93-20)
SPLITTER,LINE (93-30)
STAND-RPLMNT HINGE

CASE

MULTIMETER,DIGITAL (93-602)
O-RING-.750X1.00X.125 70-D NITRILE
D'VERSIBIT EXTENSION 1/4 X 18 (POP)
D'VERSIBIT EXTENSION 1/4 X 36 (POP)
REEL CLEANER
REEL,REPLACEMENT-CLEANER
WAND, CLEANING, 2.5MM, BOX/200
WAND, CLEANING, 1.25MM, BOX/200 (947/K)
TAPES,REPLACEMENT-REELCLEANER (948/2)
BASKET,CADDY

ADAPTER KIT, LAN

ADAPTER KIT, US/CANADA

ADAPTER KIT, WORLDWIDE
PUMP,HYD POWER (960-SAPS)
DRIVER,REAMER 1/2,3/4,1" EMT

AWL, 3" W/STEEL CAP (POP)
OPENER,BOTTLE CUSHION GRIP
PUMP,HYD POWER (980-22)
PUMP,HYD POWER (W/PENDENT SWITCH)
BELT,LEATHER 2"

5" PADDED TOOL BELT

COIL ASSY,POWER MARKER

COIL ASSY, TELEPHONE MARKER

ASM ,508ST ,SUB ,PCB ,SMT
BLADE,REPLACE UTILITY-5 PACK
BLADE,REPLACEMENT-REAMER
BITS,REPLACEMENT 6-N-1
BITS,REPLACEMENT 6N1-METRIC
BITS,REPLACEMENT 9-N-1

POWER SUPPLY,UNIVERSAL
ADAPTOR,SC

ADAPTER, UCI, DIN 47256

ADAPTER, UCI, E2000

DIE-CRIMPING 4/0 FERRULES
DIE-CRIMPING 300 MCM FERRULES
DIE-CRIMPING 350MCM FERRULES
A-FRAME, AF2 (AF2)

A-FRAME, EARTH VOLTAGE PICKUP
ADAPTER, UCI, HMS-10/HP
MULTIMETER,ANALOG

ADAPTER, UCI, HMS-0

ADAPTER, UCI, HMS-10/A

ADAPT, UCI FC

ADAPT, UCI SC

ADAPTER, UCI, SMA 905/906

$28.70
$28.50
$43.30
$57.58
$23.18
$9.82
$25.18
$19.36
$9.96
$20.44
$58.50
$310.42
$635.28
$312.72
$51.10
$1.54
$4.58
$62.86
$2.24
$40.68
$46.18
$262.24
$67.98
$384.14
$503.66
$116.44
$153.86
$1,159.70
$1,239.68
$1,357.32
$7,238.28
$29.70
$10.80
$10.24
$6,020.00
$6,231.40
$33.32
$52.46
$8.24
$2.06
$12.58
$4.10
$3.34
$5.04
$5.04
$8.04
$134.78
$153.60
$279.46
$279.46
$211.40
$211.40
$211.40
$407.18
$718.20
$364.84
$25.20
$287.22
$287.22
$209.60
$315.86
$248.42



AT8

AT8K

AT8L
AT8LK
ATS-108
AU-250
BC14
BC18
BC24
BC30
BC36
BLL-200
BM.0331
CH1

CH2

CJ22

CJB

CJD3
CJD3BG
CJbD30
CJK

CJIXPJ
CKO6FT11
CKO6FT22
CLRA1
CLR-5
CLR-Q
CLS6022B
CM-1300
CM-1300-C
CM-1350
CM-1350-C
CM-1500
CM-1500-C
CM-1550
CM-1550-C
CM-330
CM-410
CM-450
CM-600
CM-600-C
CM-800
CM-800-C
CM-850
CM-850-C
CM-900
CM-900-C
CM-950
CM-950-C
CMA-40
CMA-60
CMAF-3000
CMAF-3000-C
CMGRT-100
CMGRT-100-C
CMI-100
CMI-100-C
CMI-200
CMI-200-C
CMP-200
CMP-200-C
CMT-60

ADAPTONER, 8 (AT8)
ADAPTONER KIT 8 POSITION (AT8K)
TONER,LAN (AT8L)

TONER KIT,LAN (AT8LK)

ADAPT, UCI ST

ADAPTER, UCI, UNIVERSAL 2.5MM
CUTTER, BOLT-14" STD

CUTTER, BOLT-18" STD

CUTTER, BOLT-24" STD

CUTTER, BOLT-30" STD

CUTTER, BOLT-36" STD
LOCATOR-BURIED LINE

WRENCH, BUSHING

AC CHARGER FOR 2003

DC CHARGER FOR 2003

JAW UNIT ASSY, CRIMPING (CJ22) SERVICE

JAW UNIT ASS'Y,CUTTING-PKGD (CJB)
JAW UNIT,CRIMPING (PKGD) (CJD3)
JAW UNIT,CRIMP (PKGD D3BG)

JAW UNIT,CRIMP (PKGD CJD30)

JAW UNIT, CRIMPER

JAW UNIT ASS'Y,CRIMPING (XPJ)
CRIMP TOOL, QUADPOINT-115V
CRIMP TOOL, QUADPOINT-230V
LUBE,CABLE-CLEAR 1-GALLON (CLR-1)
LUBE,CABLE-CLEAR 5-GALLON (CLR-5)
LUBE, CABLE-CLEAR 1-QUART(CLR-Q)
PUNCH DRIVER KIT, 230V MAINS DRV.
CLAMPMETER, AC (CM-1300)
CLAMPMETER, AC

CLAMPMETER, AC RMS (CM-1350)
CLAMPMETER, AC RMS
CLAMPMETER, AC/DC (CM-1500)
CLAMPMETER, AC/DC

CLAMPMETER, AC/DC RMS (CM-1550)
CLAMPMETER, AC/DC RMS
CLAMPMETER,400A AC (CM-330)
CLAMPMETER, 400A AC (CM-410)
CLAMPMETER, TRUE RMS AC (CM-450)
CLAMPMETER,600A AC (CM-600)
CLAMP METER-600AAC CALIB
CLAMPMETER, AC (CM-800)
CLAMPMETER, AC

CLAMPMETER, AC RMS (CM-850)
CLAMPMETER, AC RMS
CLAMPMETER,AC/DC (CM-900)
CLAMPMETER, AC/DC
CLAMPMETER,AC/DC RMS (CM-950).
CLAMPMETER, AC/DC RMS (CM-950-C)
ADAPTER, 400A AC CURRENT (CMA-40)

ADAPTER,CURRENT 600A AC/DC (CMA-60)
ADAPTER,CURRENT FLEX 24" 300/3KAAC

ADAPTER-CUR FLEX 24" 300/3KA CALIB
TESTER, GROUND ROD (CMGRT-100)
TESTER, GROUND ROD (CALIBRATED)

CLAMPMETER,TRMS 1000A AC/DC MN/MAX
CLAMP METER-TRMS 1000A AC/DC CALIB
CLAMP METER-TRMS 2000A AC (CMI-200)

CLAMP METER-TRMS 2000A AC CALIB

CLAMPMETER-TRMS 2000A PWR FACTOR
CLAMP METER-TRMS 2000A PWR FT CALIB

TESTER, 600V/200A (CMT-60)

$100.64
$212.46
$106.50
$220.72
$230.50
$287.22
$64.26
$78.12
$104.58
$133.56
$196.56
$2,268.94
$98.00
$50.26
$37.44
$653.80
$504.00
$642.60
$642.60
$642.60
$642.60
$642.60
$3,918.88
$3,918.88
$22.32
$71.04
$9.22
$2,679.04
$287.94
$456.66
$313.00
$482.92
$330.18
$500.46
$364.28
$535.72
$69.08
$113.56
$95.50
$125.78
$240.96
$185.72
$351.28
$211.90
$377.56
$245.60
$412.66
$271.04
$439.06
$119.38
$180.10
$724.54
$851.84
$3,524.00
$3,661.16
$485.02
$666.70
$666.70
$804.60
$1,221.50
$1,359.38
$108.02



CMT-60-C
CMT-80
CMT-90
CR100
CR25
CRM-1
CRM-5
CRM-Q
CS10

CS14

CS15

CS16

CS19
CS-2072
CS-8000
CSs9
CSJ-100
DBITKIT
DC1
DC1439
DDKIT-1-68
DM-100
DM-110
DM-20
DM-200A
DM-200A-C
DM-210A
DM-210A-C
DM-300
DM-300-C
DM-310
DM-310-C
DM-330
DM-330-C
DM-350
DM-350-C
DM-40
DM-510A
DM-510A-C
DM-60
DM-810A
DM-810A-C
DM-820A
DM-820A-C
DM-830A
DM-830A-C
DM-860A
DMF-450
DMF-500
DMF-700
DMHS-1
DML-430
DML-430A
DML-430A-C
DML-54
DMSC-2
DMSC-2U
DMSC-9
DMSC-9U
DTAP1/4-20
DTAP10-24
DTAP10-32

TESTER, 600V/200A (CALIBRATED)
TESTER, 600V/400A (CMT-80)
TESTER,ELECTRICAL 1000V 600A (CMT-90)
CABLE ROLLER,HEAVY DUTY (PKGD)
GUIDE,CABLE-PKGD

LUBE,CREAM-1 GALLON
LUBE,CREAM-5 GALLON
LUBE,CREAM-1 QUART

CHORD, PATCH (468)

ALLIGATOR CLIP CORD SET

AC OUTLET CORD SET FOR 508S (CS15)
TRANS CORD SET FOR 501 (CS16)

F CLIPS CORDSET FOR 402K (CS19)
BREAKER FINDER (CS-2072)

SEEKER, CIRCUIT

F TO F CORDSET FOR 401K (CS9)
CLAMPMETER,OPEN JAW (CSJ-100)
D'VERSIBIT KIT-TYPE "B" AUGER
BATTERY, 9VOLT

CHARGER, BATTERY (MIKITA DC1439)
DRILL DRIVER BIT KIT (POP)

DMM, 750VAC/1KVDC

DMM, 750VAC/1KVDC-RMS

DMM, 300V AC/DC (DM-20)

DMM, 1000V AC/DC (DM-200A)

DMM, 1KV AC/DC(DM-200A)(CALIB)
DMM, 1KV AC/DC,CAP,TEMP(DM-210A)
DMM, 1KV AC/DC(DM-210A)(CALIB)
DMM, 1000V RMS

DMM, 1000V RMS (CALIBRATED)

DMM, 1000V 10AAVG

DMM, 1000V 10A AVG (CALIBRATED)
DMM, 1000V 10A RMS (DM-330)

DMM, 1000V 10A RMS (CALIBRATED)
DMM, 1000V 10A RMS BL (DM-350)
DMM, 1000V 10A RMS BL (CALIBRATED)
MULTIMETER,DIGITAL-W/TEMP (DM-40)
DMM,TRMS,AC/DC,CAP, TEMP(DM-510A)
DMM, TRMS,AC/DC(DM-510A)(CALIB)
MM, 600V AC/DC (DM-60)
DMM,TRMS,AC/DC,CAP(DM-810A)
DMM,TRMS,AC/DC,(DM-810A)(CALIB)
DMM,TRMS, AC/DC,CAP,TEMP (DM-820A)
DMM, TRMS,AC/DC(DM-820A)(CALIB)
DMM, TRMS AC+DC,DUALTEMP(DM-830A)
DMM,TRMS AC+DC(DM-830A)(CALIB)
DMM 500K COUNTS (DM-860A)

FUSE PKG-15A,1000V

FUSE PKG-10A,250V

FUSE, PKG 0.63A 660V

STRAP, DMM HANGING (DMHS-1)
DMM,LOGGER-43000 POINTS (DML-430)
DMM,DLOG 43K, TRMS AC+DC(DML-430A)
DMM,DLOG 43K(DML-430A)(CALIB)
DMM, LOGGER, 5400 POINTS (DML-54)
INTERFACE-RS232, FOR DM2 (DMSC-2)
INTERFACE, KIT-USB (DMSC-2U)
CABLE/SOFTWARE (DMSC-9)
INTERFACE, KIT-USB (DMSC-9U)
DRILL/TAP,1/4-20

DRILL/TAP, 10-24

DRILL/TAP, 10-32

$284.74
$152.40
$277.76
$277.20
$145.60
$20.62
$81.56
$8.96
$8.54
$42.02
$16.72
$42.02
$20.50
$74.80
$1,129.42
$11.28
$151.86
$84.02
$3.06
$383.52
$71.98
$119.76
$142.46
$26.70
$115.50
$266.32
$149.28
$278.54
$118.74
$240.82
$134.66
$248.84
$165.38
$288.98
$196.16
$313.06
$47.40
$202.04
$319.12
$94.24
$257.62
$355.46
$278.40
$402.86
$342.76
$421.94
$450.00
$68.24
$15.00
$43.64
$22.28
$604.42
$391.12
$485.48
$453.34
$124.80
$98.86
$148.02
$123.82
$7.70
$7.70
$7.70



DTAP12-24
DTAP3/8-16
DTAP5/16-18
DTAPG-32
DTAP8-32
DTAPKIT
DTAPKITM
DTAPM10C
DTAPM3C
DTAPM4C
DTAPMSC
DTAPM6C
DTAPM8C
E12CCXL11
E12CCXL12
E12CCXL120
E12CCXL22
E12CCXL230
EAC18120
EAC18230
ECCXL11
ECCXL12
ECCXL120
ECCXL22
ECCXL230
EKOB6ATCL11
EKOGATCL12
EKO6ATCL120
EKO6ATCL22
EKO6ATCL230
EKOGATL11
EKOGATL12
EKO6ATL120
EKO6ATL22
EKOGATL230
EKOGFTL11
EKO6FTL12
EKO6FTL120
EKO6FTL22
EKO6FTL230
EK1230L11
EK1230L12
EK1230L120
EK1230L22
EK1230L230
EK1240CL11
EK1240CL12
EK1240CL120
EK1240CL22
EK1240CL230
EK1240KC11
EK1240KC12
EK1240KC22
EK1240KL11
EK1240KL12
EK1240KL120
EK1240KL22
EK1240KL230
EK1240L11
EK1240L12
EK1240L120
EK1240L22

DRILL/TAP, 12-24

DRILL/TAP, 3/8-16 (POP)

DRILL/TAP, 5/16-18 (POP)

DRILL/TAP, 6-32.

DRILL/TAP, 8-32.

DRILL/TAP KIT

DRILL/TAP KIT, METRIC (POP)

DRILL/TAP, M10 X 1.50 (POP)

DRILL/TAP, M3 X .50 (POP)

DRILL/TAP, M4 X .70 (POP)

DRILL/TAP, M5 X .80 (POP)

DRILL/TAP, M6 X 1.00 (POP)

DRILL/TAP, M8 X 1.25 (POP)

CCX, 12 TON BAT-120V CHRGR-E12CCXL11
CCX, 12 TON BAT-12V CHRGR-E12CCXL12
CCX, 12 TON-120V ADAPTER-E12CCXL 120V
CCX,12 TON BAT-230V CHRGR-E12CCXL22
CCX, 12 TON-230V ADAPTER-E12CCXL230V
ADAPTOR,AC - 120V TO 18V

ADAPTOR,AC - 230V TO 18V

CRIMP TOOL,GATOR PRO-LI BAT 120VCHRG
CRIMP TOOL,GATOR PRO-LI BAT 12VCHRG
CRIMP TOOL,GATOR PRO-120VAC ADPT
CRIMP TOOL,GATOR PRO-LI BAT 230VCHRG
CRIMP TOOL,GATOR PRO-230VAC ADPT
CRIMP TOOL, INSUL DIELESS AT BAT 120V CH
CRIMP TOOL,INSUL DIELESS AT BAT 12V CHRG
CRIMP TOOL,INSUL DIELESS AT 120V AC ADPT
CRIMP TOOL, INSUL DIELESS AT BAT 230V CH
CRIMP TOOL,INSUL DIELESS AT 230V AC ADPT
CRIMP TOOL, DIELESS AT BAT 120V CHRGR
CRIMP TOOL, DIELESS AT BAT 12V CHRGR
CRIMP TOOL, DIELESS AT 120V AC ADAPTER
CRIMP TOOL, DIELESS AT BAT 230V CHRGR
CRIMP TOOL, DIELESS AT 230V AC ADAPTER
CRIMP TOOL, DIELESS FT BAT 120V CHRGR
CRIMP TOOL, DIELESS FT BAT 12V CHRGR
CRIMP TOOL, DIELESS FT 120V AC ADAPTER
CRIMP TOOL, DIELESS FT BAT 230V CHRGR
CRIMP TOOL, DIELESS FT 230V AC ADAPTER
CRIMP TOOL, BAT 30MM 12T 120V CHRGR
CRIMP TOOL, BAT 30MM 12T 12V CHRGR
CRIMP TOOL, 30MM 12T 120V AC ADAPTER
CRIMP TOOL, BAT 30MM 12T 230V CHRGR
CRIMP TOOL, 30MM 12T 230V AC ADAPTER
CRIMP TOOL, BAT 42MM 12T PVC 120V CHRGR
CRIMP TOOL, 12T-LI BAT 12V CHRG

CRIMP TOOL, 12T-120VAC ADPT

CRIMP TOOL, 12T-LI BAT 230V CHRG

CRIMP TOOL, 12T-230VAC ADPT
CRIMPER,BAT-KEARNY 120V CHG PVC COV
CRIMPER,BAT-KEARNY 12V CHG PVC COV
CRIMPER,BAT-KEARNY 220V CHG PVC COV
CRIMP TOOL,K12T-LI BAT 120V CHRG

CRIMP TOOL,K12T-LI BAT 12V CHRG

CRIMP TOOL,K12T-120VAC ADPT

CRIMP TOOL,K12T-LI BAT 230V CHRG

CRIMP TOOL,K12T-230VAC ADPT

CRIMP TOOL, 12T-LI BAT 120V CHRG

CRIMP TOOL, 12T-LI BAT 12V CHRG

CRIMP TOOL, 12T-120VAC ADPT

CRIMP TOOL, 12T-LI BAT 230V CHRG

$7.70
$8.48
$8.48
$7.70
$7.48
$42.48
$43.76
$8.70
$8.70
$8.70
$8.70
$8.70
$8.70
$6,035.40
$6,079.50
$5,821.20
$6,035.40
$5,821.20
$422.10
$422.10
$3,926.16
$3,970.26
$3,711.96
$3,926.16
$3,711.96
$4,973.66
$5,018.40
$4,826.52
$4,973.66
$4,826.52
$4,655.20
$4,699.96
$4,437.78
$4,655.20
$4,437.78
$5,414.86
$5,459.64
$5,197.44
$5,414.86
$5,197.44
$4,997.16
$5,041.26
$4,782.96
$4,997.16
$4,782.96
$5,817.42
$5,861.52
$5,603.22
$5,817.42
$5,603.22
$5,789.08
$5,834.96
$5,789.08
$5,464.62
$5,508.72
$5,250.42
$5,464.62
$5,250.42
$5,464.62
$5,508.72
$5,250.42
$5,464.62



EK1240L230
EK12IDL11
EK12IDL12
EK12IDL120
EK12IDL22
EK12IDL230
EK12T
EK1550L11
EK1550L12
EK1550L120
EK1550L22
EK1550L230
EK210L11
EK210L12
EK210L120
EK210L22
EK210L230
EK410L11
EK410L12
EK410L120
EK410L22
EK410L230
EK622L11
EK622L12
EK622L120
EK622L22
EK622L230
EK628L11
EK628L12
EK628L120
EK628L22
EK628L230
EL122/32
EML100
EML-100CE
ES100011
ES100022
ES20L11
ES20L12
ES20L22
ES2511
ES2522
ES32FL11
ES32FL12
ES32FL120
ES32FL22
ES32FL230
ES32L
ES32L12
ES32L120
ES32L22
ES32L230
ES750-11
ES750-22
ESC10511
ESC10512
ESC10522
ESC85L11
ESC85L120
ESC85L230
ESG25L11
ESG25L12

CRIMP TOOL, 12T-230VAC ADPT

CRIMPING TOOL, DIELESS 12T-LI BAT 120V C
CRIMPING TOOL, DIELESS 12T-LI BAT 12V CH
CRIMPING TOOL, DIELESS 12T-120VAC ADPT
CRIMPING TOOL, DIELESS 12T-LI BAT 230V C
CRIMPING TOOL, DIELESS 12T-230VAC ADPT
CASE, METAL-EK12T

CRIMP TOOL, BAT 15T 120V CHRGR

CRIMP TOOL, BAT 15T 12V CHRGR

CRIMP TOOL, 15T 120V AC ADAPTER

CRIMP TOOL, BAT 15T 230V CHRGR

CRIMP TOOL, 15T 230V AC ADAPTER

CRIMP TOOL, BAT 1.5T 120V CHRGR

CRIMP TOOL, BAT 1.5T 12V CHRGR

CRIMP TOOL, 1.5T 120V AC ADAPTER

CRIMP TOOL, BAT 1.5T 230V CHRGR

CRIMP TOOL, 1.5T 230V AC ADAPTER

CRIMP TOOL, BAT 4T 120V CHRGR

CRIMP TOOL, BAT 4T 12V CHRGR

CRIMP TOOL, 4T 120V AC ADAPTER

CRIMP TOOL, BAT 4T 230V CHRGR

CRIMP TOOL, 4T 230V AC ADAPTER

CRIMP TOOL, BAT 6T 120V CHRGR

CRIMP TOOL, BAT 6T 12V CHRGR

CRIMP TOOL, 6T 120V AC ADAPTER

CRIMP TOOL, BAT 6T 230V CHRGR

CRIMP TOOL, 6T 230V AC ADAPTER

CRIMP TOOL, BAT 6T 120V CHRGR

CRIMP TOOL, BAT 6T 12V CHRGR

CRIMP TOOL, 6T 120V AC ADAPTER

CRIMP TOOL, BAT 6T 230V CHRGR

CRIMP TOOL, 6T 230V AC ADAPTER
HYDRAULIC FLUID, BIODEGRADABLE
MARKER/LOCATOR, ELECTRONIC (EML100)
LOCATOR ASSEMBLY,BURIED MARKER-PKG
CUTTER,W/120V CHARGER

CUTTER,W/220V CHARGER

CUTTER,ACSR 120V CHARGER
CUTTER,ACSR 12V CHARGER
CUTTER,ACSR 230V CHARGER
CUTTER,ACSR-W/120V CHARGER (ES25-11)
CUTTER,ASCR-W/220V BATTERY (ES25-22)
CUTTER, CABLE BAT 120V CHRGR

CUTTER, CABLE BAT 12V CHRGR

CUTTER, CABLE 120V AC ADAPTER
CUTTER, CABLE BAT 230V CHRGR

CUTTER, CABLE 230V AC ADAPTER
CUTTING TOOL, 1.5T (ES32L)

CUTTER, CABLE BAT 12V CHRGR

CUTTER, CABLE 120V AC ADAPTER
CUTTER, CABLE BAT 230V CHRGR

CUTTER, CABLE 230V AC ADAPTER

CUTTER KIT-120V BATTERY

CUTTER KIT-220V BATTERY
CUTTER,SCISSORS-105mm BAT (ESC10511)
CUTTER,SCISSORS-105mm BAT (ESC105-12)
CUTTER,SCISSORS-105mm BAT (ESC105-22)
CUTTER, CABLE BAT 120V CHRGR

CUTTER, CABLE 120V AC ADAPTER
CUTTER, CABLE 230V AC ADAPTER
CUTTING TOOL, 120V CHRGR

CUTTING TOOL, 12V CHRGR

$5,250.42
$5,646.06
$5,690.16
$5,431.86
$5,646.06
$5,431.86
$331.56
$6,297.48
$6,341.58
$5,959.80
$6,297.48
$5,959.80
$1,752.66
$1,796.76
$1,601.46
$1,752.66
$1,601.46
$2,037.42
$2,068.92
$1,886.22
$2,037.42
$1,886.22
$3,310.02
$3,354.12
$3,158.82
$3,310.02
$3,158.82
$2,368.80
$2,412.90
$2,217.60
$2,368.80
$2,217.60
$36.12
$1,094.66
$1,094.66
$1,883.70
$1,883.70
$2,778.30
$2,822.40
$2,778.30
$2,843.82
$2,843.82
$1,927.80
$1,971.90
$1,713.60
$1,927.80
$1,713.60
$1,605.24
$1,965.60
$1,770.30
$1,921.50
$1,770.30
$1,606.50
$1,606.50
$5,213.88
$5,257.98
$5,213.88
$5,022.36
$4,808.16
$4,808.16
$3,420.90
$3,452.40



ESG25L22
ESGA45EF
ESG45ESI
ESG45L11
ESG45L12
ESG45L120
ESG45L22
ESG45L230
ESG50EF1
ESG50ES
ESG50L11
ESG50L12
ESG50L120
ESG50L22
ESG50L230
ESG55L11
ESG55L12
ESG55L22
ESG85EF
ESG85ES
ESP710L11
ESP710L12
ESP710L120
ESP710L22
ESP710L230
ETS12L
ETS12L11
ETS12L12
ETS12L120
ETS12L22
ETS12L230
ETS8L11
ETS8L12
ETS8L120
ETS8L22
ETS8L230
EXT-3
F016733
F017344
F021406
F021627
F022061
F13K-106
F23K-106
FIBR-5
FIBR-Q
FL2AA
FL2AAAP
FL2AAAPM
FL2AAF
FL2C

FL2D
FL4AAP
FL4AAP-HM
FL4AAP-PCH
FLHEAD
FP12

FP18

FP24
FP2K-106
FP3
FP36-110-03

CUTTING TOOL, 230V CHRGR

BLADE, STATIONARY

BLADE, CUTTING

CUTTER, CABLE BAT 120V CHRGR
CUTTER, CABLE BAT 12V CHRGR
CUTTER, CABLE 120V AC ADAPTER
CUTTER, CABLE BAT 230V CHRGR
CUTTER, CABLE 230V AC ADAPTER
HEAD,CUTTING

BLADE,CUTTING

CUTTER, CABLE BAT 120V CHRGR
CUTTER, CABLE BAT 12V CHRGR
CUTTER, CABLE 120V AC ADAPTER
CUTTER, CABLE BAT 230V CHRGR
CUTTER, CABLE 230V AC ADAPTER
CUTTER, CABLE BAT 120V CHRGR
CUTTER, CABLE BAT 12V CHRGR
CUTTER, CABLE BAT 230V CHRGR
BLADE ASSEMBLY, FIXED
BLADE,MOVEABLE

PUNCH, STUD BAT 120V CHRGR

PUNCH, STUD BAT 12V CHRGR

PUNCH, STUD 120V AC ADAPTER
PUNCH, STUD BAT 230V CHRGR

PUNCH, STUD 230V AC ADAPTER
CUTTER, BOLT & LOCK (ETS12L)
CUTTER, BOLT & LOCK BAT 120V CHRGR
CUTTER, BOLT & LOCK BAT 12V CHRGR
CUTTER, BOLT & LOCK 120V AC ADPATER
CUTTER, BOLT & LOCK BAT 230V CHRGR
CUTTER, BOLT & LOCK 230V AC ADPATER
CUTTER, CABLE TRAY BAT 120V CHRGR
CUTTER, CABLE TRAY BAT 12V CHRGR
CUTTER, CABLE TRAY 120V AC ADAPTER
CUTTER, CABLE TRAY BAT 230V CHRGR
CUTTER, CABLE TRAY 230V AC ADAPTER

1/4" HEX MAGNET EXTENSION REPLACEMENT (P

PIN,DOWEL (.250X.500)

SCREW-CAP #10-24X.500 SKT HD BK-0X
COVER,DUST (PLASTIC)
COUPLER-HYD PARKER #3050-3PH FEM
COUPLER-HYD MALE 3/8-18 NPTF
FOPRO, 1.25 ST MM62.5
FOPRO, 1.57 ST MM62.5
LUBE,FIBER GEL 5-GAL PAIL (FIBR-5)
LUBE,FIBER GEL 1-QT (FIBR-Q)
FLASHLIGHT,ALUMINUM,2AA,LED
FLASHLIGHT,POCKET,2AAA,LED
FLASHLIGHT,MINIPOCKET,2AAA,LED
FLASHLIGHT,FLEXIBLE (POP)
FLASHLIGHT,ALUMINUM,2C,LED
FLASHLIGHT,ALUMINUM,2D,LED
FLASHLIGHT,4AA,LED

HELMET MOUNT ACCESSORY (FL4AAP)
POUCH,NYLON BELT (FL4AAP)

HEAD LAMP

FISHPOLE,12'-POP (FP12)

POLE, FISH-18'

POLE,FISH-24'

FOPRO, 2.5 FC MM62.5

WIRE REACHER (36") - FISH POLE (3')
FOPRO, 2.5 STPC MM100

$3,420.90
$374.32
$334.84
$4,725.00
$4,769.10
$4,510.80
$4,725.00
$4,510.80
$546.00
$214.16
$3,530.52
$3,574.62
$3,316.32
$3,530.52
$3,316.32
$5,405.40
$5,449.50
$5,405.40
$476.00
$728.00
$3,303.16
$3,349.04
$3,080.34
$3,303.16
$3,080.34
$1,403.64
$1,911.00
$1,960.00
$1,743.00
$1,911.00
$1,743.00
$1,659.00
$1,708.00
$1,491.00
$1,659.00
$1,491.00
$5.36
$1.68
$1.20
$10.20
$95.76
$47.52
$349.58
$349.58
$73.02
$9.72
$20.10
$29.92
$28.68
$20.24
$41.98
$51.58
$87.58
$21.58
$21.58
$71.98
$71.70
$109.80
$185.84
$349.58
$20.98
$349.58



FP3K-105
FS439-100
FTF540-100
FTF540-50
FTFS439-100
FTFS439-50
FTN536-100
FTN536-50
FTS438-125
FTS438-125BP
FTS438-240
FTS438-240BP
FTS438-65
FTS438-65BP
FTS438DL-150
FTS438DL-250
FTS438W-100
FTSS438-100
FTSS438-200
GEL-1

GEL-5

GEL-Q

GS1

GT-10
GT-10GFI
GT-11CS
GT-12

GT-15

GT-16
GT-220
GT-540
GT-65

GT-95
HB.10015
HB.10018
HB.10452
HB.10907
HB.10988
HB.11272
HB.13400
HB.3072
HB.3504
HB.3508
HB.3602
HB.3664
HB.3666
HB.3668
HB.4003
HB.4005
HB.4019
HB.4020
HB.4022
HB.4053
HB.6030
HB.6043
HB.6320
HB.6713
HB.6856
HB.6857
HB.6858
HB.7001
HB.7003

FOPRO, 2.5 ST MM50

FISHTAPE,FLEX STEEL-100' DBL TIP NO CASE
FISHTAPE,FIBERGLASS-.175" X 100"
FISHTAPE,FIBERGLASS-.175" X 50'
FISHTAPE,FLEXIBLE STEEL-100'
FISHTAPE,FLEXIBLE STEEL-50'
FISHTAPE,NYLON-100'
FISHTAPE,NYLON-50'
FISHTAPE,STEEL-125'
FISHTAPE,STEEL-125' (BULK PACK)
FISHTAPE,STEEL-240'
FISHTAPE,STEEL-240' (BULK PACK)
FISHTAPE,STEEL-65'
FISHTAPE,STEEL-65' (BULK PACK)
FISHTAPE, STEEL-150' W/LEADER
FISHTAPE, STEEL-250' W/LEADER
FISHTAPE,STEEL-1/4"X100'
FISHTAPE,STAINLESS STEEL-100'
FISHTAPE,STAINLESS STEEL-200'
LUBE,GEL-1 GALLON

LUBE,GEL-5 GALLON

LUBE,GEL-1 QUART

GROUND STAKE

CUBE,POLARITY (GT-10)
TESTER,CIRCUIT-GFI (GT-10GFI)
DETECTOR, NON CONTACT-CS (GT-11CS)
DETECTOR,VOLTAGE NON-CONTACT (GT-12)
DETECTOR, NON CONTACT (12-90V) (GT-15)
DETECTOR, VOLTAGE -ADJUSTABLE (GT-16)
TESTER, ELECTRICAL-1000 V (GT-220)
TESTER, ELECTRICAL-1000 V (GT-540)
TESTER, VOLTAGE (GT-65)

TESTER, VOLTAGE-LCD GFCI (GT-95)
HOUSING UNIT

HOUSING UNIT (EK12IDL)
.COVER,JAW -SET (CJ0/CJD3)
COVER,JAWSET (CJK)

PIVOT

COVER,JAW SET

SWITCH AND LEVER KIT

HANDLE SUPPORT

PUMP & MOTOR

PUMP & MOTOR

PACKING KIT

RELIEF VALVE ASSM

SEAL KIT

DIE RELEASE KIT

SEAL KIT (ESG50GL)

GEAR,MOTOR AND PINION

INTAKE ASSM

PUMP HOUSING

HOUSING-PUMP

ADAPTER-W DIE

C-HEAD ASSEMBLY (ESP710)

DIE ASSY,SNAP-IN

HEAD & LATCH ASSEMBLY
CASE,STEEL - W/FOAM INSERTS
BLADE KIT

PIN KIT

ATTACHMENT BLOCK KIT

HEAD & RAM ASSY
CARTRIDGE,PRESSURE ADJ

$349.58
$148.44
$255.14
$172.36
$194.82
$121.34
$134.36
$92.70
$72.86
$57.82
$100.92
$80.10
$47.24
$37.48
$85.90
$107.44
$85.74
$88.16
$115.10
$20.62
$75.64
$8.74
$21.02
$9.88
$16.82
$19.70
$23.96
$22.32
$28.16
$99.46
$126.44
$70.70
$107.22
$84.96
$86.08
$27.28
$27.28
$12.98
$27.28
$41.42
$50.40
$1,155.74
$952.00
$226.50
$259.02
$167.00
$48.04
$31.12
$75.60
$35.00
$329.00
$629.36
$96.26
$1,703.78
$272.98
$56.38
$343.00
$883.38
$85.40
$110.60
$2,006.20
$238.86



HB.7015
HB.7019
HB.7085
HB.7204
HB.7594
HB.7595
HB.7596
HB.7650
HB.7689
HB.7695
HB.7808
HB.7833
HB.7834
HB.7838
HB.7839
HB.7840
HB.7841
HB.7842
HB.7845
HB.7846
HB.7850
HB.7851
HB.7852
HB.7853
HB.7854
HB.7855
HB.7856
HB.7857
HB.7858
HB.7859
HB.7870
HB.7872
HB.7873
HB.7885
HB.7924
HB.7925
HB.7930
HB.7931
HB.7940
HB.7958
HB.7975
HB.7978
HB.8002
HB.8004
HB.8025
HB.8029
HB.8087
HB.8088
HB.8112
HB.8411
HB.8412
HB.8414
HB.8415
HB.8421
HB.9007
HB.9008
HB.9012
HB.9013
HB.9032
HB.9033
HB.9034
HB.9035

YOKE ASSM-CAM
HEAD & RAM ASS'Y,CABLE CUTTER
CUTTING HEAD

MOTOR & PINION

DECAL KIT (ESC105)

SEAL KIT

SOLENOID KIT

SEALKIT

HEAD/RAM UNIT ASSY

HEAD RAM UNIT (PVC COVERED)
o]

SEALKIT

SEALKIT

PISTON & SPRING KIT (ESP710)
MOTOR-GEARBOX ASSEMBLY
RESERVOIR KIT,130ML
ECCENTRIC BEARING KIT
ECCENTRIC KIT

DECAL KIT,MINI GATOR
RESERVOIR KIT,MINI

RELIEF LEVER KIT

DIE HOLDER KIT (EK210L)

RAM KIT (EK410L)

HARDWARE KIT (EK410L)

DIE HOLDER KIT (EK622L)

PIN KIT (EK622L)

DIE RETAINER KIT (EK622L)

RAM KIT (ES32L)

BLADE KIT (ES32L)

HARDWARE KIT (ES32L)

SEAL KIT

BEARING/RETAINER KIT

SEALKIT

SEALKIT

KIT, SEAL

KIT, SEAL

SEALKIT (HCCX)

KIT, SEAL

SEAL KIT, F/HKO622GL BODY

KIT, SEAL

COVER SET-HEAD W/DECALS
COATED HEAD COVER W/DECAL
YOKE ASSY, CAM

YOKE ASSY, CAM

CLIP KIT,RETAINING

SEAL KIT

LATCH KIT,HEAD

HEAD SET (PVC COVERED)

DIE PIN KIT, "W" STYLE DIES

PUMP HOUSING KIT,2 SPEED
PUMP HOUSING KIT,2 SPEED
PUMP HOUSING KIT,2 SPEED
PUMP HOUSING KIT,2 SPEED
PUMP HOUSING KIT,2 SPEED
HOUSING KIT

KIT, GREEN HOUSING-CORDED
HOUSING UNIT,GREEN-12V (200ML)
HOUSING UNIT,GREEN-CORDED (200ML)
RESERVOIR ASSY, PUMP HOUSING
RESERVOIR ASSY, PUMP HOUSING
PUMP HOUSING/RESERVOIR ASSY
RESERVOIR ASS'Y, PUMP HSG.

$511.00
$1,863.48
$2,134.16
$69.74
$15.40
$121.32
$105.04
$41.82
$969.20
$414.60
$27.28
$79.86
$35.70
$828.82
$189.00
$25.20
$63.70
$155.64
$26.60
$31.28
$12.64
$274.52
$83.80
$31.78
$13.00
$23.12
$104.02
$176.26
$216.72
$67.90
$27.78
$89.38
$77.70
$58.80
$104.66
$178.80
$31.98
$57.32
$30.40
$27.50
$987.00
$423.82
$400.66
$408.68
$27.30
$38.50
$247.56
$501.48
$37.24
$448.02
$435.88
$370.98
$381.10
$460.16
$228.38
$152.26
$166.66
$113.22
$357.00
$625.44
$688.28
$424.20



HB.9036
HB.9037
HB.9038
HB.9042
HB.9050
HB.9051
HB.9052
HB.9053
HB.9070
HB.9080
HB.9081
HB.9084
HB.9089
HB.9110
HB.9111

HB.9112
HB.9120
HB.9128
HB.9150
HB.9151
HB.9152
HB.9155
HB.9156
HB.9158
HB.9165
HB.9201
HB.9300
HB.9301
HB.9302
HB.9307
HB.9509
HB.9515
HB.9516
HB.9517
HB.9518
HB.9521
HB.9523
HB.9595
HB.9624
HB.9627
HB.9698
HB.9716
HB.9804
HB.9808
HB.9816
HB.9818
HB.9821
HB.9842
HB.9845
HB.9856
HB.9864
HB.9881
HB.9882
HB.9885
HB.9897
HB.9905
HB.9906
HB.9908
HB.9914
HB.9915
HB.9952
HB.9954

RESERVOIR ASSY, PUMP HOUSING
BASE,PUMP HOUSING

RESERVIOR ASS'Y,PUMP HOUSING (200ML)
RESERVIOR ASS'Y,PUMP HOUSING
MOTOR ASSEMBLY

MOTOR ASSY, 230 VOLT

MOTOR ASSY, 115 VOLT

MOTOR ASS'Y

RELIEF VALVE ASSEMBLY (EK12IDL)
VALVE ASSEMBLY,UNLOADING
VALVE ASSEMBLY, RELIEF
CARTRIDGE,PRSSURE REL VALVE (ESN50)
VALVE ASSEMBLY,UNLOADING
PISTON ASSEMBLY

PUMP ASS'Y, PISTON

PISTON ASSEMBLY

LEVER ASSY,RELEASE

SPRING KIT

PUMP HOUSING UNIT (EK12IDL)
HOUSING UNIT,PUMP

PUMP HOUSING UNIT (ECCXL)
HOUSING UNIT,PUMP

HOUSING UNIT,PUMP

HOUSING UNIT,PUMP

LEVER, RELIEF VALVE

HOUSING KIT, GREEN

HOUSING ASSY, BLUE

HOUSING ASSY, GREEN

HOUSING ASSY, BLACK

HOUSING KIT,SPARE PART
RESERVOIR KIT, 200 ML

VALVE UNIT ASSY,RELIEF
HOUSING UNIT ASSY,PUMP
HOUSING UNIT ASSY,PUMP
MOTOR ASSY

HEAD UNIT ASSEMBLY

PUMP ASSY,PISTON

MOTOR ASSEMBLY (EK12IDL)
HOUSING UNIT ASSY,BLUE
HOUSING UNIT ASSY, GREEN
HOUSING UNIT,GREEN W/RING
HEAD ASSY,FLIP TOP-QUAD POINT
HEAD COVER KIT, SERVICE

HEAD ASSY, CUTTER (ESC85)
HANDLE ASSEMBLY,PUMP

HEAD UNIT ASSY

PISTON & SEAL KIT

HEAD ASSEMBLY (ETS12)

FILTER

REPAIR KIT, HEAD ASSEMBLY (ETS8)
CUTTER BLADE KIT (ETS12)
ROLLER KIT

JAW PIVOT KIT

LATCH KIT

KIT,DIE RETAINING PIN

VALVE ASSEMBLY,RETRACTION STOP
RETRACTION STOP UPGRADE ASSEMBLY
GEARBOX

MOTOR ASSEMBLY

RAM UNIT

HOUSING UNIT,PUMP
HOUSING,PUMP

$375.00
$352.92
$392.00
$165.36
$543.38
$383.62
$346.70
$377.54
$111.58
$178.48
$184.92
$217.00
$166.64
$142.92
$192.50
$157.88
$53.20
$35.00
$539.00
$355.06
$507.12
$547.62
$450.24
$693.24
$66.66
$44.80
$133.14
$92.40
$54.60
$2.82
$26.60
$147.58
$360.94
$350.50
$201.60
$483.16
$109.08
$328.98
$93.80
$105.86
$127.60
$1,554.00
$593.52
$1,915.12
$214.46
$389.22
$46.50
$288.40
$35.00
$91.30
$226.40
$29.40
$26.60
$33.60
$40.58
$350.00
$324.04
$175.32
$155.80
$166.64
$424.36
$362.20



HB.9955
HB.9964
HB.9982
HB.9983
HB.9984
HB.9987
HB.9991
HDBC24
HDBC30
HDBC36
HDBC42
HDE36
HDFBC18
HDFBC24
HDFBC30
HDFBC36
HE.10079
HE.10084
HE.10096
HE.10097
HE.10115
HE.10117
HE.10119
HE.10120
HE.10121
HE.10124
HE.10128
HE.10215
HE.10281
HE.10290
HE.10310
HE.10313
HE.10314
HE.10315
HE.10316
HE.10317
HE.10325
HE.10328
HE.10381
HE.10382
HE.10410
HE.10427
HE.10448
HE.10564
HE.10784
HE.10786
HE.10788
HE.10789
HE.10790
HE.10791
HE.10793
HE.11282
HE.11849
HE.11886
HE.11954
HE.12094
HE.12289
HE.12300
HE.12942
HE.13001
HE.13050
HE.13061

HOUSING,PUMP
PUMP BLOCK

HOUSING UNIT

HOUSING UNIT

HEAD & RAM UNIT

HOUSING UNIT

VALVE UNIT ASSEMBLY,RELIEF
CUTTER, BOLT-24" HD
CUTTER, BOLT-30" HD
CUTTER, BOLT-36" HD
CUTTER, BOLT-42" HD
CRIMPING TOOL (DANIELS HDE36)
CUTTER, BOLT-18" HD FIBERGLASS
CUTTER, BOLT-24" HD FIBERGLASS
CUTTER, BOLT-30" HD FIBERGLASS
CUTTER, BOLT-36" HD FIBERGLASS
POWER CORD, 115 VOLT
HEAD,FIXED (PVC COVERED)
SPRING, EXTENSION (EK425)
PIN (EK425)

BLADE

LINK

GUIDE,BLADE
BLOCK,BEARING

ROD,PISTON
PIN,CLEVIS-BLADE

STUD

DIE HOLDER

PIN,RELEASE

HEAD,CUTTER (ETS8)
HANDLE

NUT,HEX-M16X1,5
BLADE,MOVABLE
BLADE,FIXED
HEAD,ALUMINUM

PISTON

LEVER,RELEASE
PIN,LOCKING
HOLDER,DIE-TOP
HOLDER,DIE-BOTTOM

JAW HOLDER

BOLT,PIVOT

HANDLE

SPRING,EXTENSION

HEAD, CUTTING

PLATE, GUIDE

PLATE, BRACE

PIN, PULL

SLEEVE

PIN

PLATE, SIDE

SWITCH,W/LED
SCREW,SET,CUP POINT
DECAL,TECH DATA (ETS12)
DECAL,RETRACTION STOP
CUP, SPRING

HOUSING,DISC

MOTOR
RESERVOIR,HYDRAULIC
RESERVOIR

SHEATH

SENSOR

$336.40
$217.00
$94.20
$96.16
$1,257.54
$110.96
$58.78
$189.00
$224.28
$268.38
$326.34
$1,858.00
$166.32
$197.82
$233.10
$278.46
$43.14
$336.54
$5.60
$3.50
$399.00
$44.80
$143.24
$183.66
$33.66
$54.60
$13.94
$214.14
$8.40
$124.52
$25.20
$4.12
$172.56
$172.56
$131.62
$87.34
$6.40
$3.20
$268.10
$264.68
$44.92
$10.10
$70.82
$5.50
$273.00
$220.18
$220.18
$41.82
$31.82
$61.80
$81.20
$71.38
$1.52
$10.10
$19.60
$43.40
$7.04
$48.74
$23.12
$17.38
$5.60
$289.34



HE.13093
HE.13161
HE.13166
HE.13167
HE.13168
HE.13480
HE.13481
HE.13482
HE.13486
HE.13493
HE.13511
HE.13696
HE.13701
HE.13730
HE.3004
HE.3036
HE.3075
HE.3076
HE.3086
HE.3087
HE.3088
HE.3089
HE.3091
HE.3092
HE.3096
HE.3153
HE.3209
HE.3692
HE.3781
HE.3782
HE.3827
HE.3828
HE.3829
HE.3830
HE.3831
HE.3832
HE.3833
HE.3836
HE.3838
HE.3839
HE.3840
HE.3842
HE.3843
HE.3845
HE.3846
HE.3847
HE.3849
HE.3850
HE.3851
HE.3852
HE.3855
HE.3856
HE.3858
HE.3859
HE.3861
HE.3862
HE.3864
HE.3865
HE.3866
HE.3867
HE.3868
HE.3870

BOARD,CONTROL

CONTROL BOARD (EK425L, EK628L)
CONTROL BOARD (ETSS8L, ETS12L, ES32L)

CONTROL BOARD (EK410L)
CONTROL BOARD (EK210L)
CLAMP (10 PACK)

CONTROL BOARD (ECCXL)
CONTROL BOARD (EK12IDL)
RESERVOIR

CONTROL BOARD
CONTROL BOARD
CONTROL BOARD
CONTROL BOARD

CONTROL BOARD (ESCL, ESGL, ESPL)
SCREW,SKT HD CAP - M6 X 20

SCREW
HANDLE

SCREW M8X120
PIVOT BOLT
WASHER, LOCK
NUT

PIN

PIN

LINK

SEAL

WASHER
TIE,RING
TIE,CABLE
SPACER

WASHER

RETURN SPRING
PISTON

RING,BU (HE.3829)
O-RING
RETAINING RING
PIN

PIN

PISTON

O-RING

RING,BU (HE.3839)
O-RING

O-RING

O-RING

SPRING

SPRING HOLDER
BALL 4.75MM
BALL 3.15MM
PUMP BODY
RELEASE LEVER
RELIEF VALVE
SPRING

PIN

VALVE STEM
VALVE STEM STOP
BALL 3.95MM
SPRING

SPRING

RELIEF ADJUSTING SCREW
OIL FILTER
O-RING
RESERVOIR
RESERVOIR PLUG

$375.40
$404.54
$503.02
$503.02
$503.02
$75.12
$413.00
$413.00
$26.02
$503.92
$503.92
$517.82
$584.38
$426.22
$1.58
$3.36
$71.02
$6.36
$95.74
$5.64
$7.84
$11.20
$16.80
$64.88
$16.80
$2.80
$2.80
$2.80
$18.72
$2.40
$62.48
$240.62
$84.06
$19.58
$12.22
$42.00
$40.60
$224.00
$14.60
$54.06
$17.84
$16.26
$16.26
$43.22
$44.46
$7.96
$7.96
$941.84
$159.28
$39.64
$7.96
$7.96
$36.40
$33.60
$7.96
$50.44
$39.64
$50.40
$19.60
$18.20
$67.20
$54.06



HE.3871
HE.3872
HE.3873
HE.3875
HE.3876
HE.3877
HE.3878
HE.3905
HE.3911
HE.3990
HE.4002
HE.4006
HE.4008
HE.4009
HE.4010
HE.4011
HE.4012
HE.4013
HE.4014
HE.4020
HE.4023
HE.4024
HE.4028
HE.4029
HE.4030
HE.4033
HE.4036
HE.4040
HE.4041
HE.4043
HE.4044
HE.4046
HE.4047
HE.4049
HE.4055
HE.4056
HE.4057
HE.4058
HE.4062
HE.4064
HE.4065
HE.4066
HE.4067
HE.4070
HE.4073
HE.4074
HE.4078
HE.4079
HE.4081
HE.4090
HE.4092
HE.4095
HE.4098
HE.4099
HE.4110
HE.4120
HE.4130
HE.4131
HE.4134
HE.4135
HE.4136
HE.4138

HANDLE SLEEVE
HANDLE

GRIP

SCREW

PRES ADJUSTING SCREW
SPRING

PINTAL

SCREW FILLISTER HEAD
ROTATION STOP
SCREW,PAN HEAD M6X16
RESERVOIR PLUG
SPRING

O-RING, 28,17X3,53 NB70
O-RING,NEEDLE VALVE
O-RING PUMP PISTON
RING,BU (HE.4011)
RING,BU-PISTON (HE.4012)
RAM RETURN SPRING
SPRING PUMP

RAM

PRESSURE RELIEF
PLUG

WASHER

PIN

PIN

PUMP PISTON

FEEDING TUBE
RESERVOIR-HYDRAULIC
NEEDLE VALVE

BALL BEARING

SPRING PRES. RELIEF
01SCREW FLAT HEAD
SCREW,FHSCS-M3X6
SCREW FILLISTER HEAD
SCREW

NUT

COVER, SWITCH (RED)
SPRING

BATTERY CONTACTS
SCREW 3.9X16MM
SCREW 3.9X19MM
SCREW 3.9X25MM
SCREW 3.9X38MM
BUSHING-LED

BUSHING, THREADED
O-RING

GEARBOX

O-RING RESERVOIR
SPACER

CHARGER,12V (115V)
THREADED BUSHING
CONNECTOR

SWITCH

GROUND STRAP
CAPACITOR
SCREW,GEARBOX

DIE RETAINER
SCREW-SOCKET HEAD
RETAINING RING
FILLISTER HEAD SCREW

METAL BOX FOR BATTERY TOOLS

GROOVED BALL BEARING

$247.80
$159.28
$67.26
$5.70
$16.26
$48.04
$86.96
$2.68
$51.64
$2.80
$17.66
$7.00
$7.06
$2.80
$10.56
$9.64
$16.80
$19.60
$6.40
$85.84
$32.08
$19.24
$8.02
$11.20
$17.42
$33.66
$19.24
$40.86
$53.20
$44.80
$19.60
$1.70
$1.70
$1.02
$2.80
$2.80
$6.42
$2.80
$30.80
$5.60
$2.80
$2.80
$2.80
$2.80
$80.22
$6.40
$222.60
$4.20
$19.24
$296.44
$80.22
$10.56
$44.92
$2.80
$5.60
$2.80
$9.80
$7.44
$3.20
$1.00
$132.62
$40.10



HE.4139
HE.4140
HE.4141
HE.4147
HE.4150
HE.4151
HE.4154
HE.4158
HE.4159
HE.4162
HE.4192
HE.4194
HE.4195
HE.4196
HE.4197
HE.4199
HE.4202
HE.4208
HE.4211
HE.4214
HE.4253
HE.4290
HE.4304
HE.4310
HE.4314
HE.4324
HE.4326
HE.4330
HE.4340
HE.4346
HE.4347
HE.4348
HE.4353
HE.4371
HE.4398
HE.4400
HE.4406
HE.4410
HE.4411
HE.4412
HE.4413
HE.4416
HE.4424
HE.4429
HE.4435
HE.4436
HE.4438
HE.4452
HE.4512
HE.4513
HE.4589
HE.4629
HE.4631
HE.4638
HE.4812
HE.4830
HE.4831
HE.4833
HE.4834
HE.4835
HE.4836
HE.4838

END CAP

ECCENTRIC

WASHER, LOCK
THREADED STUD
SPRING,COMPRESSION
PIN

BOTTOM CRIMP HEAD
O-RING

RING,BU (HE.4159)

RAM GUIDE BUSHING
RING-RETAINING

SEAL

VALVE SEAT

PLUNGER

O-RING
RELIEF-PRESSURE
ROLLER

PISTON BUSHING
SCREW, SET

GEAR BOX

SPRING, COMPRESSION (EK425)
CLIP, CABLE

SPRING PISTON RTN
SPRING

CUTTING HEAD BASE
SCREW,BHSCS-M3 X 6
RELIEF LEVER SPRING
SCREW
RESERVOIR,HYDRAULIC
BASE,CUTTING HEAD
SPRING-COMPRESSION
PISTON
BOARD-CIRCUIT ESG50GL
RING,RETAINING

DECAL, IDENTIFICATION (ESG50GL)

M4 X 60MM CAP SCREW
BUSHING

PISTON

SPACER

WASHER

RING

COVER-SWITCH (BLACK)
BOARD-CIRCUIT LS60
DECAL,LID LINER (EK22GL)
PISTON

HOUSING-RAM

DECAL, IDENTIFICATION (LS60)
SETSCREW (M4X6)
WASHER,STEEL

RING, SNAP

RING, RETAINING

YOKE, BOTTOM

ROLLER, HOLDER

RING, RETAINING

STRAIN RELIEF

ADAPTER

SCREW, PAN HEAD M6X16
RING-SUPPORT
RING,RETAINING
VALVE-NEEDLE
PLUG,RESERVOIR
LEVER-RELEASE

$19.24
$77.00
$2.80
$20.52
$3.22
$2.04
$302.04
$14.72
$49.26
$38.44
$2.80
$9.48
$52.16
$22.40
$8.10
$33.64
$36.40
$29.40
$36.40
$210.00
$2.80
$4.20
$84.00
$7.00
$231.00
$1.42
$6.40
$2.80
$40.86
$272.56
$84.06
$88.14
$418.60
$2.40
$32.88
$2.72
$19.24
$95.54
$13.36
$2.80
$2.80
$9.50
$440.68
$16.96
$265.32
$197.86
$5.64
$2.80
$3.20
$2.72
$3.20
$237.74
$87.76
$41.60
$4.90
$37.26
$2.80
$1.46
$0.54
$88.88
$14.54
$110.66



HE.4840
HE.4841
HE.4842
HE.4843
HE.4845
HE.4848
HE.4849
HE.4850
HE.4851
HE.4852
HE.4854
HE.4855
HE.4856
HE.4857
HE.4864
HE.4865
HE.4866
HE.4867
HE.4868
HE.4884
HE.4887
HE.4939
HE.4942
HE.4944
HE.4994
HE.5088
HE.5096
HE.5121
HE.5192
HE.6245
HE.6246
HE.6247
HE.6248
HE.6249
HE.6251
HE.6360
HE.6447
HE.6457
HE.7001
HE.7002
HE.7005
HE.7006
HE.7007
HE.7011
HE.7017
HE.7018
HE.7019
HE.7020
HE.7021
HE.7023
HE.7025
HE.7027
HE.7029
HE.7030
HE.7036
HE.7045
HE.7046
HE.7047
HE.7048
HE.7049
HE.7050
HE.7051

FILTER
ADAPTER,FILTER
BUSHING, THREADED
O-RING
HOUSING-PUMP
SPRING

STEM-VALVE
PISTON-PUMP
PISTON-PUMP
PIN-DOWEL 4X20MM
SPRING
RING,HANGING
PLUG-SCREW

O-RING

BUSHING
HEAD-BOTTOM CRIMP
RAM
DECAL,WARNING (EK22GL)

DECAL, IDENTIFICATION (EK22GL)

MAGNET
CIRCUIT BOARD (HE.4887)
DISK,ADAPTER

O-RING
SPRING-COMPRESSION
CIRCUIT BOARD
LOCKING MECHANISM
PISTON
SCREW,CAP-M5 X 10 SKT HD
BOLT,SHOULDER-M6X55 SHCS
BLADE HOLDER
CAP,CYLINDER

PISTON

CYLINDER

SPRING

BLADE GUIDE

FITTING

SETSCREW (M4X5)
SCREW (M4 X 8)
GRIP-25MM

GRIP-32MM
RESERVOIR

O-RING

RING,BU (HE.7007)
PISTON

BOLT

SPRING

PIN

ARM,LOCKING
PIN,LOCKING

SPRING

BUSHING
GUIDE,PISTON

NUT

BUSHING

WASHER

PISTON-PUMP

SLEEVE

RAM

PLUG-SCREW
PIN-RELEASE
LEVER-RELEASE
HANDLE-PUMP

$14.30
$15.48
$110.66
$8.10
$3.40
$5.50
$19.34
$38.44
$40.86
$2.80
$2.80
$16.02
$43.22
$24.28
$34.82
$257.00
$94.88
$38.48
$14.58
$9.62
$415.80
$2.80
$5.60
$45.64
$304.00
$259.00
$84.00
$5.64
$3.64
$102.90
$120.98
$91.00
$210.00
$27.86
$287.00
$26.60
$2.80
$2.90
$7.76
$10.32
$51.64
$3.16
$13.04
$405.72
$27.54
$22.38
$5.60
$620.66
$41.64
$12.34
$30.48
$411.86
$4.20
$36.66
$16.36
$41.74
$44.70
$40.24
$36.40
$14.58
$11.82
$72.80



HE.7052
HE.7054
HE.7055
HE.7056
HE.7059
HE.7060
HE.7061
HE.7062
HE.7063
HE.7064
HE.7065
HE.7067
HE.7068
HE.7069
HE.7074
HE.7114
HE.7125
HE.7138
HE.7181
HE.7182
HE.7200
HE.7202
HE.7203
HE.7204
HE.7205
HE.7206
HE.7207
HE.7209
HE.7212
HE.7213
HE.7214
HE.7216
HE.7218
HE.7219
HE.7220
HE.7223
HE.7226
HE.7227
HE.7228
HE.7229
HE.7230
HE.7231
HE.7236
HE.7500
HE.7659
HE.7661
HE.7662
HE.7665
HE.7666
HE.7667
HE.7678
HE.7684
HE.7695
HE.7696
HE.7724
HE.7803
HE.7811
HE.7813
HE.7816
HE.7817
HE.7828
HE.7848

LOCK-HANDLE
KNOB-RELEASE

ROLLER

PIN-HANDLE

O-RING

O-RING

O-RING
WASHER-COPPER
SPRING-COMPRESSION
SPRING-COMPRESSION
SPRING-EXTENSION
ROLLPIN

ROLLPIN

ROLLPIN

BLADE,FIXED

ADAPTER

STOP

CIRCUIT BOARD

PISTON

SLEEVE

LATCH

JAW-MOVING SLIDE
BEARINGS-ROLLER
RETAINERS-BEARING
STOP-BEARING
PIN-SPRING GUIDE
PIN-LATCH MOUNTING
PIN-LATCH

ROLLER-SIDE JAW
SPRING-COMPRESSION
SCREW - BALL M4-9
RING-EXTERNAL RETAINER
SHCS 1/4-20X1.00 NYLOK
SHCS 8-32X1.00

DECAL, WARNING (EKOBFT)
JAW-FIXED
SPRING-TENSION
JAW-MOVING SLIDE
ROLLER-PIVOT
PIN-PIVOT

SHCS 10-32X1.00

SHCS 1/4-20X1.00
DECAL, WARNING

LATCH

SHCS 10-32X.62
CYLINDER-PISTON MASTER
PIN-TENSION .156X1.00
SPRING-MAIN RAM RETURN
CYLINDER-MASTER
ANCHOR-SPRING
CAPEND

CYLINDER (RCCX)

BASE, CUTTING HEAD
PIN (3 X 18)
TUBE,CYLINDER (SERVICE)
BODY-PUMP
BLADE-MOVEABLE
SPACER
BLOCK-LOCKING

LATCH

PIN

PISTON

$38.44
$34.30
$19.90
$9.28
$6.98
$29.62
$18.70
$5.14
$4.20
$4.58
$8.20
$1.84
$1.18
$47.60
$437.70
$268.44
$37.80
$318.78
$132.56
$34.62
$385.00
$134.78
$6.88
$18.20
$35.26
$33.60
$56.10
$53.20
$105.56
$8.18
$5.60
$6.00
$21.72
$7.00
$32.90
$159.60
$5.60
$159.60
$254.54
$44.80
$5.60
$7.00
$27.54
$75.34
$5.60
$502.34
$53.20
$249.02
$439.16
$87.62
$61.60
$170.56
$574.00
$3.62
$265.98
$451.42
$273.00
$58.80
$103.60
$210.00
$5.78
$160.12



HE.7852
HE.7858
HE.7859
HE.7860
HE.7966
HE.7975
HE.7976
HE.7977
HE.7978
HE.7997
HE.8018
HE.8019
HE.8020
HE.8073
HE.8074
HE.8075
HE.8084
HE.8089
HE.8090
HE.8110
HE.8111

HE.8119
HE.8120
HE.8242
HE.8258
HE.8259
HE.8260
HE.8261
HE.8262
HE.8263
HE.8368
HE.8378
HE.8411

HE.8593
HE.8594
HE.8595
HE.8599
HE.8743
HE.8773
HE.8774
HE.8793
HE.8811

HE.8817
HE.8832
HE.8841
HE.8881
HE.8882
HE.8883
HE.8884
HE.8885
HE.8891
HE.8944
HE.9040
HE.9041
HE.Q042
HE.9043
HE.9044
HE.9050
HE.9051
HE.9052
HE.9053
HE.9054

PISTON

WASHER, LOCK

SPRING, 40MM

O-RING

TUBE, CYLINDER
SETSCREW (FLAT POINT)
NUT

NUT,ADJUSTMENT

SLEEVE,PRESSURE ADJUSTMENT

PIN,CLEVIS T-LINK
PLATE,GUIDE
RING,BU (HE.8019)
O-RING

STOP FOR KEARNEY
BOLT,SPRING

SCREW,M6-1.0 X 80mm SOC HEAD CAP

HEAD, FIXED
PLATE, GUIDE
ADAPTER, RAM
PIN (10 X 40.5MM)
PISTON
SCREW,M6X8 SHC
PIN

SCREW

BOLT

NUT

PIN

ROLLPIN

BOLT

BOLT
CASE,ECCENTRIC
HOUSING, PUMP
HOUSING, PUMP
FLANGE, MOTOR
MOTOR PINION
SLEEVE, INSULATING
NUT, HEX

COVER, SWITCH-GREY
PIN, SPRING

PIN, SPRING
POWER CORD, 230 VOLT
CUP,PISTON

DISC

SCREW, FHSC
FLANGE
HOUSING,PUMP
HOUSING,PUMP
HOUSING, PUMP
HOUSING,PUMP
HOUSING, PUMP
SCREW (M2 X 20)
O-Ring

STRIPPER
BUSHING

SEAT, VALVE
GEARBOX

GEAR

C-HEAD

PISTON

SPRING

SLEEVE

RING, RETAINING

$55.88
$2.80
$51.80
$7.32
$210.00
$3.98
$32.20
$20.84
$49.42
$8.40
$280.22
$54.48
$12.60
$85.78
$2.90
$2.80
$289.70
$57.90
$112.90
$11.24
$112.74
$3.08
$1.70
$14.50
$113.54
$4.74
$7.96
$7.84
$111.36
$5.80
$100.30
$249.34
$243.80
$123.40
$9.30
$29.28
$3.20
$6.42
$2.80
$1.80
$32.04
$61.60
$28.88
$3.20
$17.08
$242.38
$399.40
$411.12
$256.66
$269.26
$2.80
$4.20
$40.10
$51.86
$17.28
$115.50
$33.60
$589.80
$53.20
$6.98
$28.00
$2.80



HE.9055
HE.9056
HE.Q067
HE.9069
HE.9110
HE.9112
HE.9113
HE.9114
HE.9115
HE.9116
HE.9182
HE.9185
HE.9215
HE.9216
HE.9229
HE.9403
HE.9406
HE.9407
HE.9408
HE.9409
HE.9410
HE.9411
HE.9415
HE.9416
HE.9417
HE.9418
HE.9420
HE.9427
HE.9431
HE.9432
HE.9433
HE.9435
HE.9436
HE.9438
HE.9509
HE.9528
HE.9530
HE.9539
HE.9540
HE.9544
HE.9546
HE.9547
HE.9548
HE.9549
HE.9550
HE.9589
HE.9600
HE.9602
HE.9625
HE.9645
HE.9673
HE.9674
HE.9677
HE.9678
HE.9679
HE.9730
HE.9794
HE.9801
HE.9804
HE.9824
HE.9826
HE.9829

PUNCH

SPACER

WASHER, SEALING
LOCKOUT
SLEEVE,CYLINDER
PISTON, PUMP

SEAL, PISTON

WASHER, SEALING
SPRING

VALVESTEM

BOLT, SHOULDER
CABLE TIE

ROLLPIN (8 X 20)
PISTON

PLATE, W/ MICROSWITCH
BUSHING

C-HEAD

WASHER
SPRING,COMPRESSION-RECT
CAP

SPRING,COMP
HOLDER,DIE
HEAD,FIXED

PIN

ADAPTER,RAM
BOLT,SHOULDER

BOLT, SHOULDER
SPRING, COMPRESSION
LEVER,RELIEF VALVE
SCREW,SOCKET HEAD CAP (M3X4mm)
HOUSING,PUMP-PISTON
PUMP,PISTON

SWITCH

LINK, TRIGGER
RESERVOIR, HYDRAULIC (200ML)
VALVE,NEEDLE
5001EF,PRESSURE
PLUNGER

SEAT,VALVE

PIN

RACE,DISC

CAP,MOTOR

DISC

ADAPTER,MOTOR
RING,RETAINING
FLANGE, MOTOR
SPRING

PIN

DECAL,PINCH HAZARD
CLAMP

HOLDER,DIE

HEAD, CRIMPING
BUSHING, THREADED
BUSHING, THREADED
SCREEN

ADAPTER, MOTOR
SCREW

MOTOR ASSY, ELECTRIC-115V
COVER,HEAD ONE SIDE
DISC

WASHER

PIN,PIVOT

$248.66
$7.58
$1.42
$15.40
$42.02
$21.00
$16.04
$11.22
$39.02
$17.26
$3.66
$4.20
$3.98
$122.52
$176.28
$33.60
$244.40
$17.66
$24.50
$24.64
$3.50
$149.18
$155.60
$5.20
$44.92
$3.20
$4.00
$29.34
$6.40
$1.42
$24.64
$25.68
$40.10
$6.40
$94.56
$25.68
$24.06
$32.08
$35.28
$2.16
$40.10
$52.94
$30.48
$37.92
$3.50
$131.42
$5.80
$5.70
$3.66
$4.00
$169.10
$274.58
$71.38
$71.38
$3.66
$93.06
$4.00
$107.86
$341.36
$26.62
$2.76
$22.46



HE.9831
HE.9833
HE.9834
HE.9836
HE.9852
HE.9867
HE.9996
HE.9998
HKOGAT
HKOG6FT
HK1230
HK1230C
HK1240
HK1240C
HK1240K
HK1240KC
HK12ID
HK520
HKL1232
HS-1
HSS-SET
IC1
K05-1GL
K05-1SPGL
K09-2GL
K09-2SPGL
K09-3GL
K111
K1GL
K2021E
K210
K2-1BGL
K22S1GL
K28GL
K29GL
K30GL
K32GL
K34GL
K425BG
K425K58
K425KO
K4250
KA12-1
KA12-1/0
KA12-2
KA12-2/0
KA12-250
KA12-3/0
KA12-300
KA12-350
KA12-4
KA12-4/0
KA12-400
KA12-500
KA12-6
KA12-600
KA12-750
KA12-8
KA22-1
KA22-1/0
KA22-2
KA22-2/0

SPRING, COMPRESSION

RAM

SHEATH

ROLLER

SPRING, COMPRESSION

SCREW

PIN

PIN, LOCKING

CRIMP TOOL,DIELESS-HYDRAULIC
CRIMP TOOL,DIELESS-HYDRAULIC FT
CRIMPER ASSY,HYD-30MM (HK1230)
CRIMPER ASSY,HYD-30MM (PVC CQOV)
CRIMPER ASSY,HYD-40MM (HK1240)
CRIMPER ASSY,HYD-40MM (PVC COV)

CRIMPER ASSY,HYD-KEARNEY (HK1240K)
CRIMPER ASSY,HYD-KEARNEY (PVC COV)
CRIMPING TOOL, DIELESS HYDRAULIC

CUTTER, CABLE-HYDRAULIC
CRIMP TOOL,12 TON

HEADSET FOR MODEL 501 (HS-1)
HIGH SPEED DRILL SET (POP)
INDUCTIVE COUPLER

CRIMPER 8-1/0

CRIMPER FC 8-1/0

CRIMPER (8-4/0)

CRIMPER (FC8-4/0)

CRIMPER (3/0-400)

CRIMP TOOL, PACKAGED (K111).
CRIMPER TRPZD 23-13

CUTTING BLADE

TERMINAL CRIMPING TOOL (K210)
CRIMPER (FC22-6)

DIE SET,6 TON (KC22)

CRIMP TRPZD FC7-1/0

CRIMP TRPZDFC1/0-3/0

CRIMPER SQUARE FC

CRIMP TRPZD FC26-10

CRIMP TRPZD FC 10-5

CRIMP TOOL,MECHANICAL (K425BG)
CRIMP TOOL,MECHANICAL (K425K58)
CRIMP TOOL,MECHANICAL (K425KO)
CRIMP TOOL,MECHANICAL (K4250)
DIE,CRIMPING (KA12-1 AL)
DIE,CRIMPING (KA12-1/0 AL)
DIE,CRIMPING (KA12-2 AL)
DIE,CRIMPING (KA12-2/0 AL)
DIE,CRIMPING (KA12-250 AL)
DIE,CRIMPING (KA12-3/0 AL)
DIE,CRIMPING (KA12-300 AL)
DIE,CRIMPING (KA12-350 AL)
DIE,CRIMPING (KA12-4 AL)
DIE,CRIMPING (KA12-4/0 AL)
DIE,CRIMPING (KA12-400 AL)
DIE,CRIMPING (KA12-500 AL)
DIE,CRIMPING (KA12-6 AL)
DIE,CRIMPING (KA12-600 AL)
DIE,CRIMPING (KA12-750 AL)
DIE,CRIMPING (KA12-8 AL)

DIE, HEX-AL #1 (A22H99)

DIE, HEX-AL 1/0 (A22H110)

DIE, HEX-AL #2 (A22H90)

DIE, HEX-AL 2/0 (A22H125)

$2.86
$76.88
$7.00
$20.14
$27.28
$3.50
$2.80
$5.60
$3,022.60
$3,889.20
$2,661.40
$3,053.40
$2,919.00
$3,311.00
$2,919.00
$3,311.00
$3,297.00
$1,589.00
$2,221.80
$73.08
$8.70
$236.10
$294.00
$355.60
$387.80
$462.00
$387.80
$338.80
$76.38
$553.00
$283.04
$146.06
$1,835.40
$277.38
$280.06
$341.70
$314.90
$357.78
$427.00
$530.60
$530.60
$427.00
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36



KA22-250
KA22-3/0
KA22-300
KA22-350
KA22-4
KA22-4/0
KA22-6
KA22-8
KA4-1
KA4-1/0
KA4-2
KA4-2/0
KA4-4
KA4-6
KA4-8
KA4AL
KC12-1
KC12-1/0
KC12-2
KC12-2/0
KC12-250
KC12-3/0
KC12-300
KC12-350
KC12-4
KC12-4/0
KC12-400
KC12-500
KC12-6
KC12-600
KC12-750
KC12-8
KC22-1
KC22-1/0
KC22-2
KC22-2/0
KC22-250
KC22-3/0
KC22-300
KC22-350
KC22-4
KC22-4/0
KC22-400
KC22-500
KC22-6
KC22-600B
KC22-8
KC4-1
KC4-1/0
KC4-2
KC4-2/0
KC4-250
KC4-3/0
KC4-300
KC4-4
KC4-4/0
KC4-6
KC4-8
KC4CuU
KDOGAL
KD12-10
KD12-11

DIE, HEX-AL 250 MCM (A22H175)
DIE, HEX-AL 3/0 (A22H143)

DIE, HEX-AL 300 MCM (A22H190)
DIE, HEX-AL 350 MCM (A22H221)
DIE, HEX-AL #4 (A22H75)

DIE, HEX-AL 4/0 (A22H160)

DIE, HEX-AL #6 (A22H60)

DIE, HEX-AL#8 (A22H45)

DIE SET, #1 AL CRIMP (KA4-1)
DIE SET, #1/0 AL CRIMP (KA4-1/0)
DIE SET, #2 AL CRIMP (KA4-2)
DIE SET, #2/0 AL CRIMP (KA4-2/0)
DIE SET, #4 AL CRIMP (KA4-4)
DIE SET, #6 AL CRIMP (KA4-6)
DIE SET, #8 AL CRIMP (KA4-8)

DIE KIT, AL CRIMP (3.5 TON) (KA4AL)

DIE,CRIMP #1 COPPER
DIE,CRIMP #1/0 COPPER
DIE,CRIMP #2 COPPER
DIE,CRIMP #2/0 COPPER
DIE,CRIMP-250 COPPER
DIE,CRIMP #3/0 COPPER
DIE,CRIMP-300 COPPER
DIE,CRIMP-350 COPPER
DIE,CRIMP #4 COPPER
DIE,CRIMP #4/0 COPPER
DIE,CRIMP-400 COPPER
DIE,CRIMP-500 COPPER
DIE,CRIMP #6 COPPER
DIE,CRIMP-600 COPPER
DIE,CRIMP-750 COPPER
DIE,CRIMP #8 COPPER
DIE,1 AWG (KC22)
DIE,1/0 AWG (KC22)
DIE,2 AWG (KC22)
DIE,2/0 AWG (KC22)
DIE,250 MCM (KC22)
DIE,3/0 AWG (KC22)
DIE,300 MCM (KC22)
DIE,350 MCM (KC22)
DIE,4 AWG (KC22)
DIE,4/0 AWG (KC22)
DIE,400 MCM (KC22)
DIE,500 MCM (KC22)
DIE,6 AWG (KC22)
DIE,600 MCM (KC22-600B)
DIE,8 AWG (KC22)

DIE SET#1 CUAWG

DIE SET,1/0 CU AWG

DIE SET,#2 CU AWG

DIE SET,2/0 CU AWG

DIE SET, 250 MCM

DIE SET,3/0 CUAWG

DIE SET, 300MCM (KC4-300)
DIE SET,#4 CU AWG

DIE SET,4/0 CU AWG

DIE SET#6 CU AWG

DIE SET#8 CU AWG

DIE KIT,COPPER

DIE KIT, ALUMINUM
DIE-"U" STYLE (KD12-10)
DIE-"U" STYLE (KD12-11)

$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$126.18
$126.18
$126.18
$126.18
$126.18
$126.18
$126.18
$879.20
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$122.36
$126.18
$126.18
$126.18
$126.18
$126.18
$126.18
$126.18
$126.18
$126.18
$126.18
$126.18
$1,379.00
$1,468.60
$117.66
$117.66



KD12-12
KD12-14
KD12-15
KD12-17
KD12-18
KD12-19
KD12-20
KD12-21
KD12-30
KD12-32
KD12-33
KD12-35
KD12-36
KD12-37
KD12-38
KD12-39
KD12-40
KD12AL
KD12CU
KD4-10
KD4-840
KD6-10
KD6-11
KD6-12
KD6-13
KD6-14
KD6-15
KD6-16
KD6-17
KD6-18
KD6-19
KD6-20
KD6-21
KD6-22
KD6-24
KD6-25
KD6-27
KK120LGL

KK120UNVLGL

KK35B
KK50LGL
KK60SGL
KK628SGL
KKEK425
KKLS60LGL
KP1022
KP1022D
KP1022-INS
L107
L107A

L77

L77A

L97

L97A
LBC-10B
LBC-81B
LBP-144
LBP-216
LBP-288
LBP-36
LCS-144
LCS-M13C

DIE-"U" STYLE (KD12-12)
DIE,U-STYLE (KD12-14)
DIE,U-STYLE (KD12-15)
DIE,U-STYLE (KD12-17)
DIE,U-STYLE (KD12-18)
DIE,U-STYLE (KD12-19)
DIE,U-STYLE (KD12-20)
DIE,U-STYLE (KD12-21)

DIE-"U" STYLE (KD12-30)
DIE,U-STYLE (KD12-32)

DIE-"U" STYLE (KD12-33)
DIE,U-STYLE (KD12-35)
DIE,U-STYLE (KD12-36)
DIE,U-STYLE (KD12-37)
DIE,U-STYLE (KD12-38)
DIE,U-STYLE (KD12-39)

DIE-"U" STYLE (KD12-40)

DIE KIT, 12-TON AL "U"

DIE KIT, 12-TON CU "U".

DIE SET,BG

DIE SET,840

DIE,W-BG (KD6-10)

DIE-"W" STYLE (KD6-11)

DIE,"W" STYLE (KD6-12)

DIE-"W" STYLE (KD6-13)

DIE,"W" STYLE (KD6-14)

DIE,"W" STYLE (KD6-15)

DIE,"W" STYLE (KD6-16)

DIE,"W" STYLE (KD6-17)

DIE,"W" STYLE (KD6-18)

DIE,"W" STYLE (KD6-19)

DIE,"W" STYLE (KD6-20)

DIE,"W" STYLE (KD6-21)

DIE,"W" STYLE (KD6-22)

DIE,"W" STYLE (KD6-24)

DIE,"W" STYLE (KD6-25)

DIE,"W" STYLE (KD6-27)

CASE WITH INSERTS

CASE WITH INSERTS (E12CCXL)
CASE,BLUE-W/INSERTS
CARRYING CASE (IN-LINE)
CASE,PLASTIC-W/INSERTS (ECCX)
CASE,CARRY-PLASTIC W/INSERT
CASE, CARRYING-BLACK (EK425)
CARRYING CASE (LS60L)
CRIMPING TOOL, TERMINAL-POP
CRIMPING TOOL, TERMINAL (POP)
CRIMPING TOOL, TERMINAL INSULATED(POP)
LEVEL,TORPEDO (L107) (POP).
LEVEL,TORPEDO (POP)

LEVEL, BUBBLE (POP)
LEVEL,BUBBLE (POP)
LEVEL,LASER (L97) (POP)
LEVEL,LASER (POP)

BATTERY CHARGER - 2.4-3.6V (PT)
BATTERY CHARGER - 7.2-28.8V (PT)
LI-ION BATTERY - 14.4V (PT)

LI-ION BATTERY - 21.6V (PT)

LI-ION BATTERY - 28.8V (PT)

LI-ION BATTERY - 3.6V (PT)

METAL CUTTING CIRC SAW KIT - 14.4V
BLADE,METAL CIRC SAW - 5-3/8" REG

$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$117.66
$1,835.40
$1,835.40
$132.12
$132.12
$78.54
$78.54
$78.54
$78.54
$78.54
$78.54
$78.54
$78.54
$78.54
$78.54
$78.54
$78.54
$78.54
$78.54
$78.54
$177.10
$350.00
$588.00
$223.70
$223.94
$447.56
$188.18
$159.60
$466.04
$37.24
$33.32
$62.72
$56.56
$55.74
$52.36
$51.58
$129.88
$127.96
$123.20
$151.20
$124.60
$240.80
$301.00
$63.00
$649.60
$58.80



LCS-M13D
LCS-W13A
LCS-W13B
LDD-144
LDD-216
LDS-144
LE300
LE310
LE320
LE405
LE415
LE425
LE435
LE445
LE455
LG4F110GL
LG4GL
LHD-216
LP100
LRH-144
LRH-288
LS6012A
LS60LA11
LS60LA12
LS60LA120
LS60LA22
LS60LA230
LS60LB11
LS60LB12
LS60LB120
LS60LB22
LS60LB230
LSD-36
LT-100
MA120
MA12ID
MA22

MA4

MAS50
MAMAP1
MAS-SET
MAS-SET-9
MAVP
MB.1003
MB.1200
MB.2000
MB.9963
MCTAP
MKO6FT
MK105LGL
MK1240
MKE12ID
MKE22GL
MKE50GGL
MKEKO6
MKES85GL
MKESP710GL
MKHKG60UNVGL
MKLS60
MKN1240
MKN22GL
MKN85GL

BLADE,METAL CIRC SAW - 5-3/8" THIN
BLADE,CIRC SAW - 5-3/8" REG WOOD

BLADE,CIRC SAW - 5-3/8" THIN WOOD
DRILL DRIVERKIT - 14.4V

DRILL DRIVER KIT - 21.6V

14.4V COMBO KIT (SAW/ DRILL DRIVER KIT)

SCREW, TAPCON HEX (3/16 X 1 1/4 X 100)
SCREW, TAPCON HEX (3/16 X 1 3/4 X 100)
SCREW, TAPCON HEX (3/16 X 2 1/4 X 100)
SCREW,TAPCON HEX (1/4 X 1 1/4 X 100)
SCREW, TAPCON HEX (1/4 X 1 3/4 X 100)
SCREW, TAPCON HEX (1/4 X 2 1/4 X 100)
SCREW, TAPCON HEX (1/4 X 2 3/4 X 100)
SCREW,TAPCON HEX (1/4 X 3 1/4 X 100)
SCREW,TAPCON HEX (1/4 X 3 3/4 X 100)
CHARGER,120V-GRN - LG4F110GGL
CHARGER, 12V (230V)

HAMMER DRILL DRIVER KIT - 21.6V
KIT-CONDRIVE 1000

ROTARY HAMMER DRILL DRIVER KIT 14.4V

ROTARY HAMMER KIT - 28.8V
DRIVER,BAT PUNCH W/12V CHARG.
DRIVER, PUNCH BAT 120V CHRGR
DRIVER,PUNCH BAT 12V CHRGR
DRIVER, PUNCH 120V AC ADAPTER
DRIVER, PUNCH BAT 230V CHRGR
DRIVER, PUNCH 230V AC ADAPTER
DRIVER, PUNCH BAT 120V CHRGR
DRIVER, PUNCH BAT 12V CHRGR
DRIVER, PUNCH 120V AC ADAPTER
DRIVER, PUNCH BAT 230V CHRGR
DRIVER, PUNCH 230V AC ADAPTER
SCREWDRIVER / DRILL - 3.6V
TESTER-LAMP (LT-100)

ADAPTER MOD-12 TON SERIES #MA120
ADAPTER ASS'Y

ADAPTER MOD-K22 SERIES #MA22
ADAPTER,MOD 4 TON TOOLS
ADAPTER, TC1 (EK210)

ADAPTER (EK425)

MASONRY DRILL SET (POP)

HEX QUICK CHANGE KIT,1/4"(POP)
ADAPTER, QUAD-POINT

JAW HOLDER KIT

MOTOR ASSEMBLY

PUMP BLOCK ASSEMBLY

HOUSING UNIT ASSY,PUMP
SOFTWARE,PC (TS200/TS100)
CASE-STEEL

CARRYING CASE (ESC105L)

CASE, METAL-HK12T

CASE W/INSERTS

CASE-METAL FOR EK22GL
CASE-METAL FOR ESG50GL
CASE-STEEL

CASE,STEEL W/FOAM INSERTS
CASE W/INSERT

CASE-WITH INSERTS, HCCX
CASE-METAL FOR LS60

CASE, METAL

CASE, CARRYING- W/DECALS
CASE,CARRY-METAL W/INSERTS

$77.00
$42.00
$68.60
$449.40
$593.60
$814.80
$23.20
$23.20
$25.34
$29.12
$30.32
$35.08
$38.30
$49.64
$57.70
$272.70
$467.16
$635.60
$87.92
$797.30
$1,198.40
$2,620.10
$4,096.18
$4,142.06
$4,376.68
$4,096.18
$4,376.68
$4,599.52
$4,645.38
$4,376.68
$4,599.52
$4,376.68
$287.00
$197.90
$464.32
$789.60
$579.68
$128.34
$314.36
$366.26
$15.92
$40.82
$1,400.18
$277.20
$74.18
$539.86
$179.20
$167.88
$208.34
$433.44
$224.58
$364.00
$232.38
$336.00
$231.00
$616.00
$229.02
$237.98
$203.22
$245.06
$242.32
$252.80



MKNKO6
MKNLS60
MKRKO06
MKS1GL
MPC-108
MSC-SO
NC-100
NC-500
NC-510
NDS-SET
P1000-10PG
PA1112
PA1113
PA1115P
PA1116
PA1117
PA1118
PA1119
PA1123
PA1161
PA1162
PA1171
PA1175
PA1176
PA1177
PA1178
PA1179
PA1180
PA1181
PA1240
PA1241
PA1243
PA1247
PA1248
PA1250
PA1255
PA1256
PA1257
PA1258
PA1280
PA1281
PA1282
PA1283
PA1285
PA1302
PA1305
PA1306
PA1307
PA1308
PA1317
PA1319
PA1322
PA1328
PA1330
PA1331
PA1334
PA1335
PA1336
PA1337
PA1338
PA1340
PA1342

CARRY CASE WITH DECALS

CASE, METAL-W/INSERTS

CASE, CARRYING (RKO06)

BOX WITH FOAM INSERT
ADAPTER,MATING-BULKHEAD (FC-PC)
ADAPTER,MATING-BULKHEAD (SC-PC)
TESTER, VDV NETcat (POP)

TESTER, NETcat PRO VDV WIRING (POP)
REMOTE UNIT KIT (NETcat PRO)

NUT DRIVER SET - SHORT (POP)
SUPPORT-PUMP TABLE 100pc of 32" or 330ft
STRIPPER AM 12 W/LENGTH GAUGE
STRIPPER/CUTTER - STRIPAX PRO 6
STRIPPER MINI-STRIPAXPLUS AWG 28-18 PVC
STRIPPER/CUTTER DATA SURESTRIP
STRIPPER 22-10 AWG PP RETAIL CARD
STRIPPER 30-20 AWG PP RETAIL CARD
STRIPPER/CUTTER - SURESTRIP

STRIPPER 22-10 & 30-20 AWB BUNDLE
STRIPPER CUTTER WIRE BLISTER PACK
STRIPPER FIBER OPTIC 3-LEVEL RETAIL
PRO-GRIP STRIPPER, FIVEROPTIC NEXT GENER
PRO-GRIP CUTTER, CONTOUR CABLE CUTTER
PRO-GRIP CRIMPER, TERMINAL CRIMPER, ELEC
PRO-GRIP STRIPPER, 3-IN-1 FIBER OPTIC
CRIMPER TELECOM BUTN SPLCR

PRO-GRIP CUTTER, DUAL CONTOUR CABLE CUTT
CRIMPER, NEEDLE NOSE, BUTTON SPLICE
PRO-GRIP CUTTER, FLAT RIBBON CABLE
STRIPPER CST CASSETTE GRN

STRIPPER CST CASSETTE BLUE

STRIPPER CST CASSETTE BROWN

STRIPPER CST CASSETTE ORANGE

STRIPPER CST BLACK .344/.094

STRIPPER CST FRAME ONLY

STRIPPER LCCST-58/59/62/6 COAX

STRIPPER LCCST-8/11/213 COAX

STRIPPER LCCST CATV-F COAX

STRIPPER LCCST MINI-COAX

STRIPPER CST PRO W/GREEN BLADE CASSETTE
STRIPPER CST PRO W/ORNAGE BLADE CASSETTE
STRIPPER CST PRO W/BLACK BLADE CASSETTE
STRIPPER CST PRO W/BLUE BLADE CASSETTE
STRIPPER CST PRO NO CASSETTE

CRIMPER 1300 FRAME

CRIMPER 1300 INSULATED TERM AWG 22-10
CRIMPER 1300 NON-INSULATED AWG 22-12
CRIMPER 1300 RJ45 TEL PLUGS

CRIMPER 1300 INSUL TERMINAL AWG 22-12
CRIMPER 1300 RG58/59/62AU BNC/TNC
CRIMPER 1300 RG8/11/213/216

CRIMPER 1300 TERM & SPLICES AWG 22-8
CRIMPER 1300 CATV F CONN. RG59/6
CRIMPER 1300 SFR/SMA FIBER OPTICS CONN
CRIMPER 1300 AMP SFR/SMA FIB/OPTC CONN
CRIMPER 1300 INS TERM 14-26AWG

CRIMPER 1300 RG58/174 50/75 OHM

CRIMPER 1300 RG59/BELDEN 8281

CRIMPER 1300 RG8 BNC

CRIMPER 1300 RG174 BNC/TNC

CRIMPER 1300 RJ11 MODULAR PLUGS
CRIMPER 1300 RJ45 AMP PLUGS

$173.74
$298.36
$104.18
$173.60
$59.76
$46.58
$131.60
$415.54
$138.60
$7.34
$86.80
$36.52
$109.60
$118.12
$24.34
$18.26
$18.26
$36.52
$30.44
$8.50
$24.34
$71.98
$23.98
$14.38
$41.98
$17.98
$23.98
$23.98
$17.98
$121.78
$121.78
$121.78
$121.78
$121.78
$88.90
$21.92
$21.92
$21.92
$21.92
$85.24
$85.24
$85.24
$85.24
$60.88
$52.36
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84



PA1344
PA1345
PA1347
PA1348
PA1349
PA1356
PA1359
PA1360
PA1362
PA1363
PA1365
PA1366
PA1367
PA1368
PA1369
PA1375
PA1387
PA1388
PA1389
PA1460
PA1461
PA1462
PA1511
PA1530R
PA1540
PA1543
PA1545
PA1554
PA1555
PA1556
PA1557
PA1559
PA1561
PA1573
PA1574
PA1576
PA1577
PA1594
PA1600
PA1605
PA1611
PA1612
PA1614
PA1616
PA1617
PA1618
PA1631
PA1645
PA1646
PA1647
PA1648
PA1649
PA1668
PA1669
PA1670
PA1700
PA1780
PA1785
PA1820
PA1821
PA1822
PA1828-1

CRIMPER 1300 RJ11 DEC/MMJ PLUG
CRIMPER 1300 RJ45 10 POSITION

CRIMPER 1300

CRIMPER 1300 RG6/58 BNC

CRIMPER 1300 BELDEN 1694A

CRIMPER 1300 CATV RG6/RG6Q

CRIMPER OPEN BARREL D-SUB CONT 28-20 AWG
CRIMPER INSULATED/NON-INS 20-10 AWG
CRIMPER 1300 FIBER SMA/SMB/SC

CRIMPER 1300 MINI-COAXIAL

CRIMPER 1300 RG8/RG11 N-TYPE

CRIMPER 1300 MINI-75

CRIMPER 1300 75-OHMCX

CRIMPER 1300 KINGS ADC

CRIMPER FIBER SC/FC ROUND CLAMSHELL
CRIMPER 1300 FIBER-LC/SC/ST/FC CLAMSHELL
CRIMPER RJ45 WE/SS & CATV-F

CRIMPER 1300 RJ45-SNAGLESS CLAMSHELL
CRIMPER 1300 HDTV UNIVERSAL

PRO-GRIP CRIMPER, 4-INDENT D-SUB, 26-20A
PRO-GRIP CRIMPER, 4-INDENT D-SUB, 20-12A
PRO-GRIP CRIMPER, 8-INDENT D-SUB, 26-20A
CUTTER KEVLAR

CRIMPER - ALL-IN-ONE PRO MOD

CRIMPER ALL-IN-ONE AMP CLAMSHELL
TESTER-LAN PRONAVIGATOR

CRIMPER RATCHET TELE.PLUGS

CRIMPER ECON RJ45/RJ11 AMP CLAMSHELL
CRIMPER-SEALTITE PRO UNIVERSAL
CRIMPER-ALL-IN-ONE

CRIMPER ALL IN ONE ECON AMP/TYCO
CRIMPER MINI COAX PRO UNIVERSAL
CRIMPER, SNAGLESS ALL-IN-ONE, ECON
CABLE CHECK - TONE & PROBE PLUS

CABLE CHECK - LAN

CABLE CHECK - DATA/LINK ID

CABLE CHECK - PC PRO TESTER

CABLE CHECK - LAN AV

CRIMPER 1600 FRAME ONLY

CRIMPER 1600 WITH LOCATOR AWG 22-14
CRIMPER HDTV RG59 CLAMSHELL

CRIMPER HDTV 75-OHM KINGS CLAMSHELL
1600 Series Crimper SMA FC STII Fiber
CRIMPER 1600 RG174 BNC/TNC

CRIMPER 1600 RG58/59/62AU BNC/TNC
CRIMPER 1600 UNINSULATED TERM AWG 10-20
CRIMPER 1600 OPEN BARREL AWG 24-14
CRIMPER 1600 OPEN BARREL AWG 30-18
CRIMPER 1600 OPEN BARREL DSUB AWG 28-20
CRIMPER WIRE-FERRULE 20-10 AWG
CRIMPER 1600 FERRULES AWG 20-12
CRIMPER 1600 FERRULES AWG 10-6
CRIMPER 1600 3M FIBER SC

CRIMPER 1600 UNIVERSAL HDTV

CRIMPER 1600 SERIES EDAC ELCO CLAMSHELL
DESOLDER STANDARD WITH STANDARD TIP .18
BUTT SET

CORDSET ACCESSORY BED OF NAILS
SLITTER AM25 CUTS/SLITS 0.18 TO 1.00
SLITTER AMS35

SLITTER CABLE 0.18-1.40 INCH CLAMSHELL
CABLE TIE GUN UP TO .25 BOX PKG

$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$71.84
$74.28
$71.84
$71.84
$47.98
$47.98
$51.58
$31.66
$158.32
$158.32
$135.28
$52.34
$52.34
$85.24
$57.22
$57.22
$83.98
$56.38
$118.06
$43.04
$86.08
$233.68
$55.34
$81.10
$142.00
$134.70
$134.70
$134.70
$134.70
$134.70
$208.02
$227.50
$166.36
$244 .56
$203.14
$208.02
$208.02
$134.70
$134.70
$171.72
$24.34
$159.88
$30.74
$68.20
$81.58
$34.10
$65.76



PA1873
PA1900
PA1901
PA1902
PA1903
PA1904
PA1907
PA1908
PA1913
PA1915
PA1916
PA1917
PA1920-1
PA1922-1
PA1923
PA1926-1
PA1927
PA1928
PA1930
PA1931
PA1933
PA2003
PA2005
PA2019
PA2029
PA2030
PA2031
PA2032
PA2033
PA2034
PA2035
PA2039
PA2040
PA2042
PA2043
PA2044
PA2045
PA2046
PA2047
PA2050
PA2051
PA2061
PA2062
PA2063
PA2064
PA2065
PA2067
PA2068
PA2075
PA2076
PA2082
PA2095
PA2096
PA2097
PA2109
PA2113
PA2114
PA2119
PA2120
PA2140
PA2141
PA2142

HEAT GUN 120V/1200W W/3 ACCESSORIES
WRENCH CAN 22/4 & 24/4 TELEPHO
SEPERATOR SLITTER TWISTED-PAIR
ADAPTER RJ45 MODULAR 8-WAY BLISTER
ADAPTER RJ11 MODULAR 6-WAY BLISTER
ADAPTER RJ22 MODULAR 4-WAY BLISTER
EXTRACTOR BNC 8-INCH BLISTER
EXTRACTOR CATV-F 8-INCH BLISTER

UTP STRIPPER/PUNCHDOWN TOOL RETAIL
POCKET PROBE/PICK BLISTER
EXTRACTOR BNC 12-INCH BAGGED
FLARING TOOL RG59/RG6/RG6-QUAD BLISTER
POLISHING PUCK FIBER SC ST FC

SCRIBE FIBER OPTIC CARBIDE

UNTWIST TOOL TWISTED PAIR

POLISHING PUCK FIBER LC

3-WAY CATV PREP TOOL RETAIL
MULTI-TOOL - CATV "F" RG6

3-WAY BNC WITH BNC EXTRACTION TOOL
SCISSOR DATACOM, BLACK HANDLES, PALADIN,
UTILITY KNIFE/SCISSORS KIT

DIE 1600 RG174 BNC/TNC COAX BLISTER
DIE 1600 RG58/59/62AU BNC/TNC

DIE 1600 RG59/62 BELDEN-8281 BLISTER
DIE 26-14 AWG INSULATED BLISTER

DIE AMP SRF/SMF FIBER OPTIC BLISTER
DIE 22-8 AWG NON-INSUL. BLISTER

DIE BRIT.TELECOM 6-POLE PLUG BLISTER
DIE 22-12 AWG OPEN BARREL BLISTER
DIE RG58/59/62AU COAX

DIE 22-10 AWG INSULATED-TERM. BLISTER
DIE N-TYPE RG8/11/213/216 BLISTER

DIE INSULATED TERM AWG 22-12 BLISTER
DIE CATV F RG59/6 BLISTER

DIE 1300 SMA FIBER OPTIC

DIE 1600 LUCENT FIBER OPTIC

DIE RG6/RG6 QUAD BNC/TN

DIE RG58/174 50-75 OHM BLISTER

DIE RG58/BELDEN-8281 50-75 OHM BLISTER
DIE RG8 BNC/TNC BLISTER

DIE RG174 BNC/TNC SM.CABLE BLISTER
DIE RJ45 8P8C MOD. PLUG BLISTER

DIE RJ11/12 (WE/SS) MOD.PLUG BLISTER
DIE RJ22 HANDSET(WE/SS) BLISTER

DIE AMP RJ45 MOD.PLUG BLISTER

DIE AMP RJ11/12 MOD.PLUG BLISTER

DIE AMP RJ11 DEC/MMJ 6P6C BLISTER
DIE VP RJ50 10P10C BLISTER

DIE RG58/59/62 TEF.PLEN. BLISTER

DIE RG6/58 BNC BLISTER

DIE BELDEN-1694A BLISTER

DIE 22-10 AWG WIRE FERRULE BLISTER
DIE 22-14 AWG OPEN BARREL BLISTER
DIE 28-20 AWG OPEN BARREL BLISTER
BLADE REPLACEMENT BLADE(QTY 2
BLADE SET STRIPAX PROG6(blstr) PRO6
BLADE SET STRIPAX PRO16(blstr) PRO16
BLADE CASS SMARTHOME SURESTRIP
BLADE CUT SURESTRIP SMARTHOME
BLADE DURO-STRIPAX

BLADE DURO-STRIPAX

BLADE DURO-STRIPAX

$66.98
$19.48

$5.76
$28.28
$28.28
$25.82
$18.26
$18.26

$6.08

$6.08
$18.26
$15.82
$19.48
$31.66
$12.78
$19.48
$12.16
$17.98
$17.98
$17.98
$41.98
$56.02
$56.02
$56.02
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$56.02
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$19.48
$52.36
$68.20

$7.30

$2.42
$68.20
$68.20
$68.20



PA2143
PA2144
PA2240
PA2241
PA2243
PA2245
PA2247
PA2248
PA2263
PA2280
PA2281
PA2282
PA2283
PA2284
PA2303
PA2307
PA2345
PA2346
PA2347
PA2530
PA2531
PA2648
PA2649
PA2652
PA2653
PA2654
PA2656
PA2657
PA2660
PA2661
PA2662
PA2663
PA2664
PA2668
PA2669
PA2670
PA2671
PA2672
PA2673
PA2674
PA2681
PA2683
PA2685
PA2687
PA2688
PA2695
PA2699
PA2712
PA3240
PA3242
PA3526
PA3527
PA3528
PA3532
PA3535
PA3536
PA3539
PA3540
PA3560
PA3561
PA3570
PA3571

BLADE DURO-STRIPAX

BLADE DURO-STRIPAX

BLADE CASSETTE CST STRIPPER

BLADE CASSETTE CST STRIPPER

BLADE CASSETTE CST STRIPPER
STRIPPER MEMORY CST STRIPPER

BLADE CASSETTE CST STRIPPER

BLADE CASSETTE CST BLACK .344/

BLADE SET LC CST STRIPPER(BLIS

BLADE CASSETTE CST PRO GREENE CASSETTES2
BLADE CASSETTE CST PRO ORANGE CASSETTE
BLADE CASSETTE CST PRO BLACK CASSETTE
BLADE CASSETTE CST PRO BLUE CASSETTE
ROLLER SET CST PRO REPLACEMENT SET (2)
SCREW DIE SCREW EZ-CHANGE (2)
SCREW CRIMPER FRAME 1600S SET BLISTER
SPRING FRAME 1300 & 8000

SPRING FRAME 1300 SERIES

SPRING FRAME 8000 SERIES UPPER FRAME
BLADE SET 1530,1540

BLADE SET 1556,1557 1556 1557 1545 1554
DIE MINI-75 BLISTER

DIE 75-OHMCX BLISTER

DIE FIBER SMA/SMB/SC FOC-A2

DIE MINI-COAXIAL

DIE LUCENT SC FIBER

DIE RG6/RG11 N-TYPE

DIE KINGS/ADC-1694A BLISTER

DIE 1600 HDTV-1694A BLISTER

DIE 1600 HDTV-RG59 BLISTER

DIE 1600 KINGS-HDTV BLISTER

DIE 1600 ADC-HDTV BLISTER

DIE 1600 SMA/SMB/FC/BICONIC BLISTER

DIE 1600 3M SC FIBER BLISTER

DIE FIBER SC/FC ROUND-CRIMP BLISTER
DIE S.S. RJ45 STP SHORT BLISTER

DIE HIROSE RJ45 STP LONG BLISTER

DIE HIROSE RJ45 STP SHORT BLISTER

DIE MOLEX RJ45 STP 5.0 BLISTER

DIE MOLEX RJ45 STP 6.0 BLISTER

DIE 1600 FERRULE 20-10 AWG BLISTER

DIE 1600 SERIES UNIVERSAL HDTV

DIE FIBER-LC/SC/ST/FC BLISTER

DIE RJ45 RG6 CATV F COMBO

DIE RJ45-SNAGLESS BLISTER

DIE AMP 2.0/ 2.5/3.0 SC BLISTER

DIE 1300/8000 HDTV UNIVERSAL
DESOLDER TIP DESOLDER STANDARD
CST- VARIO COAX STRIPPER

CST- VARIO BLADE HOLDER W/BLAD

PDT TOOL ONLY w/o blade

PDT 66 IMPACT TOOL w/66 blade

PDT 110 IMPACT TOOL w/110 blade

PDT W/KRONE BLADE w/krone blade

PDT IMPACT TOOL w/630 blade

PDT IMPACT TOOL w/Bix blade

PDT IMPACT W/66 & 110 BLADES C

KIT PDT IMPACT 66 & 110 BLADE
PUNCHDOWN-PROPUNCH 110 5-PAIR
PROPUNCH 110 4-PAIR MULTI-PDT 110

PDT SUREPUNCH PDT TOOL

PDT SUREPUNCH 110/66 REVERS.

$68.20
$68.20
$48.70
$48.70
$48.70
$48.70
$48.70
$48.70
$13.38
$30.44
$30.44
$30.44
$30.44
$8.22
$8.50
$3.32
$3.04
$3.04
$3.04
$12.16
$8.62
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$56.02
$56.02
$56.02
$56.02
$56.02
$56.02
$31.66
$31.66
$31.66
$31.66
$31.66
$31.66
$56.02
$56.02
$31.66
$38.96
$31.66
$31.66
$31.66
$7.30
$121.78
$65.14
$53.58
$73.06
$73.06
$77.94
$77.94
$97.42
$85.24
$97.42
$140.06
$140.06
$63.32
$75.50



PA3572
PA3573
PA3574
PA3575
PA3576
PA3579
PA3580
PA3581
PA3582
PA3584
PA3585
PA3586
PA3587
PA3588
PA3589
PA3590
PA3591
PA3592
PA3593
PA3594
PA3595
PA3596
PA3597
PA3598
PA3599
PA3703
PA3704
PA3711
PA3712
PA3713
PA3714
PA3715
PA3716
PA3717
PA3718
PA3811
PA3812
PA3813
PA3814
PA3815
PA3816
PA3817
PA3818
PA4302
PA4305
PA4308
PA4336
PA4361
PA4370
PA4391
PA4527
PA4528
PA4529
PA4530
PA4531
PA4535
PA4560
PA4561
PA4562
PA4563
PA4571
PA4572

PDT SUREPUNCH 110

PDT SUREPUNCH 66 SUREPUNCH 66(CLAMSHELL)
PDT SUREPUNCH BIX

PDT SUREPUNCH KRONE LSA CLAMSHELL

PDT SUREPUNCH DOUBLE 110 BLADE

PDT SUREPUNCH 110 & 66 BLADES

PDT 110 NON-IMPACT RUBBER HANDLE 110

PDT 66 NON-IMPACT RUBBER HANDLE 66

PDT BIX NON IMPACT RUBBER HANDLE BIX

PDT SUREPUNCH PRO DBL110 LITE

PDT SUREPUNCH PRO DOUBLE 110

PDT SUREPUNCH-PRO 110&66-BLADE CLAMSHELL
PUNCHDOWN - SSP W/110 & 66

PDT SUREPUNCH-PRO W/LIGHT CLAMSHELL

PDT SUREPUNCH-PRO HANDLE CLAMSHELL

PDT SUREPUNCH-PRO HANDLE-LIGHT CLAMSHELL
PDT SUREPUNCH-PRO 110/66-BLADE CLAMSHELL
PDT SUREPUNCH-PRO 110-BLADE CLAMSHELL
PDT SUREPUNCH-PRO 66-BLADE CLAMSHELL
PDT SUREPUNCH-PRO BIX-BLADE CLAMSHELL
PDT SUREPUNCH-PRO KRONE-BLADE CLAMSHELL
PUNCHDOWN - SSP W/110

PDT SUREPUNCH-PRO LIGHT-66 CLAMSHELL
PDT SUREPUNCH-PRO LIGHT-BIX CLAMSHELL
PDT SUREPUNCH-PRO LIGHT-KRONE CLAMSHELL
DIE, 1300/8000

DIE, 1300/8000

HEAD SET, JACK TERMINATOR, UNJ500

HEAD SET, JACK TERMINATOR, MGS400

HEAD SET, JACK TERMINATOR, 41106

HEAD SET, JACK TERMINATOR, 61110

HEAD SET, JACK TERM, SMP, KMJA SERIES

HEAD SET, JACK TERM, HT, RJ45FC SERIES

HEAD SET, JACK TERMINATOR, HUBBELL, HXJ
HEAD SET, JACK T, ORTRONICS, TJ SERIES
PUNCH HEAD REPLACEMENT BLADE SET, UNJ500
PUNCH HEAD REPLACEMENT BLADE SET, MGS400
PUNCH HEAD REPLACEMENT BLADE SET, 41106
PUNCH HEAD REPLACEMENT BLADE SET, 61110
PUNCH HEAD SET, SMP, KMJA SERIES

PUNCH HEAD SET, HT, RJ45FC SERIES

PUNCH HEAD SET, HUBBELL, HXJ SERIES

PUNCH HEAD SET, ORTRONICS, TJ SERIES

KIT PALADIN BROADCAST-PK

KIT TERM CRIMPER

KIT TELE CRIMP/STRIP

KIT CORDLESS SD SOCKET-SET

KIT DATA-COMM COUNTER DEMO POUCH

KIT ECONOMY COMPUTER SERVICE ZIPPER CASE
CASE ZIPPER 10X7X3

PDT 66 BLADE

PDT 110 BLADE

PDT 630 BLADE

BLADE PDT BIX

PDT BLADE PDT KRONE

BLADE PDT KRONE LSA PLUS (BLIS

HEAD PROPUNCH 110 5-PAIR BLISTER

HEAD PROPUNCH 110 4-PAIR BLISTER

BLADE ASSY 5-PAIR BLISTER PACK

BLADE ASSY 4-PAIR BLISTER PACK
BLADE - SSP 110/66

BLADE - SSP 110

$75.50
$75.50
$87.68
$87.68
$82.82
$87.68
$14.60
$14.60
$24.34
$102.30
$95.00
$99.86
$107.18
$95.00
$75.50
$82.82
$87.68
$87.68
$87.68
$99.86
$99.86
$95.00
$95.00
$107.18
$107.18
$22.88
$22.64
$45.58
$45.58
$45.58
$45.58
$45.58
$45.58
$45.58
$45.58
$35.98
$35.98
$35.98
$35.98
$35.98
$35.98
$35.98
$35.98
$194.86
$92.56
$149.98
$85.24
$414.12
$152.24
$80.78
$23.12
$23.12
$23.12
$36.52
$24.34
$36.52
$48.70
$48.70
$30.44
$30.44
$20.68
$20.68



PA4573
PA4574
PA4575
PA4591
PA4599
PA4601
PA4800
PA4801
PA4802
PA4803
PA4906
PA4908
PA4909
PA4910
PA4915
PA4918
PA4919
PA4923
PA4924
PA4929
PA4932
PA4933
PA4934
PA4935
PA4938
PA4939
PA4940
PA4941
PA4942
PA4943
PA4945
PA4946
PA6000
PA6501
PA6502
PA6503
PA6504
PA6505
PA6506
PA6507
PA6508
PA6509
PA6510
PAG511
PA6512
PA6513
PA6514
PA6515
PA6516
PA6517
PA6519
PA6520
PA6523
PA6524
PA6525
PA6575
PA70001
PA70002
PA70003
PA70004
PA70005
PA70006

BLADE - SSP 66

BLADE-SPP BIX STYLE

BLADE-SSP KRONE STYLE

BLADE-SPP DOUBLE 110/110
LIGHT-BATTERIES SUREPUNCH-PRO BLISTER
KIT PALADIN 1600S BROADCAST-PK

KIT PALADIN CRIMPALL PACK

KIT PALADIN CRIMPALL DATA PACK

KIT PALADIN CRIMPALL BROADCAST

KIT PALADIN CRIMPALL DIY HOME

KIT SEALTITE-59/6 ECONOMY BOXED
TOOL KIT-DATACOMM PRO STARTER

TOOL BUNDLE - NETWORK

CRIMP KIT - SEALTITE PRO CATV

CRIMP BUNDLE - SEALTITE PRO

KIT LAN BASED FUNDAMENTAL KIT

KIT STUDENT DATACOM

ULTIMATE TOOL BAG PALADIN TOOL BAG
KIT ULTIMATE FIBER TOOL KIT

KIT ECONOMY LAN TOOL KIT LAN TOOL KIT
TECHNICIAN TOOL KIT - ULTIMATE
PREMISE TOOL KIT - ULTIMATE

PRO TOOLKIT - ULTIMATE DATAREADY
DATA/VOICE PRO KIT - ULTIMATE

TELCO TOOL KIT - ULTIMATE
COMPRESSION TOOLKIT - ULTIMATE
GRIPPACK PVC POUCH

TECHNICIANS KIT - GRIPPACK SPP
INSTALLERS KIT - GRIPPACK SPP
GRIPPACK SUREPUNCH TECH

KIT, PVC POUCH PT-540

KIT, PVC POUCH, GRIP PACK JR

KIT REPLACEMENT BATTERY 3.6V

BLADE 110 18-24 AWG WIRE STRPR

BLADE 66 18-24 AWG WIRE STRPR

WIRE HOOK AND SPUDGER

KNIFE SERRATED

RIP SAW 300-404 POWERPLAY REPLACEMENT
3-IN-1 FILE #6 SLOT SCREWDIVER
SCISSOR 100-400,409,410,411,412 RPL

#1 PHILLIPS SCREWDRIVER

HANDLE COVER PT-525 1 EACH
MULTI-TOOL - POWERPLAY PT-525

BOTTLE OPENER #4 SCREWDRIVER

1/4 INCH DRIVER

SCREW SET 5/64 HEX TYPE

WIRE UNWRAP TOOL 22-30 AWG ONLY
WIRE WRAP TOOL 24-30 AWG ONLY

DRIVE 1/4 INCH DRIVE ADAPTER POWERPLAY
SHEATH PT-525 TOOL POWERPLAY
SHEATH LEATHER PT-540 6520 TOOL SHEATH
MULTI-TOOL - POWERPLAY PT-540

SCREW SET PT-525

LEVER STOP LOCK PT-540

SPRING 1/4 DRIVE REPLACEMENT
KNIFE,ELECTRICIANS - POWERBLADE
DATASHARK ROUND CABLE CUTTER SC-CLAM
DATASHARK COAX CABLE STRIPPER SC-CLAM
UNIVERSAL STRIPPER SC-CLAMSHELL
CRIMPER RJ45 WE/SS SC-CLAMSHELL
CRIMPER-DATASHARK ALL-IN-ONE
CRIMPER RG6 CATV F SC-CLAMSHELL

$20.68
$34.10
$34.10
$24.34
$18.26
$304.48
$97.42
$182.68
$207.04
$207.04
$121.78
$141.28
$79.16
$143.72
$115.70
$109.60
$182.68
$80.38
$548.08
$124.22
$755.14
$578.54
$499.36
$377.56
$730.78
$669.88
$40.18
$174.16
$154.66
$160.76
$209.98
$143.98
$24.00
$10.90
$10.90
$7.24
$10.90
$10.90
$10.90
$15.76
$10.90
$10.90
$127.88
$10.90
$7.24
$6.02
$28.00
$24.34
$7.24
$14.14
$14.14
$177.60
$6.02
$7.24
$3.58
$85.24
$9.92
$9.92
$12.76
$42.62
$28.40
$42.62



PA70007
PA70008
PA70009
PA70010
PA70012
PA70014
PA70015
PA70016
PA70017
PA70018
PA70019
PA70020
PA70021
PA70023
PA70024
PA70025
PA70027
PA70028
PA70029
PA70031
PA70034
PA70040
PA70042
PA70045
PA70046
PA70047
PA70048
PA70050
PA70051
PA70052
PA70053
PA70054
PA70056
PA70057
PA70058
PA70060
PA70063
PA70068
PA70076
PA75000
PA75001
PA75002
PA8000
PA8001
PA8002
PA8003
PA8004
PA8005
PA8006
PA8007
PA8008
PA8009
PA8010
PA8011
PA8012
PA8013
PA8014
PA8015
PA8016
PA8017
PA8018
PA8019

DATASHARK NETWORK TOOL KIT 769328110661
CATV/SATELLITE KIT 769328110678

CRIMP BUNDLE - DATASHARK DIY

CRIMPER RG6/6QS CRIMPER

PDT NON-IMPACT 110 TWIST-LOCK STYLE 110
CRIMPER - COMPRESSION CATV "F"
DATASHARK CRIMPER RG58/59/62 RETAIL
DATASHARK NETWORK BUNDLE RETAIL
DATASHARK PUNCHDOWN BUNDLE RETAIL PKG
DATASHARK CATV F COMP TOOL KIT
DATASHARK CATV F COMP TOOL KIT
DATASHARK RG11/RG59/RG6 COMPRESSION TOOL
DATASHARK RJ45 RJ11 AMP ALL-IN-ONE TOOL
PDT KRONE KRONE PUNCH DOWN TOOL
CONNECTORS,COMPRESSION 10PK
TESTER,CABLE - DATASHARK NETWORK
NETWORK TOOLKIT W/CABLE

HOME ENT TOOLKIT W/CAB
CUTTER/STRIPPER-CATV/UTP

COAXIAL TOOL CABLE TV CUT/STRIP/CRIMP
PUNCHDOWN - NON-IMPACT 110

DATASHARK PUSH-ON CONN BUNDLE RG6
DATASHARK SECURITY TOOL KIT

DATASHARK CONN RG59 RCA COMP
DATASHARK CONN RG6/Q RCA COMP

CONN COMP RG59 BNC RG59 BNC 6-PK
DATASHARK CONN RG6/Q BNC COMP
DATASHARK RG6 CATVF PUSH ON
DATASHARK CONN BNC RG59Q

CRIMPER F/RCA/BNC COMPRESSION CRIMPER
DATASHARK COMPRESSION KIT

DATASHARK ADAPTER BNC(F)RCA(M)
DATASHARK STRIPPER CUTTER

STRIP/CUT STRIP/CUT 30-20 AWG

WIRE STRIPPER BUNDLE - DATASHARK
PUNCHDOWN TOOL - IMPACT 110

CRIMPER - COMPRESSION UNIV ADJ
DATASHARK, AUTOMOTIVE BUNDLE, COMBINATIO
DATASHARK, CABLE TIE GUN

KIT PC TOOL KIT 18 PIECE SERVICE KIT

KIT PC TOOL KIT 12 PIECE SERVICE KIT

KIT PC TOOL KIT 21 PIECE SERVICE KIT
CRIMPALL FRAME CLAMSHELL

CRIMPALL RG58/59/62 CLAMSHELL

CRIMPALL RG174/59/62 CLAMSHELL

CRIMPALL RG59/62/6/1694A CLAMSHELL
CRIMPALL KING/ADC RG6/1694A CLAMSHELL
CRIMPALL MINI-COAX CLAMSHELL

CRIMPALL SMA/UHF MINI-COAX CLAMSHELL
CRIMPALL RG59/62/8281 CLAMSHELL
CRIMPALL SMA/SMB RG174/188 CLAMSHELL
CRIMPALL RG58/59/62 TFE/PLENUM CLAMSHELL
CRIMPALL RG58/6 AIM/KING CLAMSHELL
CRIMPALL RG6/BLDN1694A CLAMSHELL
CRIMPALL RG6/RG6 QUAD CATV CLAMSHELL
CRIMPALL RG59/RG6 CATV CLAMSHELL
CRIMPALL RG8/11 N-TYPE CLAMSHELL
CRIMPALL RG8/11 MS39012 N-TYPE CLAMSHELL
CRIMPALL RG8 BNC/TNC CLAMSHELL
CRIMPALL UNIVERSAL FIBER CLAMSHELL
CRIMPALL STANDARD FIBER CLAMSHELL
CRIMPALL AMP SMF/SRF FIBER CLAMSHELL

$56.82
$42.62
$42.62
$11.36
$24.14
$26.98
$42.62
$56.82
$28.40
$56.82
$56.82
$59.98
$28.40
$35.50
$11.36
$37.30
$71.04
$71.04
$17.04
$21.30
$11.36
$12.16
$56.82
$12.76
$12.76
$18.46
$18.46
$14.20
$71.04
$39.78
$71.04
$7.08
$12.16
$12.16
$20.68
$28.40
$36.52
$19.18
$29.98
$32.34
$22.28
$126.02
$71.84
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56



PA8021
PA8022
PA8023
PA8024
PA8025
PA8026
PA8027
PA8029
PA8030
PA8031
PA8032
PA8033
PA8034
PA8035
PA8036
PA8037
PA8039
PA8041
PA8042
PA8044
PA8045
PA8046
PA8049
PA8075-18588
PA8100
PA8105
PA8106
PA8107
PA8108
PA8109
PA8110
PA8111
PA8112
PA900258
PA900265
PA900266
PA901013
PA901014
PA901016
PA901022
PA901024
PA901039
PA9010391
PA901053
PA9010531
PA901054
PA901066
PA901074
PA901081
PA901083
PA901378
PA9013781
PA901380
PA901381
PA901435
PA904893
PA906001
PA906003
PA9520
PA9546
PA9549
PA9588

CRIMPALL 22-10 INS.TERMS. CLAMSHELL
CRIMPALL INSUL TERM AWG 22-12 CLAMSHELL
CRIMPALL 26-14 INS.TERMS. CLAMSHELL
CRIMPALL 22-8 NON-INS.TERMS. CLAMSHELL
CRIMPALL 22-10 WIRE FERRULES CLAMSHELL
CRIMPALL 22-14 O.B. TERM.NAR. CLAMSHELL
CRIMPALL 22-14 O.B. TERM.WIDE CLAMSHELL
CRIMPALL 28-20 O.B. D-SUB CLAMSHELL
CRIMPALL RJ45 WE/SS 8P8C CLAMSHELL
CRIMPALL RJ11/12 WE/SS 6P6C CLAMSHELL
CRIMPALL RJ22 HANDSET 4P4C CLAMSHELL
CRIMPALL RJ45 AMP 8P8C CLAMSHELL
CRIMPALL RJ11/12 AMP 6P6C CLAMSHELL
CRIMPALL RJ11 DEC/MMJ/AMP 6P CLAMSHELL
CRIMPALL RJ50 VA PLAST. 10P10C CLAMSHELL
CRIMPALL FIBER SC/FC ROUND CLAMSHELL
CRIMPER 8000 FIBER-LC/SC/ST/FC CLAMSHELL
CRIMPALL HIROSE RJ45 STP LONG CLAMSHELL
CRIMPALL HIROSE RJ45 STP SHORT CLAMSHELL
CRIMPALL MOLEX RJ45 STP 6.0MM CLAMSHELL
CRIMPER RJ45 WE/SS & CATV-F

CRIMPER 8000 RJ45-SNAGLESS CLAMSHELL
CRIMPER 8000 HDTV UNIVERSAL

CRIMPER 8000 CUSTOM CHRYSLER

CRIMPER FRAME, JACK TERMINATOR
CRIMPER, JACK TERMINATOR, UNJ500
CRIMPER, JACK TERMINATOR, MGS400
CRIMPER, JACK TERMINATOR, 41106
CRIMPER, JACK TERMINATOR, 61110
CRIMPER, JACK TERM, SMP, KMJA SERIES
CRIMPER, JACK TERM, HT, RJ45FC SERIES
CRIMPER, JACK TERM, HPW, HXJ SERIES
CRIMPER, JACK T, ORTRONICS, TJ SERIES
BLADE SWIVEL(FIXED) SET KT35

CUTTER KT8

CUTTER KT12

KIT 1300 SERIES W/O TOOLS FOAM/CASE ONLY
CRIMPER TT864RS PHONE PLUG CRI
CRIMPER TT864RSWE

BLADE SURESTRIP 4.0 BLADE SURESTRIP 4.0
CRIMPER SNSCT-59/6 SEALTITE

KIT PREMISE SERVICE KIT PREMISE SERVICE
KIT PREMISE SERVICE EU

KIT DATAREADY KIT

KIT DATA READY INTERNATIONAL

KIT COAXREADY KIT

KIT LAN PRO-NAVIGATOR

ADAPTER BNC MALE/CATVF FEMALE TC-604
KIT COAX READY DELUXE

KIT BROADCAST READY BROADCAST/HDTV
KIT DATAREADY PRO PROF.DATA INST. KIT

KIT DATA READY PRO INTL

CASE CORDURA PALADIN LOGO

CASE CRIMPER CORDURA

CRIMPER PZ6 ROTO

STRIPPER SURESTRIP 4.0

KIT FIBERREADY TOOL KIT FIBER TOOL KIT
KIT COAX COMPRESSION TOOL KIT

CONN RJ11 6P6C 10 PACK

CONN RJ45 8P8C CAT-5e 10 PACK

CONN RJ45 CAT5E MOD PLUG 100-PK

CONN, SNAGLESS RJ45, CAT5e, 10 PK

$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$92.56
$91.66
$83.98
$107.98
$107.98
$107.98
$107.98
$107.98
$107.98
$107.98
$107.98
$54.80
$24.34
$36.52
$36.52
$182.68
$182.68
$40.18
$52.36
$578.54
$578.54
$254.54
$254.54
$146.14
$202.90
$6.08
$225.32
$499.36
$499.36
$499.36
$85.24
$48.70
$235.06
$88.90
$365.38
$365.38
$4.86
$7.30
$52.36
$7.90



PA9589
PA9610
PA9611
PA9612
PA9613
PA9614
PA9615
PA9642
PA9643
PA9644
PA9645
PA9646
PA9647
PA9654
PA9655
PA9660
PA9669
PA9670
PA9671
PA9672
PA9673
PA9674
PA9675
PA9676
PA9677
PA9678
PA9679
PA9680
PA9681
PA9682
PA9683
PA9684
PA9685
PA9686
PA9687
PA9688
PA9689
PA9690
PA9691
PA9692
PA9693
PA9694
PA9695
PA9703
PA9704
PA9709
PA9714
PA9715
PA9716
PA9719
PA9720
PA9721
PA9730
PA9731
PA9740
PA9745
PA9746
PA9747
PA9748
PA9749
PA9750
PA9751

CONN, SNAGLESS RJ45, CAT5e (POP)
CONN RG59 WATERPROOF CATV F
CONN RG6 WATERPROOF CATV F
CONN RG6Q WATERPROOF CATV F
CONN RG59 WATERPROOF CATV F
CONN RG6 WATERPROOF CATV F BULK 100
CONN RG6Q WATERPROOF CATV F
CONN CATVF RG59 COMPRESSION
CONN CATVF RG6 COMPRESSION
CONN CATVF RG6Q COMPRESSION
CONN CATV F RG59 COMPRESSION 50 PACK
CONN CATV F RG6 COMPRESSION 50 PACK
CONN CATVF RG6Q COMPRESSION 50 PACK
CONN RJ11 6P6C 50-PACK
CONN RJ45 8P8C CAT-5e 50 PACK
COUPLER RJ45 EACH
SPLITTER 2-WAY CATVF 5-24000Mhz
SPLITTER 3-WAY CATVF 5-24000Mhz
SPLITTER 4-WAY CATVF 5-24000Mhz
LINE AMP CATVF DC12-18V SILVA
DIPLEXER SATELLITE DIPLEXER SATELLITE
DUAL GROUND BLOCK 1Ghz 1Ghz

ADAPTER CATVF FEMALE TO FEMALE
CONN F RG59 HEX CRIMP 10-PACK
CONN F RG6 HEX CRIMP 10-PACK
CONN F RG6Q HEX CRIMP 10-PACK
CONN RG6Q RCA CATVF HEX
CONN F RG6 HEX CRIMP 50-PACK
CONN F RG6Q HEX CRIMP 50-PACK
CONN F RG59 PUSH-ON 10-PACK
CONN F RG6 PUSH-ON 10-PACK
CONN RG59 CATV F PUSH-ON PUSH-ON 50-PK
CONN RG6 CATV F PUSH-ON PUSH-ON 50-PK
TERMINATOR 75-ohm F-type CATVF 10-PACK

CONN RG6/6Q SEALTITE PRO CATVF 100-PACK

SPLITTER 2-WAY DIGITAL READY 5-1000Mhz
SPLITTER 3-WAY DIGITAL READY 5-1000Mhz
SPLITTER 4-WAY DIGITAL READY 5-1000Mhz
CONN UR 3-PORT RED TELE SPLICE 25-PACK
CONN UY 2-PORT YEL TELE SPLICE 25-PACK
CONN UB 2-PORT BLU TELE SPLICE 25-PACK
CONN F RG59 TWIST-ON CATVF 10-PACK
CONN F RG6 TWIST-ON CATVF 10-PACK
CONN RG59 CATV F CRIMP-ON 50-PK

CONN RG6 CATV F CRIMP-ON 100-PK

CONN RG59Q CATVF TWIST-ON 50-PACK
CONN RG6/6Q RCA COMPR 10-PK 10-PK
CONN RG6/6Q BNC COMPR 10-PK 10-PK
CONN RG6/6Q RCA COMPR 50-PK 50-PK
ADAPTER CATVF(F) TO RCA(M) 10-PK

CONN RG59 RCA COMPR 10-PK 10-PK

CONN RG59/59Q RCA COMPR 50-PK 50-PK
CONN RG59 BNC COMPR 10-PK 10-PK

CONN RG59/59Q BNC COMPR 50-PK 50-PK
CONN RG6/6Q BNC COMPR 50-PK 50-PK
CONN SP CATVF RG59 4-PK

CONN SP CATVF RG6/Q 4-PK

CONN RCA RG59 CMPRSN 4-PK

CONN RCA RG6Q CMPRSN 4-PK

CONN BNC RG59 2-PK

CONN BNC RG6Q CMPRSN 2-PK

ADAPTER BNC M TO-CATVF F 2-PK

$23.98
$21.92
$21.92
$21.92
$73.06
$73.06
$73.06
$12.16
$12.16
$12.16
$42.62
$42.62
$42.62
$21.92
$28.00
$12.16
$9.74
$10.94
$12.16
$19.48
$12.16
$5.66
$4.24
$7.90
$7.90
$7.90
$2.14
$30.44
$30.44
$12.16
$12.16
$56.02
$56.02
$7.30
$73.06
$6.68
$7.90
$9.12
$6.08
$6.08
$6.08
$9.74
$9.74
$30.42
$58.46
$42.62
$20.68
$26.78
$93.76
$12.16
$20.68
$93.76
$26.78
$121.78
$121.78
$6.22
$6.22
$9.58
$9.58
$7.18
$7.18
$5.98



PDMM-20
PE2003
PE620
PE620CE
PE7780
PE810
PE830
PE901
PE902
PE909
PE930
PE945
PE961
PE-CO01
PE-P0O3
PF8

PT-CO1
PT-C02
PT-KO1
PT-K02
PT-K03
PTR-1
PTR-7/8
PT-TO1
PT-T02
QCS-1
R438B
R438-BM
RAM2GL
RAM3GL
RF540-100
RKOGAT
RKOG6FT
RK1240
RK1240C
RK1550
RMT-1
RN536-100
RN536-50
RPC

RPT-1
RPT-2
RS232
RS438-125
RS438-240
RS438-65
RS438DL-150
RS438DL-250
RS438W-100
RSS438-100
RSS438-200
S52613
S$3.1465
S438W-200
SBSET-1-14
SDK105
SDS-SET-5
SF-420AC
SF-530
T1001
T1010
T1020

MULTIMETER, POCKET (PDMM-20)
PULSE-GROUND FAULT LOCATOR

LOOP VERIFIER (PE620)

VERIFIER,LOOP (CE)

GENERATOR, TONE-DATA MATE (PE7780)
TEST SET,POCKET TELEPHONE-BASIC
TEST SET,POCKET TELEPHONE-PRO

KIT, GROUND START ADAPTER (PE901)
CORD SET, REPLACEMENT (PE902)
CLIP, BELT-REPLACEMENT (PE909)

TEST SET, TELEPHONE (PE930)

TEST SET, TELEPHONE-HF (PE945)
ADSL SAFE PHON T-SE W/2-WAY HF (PE961)
CARRYING CASE FOR PROSCANNER
GROUNDING CORD ASSY FOR PE-P01
ESTIMATOR CD-CABLE PULLER

TWO POCKET POUCH (PT-C01)

ONE POCKET POUCH (PT-C02)

KNIFE & SCISSORS KIT W/2 POCK POUCH
KNIFE&TOOL KIT W/1 POCKET POUCH
SCISSORS TOOL KIT W/1 POCK POUCH
REPLACEMENT KIT-REPLAC TIP NAILEATER-1"
REPLACEMNT KIT-REPLAC TIP NAILEATER-7/8"
CABLE SPLICER'S KNIFE (PT-T01)
SNIP,ELECTRICIAN'S (BULK) (PT-T02)
CHUCK,QUICK CHANGE HEX 1/4"-SHORT (POP)
Swivel Tip R438B 1/8inch

EYE,SWIVEL BALL (REPLACEMENT)
BATTERY,9.6V 2AH

BATTERY,9.6V 3AH
FISHTAPE,REPLCMNT-FIBERGLASS-.175"X100'
CRIMP TOOL,DIELESS-REMOTE

CRIMP TOOL,DIELESS-REMOTE FT
CRIMPING TOOL SA 12T 42MM(RK1240)
CRIMPING TOOL ASS'Y,42MM-PVC COV
CRIMPING TOOL-SA 15T UNIV RK1550
REPLACEMENT METAL TIPS (RMT-1)
FISHTAPE,REPLCMNT-NYLON-100'
FISHTAPE,REPLCMNT-NYLON-50'
REPLACEMENT PIERCING CLIPS&BOOTS
REPLACEMENT PLASTIC TIPS (RPT-1)
TIP, REPLACEMENT GX RPT-2 (RPT-2)
PUNCH UNIT-CONNECTOR 25 PIN RS-232
FISHTAPE,REPLCMNT-STEEL-125'
FISHTAPE,REPLCMNT-STEEL-240'
FISHTAPE,REPLCMNT-STEEL-65'
FISHTAPE,REPLCMNT-STEEL-150'
FISHTAPE,REPLCMNT-STEEL-250"'
FISHTAPE,REPLCMNT-STEEL-1/4"x100'
FISHTAPE,REPLCMNT SS-100'
FISHTAPE,REPLCMNT SS-200

PISTON SET 1/2-2"

GAGE

FISHTAPE,STEEL-1/4"X200' NO CASE
SECURITY BIT SET (1") (POP)

CUTTER, CABLE

MASONRY BIT KIT,SDS PLUS(POP)
STUDFINDER (POP) (SF-420AC)
MULTISCANNER (POP) (SF-530)
ADAPTER, SOC, BLANK

ADAPTER, SOC, DIN 47256

ADAPT, SOC FC (T1020)

$57.72
$1,665.80
$88.60
$91.70
$135.08
$188.34
$274.18
$32.80
$54.82
$10.76
$321.30
$420.74
$459.00
$22.62
$22.86
$55.64
$14.48
$12.76
$55.50
$38.76
$34.92
$58.90
$51.26
$25.16
$22.58
$7.32
$19.90
$10.00
$188.36
$195.64
$197.32
$2,122.40
$2,969.40
$2,184.00
$2,576.00
$2,465.40
$8.70
$117.94
$72.46
$23.58
$8.70
$8.70
$714.72
$47.52
$70.86
$28.24
$59.82
$77.96
$58.52
$68.32
$94.68
$49.40
$69.24
$94.36
$10.70
$2,793.00
$45.02
$54.08
$96.78
$91.86
$102.44
$102.44



T1025
T1026
T1030
T1030-POF
T1038
T1040
T1047
T1050
T1057
T1062
T1081
T1086
T1087
T1089
T10EOQ
T10E2
T10LC
T10MU
T10TB
T10TD
T10ZP
T13A2
T13AF
T1620
T1630
T1662

TA

TC-10
TC-15
TCI1SKIT
TC-20
TC-28
TC-30
TC-5
TC-50
TC-55
TC-60
TC-65
TCC115
TDTLK
TF130
TF1A50
TF1ABL50
TF1ABLA
TF1ABLAS0
TF1ABLPS0
TF1AL50
TF1AP50
TF70L
TFL-1
TFL-1R
TG-600
TGA-2
TGH-2
THMSBAT
THMSCHG
TIC1
TITLK
TK-30
TK-30GFI
TK-30IR
TL-400

ADPTR, SOC UNIV 2.5 (1025)

ADPTR, SOC UNIV 1.25 (1026)

ADAPT, SOC ST

SOC ADAPTER, ST POF

ADAPTER, SOC, MIL-T-29504/4 & /5
ADAPTER, SOC, HMS-10/HP

ADAPTER, SOC, MINI-BNC

ADAPTER, SOC, HMS-0

ADAPTER, SOC, STRATOS 430
ADAPTER, CONN-SOC SC-PC (1062)
ADAPTER, SOC, VFO

ADAPTER, SOC, HMS-10/A

ADPR, SOC SMA 905/906

ADAPTER, SOC, D4

ADAPTER, SOC, EC

ADAPTER, SOC, E2000 (10E2)

ADAPTER, SOC, LC

ADPTR, SOC MU

ADPR, SOC TOSLINK

ADPR, SOC TSLINK DUP

ADPTR, SOC VRSLNK Z-P (10ZP)
ADAPTER, SOC-3, MT-RJ

ADAPTER, SOC-3, MT-RJ FERRULE
ADAPTER, SOC FC-160L

ADAPTER, SOC ST-160L

ADAPTER, SOC SC-160L

ADAPTER, THERMOCOUPLE

CASE KIT, TESTERS-V&C

KIT,V&C TESTERS&CLAMPS CASE

KIT TEST UNITKIT- TC1S

KIT,DMM CASE

CASE,CARRY (TC-28)

KIT,CLAMP ON METER CASE

KIT,SMALL CASE

CASE,CARRYING-PKGD (TC-50)
CASE,CARRYING-PKGD (TC-55)

CASE, CARRY (TC-60)

CASE, CARRY (TC-65)

ADAPTER-110V FOR TC1 #TCC115

TEST LEAD KIT-DELUXE ELECTRICAL (TDTLK)
SENSOR, PRESSURE-130KN #TF130
TF1A50 KIT, TR AERIAL

TF1ABL50 KIT, TR AERIAL/BURIED/LAYUP
TONERANGER AERIAL/BURIED KIT W/A-FRAME
TF1ABLAS50 KIT, TR AERIAL/BURIED/LAYUP/A-
TF1ABLP50 KIT, TR AERIAL/BURIED/LAYUP/PA
TF1AL50 KIT, TR AERIAL, W/LAYUP STICK
TF1AP50 KIT, TR AERIAL/PAIR ID KIT
SENSOR, PRESSURE-70KN #TF70L
LEADS, TEST-FUSED

FUSES, TEST-FUSED(REPLACEMENTS)
THERMOMETER,INFRARED (TG-600)
TEST CLIP SET-ALLIGATOR TIP (TGA-2)
TEST CLIP SET-HOOK TIP (TGH-2)
BATTERY PACK,RECHG (TS90)

RCHRG PK UNIT/WALL TRNS 110V US PLG
COUPLER, TASCO INDUCTIVE (TIC1)
KIT,INDUSTRIAL TEST LEAD (TITLK)
ELECTRICAL KIT, BASIC (TK-30)
ELECTRICAL KIT,GFCI (TK-30GFI)
ELECTRICAL KIT,LOW VOLTAGE-POP (TK-30IR)
TEST LEADS (CM-400)

$136.58
$136.58
$102.44
$139.72
$221.94
$102.44
$102.44
$102.44
$102.44
$142.40
$102.44
$102.44
$102.44
$102.44
$102.44
$153.66
$221.94
$264.64
$221.94
$221.94
$170.72
$221.94
$221.94
$119.96
$119.96
$119.96
$28.60
$18.20
$18.20
$3,244.50
$30.84
$34.40
$30.84
$13.84
$29.60
$29.60
$69.70
$68.70
$120.20
$180.04
$1,907.76
$7,290.00
$8,892.00
$8,622.00
$8,622.00
$9,900.00
$7,903.80
$8,325.00
$1,907.76
$66.44
$17.02
$234.50
$48.28
$44.90
$167.88
$430.20
$59.30
$97.48
$47.86
$55.04
$56.24
$26.74



TLA-2
TLA-3
TLK-1
TMA-2
TMA-3
TMB

TPB

TPI-1
TPSFC
TS100-01
TS10B
TS90
TS90INTL
TS90INTL-LEAD
TSG-3
TTL-2
TV220US
TVI0US
UA12P
UA12T
UA22
UAK
UAW
uC26
uc40
UCACSR
UCD3215
UCD3515
UCD3575
UCUNC12
UCUNC14
UCUNC38
UG511
UG511S
UGS511ST
UGS11MT
uG512
UG512S
UG512ST
uG512T
UGSA150
UGSA200
UGSA250
UGSA300
UGSA350
UGSA400
UGSAS00
UGSAG600
UGSAK
UGTAOQ75
UGTA100
UGTA125
UGTA150
UGTA200
UGTA250
UGTA300
UGTA350
UGTA400
UGTAK
UI-UPGRD
uT2

uT4

CLIP SET,ALLIGATOR-XLG
CLIP SET,ALLIGATOR (LG) (TLA-3)

LEAD KIT,TEST (TLK-1)

ALLIGATOR CLIP SET-MEDIUM

CLIP SET,ALLIGATOR (MED) (TMA-3)

BOOT (TM-200,TML-30)

THERM PROBE-BEAD, TYPE K

THERM PROBE-LIQUID, TYPE K

THERM PROBE-SURFACE, TYPE K
TELESCOUT,MTDR W/STORAGE

SLUGS, TEST-W/GAGE-10pk(DIELESS CRIMPERS)
TELESCOUT,MTDR
TELESCOUT,INTERNATIONAL TS90

LEAD KIT,INTERNATIONAL (TS90)

LEAD SET,TEST (TSG-3)

TEST LEAD SET-INSULATED (TTL-2)
CABLESCOUT TV220 TDR

CABLESCOUT TV90 TDR,TV90

DRIVER ASSY, KNOCKOUT

ADAPTER KIT, DIE-12 TON (UA12T)
ADAPTOR, 22 SERIES DIES

ADAPTOR, KEARNEY & T&B DIES
ADAPTOR, "W" STYLE DIES

BLADES, CUTTING 26MM

BLADES, CUTTER-COPPER & ALUMINUM
BLADES, CUT-ACSR&STANDARD GUY WIRE
BLADES, DIN RAIL CUTTER-32X15

BLADES, DIN RAIL CUTTER-35X15

BLADES, DIN RAIL CUTTER-35X7.5

BLADE, 1/2" THREADED ROD

BLADES, CUTTER-1/4"THREADED ROD
BLADES, CUTTE-3/8"THREADED ROD
ULTRA GLIDER 120V ASSEMBLY

ULTRA GLIDER 120V W/SLIP-IN APPLICATORS
ULTRA GLIDER 120V W/BOTH APPLICATORS
ULTRA GLIDER 120V W/THREADED APPLICATORS
ULTRA GLIDER 12V DC ASSEMBLY

ULTRA GLIDER 12V W/SLIP-IN APPLICATORS
ULTRA GLIDER 12V W/BOTH APPLICATORS
ULTRA GLIDER 12V W/THREADED APPLICATORS
APPLICATOR KIT,SLIP-IN 1.5"

APPLICATOR KIT,SLIP-IN 2"

APPLICATOR KIT,SLIP-IN 2-1/2"
APPLICATOR KIT,SLIP-IN 3"

APPLICATOR KIT,SLIP-IN 3-1/2"
APPLICATOR KIT,SLIP-IN 4"

APPLICATOR KIT,SLIP-IN 5"

APPLICATOR KIT,SLIP-IN 6"

APPLICATOR KIT,SLIP-IN

APPLICATOR KIT,THREADED 3/4"
APPLICATOR KIT,THREADED 1"
APPLICATOR KIT,THREADED 1-1/4"
APPLICATOR KIT,THREADED 1-1/2"
APPLICATOR KIT,THREADED 2"
APPLICATOR KIT,THREADED 2-1/2"
APPLICATOR KIT,THREADED 3"
APPLICATOR KIT,THREADED 3-1/2"
APPLICATOR KIT,THREADED 4"
APPLICATOR KIT,THREADED

TONERANGER USER INTERFACE UPGRADE
PULLER ASSEMBLY

CABLE PULLER ASSEMBLY, 4000 LB

$23.90
$22.16
$43.18
$17.84
$16.48
$25.54
$33.08
$61.26
$99.64
$3,829.36
$152.26
$2,400.10
$2,364.32
$150.00
$36.40
$27.72
$4,061.56
$2,314.32
$627.20
$709.80
$228.20
$278.60
$278.60
$212.78
$217.00
$334.60
$228.20
$228.20
$228.20
$228.20
$228.20
$228.20
$2,037.00
$2,625.00
$3,375.40
$2,786.00
$2,548.00
$3,136.00
$3,886.40
$3,297.00
$152.60
$152.60
$152.60
$156.80
$182.00
$182.00
$224.00
$232.40
$866.60
$277.20
$277.20
$277.20
$203.00
$203.00
$210.00
$217.00
$224.00
$231.00
$1,106.00
$630.00
$4,188.80
$7,400.40



uT5-22
uT8-22
VS1-3
VS1-4
WB.1000
WB.1001
WB.1018
WB.1061
WB.1066
WB.1095
WB.1287
WB.1288
WB.1301
WB.1304
WB.1305
WB.1313
WB.1315
WB.1317
WB.1318
WB.1319
WB.1320
WB.1321
WB.1326
WB.1327
WB.1330
WB.1331
WB.1397
WB.1398
WB.1426
WB.1440
WB.1453
WB.1454
WB.1455
WB.1456
WB.1458
WB.1460
WB.1461
WB.1465
WB.1470
WB.1471
WB.1472
WB.1473
WB.1474
WB.1476
WE.1008
WE.1014
WE.1019
WE.1020
WE.1021
WE.1022
WE.1052
WE.1074
WE.1075
WE.1078
WE.1086
WE.1089
WE.1090
WE.1094
WE.1097
WE.1098
WE.1101
WE.1103

PULLER, 5000# (220 VOLT)
PULLER, 8000# (220 VOLT)
SPLITTER,3-WAY PKGD
SPLITTER,4-WAY PKGD

CLICK ASSM
HEAD ASSM

DIE AXLE ASS'Y
NUT/BOLT
NUT/BOLT

DIE AXLE ASSM
LEFT HDL ASSM
RIGHT HDL ASSM
MAIN BODY

RATCHET HANDLE ASSM

PAW HANDLE ASSM
HANDLE PAIR

DIE PIN & CLIP
PIVOT PIN & CLIP
HANDLE SPRING-PAIR
PIN & CLIP

PIN & CLIP

PIN & CLIP

MAIN BODY
HANDLE PAIR

PIN & CLIP

PIN & CLIP

L SLD HDL ASSM

R SLD HDL ASSM
SLEEVE PLASTIC
HEAD ASSM
RATCHET ASSM
RIGHT HANDLE ASSM
LEFT HANDLE ASSM
RATCHET UNIT
HANDLE UNIT

DIE SET

STRIPPER KIT
LEFT HANDLE ASSM
DIE SET

DIE SET

DIE SET

LEFT HDL ASSM
RIGHT HDL ASSM
DIE GROUP
SPRING

SPRING

BOLT

BOLT

NUT

NUT

HANDLE RETAINER
PIN

PIN

SCREW
DIE-KO5-METRIC
RETAINING SPRING
C-CLIP

HANDLE RETIANER
RETURN SPRING
C-CLIP

HANDLE

HEAD

$7,874.28
$7,596.90
$5.38
$6.48
$15.40
$63.00
$17.50
$4.90
$4.90
$28.88
$157.20
$157.20
$239.98
$61.10
$66.38
$251.44
$51.12
$41.88
$59.20
$51.12
$71.70
$51.12
$299.26
$321.88
$63.76
$61.10
$30.48
$30.80
$22.46
$245.00
$141.16
$96.26
$96.26
$96.26
$60.96
$77.02
$10.50
$216.22
$80.22
$160.40
$160.40
$40.60
$40.60
$54.60
$2.80
$2.80
$5.60
$4.90
$4.90
$2.56
$4.82
$2.80
$2.90
$2.80
$33.64
$2.80
$2.80
$3.94
$2.80
$2.80
$32.08
$29.40



WE.1104
WE.1109
WE.1110
WE.1112
WE.1113
WE.1114
WE.1115
WE.1116
WE. 1117
WE.1118
WE.1119
WE.1120
WE.1121
WE.1122
WE.1123
WE.1124
WE.1150
WE. 1157
WE.1158
WE.1159
WE.1160
WE.1163
WE.1194
WE.1209
WE.1211
WE.1227
WE.1259
WE.1267
WE.1271
WE.1275
WE.1285
WE.1290
WE.1292
WE.1295
WE.1296
WE.1297
WE.1298
WE.1299
WE.1301
WE.1302
WE.1303
WE.1304
WE.1305
WE.1306
WE.1307
WE.1308
WE.1310
WE.1312
WE.1314
WE.1315
WE.1316
WE.1317
WE.1318
WE.1320
WE.1321
WE.1329
WE.1330
WE.1337
WE.1338
WE.1339
WE.1340
WE.1341

HEAD INDICATOR
HANDLE RETAINER
HANDLE

SPACER

RATCHET

PLATE RATCHET
PAWL

PLATE RATCHET
PINS 4X16

PINS 4X10

PAWL SPRING
PIVOT PIN HANDLE
PIVOT PIN
PIN,PIVOT
SPACER

HANDLE SPRING
SCREW

KNOB

SET SCREW M6X10
SET SCREW

PIN 4X22MM
THRUST PLATE
PIVOT BUSHING
RING,RETAINING
SCREW

SPRING

DIE CAVITY

ROLL PIN
CLIP,RETAINING
ROLLPIN (3X6MM)
PLATES

INNER BUSHING
ALLEN BOLT
ALLEN BOLT
ALLEN BOLT

LOCK NUT
RETAINING PIN
WASHER

CRIMP HEAD PLATE
CRIMP JAW STRAP
BUSHING
BUSHING
BUSHING

PIVOT BUSHING RET.

PIVIOT BUSHING
HANDLE PLATE
HANDLE

WASHER
RATCHET PAW
RACK

RATCHET ARM
RATCHET PAW

PIN 2X10

PIN 2X20
RETAINING PIN
CRIMP HEAD PLATE
WHEEL,DIE (K06)
CRIMP JAW STRAP
ALLEN BOLT
ALLEN BOLT
WASHER
BUSHING

$33.60
$4.82
$19.60
$2.80
$5.60
$8.90
$6.76
$7.46
$1.54
$1.56
$2.80
$7.00
$7.00
$2.96
$5.60
$2.80
$2.80
$28.88
$7.62
$2.80
$2.80
$26.60
$4.20
$2.80
$9.24
$9.64
$32.20
$2.80
$3.06
$3.20
$5.60
$5.60
$2.80
$2.80
$2.82
$2.80
$2.80
$2.90
$21.00
$16.04
$8.40
$8.40
$9.80
$4.82
$2.80
$14.44
$14.44
$2.80
$35.28
$62.56
$80.22
$28.88
$3.20
$3.20
$2.80
$36.90
$69.56
$14.44
$5.60
$5.60
$2.80
$16.04



WE.1342
WE.1343
WE.1344
WE.1346
WE.1347
WE.1348
WE.1350
WE.1351
WE.1352
WE.1353
WE.1356
WE.1364
WE.1408
WE.1409
WE.1414
WE.1439
WE.1440
WE. 1447
WE.1617
WE.1701
WE.1752
WE.1753
WE.1757
WE.1891
WE.1947
WE.1970
WE.2129
WE.2132
WE.2149
WE.2242
WE.2244
WE.2245
WE.2247
WE.2249
WE.2261
WE.2802
WE.2803
WE.2804
WE.2805
WE.2809
WE.2810
WE.2811
WE.2813
WE.2818
WE.2819
WE.2823
WE.2834
WE.2835
WE.2836
WE.2837
WE.2838
WE.2839
WE.2845
WE.2889
WE.2977
WE.3007
WE.3008
WE.3009
WGEL-1
WGEL-5
WGEL-Q
XFC-59-10

BUSHING

LOCK NUT

INNER BUSHING
BOLT

DIE HOLDER ADAPTER
O-RING

PIVOT ARM

PIVOT ARM PIN
PIVOT PIN

PIVOT BUSHING

TIE PLATE FRONT
BUSHING 20X7.5MM
COVER PLATE
STRIPPER

SCREW

C-CLIP

SCREW

RING

STUD

SCREW

DIE RELEASE BUTTON
DIE RETAINER

RAM

PAWL SPRING
CRIMP HDLE PLTE SPEC. MODE
PIN

TIE PLATE

PIN

CRIMP HEAD PLATE PAW
DIE

DIE SUPPORT
SCREW

PIN

CRIMP HEAD PLATE
DIE HOLDER BUSHING
GRIP

GRIP

GRIP

GRIP

HEAD

HEAD

HEAD

DIE INDENTOR

TIE PLATE BACK

TIE PLATE BACK
GRIP

PAWL SPRING

CAM

C/CLIP

LEFT GRIP

RIGHT GRIP (K30GL)
RATCHET SPRING
GRIP

DECAL,CRIMPER WARNING (K09)

DECAL (KC22 KIT)
DECAL,K05 SERIES

DECAL, IDENTIFICATION (K05-1SPGL)

DECAL,K09-3 SERIES

LUB-1 GAL WINTER GEL
LUBE, 5 GAL WINTER GEL
LUBE,WINTER GEL-1 QUART

CONNECTOR, COMPRESSION RG59 (10 PK)

$14.44
$2.80
$5.62
$2.80
$141.16
$5.60
$16.98
$10.46
$9.76
$19.24
$9.50
$4.82
$37.80
$2.80
$2.80
$2.80
$2.80
$5.60
$75.94
$2.80
$16.04
$16.04
$46.50
$34.50
$40.10
$12.08
$61.10
$38.66
$19.24
$50.66
$8.68
$2.80
$2.80
$37.80
$33.66
$6.40
$4.82
$11.78
$6.76
$147.00
$147.00
$161.00
$32.20
$10.62
$10.50
$49.12
$13.96
$20.00
$9.20
$27.22
$27.22
$10.26
$5.60
$9.20
$10.72
$16.10
$23.10
$8.92
$40.36
$164.66
$13.24
$13.44



XFC-59-100
XFC-59-50
XFC-6-10
XFC-6-100
XFC-6-50
XFC-6Q-10
XFC-6Q-100
XFC-6Q-50

CONNECTOR, COMPRSN RG59 (100 PK)
CONNECTOR, COMPRESSION RG59 (50 PK)
CONNECTOR, COMPRESSION RG6 (10 PK)
CONNECTOR, COMPRSN RG6 (100 PK)
CONNECTOR, COMPRESSION RG6 (50 PK)
CONNECTOR, COMPRSN RG6 QUAD (10PK)
CONNECTOR, COMPRSN RG6 QUAD (100 PK
CONNECTOR, COMPRSN RG6 QUAD (50 PK)

$101.70
$53.06
$13.44
$101.70
$53.06
$13.44
$101.70
$53.06



	Sheet1

